glekMBmE EEFSE#EEI

A Global Famous Brand
An International Excellent Enterprise

ENGE

Enc-Of=-Arm-Toeling
MBS EE E@AT

MIiE(Http) : www.crgeoat.com
BR#E(E-mail) : Info@crg-eoat.com

Distributed by

Er-@ERERE  MERINEFTHERR |, MABTERN , MiEER.
All stated here is subject to change without advance notice.

WRINERE |, BB
Allrights reserved

CN(EN)2206

QD

@ D01VLVD S1dVd SOI1090d

SEXRFE K BMAHE

Complex gripper, erX|bIe assembly

C2G

End-Of-Arm-Tooling
MeEARIHILERE -EOAT

®

ROBOTICS PARTS CATALOG




Mission: to provide customers with effective solutions and create together! Win win! Share!

B8 Bl &Ik s, REREE !
CULTURE CORPORATE Visic:l: to@cgeiiaflfl?aﬁg(?u}i%ra%anﬁd Eﬂfnf%tfrij-ilgnal excellent enterprise! Gl 0 b al S a l e S N e tW O r k
ZEET BRNSREEM EENEBEAOM !

Operation Concept : Repeating simple things , Repeating what you do attentively!

[t\ :& &( B [ HEFRERIRRS R, 50 | HE | 25 SRS ERNE D HE

RSED
SERVICE g)‘_'l E%E

= E R i SRS -
THR AR K x 552 Vg H

*7:

N |

iH Hereby 10 puthorins £, TR e

L~ ’
\ Yy
!
in Slovakin ns Authorized Agent of CRG .Pmd lllll *

G
Centificats Nt CILC-W20 |90901-A0 | o g
il : CRG BOAT series products RS b =P
i Territeey: St e 3
i A i 0t il EndOF Arm-Toollng
i 2 ! B e ey
| 7

Suahon CREG Roluics Technaology Ca., Lud,

Suahon CREG Roluics Technaology Ca., Lud,

CERTITICATE OF AGENT

R Ik p—

CERTITICATE OF AGENT

>
0
=
P
o)

100

Hereby to outhorgn: § TR % L T8 % in Movico =

Aunthorized Agent of CRG Products

‘l\

CROG-WH200201-A0%

Sulluul:t'lu.j Fobatics 1u\'|||}@ﬁ@.‘.ld
[E8 g CERTIFICATE OF AGENT
\%'—".}‘ PR H
2 1 i lereky o miborine MIOLTT R0 DR i India as
e Arhorized Agent of CRG Products

iy
H

BB 1 Erias

Certificite Numbsr; CIRG-WH200201-A03
| B | Prodducts: RO BOAL serfes priducts
RESPONSIBILITY Z‘\):': R Z‘\EI:% pja‘siy ol || werronon
JG 5 m"‘_h._:%.“a:_ma__ \\—*”‘_‘:;ﬂ’i Auihoriaton Eflacrive Period: Sepe 17, 20180 31% 2020

=
i !

Silicrn CRA Ridaotics lu'lu@\ 1.
5 &)

ET=IE
TECHNOLOGY | E&%QE

O KEB Agent

T



YFARERSTIAALCD |
WA=

* ARG P || ————
\mm‘.lﬂm\‘.liﬂllmllﬁn‘ =

e ll
\ l ﬁm‘f\m\uugsr;.i.] f /T_I i

'@'mmm %1- EifL

CRG HAOMRMBEA. NMFRRAHRKE (EOAT)RITFA. HERRS
EEFEEEMERRI2E , ERHESILEmMRITERR, ERE. B,

CRG has beeninvolving in EOAT design, development, sale and service. We
have been operating in the field of injection automation for more than twelve years.

Base on module design concept, to makes automation design simpler, more flexible

and more reliable.

B R
%/\:\ ofchina Uppey, f@;%

W Al
1o § o
= = End-Of-Arm-Tooling ";‘: >//.’I.
< 5\ mEAkmIgExa-toar ) £ T
w2 F A

“«% &

/?/\ ‘Qé’,z S‘ﬂe\ﬁ‘ 4}(‘}‘
\j 10 %4100, fa® /.{l\\!(
Pl A

—REFTHBN W, —RETENURHINAE], —REGEBREIEKE

Aninnovative enterprise; a company specializing in automation technology; a trusted partner.

SZEEX BRENSFBEEEMMRERETR. EENSFBAOHMMEREK.

Operation Concept :Repeating simple things, you are the expert. Repeating what you do

attentively,and you will be the winner.

HEES AEFRHEFRE | iILEPTEEZIL.

Sales Idea :To provide customers with the best service, so that customers worry free.



=R Application

BAtfESR

Base Frame

FEmEA

T

FERA—EREIR

FEERARERE |, BkRAKORER Y

SEAMR—E
FH£792.0kg

Product Description:

Two caves in one mold.

Take product out with vacuum cup;

Take sprue gate out with sprue gripper.

iz
Extruded Profiles

e R

Rotative Suspensions

WER £
Vacuum Cups FGA Series

KO3k
Sprue Gripper

R
Quick Changer

TR

Cross Mounting Bracket For Profiles

mesze—5
Mounting Bracket p

Gas circuit divides into two suction and one gripping. [ |
The weightis about 2 kg. : ’
mE 4= s B w3 = s 22—
(Product Name) (PN) (Model) ( Quantity ) (Product Name) (PN) (Model) ( Quantity )

gﬁfk Changer 7.Y00175 QCS-G100 1 E{,’ifﬁfﬁﬁﬁpensions 8.Y00061 VFR1421-G18 6
ﬁﬁiripper 8.Y00050 GR12A-12-CP 1 E?ﬁlﬁz Bracket 7.Y00200-T | SMBE1-1440T 6
%ﬁgﬁfpmﬁle 4.Y00069 P2518 10 C@oﬁfiﬁr 1.Y02510 APF-M5 2
Etci%zr‘ﬁggacket For Profiles | 7-Y00194-T SMBA-2525T 6 ;Sli:(jfl}\ilhanifold Block 7.Y00157 SMB-06M5 2
%ﬁded Profiles 4.Y00455 PEP2518-1000 2 t%fﬁiiﬁ%ose Fiting 1.¥02722 KQ2L06-01AS s
%ﬁﬁﬁﬁﬁﬂm Series 1.Y12288 FGA-11-SI-55 6 ?ﬁﬁ%ﬁfd%ﬁlose Fitting 1.Y02725 KQ2H06-01AS 6
Sﬁi&m CupFitting 7.Y01047 VM02-G18 6

BB IYACRGHR M / Thelist contains only CRG standard parts.




=R Application

BhlfESR

Base Frame

SEET]

Air Nipper
MAFE B2
Manipulator Fixing Bracket
SUSIRE ——
Sus Tube
FERREIA
FEERA— IR
RAK OB SLGER T mE
SEAH15 kg B
Slide Bracket
Product Description:
o KOk
Two cavities in one mould; Sprue Gripper
Taking products out and clamping oy
the sprue by sprue gripper.
The weightis about 1 5 kg.
BOM;55 BOM List
mE 8BS Bs RE mE Bs Bs RE
(Product Name) (PN) (Model) ( Quantity ) (Product Name) (PN) (Model) ( Quantity )
SUSHRE A FEIESTER
it 4.Y00021 PST12-1500 2 Man palator frang bracket 7.Y00002 | SMBH1-12M6 6
SE1587] LRMZ S E Rk
Air Nipper 1.Y00004 GT-NY25 2 Ltype Threaded Hose Fitting 1.Y02809 | KQ2L06-M5A 3
TERETIk BB
Straight blades for plastic 1.Y00037 NY25AJ 2 Slide Bracket 7.Y00004 SCF4-1240W16 7
BITIEER ~ s :
Fixing Block 7.Y00633 SCE2-25 2 Slide Bracket 7.Y00001 SMBS-12T16 7
REmE KO%
Tube Plugs 1.Y03638 P12BU 11 Sprue Gripper 8.Y00091 GR12A-12-CN 1
‘Cf'iii’ﬁi* 7.Y00027 SMBT-2012 2 TR 7.Y00020 | SMBT-1212 1
ross Connector Cross Connector

BE{NACRGIRAE M / Thelist contains only CRG standard parts.



=R Application

BhlfESR

Base Frame

PR

FEERA—ERR

B (9% ) RESEEREE | B
SED AR, —N—I

EE:7kg

Product Description:

Two cavities in one mould; Take out or embed
the insert (Non-woven bafric) by pneumatic
needle gripper;

The gas circuit is divided into two paths; one
cavity is one path.

Weight: 7 kg.

BOM;55 BOM List

REES

Pneumatic Needle Gripper

iz
Extruded Profiles

EESZEE
Mounting Bracket

+FEEEG

Cross Mounting Bracket For Profiles

mE 8BS Bs RE mE Bs Bs RE
(Product Name) (PN) (Model) ( Quantity ) (Product Name) (PN) (Model) ( Quantity )
%defrided Profiles 4.Y00052 PEP4040-1000 2 Etz%z;l\%%g%acket ForProfiles [ 7-Y00356-T | SMBA-2540T 10
%ﬁgﬁfpmﬁb 400072 | P4040 4 fﬂf&ic Needle Gripper | 5700025 | GN2010 14
%frided Profiles 400481 PEP2525-1500 2 Enﬁnﬁi Bracket 7.Y00308-T | SMBE2-2060T 14
E%Kded Profiles 4.Y00481 PEP2525-1000 1 E‘oﬁuﬁﬁ Bracket 7.Y00309-T | SMBE2-3060T 1
%jgﬁo“z‘; profile 400070 | P2525 10

EBRXACRGIREH / Thelist contains only CRG standard parts.




=R Application

BhlfESR

Base Frame

W
Vacuum Cups FGA Series

HEEMES
Mould Positioner

SEhkiE
e Pneumatic Finger Gripper
FERA—E—R
—ERE , —EAN
BRI : SRABRER , $RIBENE
SEARE—K, KiE—&
B : RAGR  IRIEEERY | B Bk
SEASI—, iRi5—K , HEEE—K Extruded Profiles
BEE 1 9kg

Product Description:

One cavity in one mould; Take out on one side ; embed on the
other side;One side: Taken out by vacuum cup and one finger
angular pneumatic gripper; The gas circuit is divided into two
paths including vacuum cups and one finger angular pneumatic
gripper; The other side: Profile modeling; Take out orembed
by one finger angular pneumatic gripper; The gas circuit is
divided into three paths including path of cylinder, path of one
finger angular pneumatic gripper and path of mould positioner;
Weight: 9Kg.

|~

BOMi&EE BOM List

mE ®"s BS A& e ®"S BS A&
(Product Name) (PN) (Model) (Quantity ) (Product Name) (PN) (Model) ( Quantity )
gft*rzlfjded Profiles 4:Y00481 PEP2525-1500 ! ﬁ\?\f&rﬁaﬁtic Finger Gripper 8.Y00084 GFR14-95G 7
%'Tﬁgﬁﬁm?o“*‘ipmme 4.Y00070 P2525 8 %E;Eﬁion Tube 7.Y00733 SMBY14-50 6
ﬁiﬁ%ﬁfmoner 8.Y00088 GMP20A 3 ﬁ:ﬁﬁﬁg Bracket 7.Y00200-T | SMBE1-1440T 3
%iﬁ%ﬁﬁ FGA Series 1.Y12301 FGA-20-HTI-60 2 gﬁ%zﬁf{;ckﬂ For Profiles| 7-Y00194-T SMBA-2525T 4
gﬁfﬁfﬁﬁpensions 8.Y00061 VFR1421-G18 2 Ezfu% Cup Fiting 7.Y01047 VM02-G18 2

EBRXACRGIREH / Thelist contains only CRG standard parts.



=L Application

BhitfESR

Base Frame

BERR  (ERENEAR

HEMAL - 2700T

JREEE : 25KG

BELHE 114

AERmEREERE | HEATRIE +SIHIE , BRE
ER0.3mmLAR |, SKERBRRRE , ERHEMEBARAR
R, HERAEREAS AT BRI,

Product Description:

Name of fixture: Fixture of take out for instrument panel.
Machine tonnage: 2700T.

Weight of fixture: 25kg.

Sprue quantity: 11.

Due to the short molding cycle, the product needs to be taken
out and cutin the mold, and the shear accuracy is required to
be within 0.3mm. The fixture adopts non-marking suction cups,
the clamp interface adopts soft rubber pad, and the angle can

be adjust by multifunctional to make elbow arm complete the

clamping.
ShB T8
Clamp Leg Elbow Arm

Bt
Extruded Profiles
A7
KOk Parallel Gripper
Sprue Gripper

Mounting Bracket

R

Vacuum Cup

SCHE
Side Manifold Block

TR

Cross Mounting Bracket For Profiles



=R Application

EhttELS

Base Frame

PR

BEER RENDBENHER

HAMAL : 2700T

BEEE : 80KG

BSLEE 149

RENDMED AEEN , FRABRKEN , MEELE
KR , AFRRATRERERN , XEEEIERINEE
LS ERIRFIENE.

Product Description:

Tool Name: Fixture of take out for car threshold strip.

Machine tonnage: 2700T.

Weight of fixture: 80kg.

Sprue quantity: 14.

The car threshold strip is divided into left and right parts. There has long
under-cut in the product which can not be taken out horizontally after
being ejected. The productis absorbed by non-marking suction cup,
and the fixture has the function of rotation, so the product can be taken

out smoothly.

S e Sl
Vacuum Cup Side Manifold Block Air Cylinder

/AR RS BRIIFAT ek R TFEERN
Robot mounting plate Non-rotative Suspensions With Integral Elbow Arms Cross Mounting Bracket For Profiles

Bi =5& UNSES B Bl 28 SHRMSE

Extruded Profiles Signal Boxes Sprue Gripper Angle Bracket For Profiles Mounting Bracket The Adsorption Of Pneumatic Fittings



‘=R Application

BhitfESR

Base Frame

=t

BEER | RIITERHER

HLEMAL : 1800T

JREEE : 20KG

BL#E 8

FRAEIRFRGE  SRESEMEE | P REMERA
FTIRRE | RHEMEARBRRE , HERRERREZI
BEEE AR,

Product Description:

Fixture Name: Fixture of take out for bumper.

Machine tonnage: 1800T.

Weight of fixture: 20kg.

Sprue quantity: 8.

It needs to be equipped with cylinder to pulling from side
because the product can't be demoulding smoothly. The
contact surface of the product adopts non-marking suction
cup, the clamp interface adopts soft rubber pad, and the
angle can be adjust by multifunctional to make elbow arm

complete the clamping.

FERHT EX]

Extension Tube Elbow Arm

AT A B IE R IR
Fixing Plate With Adjustable Angle

R

Vacuum Cup

KOk
Sprue Gripper

Sapikig
Pneumatic Finger Gripper

BlESZZR

Mounting Bracket

Big
Extruded Profiles

M8\ AN %R TR

M8 8 Ports Junction Box Cross Mounting Bracket For Profiles



‘=R Application

BhitfESR

Base Frame

iR

BEER  SERBEANRHEE;
PER—E—Y

AR — B —E

SBA - AXAR

BB EAN55kg

Product Description:

Name of fixture: Fixture of embed and take out for automobile
slat bars;

One cavity in one mould;

One side of the fixture is taken out and the other side is
embedded.

Gas circuit: five suction and two gripping.

The weight is about 55kg.

QC200 iz
Qc200 Quick Changer

ERE
Positioning Device

Positioning Cylinder| =~ _ L —
i @ uya By &

HEHSE
Push Out The Cylinder

EEREFL
Embedded Insert 1

7 EENERA2
PJE?EEQ Embedded Insert 2



‘EALH Application

EAfitELE
Base Frame

R

BEERR  FIXRERELE
FER—IEIY

FHsk A7k OS2 52EY

B TX
BEEN6kg

Product Description:

Name of fixture: Fixture of take out for Switch panel ;
Four cavities in one mould;

Take sprue gate out with sprue gripper.

Gas circuit: two gripping.

The weight is about 6kg.

DEE

Junction Box

. |

_ . FEEES

I- g Flat Straight Connector

HEES

Parallel Gripper - ' TR

TR —————

Cross Mounting Bracket For Profiles

'Il = —x
o LOELLETT

xOsk
Sprue Gripper

PEP251881%4
PEP2518 Profile




‘=R Application

BhitfESR

Base Frame
FEERIEIA
SAEETR ¢ fIREHE NE AR

HRESRASEHESY | 8
& CIR—k
JAEEE : 10kg

Product Description:

Name of fixture: Fixture of embed and take out for copper nut;
Two cavities in one mould;

The insertis pushed out by cylinder and embedded;

Gas circuit: two suction and two gripping.

Weight of fixture: 10kg.

AT HERE B
TEEEs Rotative Suspensions

Flat Straight Connector

:_

@]

m@&
-

== =
>
o
<
=
o
°

"

£

Ritk
Quick Changer

CmHE
Side Manifold Block

HEEEER
Mould Positioner



‘=R Application

BhitfESR

Base Frame

PR
AERMR  HLERISLERHE R,
FER—ETN

FELR 7K OSREN
SR 2K

BEEZ3.2kg

Product Description:
Name of fixture: Fixture of take out for sprue gate and cable tie;
16 cavities in one mould;

Take sprue gate out with sprue gripper.

Gas circuit: two gripping.
The weight is about 3.2kg.

KOk
Sprue Gripper

JEEHR
BASE SEa

Junction Box

9999
ORONORONI

CHE
Side Manifold Block



‘EALH Application

BhitfESR

Base Frame

=R

BEER IRERAREE

PER—ERIT

FERRAFTRMBESIIRE |, BELRAKOREH
SEA=F—R

BB E%3.5kg

Product Description:

Name of fixture:Fixture of take out for auto parts;

Two cavities in one mould;

The product is taken out by parallel clamp and holding
cylinder, and take sprue gate out with sprue gripper.
Gas circuit: one suction and three gripping.

The weight is about 3.5kg.

PRSI —7
Holding Cylinder

—

—_ | r— ™
A
- KOsk
lc«' Sprue Gripper
JEL

| L_Iflj

s

FATR IR R

Parallel Gripper Cross Mounting Bracket For Profiles

o

——BEEXR

= H Mounting Bracket

SHRMES
The Adsorption Of Pneumatic Fittings

2

525 Extruded Profiles

A FEIER
Manipulator Fixed Plate



‘EALH Application

BEAtifEZR

Base Frame

PR

ARSI | HESET SR BTA
FER—ETRIN

BELEE

SR Uk

JAEEY6kg

Product Description:

Name of fixture: Fixture of cut and take out for Digital camera shell;
16 cavities in one mould;

The sprue gate needs to be sheared.

Gas circuit: four gripping.

The weight is about 6kg.

QCIOtRHE
QC90 Quick Changer

5 §

N20PF&57]
N20PF Air Nipper

NY10RAJEZT]
NY10RAJ Air Nipper

FEWBEIE

Stainless Steel Chute



‘EALH Application

EAfitELE
Base Frame

P

RERR  RERMEEHISE;

FR—EIN

BEMEZRRA20NE |, FRRAREINREHEL;
SR —k—%

BB EN15kg;

Product Description:

Name of fixture: Fixture of take out for Car grille;
One cavity in one mould;

The fixture frame is made of the steel pipe 20, and the
productis taken out by vacuum cups and pneumatic
finger gripper;

Gas circuit: one suction and two gripping.

The weight is about 15kg.

QC160 fRig
QC160 Quick Changer

FERHAT

Extension Tube

TR
Cross Connector

SUSINE
SUS Tube



‘=R Application

EAEZE

Base Frame

FRER

BEER ¢ AN SARHRE;
FR—iE—Y
FEELRAKOFEINIERE F B
SR —F—R

BEEZ:3kg

Product Description:

Name of fixture: Fixture of take out for Digital camera shell ;
One cavity in one mould;

Take sprue gate out with sprue gripper and non-standard clip.
Gas circuit: one suction and one gripping.

The weight is about 3kg.

FHEEER

Flat Straight Connector

pom TEfI{5H
Pom Positioning Profiling

IRk A
Non-standard Clip

XAk
Sprue Gripper

FA7 3
Parallel Gripper



‘=R Application

BhitfESR

Base Frame

PR

ARSI  RERGEBNHER

FR—EIN

FrmRBRIE + IR A

FELSR AR OSREH ;

SE  —R=3%

AEEE : 23kg

Product Description:

Name of fixture:Fixture of slide and take out for auto parts;
Two cavities in one mould;

Take product out with finger gripper and vacuum cup;

Take sprue gate out with sprue gripper;

Gas circuit: one suction and three gripping.
Weight of fixture: 23kg.

KAX BEikis
Sprlﬁ%r?;fper i oy One Finger Angular Pneumatic Grippers
TFERR
5025847

5025 Extruded Profiles

3 SR

g Junction Box
Eﬁ = :



‘EALH Application

BEAtifEZR

Base Frame

= mRiEIA:

BRI 28, REDHENER

FER—E—IR

SEBANEKZRGR

BREL : 55kg

Product Description:

Name of fixture: Fixture of embed and take out for nut, sheet
metal.

Two cavities in one mould;

Gas circuit: Fixture of two suction and six gripping.

The weightis about 55kg.

REEMR

Mould Positioner

Ri%
Quick Changer

(R

Sensor

S§

Vacuum Cup

e MSEL
EEZZ%E Gripper Cylinder

Mounting Bracket



=R Application

BAtfESR

Base Frame

= it

BRI AETBRRENHENGR
FEER—ERIN

EUHASEE - BRIk

BASE  +2%

JAEEY  75KG

Ittie BT S AR A B B I £ SR IR
SELR B AR ANRKES |
BRAIEREN , REWENBE.

Product Description:

Name of fixture: Take out and embedding fixture of automobile felt hub cover
One mold two cavities;

Take out the air circuit:Two suction four clamps
Fixture weight:75KG

This fixture can take parts in the mold and push them out through the

needle clamp

Two pieces of felt are embedded in the cylinder and cavity

Replace manual complex embedding high efficiency and accuracy
SIS

e Needle clamp plus push out cylinder
felt

BERENR

Mold positioner

> b,
a WU FE R -

Manipulator fixing plate

A (AN

BN
FERAT e Embedded pr(;ﬁling
Extension rod e B SR
e .
8 e o‘:: O :o ik
iE see 90T sae T
SRRz ) v ] : | == VBT A BB AR
Clamp leg connector = T — : == Adjustable angle profile connecting plate
JUsEE
Sucker
SEhiRiE
neumatic wrenc =
a =
B2
Fixing bracket
|
|
EEZ%R
REeE Fixing bracket

Suction cup fittings

Bt TFE TR
Profile Cross section connector TR E R

Cross section connector




‘=R Application

BhitfESR

Base Frame

PR
REER  RERBRENHARE

FR—EIN

PSR AIREE
B ZIRTk

JAEER : 18kg

Product Description:

Name of fixture: Fixture of take out for Automobile wheel
hub cover;

Two cavities in one mould;

Take product out with vacuum cup;

Gas circuit: two suction and two gripping.

Weight of fixture: 18kg.

— ST
Elbow Arm Side Manifold Block

TFEER
Cross Mounting Bracket For Profiles
=
L
Rig
Quick Changer e—
£ 3~ - o
i 5§21

Vacuum Cups




‘=R Application

BhitfESR

Base Frame FeERTHEIA

AR SERAEEZIEEE

FR—E=+I

B R AR E

SEE 9 —IRFFE

BEEER  12KG

e BB R R WERRSBEZEIAR | REKNE
BEMEFREDEEIIKRES  BEANEHE¥S U
RIEEEAFIEEE.

Product Description:

Fixture name: Multi-cavity mini product removal fixture

The product has 32 holes in one mold.

The material head is taken out with a suction cup.

The air path is: one suction and two clamps.

Fixture weight: 12KG.

This fixture is easy to collect bulk products and reduce the appearance
of falling off. It is equipped with a storage box, and the mold ejected
products are automatically dropped into the collection box, and then
placed on the shipping platform as a whole to achieve quick pick-up
and packaging.

. (2

O i Mould Positioner

Outlet &

B B 3
Mounting Bracket d i@kﬂ:
Extension Rod
| REEE
g Sucker Fittings
QCI0tRIE
QC90 Quick Changer
FREAE
PR R Product Falls Into Box
Product Storage Box

LSE=

Vacuum Cups




‘=R Application

ERfEZR

Base Frame eI

BEER | R ERERHAER

HEmAZ - 3300T

JAREEE : 65KG

BREEN , TAORA , FREEBY , BESENKIEES|
O ERE) , IRFIE = R,

Product Description:

Fixture name: Bumper fixed die removal fixture

Machine tonnage: 3300T

Fixture weight: 65KG

Simplify the mold structure, save costs, and take out the product

from the fixed mold. Equipped with the linkage of the strong clamp

traction and suction cup assistance, the product can be taken out

smoothly.

(2 - QCA-200fR %
Traction type high strength clamp

(clamp mouth can be equipped with sensor) RFHE

Strong Sprue Gripper Leg Clip
S
TR et ST Vacuum Cups
Cross Connector Push Out The Cylinder

M8/\D O %S
M8 8 Ports Junction Box



JefrE#HI=E Non-standard Customized Products

£ tHO

All-steel jaws

ERmMRABENARIE

All food grade stainless steel body

IR E il 2k O 3k

Non-standard custom nozzle clamp

o 2R IR 12

Food grade quick changer

IEARRE il 2k O 3k

Non-standard custom nozzle clamp

JRHRTE Bl K F1%

Non-standard custom vigorous clip

3 R T IEAT E

[VIReceive all kinds of non-standard customizations



E ip\]?\ﬁqﬁable of Contents

i—ﬂ*jx %Wﬁéf Profile‘ SUS Tube

SZZRIRAH Stents Module 06-54

tR¥E Quick Changer 55-104
, ;;f SEERHE Grip Module 105-193

SH857] Air Nipper 194-223
e ELZSE Vacuum Module 224-261

Bﬂ'ﬁ: Accessory Components 262-279



?%I General Index

B, WNE

(
\..

: \3\
L
L 3
\\/

R E

& =
o

3 < /r’

P-BIfF. NE
Profile, SUS Tube

PST-{NE
Sus Tube
f8/Page 1

PCT-BRAF4EE
Carbon Fiber Tube
af8/Page 1

PEP-R7
Extruded Profiles
R#9/Page 2

PT-TEURE
T-Nuts
afs/Page 3

S-TERIRAE
Stents Module

SFP-EUHFEER
Fixing Plate
8/ Page 6~8

SMB-1&4EEE 4
Module Fixed Part
"G/ Page 9~39

SV-IR&ESER

Vacuum Cups Bracket

Taf8/Page 40~44

SC-EpRiERHF
Clamp Leg Connector
TWH8/Page 45~50

SEA-SEEEH
Elbow Arm Connector
RS/ Page 51~53

SBN-ERFIES
Bush Nut
TAf3/Page 54

\
=

Q-tRi%
Quick Changer

QCA-EHzhikik
Automatic Quick Changer
A9/ Page 55~86

QC-EFFahiRi
Round Quick Changer
Taf8/Page 87~98

SIP-RIGIZEZR

Quick Changer Connector
Ta#L/Page 90~98

QCS-ISHF iRk
Square Quick Changer
s/ Page 99

QCL-LZFapihiz
Manual Quick Changer
a8/ Page 100~102

QCA-LT. Bk
Automatic Quick Changer
TAf3/Page 104

G-kREAM
Grip Module

GMH-SHI%k
Cylinder Gripper
TR#3/Page 105~108

GMHZL2-jiF17k
Lengthen Parallel Gripper

a3/ Page 106

GMXQ-Smig&a
Air Slide Table
RS/ Page 113~121

GR-7kO%k
Sprue Gripper

TS/ Page 122~164




?\?;I General index

GS-E 28
Buffer Support
W8/ Page 171~172

GMP-1REE(IZE
Mould Positioner
RH8/Page 173

GN-S ¢tk
Pneumatic Needle Gripper
R#%/Page 175-177

GBD-&x k&%
Bulging Device
TAfB/Page 178~179

GF-Szpikis
Pneumatic Finger Gripper
A3/ Page 180~189

GO-Szhikig

One Finger Angular Pneumatic Grippers

RHE/Page 190

N-S #1858
Air Nipper
N-BI TSR

Air Nipper Body
TS/ Page 199~200

N-837]703k
Air Nipper Blade
W8/ Page 201~220

NT-57]5|#% 4
Air Nipper Bracket
Taf8/Page 223

V-EZEEG
Vacuum Module

FGA-IRE
Vacuum Cup
Tf8/Page 224~228

&7

B 4

VSH-IRk#
Vacuum Cups
TAfB/Page 229~231

SAF-k 2
Vacuum Cups
TAf8/Page 232~233

VM-IkEs AL
Vacuum Cup Connector
TRH8/Page 234~242

VF-£ B& P+
Stem Suction Buffer Body
Af8/Page 243~246

VUVG-EEE)
Solenoid Valve
At/ Page 252

Compact-ET A
Vacuum Module
TAfB/Page 253~ 261

A-BgH

Accessory Components

ASC-55&
Signal Boxes
TAf3/Page 262

AJB-o%&E
Junction Box
TAf3/Page 263~266

ARJ-HEURIER
Miniature Regulator
TRf8/Page 267

KQ2-5&#:k
Hose Fitting
W8/ Page 269~278

AH-5%
Hoses
Tt/ Page 279




MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

01

AEENE Sus Tube

A A

‘s 0

ME RS

Tube plugs

£8S(PN) #IE(Model) T(mm) E=(Weight) iH=(PN) ima=(Model)
4.Y00040 PST8-1500 28 1500 0.6 215¢g 1.Y03375(4IaRed) POSRD
1.Y03636(KkEaGrey) P12GY
4Y00021 PST12-1500 212 1500 0.6 3399 1.Y03638(#Blue) P12BU
1.Y03640(ZE&Black) P12BK
1.Y03637(REGrey) P20GY
4.Y00022 PST20-1500 @20 1500 0.8 5609 1.Y03639(#5tBlue) P20BU
1.Y03641(ZE&Black) P20BK

85 Aluminium Tube

1o

R
- Tube plugs

5S(PN) BS(Model) D(mm) L(mm) T(mm) EE(Weight) Iz (PN) im=(Model)
4Y00468  PAT20-1000 220 1000 2.0 308g ﬂg:g:;%g;ﬁ; igg%
4Y10972  PAT20-2000 220 2000 2.0 6169 P e bo0BK
4Y10950  PAT25-1000 025 1000 25 4679
4Y10974  PAT25-2000 @25 2000 2.5 934g 1.Y10988(ReBlack) P25BK
4Y00469  PAT30-1000 @30 1000 25 558¢ TR D30BK
4Y10973  PAT30-2000 @30 2000 2.5 11169
4Y00538  PAT40-1000 240 1000 25 7999

. P40BK
4Y10975  PAT40-2000 @40 2000 2.5 1558g 1.Y10987(&2£Black)

REFHEE Carbon fiber Tube

(18 m

10

WG SR
- Tube plugs
£E(PN) #E(Model) D(mm) L(mm) T(mm) E£(Weight) Ifz=(PN) i#Z=(Model)
4Y10960  PCT8-1000 08 1000 0.8 31g e red
4.Y10961  PCT8-2000 o8 2000 0.8 629 1.Y03375(1 Red) POSRD
4Y10962  PCT12-1000 @12 1000 1.0 59g i-zggggg%g;ﬁg EEEE
4Y10963  PCT12-2000 @12 2000 1.0 118 : I
9 1.Y03640(B£5Black) P12BK
4Y10964  PCT20-1000  ©20 1000 12 103g ﬂg:g:;%gg;ﬁg E;ggs
: - . 206 ' —
4Y10965  PCT20-2000  ©20 2000 1.2 g V03641 (BBl oK
4Y10966  PCT25-1000 025 1000 15 1699
P30BK
4Y10967  PCT25-2000 @025 2000 15 339g 1.Y20001(%&Black) 30
4Y10968  PCT30-1000 930 1000 15 2369
1v1 Black P25BK
4¥10969  PCT30-2000 @30 2000 15 472g 0988(RSBlack)
4Y10970  PCT40-1000 940 1000 25 431g
P40BK
4Y10971  PCT40-2000 @40 2000 25 861g 1.Y10987(®&Black)
CG



Bt Extruded Profiles

Ip
. ms
17.50 L
»
6.20 25 \0 i i iglg-&
) T o S
E (D’b' l-—-l ob‘{)’ o e?;') ®
2 ° ﬁq g o E Qe JANTAN ’
(
18 { I ] %7
12 25 Je200 @ @ fﬁé
18 =
18 6.20 ?H§
PEP1818 PEP2510 PEP2518 PEP2525 5
40
gg ®Af‘° BitnE ) ro
50 e — @ A Plugs for profile % E
6.20 20 { ))& X
1 ) Jardzak =z
<) j\\7 ‘ 2
o = = N =
© D ‘ £/ D a {@4.20 N 7
oV L
3z O
b Nz x5
@ Q@ CS\%?% § @ 6.20 e %;
25 @\@e ' ﬁ-é
) o
PEP5025 PEP3030 PEP4040
B5eN) B S (Model) K B (Length) B8 (Weight) IS (PlugsPN) Ui EREY S(Plugs Model) 52
4.Y00075 PEP1818-1000 1.0m 425¢g 4.Y00517 P1818 éjl%
BY
4.Y00076 PEP2510-1000 1.0m 310g 4.Y00518 P2510 e
4.Y00455 PEP2518-1000 1.0m 4009 4.Y00069 P2518
4.Y00050 PEP2525-1000 1.0m 6109
4.Y00070 P2525
* 4.Y00051 PEP2525-2000 2.0m 12209
4.Y00056 PEP5025-1000 1.0m 10409 BS
4.Y00071 P5025 =0
* 4.Y00057 PEP5025-2000 2.0m 2080g f‘ég
4.Y00052 PEP4040-1000 1.0m 13009 =
4.Y00072 P4040 S
* 4.Y00053 PEP4040-2000 2.0m 26009 =
4.Y00540 PEP3030-1000 1.0m 6509 3030
* 4.Y00541 PEP3030-2000 2.0m 13009
* i%f4 Optional M;.T >
%3
Bitina ) E
Plugs for profile :‘
E}
el
‘ g
\ J
PEP-3636
EBEPN) 2 (Model) < E (Length) B & (Weight) Ias 55 (Plugs PN)  iiZa B4 5 (Plugs Model)
4.Y00054 PEP3636-1000 1.0m 1168g
4.Y00484 PEP3636-1500 1.5m 1752g 4.Y00073 P3636
* 4.Y00055 PEP3636-2000 2.0m 23369

* J%4 Optional

CRRG



TEUREF T-Nuts

N c
e
g :
g D E
[0 4
o
e/
5.4mm A
3z
£z
B £5S(PN) EIE(Model) A(mm) B(mm) C(mm) E8(Weight)
1 7.Y00651 PTN-M4 M4 15 7.5 59
® 7.Y00425 PTN-M5 M5 15 7.5 5g
7.Y00652 PTN-M6 M6 15 7.5 59
2 A
E | |
e SN c ! !
O
]
o
xa -
= %
S 5.4mm B
e
8S(PN) #I5(Model) A(mm) B(mm) C(mm) E=(Weight)
7.Y00653 PTN-M4P8 8 M4 16 59
> 7.Y00654 PTN-M5P10 10 M5 20 79
g; 7.Y00655 PTN-M5P15 15 M5 25 99
B3 7.Y00656 PTN-M5P17 17 M5 25 9¢g
712 7.Y00657 PTN-M5P22 22 M5 32 11g
7.Y00658 PTN-M5P25 25 M5 35 13g
7.Y00659 PTN-M5P28 28 M5 38 1l4g
7.Y00660 PTN-M5P30 30 M5 40 15g
7.Y00661 PTN-M5P35 35 M5 45 16g
HS 7.Y00662 PTN-M5P40 40 M5 50 189
=t 7.Y00663 PTN-M5P50 50 M5 60 22g
ﬁé 7.Y00664 PTN-M5P60 60 M5 70 269
§ 7.Y00665 PTN-M5P90 90 M5 100 389
fiINIREF  Last-Minute Nut
ot LB REITHA BTN — LR AT AT LA,
{5 To be used when you need to add something to an already assembled EOAT.

M5

sjuauodw o) A10ssa20Y

‘::“_ 2 ! \
a e
%‘/ \LJ| °
: 3.80 530
10.60
52 (PN) S (Model) B (Weight)
7.Y00805 PTN-M5R 29

IE} CRG



A5ENIE22  Sus Screws

7D
ZE
A C i@é
=2
] o ] g
m eo
=%
s
H2
£RS(PN) A5 (Model) A(mm) B(mm) C(mm) D(mm) E(mm) B2 (Weight) 2
1.Y03908 PTC-MA4L10 10 1.6g
1.Y03848 PTC-M4L12 12 1.8g
1.Y02752 PTC-M4L14 14 1.99
O
1.Y04073 PTC-M4L16 16 via 4 63 35 2.0g EE'
1.Y05846 PTC-M4L18 18 2.1g 2
1.Y04000 PTC-M4L20 20 2.29 ]
1.Y06307 PTC-M4L22 22 2.5g 3
1.Y05319 PTC-M4L25 25 2.79
1.Y04294 PTC-M5L10 10 2.99
1.Y03850 PTC-M5L12 12 3.1g ég
1.Y04528 PTC-M5L14 14 3.3g A
1.Y03849 PTC-M5L16 16 3.69 e
1.Y05925 PTC-M5L18 18 3.8g ®
1.Y03909 PTC-M5L20 20 4.0g
1.Y06257 PTC-M5L22 22 b4k . 8.3 4.1 43g
1.Y03851 PTC-M5L25 25 4.7g
1.Y04469 PTC-M5L30 30 5.3g 52
1.Y04580 PTC-M5L35 35 5.9g Mz
1.Y04898 PTC-M5L40 40 6.5g %§
1.Y04968 PTC-M5L50 50 7.69 )
1.Y05391 PTC-M5L60 60 10.0g
1.Y04288 PTC-M6L10 10 4.0g
1.Y03910 PTC-M6L12 12 4.69
1.Y04153 PTC-M6L14 14 5.29 Hs
1.Y02753 PTC-M6L16 16 5.59 =2
1.Y07729 PTC-M6L18 18 Mé 6 10 5.3 5.79 {5
1.Y04076 PTC-M6L20 20 6.1g =
1.Y06227 PTC-M6L25 25 6.99 £
1.Y04001 PTC-M6L30 30 7.79
1.Y03911 PTC-M6L35 35 8.69
y
las

syusuodwo?) A10ss8d0y

CRG



MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-_3
=
e

sjuauodw o) A10ssa20Y

05

WiGFH  Single Hole Shim
\—r’/
HE(PN) #E(Model) A(mm) C(mm) &R (Weight)
1.Y03853 PTS-M4 45 0.07g
1.Y03852 PTS-M5 5.5 0.17¢g
1.Y03854 PTS-M6 6.5 0.20g
WFLFE#H Double Holes Shim
[=]
I
A= G\ #5(Model) A(mm) B(mm) C(mm) D(mm) E&Z(Weight)
4.Y00522 PTD-M4P8 8 4.5 16 12 1.8g9
4.Y00523 PTD-M5P10 10 5.5 20 12 2.29
4.Y00524 PTD-M5P15 15 5.5 25 12 2.5¢g
4.Y00525 PTD-M5P17 17 5.5 25 12 3.0g
4.Y00526 PTD-M5P22 22 5.5 32 12 3.3g
4.Y00527 PTD-M5P25 25 5.5 35 12 3.5¢g

CRG



BERBIMEENR  Straight Fixing Plate gsrema) (Kit With Screws Option)
BRI EM R SMBSMT 0 BIESFP-S2550T #27.Y00641-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SFP-S2550T Part number 7.Y00641-T. %g
5 .
g Q @ B AN ALl _& m\ g
J N2 N7 \&27) N
D C E EE
85 (PN) 7.Y00641 7.Y00642 7.Y00643 fﬁé
5 (Model) SFP-S2550 SFP-S25100 SFP-S40160 i§§
A(mm) 25 25 40 <
B(mm) 50 100 160
C(mm) 25 25 40
D(mm) - 25 40
_IIE_(mm) - 25 40 e
(mm) 3 3 3 e
PEP2510 v v - o}
PEP2518 v v - é
PEP2525 v v - 2
PEP5025 v v -
PEP4040 - - v o
12 £T 1% &L 14 Accessorier selection E%
$R %% (screws) PTC-M5L12%2 PTC-M5L12*4 PTC-M5L12*4 IS
T B single hole shim) PTS-M5*2 PTS-M5*4 PTS-M5*4 fre
TEUMEET-Nuts) PTN-M5*2 PTN-M5P25*2 PTN-M5P40*2
AR E(Weight) 45¢g 959 195¢g
LBEVAEIRAIERENR L-shaped Fixing Plate @msrz=miem) (Kit With Screws Option) .
i AEIRETE M S SFNBLSINT  40: BUSSFP-L2550T £557.Y00647-T #z
Note: If screw kits needed, add T to the part number and model number. eg: Model SFP-L2550T Part number 7.Y00647-T. %§
R 2
7 Y0649 7
@
o y < H5
© 9 9 o 6 6 i
=
N ) [N
c D i - B
B
5 (PN) 7.Y00647 7.Y00648 7.Y00649
S (Model) SFP-L2550 SFP-L2575 SFP-1L40120
A(mm) 25 25 40 S
B(mm) 50 75 120 1¢§
C(mm) 25 25 40 <
D(mm) - 25 40 g
E(mm) 25 25 40 3
F(mm) 12.5 12.5 20 ]
G(mm) 50 50 80 @
T(mm) 3 3 3
PEP2510 v v -
PEP2518 v v -
PEP2525 v v -
PEP5025 v v -
PEP4040 - - v
12 £T 1% &L 14 Accessorier selection
BR 2% (Screws) PTC-M5L12*3 PTC-M5L12*4 PTC-M5L12*4
XS FHysingle hole shim) PTS-M5*3 PTS-M5*4 PTS-M5*4
, PTN-M5*1
TEURET-Nuts) PTN-M5P25*2  PTN-M5P40*2

PTN-M5P25*1
SE E (Weight) 70g 95¢g 200g
= @




TEIEENR T-shaped Fixing Plate wgsrzeiem) (Kit With Screws Option)

i NFIRETEHRSHESIIT a0 BUSSFP-T2550T £57.Y00644-T

%g Note: If screw kits needed, add T to the part number and model number. eg: Model SFP-T2550T Part number 7.Y00644-T.
.o 5 i
X 2 o )
& g ©
g - .
¥ : ©) '
% $S & & & o0 e—© D
2 : ,
zﬁg_ D (; E
= 5E(PN) 7.Y00644 7.Y00645 7.Y00646
° BE(Model) SFP-T2550 SFP-T25100 SFP-T40120
A(mm) 25 25 40
B(mm) 50 100 120
o C(mm) 25 25 90
e D(mm) - 25 -
o} E(mm) - 25 -
§ F(mm) 25 25 40
2 G(mm) 12.5 12.5 15
H(mm) 75 75 110
%o T(mm) 3 3 3
g3 PEP2510 N J N
HE PEP2518 v v -
e PEP2525 v v -
PEP5025 v v -
PEP4040 = - v
92 £T % B {4 Accessorier selection
R4 (screws) PTC-M5L12*4  PTC-M5L12*6  PTC-M5L12%4
g? XA FHYsingle hole shim) PTS-M5*4 PTS-M5*6 PTS-M5*4
%?5 TERURRT-Nuts) PTN-MSP25%2  PTN-M5P25%3 1N M>ra07]
PARS PTN-M5P90*1
REEWeight) 959 145g 2509
A5°EEWR 45° Fixing Plate @giT&#%E) (Kit With Screws Option)
< i NIRRT EM L SFESMT a0 BISSFP-50T £557.Y00636-T
%5 Note: If screw kits needed, add T to the part number and model number. eg: Model SFP-50T Part number 7.Y00636-T.
83
1¢§ =
B 2
8
S O
E‘ g
: )
S
] A
Z 12.50 25 E | 5
50

BS(PN) 7.Y00636
#lS(Model) SFP-50
QC-G... QC-G50
EE(T) 3mm

12 £7 1% BC 14 Accessorier selection
BRZ%(Screws) PTC-M5L12*4
Xyﬁqzﬂ(ﬁngle hole shim) PTS-M5*4
TEUMREHT-Nuts) PTN-M5P25%2
B EWeight) 100g

s CRG



AIEATRAERMIERER Fixing Plate With Adjustable Angle @gs&#1%m) (Kit With Screws Option)
i NERETEM R SFESIT 4 BIESFP-A60T #£57.Y00637-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SFP-A60T Part number 7.Y00637-T. %g
H =
e
e Ty %&;
X &
~— N } "
~ \ |
| & | 9° Yo
- =
oo DM
£S5 (PN) 7.Y00637 7.Y00638 7.Y00639 c D B
S (Model) SFP-A60 SFP-A90 SFP-A70 A
A(mm) 60 90 70
B(mm) 85 95 100 'H&g
C(mm) 40 60 50 Tﬁ%
D(mm) 10 15 10 3
E(mm) 40 50 40 8
F(mm) 12.5 12.5 20 k
G(mm) 76 86 90
H(mm) 12.5 12.5 20 *xQ
L(mm) 25 25 40 ;%%
M(mm) 30° 30° 27° He
T(mm) 3 3 3 5
PEP2510 v v -
PEP2518 v v -
PEP2525 v v -
PEP5025 v v - >
PEP4040 - - v éj]h__z‘
12 £T 1% B 14 Accessorier selection Eé§
BRZY (Screws) PTC-M5L12*4 PTC-M5L12*5 PTC-M5L12*4 7%
WG HYsingle hole shim) PTS-M5*4 PTS-M5*5 PTS-M5*4
B s PTN-M5P50*1 PTN-M5P40*1
TRURE (T-Nuts) PTN-M5P4072 PTN-M5P60*1 PTN-M5P50*1
PTN-M5*1 s
BEEWeight) 130g 2159 175¢g v =0
I ‘53
7 I {L-FZ
45" g
s g2
O F m
8 = - “ 8
. 2 [a)
1O " © )
L S
12.50 25 3 g
50

RS (PN) 7.Y00640
B S(Model) SFP-A50
QC-G... QC-G50
[EE(T) 3mm

2 £T 1% BC {4 Accessorier selection
BB % (Screws) PTC-M5L12*4
sa'llflqzﬂ(single hole shim) PTS-M5*4
TEUZEF(T-Nuts) PTN-M5P25%2

BEEWeight) 115¢g




+FEIIEEHE Cross Mounting Bracket For Profiles @gsr&#8) (Kit With Screws Option)
BRI EMSRSMAESMT N B215SMBA-1818T £57.Y00290-T

ggg Note: If screw kits needed, add T to the part number and model number. eg: Model SMBA-1818T Part number 7.Y00290-T
ﬂf;;- b
e A
g
od|Blo©
B
2H§
e
]
Q
SMBA-2525 SMBA-4040 '
xQ
EU
HE PEP2525
e PEP4040
ﬁ? R5(PN) ZE(Model) CcC D E PEP1818 PEP2510 PEP2518 PEP2525 PEP5025 PEP4040 PEP3030
g&_é 7.Y00290 SMBA-1818 18 18 2 38 38 v
ﬁg 7.Y00291 SMBA-1825 18 25 4 38 45 v v v v
7.Y00245 SMBA-2020 20 20 4 50 50
7.Y00194 SMBA-2525 25 25 4 50 50 v v v v
7.Y00193 SMBA-3030 30 30 4 50 50 v
7.Y00011 SMBA-5050 50 50 4 70 70 v
= 7.Y00292 SMBA-2550 25 50 4 70 70 v v v v
5‘§§ 7.Y00246 SMBA-4040 40 40 4 60 60 v
283 7.YO0355 SMBA-8080 80 80 4 100 100
trs 7.¥00293 SMBA-4080 40 80 4 60 100 v
s 7.Y00294 SMBA-2580 25 80 4 45 100 v N N
7.YO0356 SMBA-2540 25 40 4 45 60 v v v v v
7.YO0690 SMBA-3025 30 25 4 50 50 v
B Z 12 £7 1% B {4 Accessorier selection
e G Bz W TRIEE HES
S (Model) (Screws) (Single hole shim) (T-Nuts) (Weight)
e SMBA-1818 PTC-M5L12*4 PTS-M5*4 PTN-M5P28%*2 469
-g SMBA-1825 PTC-M5L14*4 PTS-M5*4 PTN-M5P28*1,PTN-M5P35*1 60g
2 SMBA-2020 PTC-M5L14*4 PTS-M5*4 PTN-M5P40*2 759
Z SMBA-2525 PTC-M5L14*4 PTS-M5*4 PTN-M5P40*2 759
SMBA-3030 PTC-M5L14*4 PTS-M5*4 PTN-M5P40*2 749
SMBA-5050 PTC-M5L14*8 PTS-M5*8 PTN-M5P60*4 1709
SMBA-2550 PTC-M5L14*6 PTS-M5*6 PTN-M5P60*3 155¢g
SMBA-4040 PTC-M5L16*4 PTS-M5*4 PTN-M5P50*2 859
SMBA-8080 PTC-M5L16*8 PTS-M5*8 PTN-M5P90*4 255¢g
SMBA-4080 PTC-M5L16*6 PTS-M5*6 PTN-M5P50*2,PTN-M5P90*1 1759
SMBA-2580 PTC-M5L14*2 16*4 PTS-M5*6 PTN-M5P35*2 PTN-M5P90*1 1409
SMBA-2540 PTC-M5L14*2 16*2 PTS-M5*4 PTN-M5P35*1,PTN-M5P50*1 489
SMBA-3025 PTC-M5L14*4 PTS-M5*4 PTN-M5P40*2 479

0 c=c



FRAERBIMEEMAE  Cross (Square) Joint Connector (esTE#i%8) (Kit With Screws Option)
NSRBI EMRSMAESIT 2 88SSMBB-1818T £57.Y00295-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBB-1818T Part number 7.Y00295-T AU g
D 7=
S B E o
o | me
. -, ’ S
== J g
e
8 A L ®
ﬁ & D
Ky g2 O
<
ke S|
el Yary Vah -3 %
= N2t C Dy . ;J'E 2
— D e
. - ; E = 2
g BItF4ME Outside pa=| g2
= BIAE inside =, %
N
& ]

S SR

SMBB-2525

7
| I
T
W
)

SMBB-2525

2
——  PEP3636 Az
PEP2525 {¢§
A= G\ 7.Y00295 7.YO0817 7.Y00012 VATEEL 7.Y00340 7.Y00163 =
#lE(Model) SMBB-1818 SMBB-1825 SMBB-2525 SMBB-5025 SMBB-2550 SMBB-3030 Z:}J:é
A(mm) 18 18 25 50 25 30 BIS
B(mm) 18 25 25 25 50 30 712
C(mm) 25 25 32 57 33 38
D(mm) 38 45 45 45 70 50
E(mm) 12 12 12 12 12 12
, . PEP1818 PEP1818 = = = =
AN E Inside N _ PEP2525 PEP5025 PEP5025 PEP3030 E§
PEP2510 PEP2510 PEP2510 PEP2510 PEP2510 fsg
PEP2518 PEP2518 PEP2518 - - ﬁ:z
BIEF4ME Outside PEP2525 PEP2525 PEP2525 PEP2525 PEP2525 g
PEP5025 PEP5025 PEP5025 PEP5025 PEP5025 o
PEP4040 PEP4040 PEP4040 PEP4040 PEP4040
PEP3030 PEP3030 PEP3030 PEP3030 PEP3030 PEP3030
18 £7 3% BC 14 Accessorier selection .
BR2% (Screws) PTC-M5L25*2 PTC-M5L25*2 PTC-M5L35*2 PTC-M5L60*2 PTC-M5L35*2 PTC-M5L40%2 {¢§
WG Hy(single hole shim)  PTS-M5*2 PTS-M5%*2 PTS-M5*2 PTS-M5%*2 PTS-M5*2 PTS-M5%*2 §
TRUREF(T-Nuts) PTN-M5P28*1 PTN-M5P35*1 PTN-M5P35*1 PTN-M5P35*1 PTN-M5P60*1 PTN-M5P40*1 S
REEWeight) 369 429 45¢g 659 50g 51g _%
o

.



PN B iEZEME  Cross (Square) Joint Connector  ugsrepiss) (Kit With Screws Option)
VNIRRT E RSB SMT 0 BESMBC-1025T £27.Y00296-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBC-1025T Part number 7.Y00296-T

E

1

MRS . X

i

aqnL SNS - 3|1404d
©

&
./ |

}
T T I i |
| |
D e

RS e o it
3|NPOIA SIUdIS

lMﬁl‘E
Out5|de

T*[(E)
e
9 FGA-25-HT1-60
@ FGA-43-HT1-60
g [ VMO02-G18
%9 h
=5 L]
7 VM24-G18
s SEAV-G1820L78
SVE-G181440
PEP2525
ks SMBC-1432
e "’6— SMBC-2038 P ﬁ
e i PEP2525
22(PN) 7.Y00296 7.Y00297 7.Y00013 7.Y00226 7.Y00225
Hs AIE(Model) SMBC-1025 SMBC-1432 SMBC-2038 SMBC-3050 SMBC-5070
¢ A(mm) 210 @14 @20 @30 @50
= B(mm) 25 32 38 50 70
1¢§ C(mm) 18 22 25 34.5 56
= D(mm) 6.5 9.25 12.5 17.5 28
E(mm) 10 12 15 20 25
PEP1818 PEP1818 PEP1818 PEP1818 PEP1818
PEP2510 PEP2510 PEP2510 PEP2510 PEP2510
B & . PEP2518 PEP2518 - - -
2 J Outside
1¢§ EHoE PEP2525 PEP2525 PEP2525 PEP2525 PEP2525
3 PEP5025 PEP5025 PEP5025 PEP5025 PEP5025
g PEP4040 PEP4040 PEP4040 PEP4040 PEP4040
3 PEP3030 PEP3030 PEP3030 PEP3030 PEP3030
5 18 £7 1% B {4 Accessorier selection
@ 844 (Screws) PTC-M5L20*2 PTC-M5L22*2 PTC-M5L25*2 PTC-M5L35*2 PTC-M5L50*2
S E By single hole shim)  PTS-M5*2 PTS-M5*2 PTS-M5*2 PTS-M5*2 PTS-M5*2
TRUERH(T-Nuts) PTN-M5P17*1 PTN-M5P22*1 PTN-M5P28*1 PTN-M5P40*1 PTN-M5P60*1
REEWeight) 159 32g 45g 759 1509

NS CG



EERMIEREE  Vertical Fastening Of The Profiles  ugsrzptiem) (Kit With Screws Option)
i INFIRETEM R SMAE ST 0 B2SSMBD-2550T #57.Y00227-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBD-2550T Part number 7.Y00227-T AU g
B *Zf;_”
e
& 3
A 14 ﬁ%
|s
— - 1% 2
O, 0 a2
| 5
QS WD
|
O O
RO
c s
A 2
B ]
S
%2
E_-B
[z
e
PEP5025
5z
SMBD-5070 Mz
SMBD-5070 B3
7z
PEP2525 PEP5025

=
#HE(PN) 7.¥00227 7.¥00228 e
#E(Model) SMBD-2550 SMBD-5070 ﬁ:§
A(mm) 25 50 e
B(mm) 50 70 ®

C(mm) 17.5 42.5

PEP2525 v v

PEP5025 v v By 2
12 £7 3% B {4 Accessorier selection 13
BRE%(Screws) PTC-M5L12*6 PTC-M5L12*6 g
KA HY(single hole shim) PTS-M5*2 PTS-M5%*2 S
TEUREHT-Nuts) PTN-M5P40*1 PTN-M5P60*1 3
SEBWeight) 65g 85g s

c=G



MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

13

BUAHEREM  Profiles Connector (Ra&#s1E#) (Notincluding Kit With Screws)

NS

"\—pspzszs

. %
B

L ¥
\“l} ————SMBD2-7625
L

-

S

————FF SMBD2-12025

‘.‘o

PEP2525

£RE(PN) 7.Y00426 7.Y00427 7.Y00428 7.Y00429 7.Y00430 7.Y00431
B5(Model) SMBD2-7625 SMBD2-12025 SMBD2-13025 SMBD2-7650 SMBD2-12050 SMBD2-13050
A(mm) 76 120 130 76 120 130
B(mm) 25 25 25 50 50 50
C(mm) 25 25 25 25 25 25
D(mm) 28 28 28 53 53 53
E(mm) 104 148 158 104 148 158
T(mm) 2 2 2 2 2 2
PEP2525 v v v - - -
PEP5025 = = = v v v
BB EWeight) 509 60g 659 759 100g 1109
BUMEOEZZE  Angle Bracket For Profiles  (57%¢#5®) (Kit With Screws Option)

TSI EM R SMESMT W B2SSMBD3-2525T £857.Y00812-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBD3-2525T Part number 7.Y0O0812-T

D%

C=G

55 (PN) 7.Y00812 7.Y00813 7.Y00814 7.Y00815
S (Model) SMBD3-2525 SMBD3-2550 SMBD3-4040 SMBD3-4080
A(mm) 28 28 50 50
B(mm) 18 40 22 70
C(mm) - 25 - 40 %
D(mm) @5.2 @5.2 6.2 6.2
E(mm) 9 7.5 11 15
T(mm) 3.2 3.2 6.2 6.2
PEP1818
, PEP2510 PEP4040
Bt PEP2518 PEP2550 PEP4080 PEP4080 i
PEP2525
12 £7 3% B 14 Accessorier selection
$2%4(Screws) PTC-M5L12*2 PTC-M5L12*4 PTC-M6L14*2 PTC-M6L14*4
TGS PTS-M5*2 PTS-M5*4 PTS-M6*2 PTS-M6*4
TEUEEH(T-Nuts) PTN-M5*2 PTN-M5*4 PTN-M6*2 PTN-M6*4
BER(Weight) 269 53¢ 52¢g 1049

AR
oo



SFEIEZES  Flat Straight Connector  @g7&#i8) (Kit With Screws Option)
T NBIRETEA SR STNESINT w0 88 85SMBE-1010T £57.Y00300-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE-1010T Part number 7.YO0300-T ggg
L D M(:D_h
< e
] 9 c
E_ &2
| ®%
‘ | 3‘2%
' ~ o £z
*Eg
m 7 : He
A | E
N
N — Wy, ’9&‘53_
G E }ﬁ%
2
§
SMBE-2022 S Fzo
o SMBE-2022 xS
53
He
PEP4040 PEP4040
5>
#z
S
7]z
7.Y00300 7.Y00301 7.Y00775 7.Y00864 7.Y00302 7.Y00014 7.Y00304
#E(Model) SMBE-1010 SMBE-1014 SMBE-1210 SMBE-1214 SMBE-1414 SMBE-2014 SMBE-2022
A(mm) @10 @10 @12 @12 214 @20 @20
B(mm) 10 14 10 14 14 14 22 Bs
C(mm) 43 49 43 50 51.50 57 73.50 e
D(mm) 20 20 20.5 20.5 25 30 30 {¢§
E(mm) 38 44 38 45 46 51.5 68 g
F(mm) 16 16 16 16 20 25 25 ®
G(mm) 4.5 4.5 4.5 4.5 6 6 6
H(mm) 18 25 18 25 25 25 40
L(mm) 8 8 8 8 12 12 12 B 2
M(mm) 8 8 8 8 10 15 15 Ho
N(mm) @4.2 D42 4.2 4.2 @5.2 @5.2 @5.2 8
PEP1818 v - v - - - - o
PEP2510 - v - v v v - Ei
PEP2518 - v - - v v - %
PEP2525 - v - - v v - 2
PEP5025 - v - - v v -
PEP4040 - - - - - - v

12 £7 3% BC 14 Accessorier selection
PTC-M4L14*2 PTC-M4L14*2 PTC-M4L14*3 PTC-M4L14*3 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L16*2
PTC-M4L12*1 PTC-M4L12*1 - - PTC-M5L14*1 PTC-M5L14*1 PTC-M5L14*1
XU L singehoeshin) PTS-M4*3 PTS-M4*3 PTS-M4*3 PTS-M4*3 PTS-M5*3 PTS-M5*3 PTS-M5*3
TREZEZT-Nuts)  PTN-M4P8*1 PTN-M4P8*1 PTN-M4P8*1 PTN-M4P8*1 PTN-M5P10*1 PTN-M5P15*1 PTN-M5P15*1
WMILFE PoubendessimPTD-M4P8*1  PTD-M4P8*1 PTD-M4P8*1 PTD-M4P8*1 PTD-M5P10*1 PTD-M5P15*1 PTD-M5P15*%1
BEEWeight) 209 21g 229 10g 34g 459 489

#8244 (Screws)

.



EEXZE Mounting Bracket (2fT&#i%E) (Kit With Screws Option)
T NFRETEMESHMESHT W B2SSMBE1-0840T £557.Y00694-T

%g Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE1-0840T Part number 7.Y00694-T
Sl
5
S o
.
P
A
%5
221
1H2
2 o
'H&’(:) C
e
9
& FGA-25-HT1-60
VMO02-G18
*e
BT
7k ‘—GFRzo 95E
#e Vs
z —— VFR1421-G18
) SEA-1414L80
3 &;; SEAH-2020L50 .
22 y‘ SMBE1-1440
B3 ’
712 3
L/ SMBE1-2060
HE2(PN) 7.Y00694 7.Y00201 7.Y00695 7.Y00200 7.Y00199 7.Y00015 7.Y00724
BHs BlS(Model) SMBE1-0840 SMBE1-1040 SMBE1-1240 SMBE1-1440 SMBE1-1450 SMBE1-2060 SMBE1-3060
gﬁg A(mm) @8 @10 @12 @14 @14 @20 @30
= B(mm) 40 40 40 40 50 60 60
2 C(mm) 75 75 75 80.50 90.50 110.50 120.50
® D(mm) 20 20 20 25 25 30 40
E(mm) 70 70 70 75 85 105 115
F(mm) 16 16 16 20 20 25 35
W G(mm) 4.5 4.5 4.5 6 6 6 8
18 L(mm) 8 8 8 12 12 12 12
8 M(mm) 8 8 8 10 10 15 22
“5 N(mm) @4.2 @4.2 @4.2 @5.2 @5.2 @5.2 @5.2
3 PEP1818 N N N N N N N
S PEP2510 v Vv v v Vv v v
2 PEP2518 v v v v v v v
PEP2525 v Vv v v Vv v v
PEP5025 vV N vV vV Vv vV N
PEP4040 - - - v v Vv v
PEP3030 vV vV v v vV vV v

12 £7 1% B 14 Accessorier selection
PTC-M4L14*2 PTC-M4L14*2 PTC-M4L14*2 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L18*2
PTC-M4L12*1 PTC-M4L12*1 PTC-M4L12*1 PTC-M5L12*1 PTC-M5L12*1 PTC-M5L14*1 PTC-M5L20*1
S singleholeshim - PTS-M4*3 PTS-M4*3 PTS-M4*3 PTS-M5*3 PTS-M5*3 PTS-M5*3 PTS-M5*3
TRURET-Nuts) PTN-M4P8*1 PTN-M4P8*1 PTN-M4P8*1 PTN-M5P10*1 PTN-M5P10*1 PTN-M5P15*1 PTN-M5P22*1
FLFE Oouberoessim) PTD-M4P8*1  PTD-M4P8*1 PTD-M4P8*1 PTD-M5P10*1 PTD-M5P10*1 PTD-M5P15*1 PTD-M5P22*1
EEE (Weight) 139 23¢9 129 38g 409 559 95¢g

B2 4% (Screws)

Ly CG



BRIEE SR

Heavy Duty Mounting Bracket (2fI&#&#) (Kit With Screws Option)

i NFIRETEM L SME ST a0 B2 SSMBE2-1040T

5RE7.Y00725-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE2-1040T Part number 7.YO0725-T ggg
c Gk
‘ B ‘ W
&S on
\_| | B2
o
o C © }] ’
s> [T
¢ © )
1= 2
= Hs
E
'H&Q
23
2
SCE-NR30 - T e A ®
(..._‘ . pa——GN2010-8
[ "': N a FQ
—NR30-P - FeF Y Ho
07 IS
Mz 2
n Uz e
J .
P — & — SMBE2-2060 L | =>
" ? ——=— SMBE2-2060 #z
J]2
85 (PN) 7.Y00725 7.YO0777 7.Y00307 7.Y00308 7.Y00309
S (Model) SMBE2-1040 SMBE2-1240 SMBE2-1450 SMBE2-2060 SMBE2-3060 <
A(mm) @10 @12 @14 @20 @30 %5
B(mm) 40 40 50 60 60 A3
C(mm) 75 75 91 111 122 =
D(mm) 20 20.5 25 30 42 §
E(mm) 70 70 85 105 115
F(mm) 16 16 20 25 35
L(mm) 8.3 8.3 12 15 20
M(mm) 8 8 10 15 22 B %
N(mm) ?4.2 @4.2 @5.2 @5.2 @5.2 e
18 £T %6 B {4 Accessorier selection 8
1844 (screws) PTC-M4L18*2 PTC-M4L18*2 PTC-M5L22*2 PTC-M5L25%2 PTC-M5L30*2 I
T PTC-M4L12*1 PTC-M4L12*1 PTC-M5L14*1 PTC-M5L16*1 PTC-M6L20*1 -g
- * - * _ * _ * _ * =1
Sy single hole shim) PTS-M4*3 PTS-M4*3 PTS-M5*3 PTS-M5*3 i;g_mg*i g
TEUREHT-Nuts) PTN-M4P8*1 PTN-M4P8*1 PTN-M5P10*1 PTN-M5P15*1 PTN-M5P22*1
W FLF#H(Double holes shim)  PTD-M4P8*1 PTD-M4P8*1 PTD-M5P10*1 PTD-M5P15*1 PTD-M5P22*1
BEEWeight) 309 40g 60g 859 175¢

c=G




AKX T EREFESZE Heavy Duty Fixing Bracket With Ball Joint (@5T&##%8) (Kit With Screws Option)

T MFRETEM R SMESHT W B2SSMBES-1040T £557.Y02014-T
Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE8-1040T Part number 7.Y02014-T
C

MRS . X

aqnL SNS - 3|140.d
o0

% | —)| m—"
8 J
4 7 >
.Hgt .
A/ =
_ /. Y i
}ﬁ% E
.f'
%o . ,——GRT20A-C ‘
B3 o -
s @ LA ‘bﬁ
frs = ' s
& \ A . #——GN2010-8
\ ’ -
| ‘ . . ~
+_7— SEAH-2020L100 * 2
e
[ ]
5z )
Mz b -
53 £
- /é' é—
‘-’A:-‘ ‘-‘tv,
W\ ’ SMBE8-2060 ————
SMBE8-2060 ————
HS
ek HE(PN) 7.Y02014 7.Y02015 7.Y02012
= AE=(Model) SMBE8-1050 SMBES-1460 SMBE8-2060
& A(mm) 10 14 220
B(mm) 50 60 35
C(mm) 89.5 111.5 121.8
D(mm) 25 31 42
By 2 E(mm) 85 105 115
e F(mm) 20 25 35
S G(mm) 0-26° 0-26° 0-26°
o L(mm) 8.3 12 15
§ M(mm) 10 15 22
2 182 £T 5% BC 14 Accessorier selection
Z PTC-M4L18*2 PTC-M5L22*2 PTC-M5L25*2

17

ﬂ;ﬁ(Screws)

PTC-M4L12*1

PTC-M5L14*1

PTC-M5L16*1

m"flzlzﬂ(smgle hole shim)

TEYERH(T-Nuts)

PTS-M4+3

PTN-M4P8*1

PTS-M5*3

PTN-M5P10*1

PTS-M57*3

PTN-M5P15*1

S FLF#H(Double holes shim)

SLEE B (Weight)

PTD-M4P8*1
85¢g

PTD-M5P10*1
130g

PTD-M5P15*1
170g

C=G



AETEEEME Slotted Angular Bracket @257&#%#) (Kit With Screws Option)
T NFRTEHSESTESIT 0 22SSMBE3-1020T #57.Y00341-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE3-1020T Part number 7.Y00341-T AU g
1z < "z
B e
I ﬁcﬂ
o
- - e (©
A . u o C =
2 :
~ ‘] \ ‘ : 2t
g e, ~ L C ;J'lgg
4 E =2
a éﬁé
o -
) $e
®y
g
FGA-43-HT1-60 B
VM24-G18 ég
B\
He
VFET2026-G18 " GFR20-95
- =
_ig* PEP2525 “*‘, -
SMBE3-2040 = \ ' i SMBE3-2040 E
WMz
L]
PEP2525 ks
£52(PN) 7.Y00341 VATIYEE 7.Y00342 VATEYE 7.Y02009 7.Y00344
A= (Model) SMBE3-1020  SMBE3-1220  SMBE3-1430  SMBE3-2040  SMBE3-2060+*>SMBE3-3050 K5
A(mm) @10 @12 @14 @20 @20 @30 fﬁ%
B(mm) 20 20 30 40 60 50 pries
C(mm) 23 23 31 39 68 50 g
D(mm) 14 14 17 22 22 28 >
E(mm) 64.5 65.50 85 107 146 135.50
F(mm) 16 16 25 25 25 36
G(mm) 8 8 15 15 15 22 .
H(mm) 4.2 4.2 5.2 5.2 5.2 5.2 i
I(mm) - - 15 15 15 22 g
L(mm) 15 15 21 26 36 31 <
M(mm) 16 16 20 25 25 36 §
N(mm) - - 5.2 @5.2 5.2 5.2 s
P(mm) 9 9 11 13 13 16 3
18 £7 % BC 14 Accessorier selection <
s PTC-M4L18*2 PTC-M4L18*2 PTC-M5L20*4 PTC-M5L22*2 PTC-M5L22*2  PTC-M5L25*2
REBerews) PTC-M4L16*2 PTC-M4L16*2 = PTC-M5L25*2  PTC-M5L25*2  PTC-M5L35%2
G FHsingle hole shim) ~ PTS-M4*4 PTS-M4*4 PTS-M5*4 PTS-M5*4 PTS-M5*4 PTS-M5%4
TEUBRHT-Nuts) PTN-M4P8*1 PTN-M4P8*1 PTN-M5P15*1 PTN-M5P15*1 PTN-M5P15*1 PTN-M5P22*1
SFLFHDouble holes shim) ~ PTD-M4P8*1  PTD-M4P8*1  PTD-M5P15*1 PTD-M5P15*1 PTD-M5P15*1 PTD-M5P22*1
REE Weight) 30g 359 50g 909 117g 185¢g

.



B3y |, A

aqnL SNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

19

ER=ES

Mounting Bracket

(IRETE4%ED) (Kit With Screws Option)

i MBI B

SREFBENT W BLESMBE4-1412T £27.Y00224-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE4-1412T Part number 7.Y00224-T

mE
D

(J o
FGA-25-HT1-60
VMO02-G18
GFA30-35
VFN2026-G18
SMBE4- 3012
SMBE4-2012 —-
PEP2525 PEP2525——— f'
2E(PN) 7.Y00224 7.¥Y00223 7.Y00181 7.¥Y00222 7.¥Y00221
IS (Model) SMBE4-1412 SMBE4-2012 SMBE4-2020 SMBE4-3012 SMBE4-3020
A(mm) 214 @20 @20 230 @230
B(mm) 25 32 35 40 45
C(mm) 40 45 545 55 65.5
D(mm) 22 24.5 33 29.5 39
E(mm) 12.5 12.5 20 12.5 20
F(mm) 19.5 24.5 26.5 34.5 37.5
G(mm) 25 30 35 30 40
H(mm) 15 22 25 30 35
PEP1818 v v - v -
PEP2510 v v - v -
PEP2518 v v - v -
PEP2525 v v - v -
PEP5025 v v - v -
PEP4040 - - v - v
18 £T 1% B 14 Accessorier selection
B84 (screws) PTC-M5L14*2 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L16*2
T PTC-M5L25*1 PTC-M5L30*1 PTC-M5L30*1 PTC-M5L35*1 PTC-M5L40*1
W H(single hole shim) PTS-M5*3 PTS-M5*3 PTS-M5*3 PTS-M5*3 PTS-M5*3
TRUBFHT-Nuts) PTN-M5P15*1 PTN-M5P22*1 PTN-M5P25*1 PTN-M5P30*1 PTN-M5P35*1
PTN-M5*1 PTN-M5*1 PTN-M5*1 PTN-M5*1 PTN-M5*1
SLEEE(Weight) 50g 70g 95g 90g 1509

C=G



BEESZE Mounting Bracket @s&#4%#) (Kit With Screws Option)
T ERETE MY SFIESINT 40 BUSSMBES-G1840T #557.Y00310-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE5-G1840T Part number 7.Y00310-T %g
E B B
A
o
sl o £
)|
/
Y <
Q . F¥
|s
H2
i <
|
|'_‘d ] ,r;&g
-— GBD18HD GFR14-95 8
I 2
= e
*xQ
SMBE5-M1240 SMBE5-M1240 %;
ey thé’
/;-L PEP2525 7L PEP2525 3
S (PN) 5 (Model) B(mm) C(mm) D(mm) E(mm) F(mm) M(mm) N(mm) ZE=Z(Weight) sx
7.Y00310 SMBE5-G1840 G1/8 40 75 20 19 6 10 @5.2 259 E}]%
7.Y00311 SMBE5-G1860 G1/8 60 105 25 26.5 6 15 @5.2 429 %§
7.Y00312 SMBE5-M1040 M10x1 40 75 20 19 6 10 5.2 30g J1s
7.Y00313 SMBE5-M1060 M10x1 60 105 25 26.5 6 15 @5.2 409
7.Y00314 SMBE5-M1240 M12x1 40 75 20 19 6 10 @5.2 309
7.Y00315 SMBE5-M1260 M12x1 60 105 25 26.5 6 15 @5.2 479
7.Y00316 SMBE5-M1440 M14x1 40 75 20 19 6 10 @5.2 20g -
7.Y00317 SMBE5-M1460 M14x1 60 105 25 26.5 6 15 @5.2 409 %5
7.Y00320 SMBE5-M1640 M16x1 40 75 20 19 6 10 @5.2 209 AS
7.Y00321 SMBE5-M1660 M16x1 60 105 25 26.5 6 15 @5.2 409 ﬁ:g
7.Y00322 SMBE5-M2040 M20x1 40 75 25 16.5 6 15 @5.2 309 e
7.Y00323 SMBE5-M2060 M20x1 60 105 25 26.5 6 15 @5.2 359 ®
928 £7 1% BC 14 Accessorier selection
1Bt — Accessorier selection 1 Wz
BE 44 (screws) PTC-M5L16*2 SMBE5-G1840 , SMBE5-M1040, #Fé
yﬂilflqz@(smgle hole shim) PTS-M5*2 3
TEUEE T-Nuts) PTN-M5P10*1 SMBE5-M1240, SMBE5-M1440, 5
AL FHYDouble holesshim) ~ PTD-M5P10*1 SMBE5-M1640 3
1% Bic — Accessorier selection 2 @
R (Screws) PTC-M5L16*2 SMBE5-G1860 , SMBE5-M1060 , SMBE5-M1260,
iﬂ‘v_ﬁ$ﬁ(smgle hole shim) PTS-M5*2
TEUZE T-Nuts) PTN-M5P15%1 SMBE5-M1460 , SMBE5-M1660 , SMBE5-M2040 ,
S FLIFEEH (Double holes shim) PTD-M5P15*1 SMBE5-M2060

.



EESZE Mounting Bracket (JBETEMEE) (Kit With Screws Option)
E NIRRT EM R SNBSS T 0 BSSMBE6-1040T £857.Y00357-T

928 £7 1% BC 14 Accessorier selection
1% EZ— Accessorier selection 1

%g Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE6-1040T Part number 7.YO0357-T
s%: “L” R
e op s
& *’% ,
m usn
p —
F 2 o) - o> M
B3 i
e . © ' |
WD :
i © 9 WD
'H&‘E’ M L M I F
s D = 052
al
é
5 & SMBE6-1040
] VFMT-20M12
»
%2
B3
g3
e
° VFRS-2 -
SMBE6-1228 5-20M10-M5
PEP2525
52
Elz
S
e
#HE(PN) EIE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) M(mm) N(mm) EE(Weight)
7.YO00357 SMBE6-1040 ©@10.5 40 100 30 42.5 3 20 38 15 @5.2 60g
7.YO0358 SMBE6-1240 ©12.5 40 100 30 42.5 3 20 38 15 @5.2 60g
BHs 7.YO0359 SMBE6-1440 ©14.5 40 100 30 40.5 3 24 38 15 @5.2 60g
EEg 7.YO0360 SMBE6-1640 ©16.5 40 100 30 37.5 3 30 = 15 @5.2 659
ﬁé 7.Y0O0361 SMBE6-2040 ©20.5 40 100 30 37.5 3 30 - 15 5.2 60g
g 7.Y00362 SMBE6-2240 ©22.5 40 100 30 35 5 35 = 15 @5.2 1059
s 7.Y00363 SMBE6-2540 ©@25.5 40 100 30 35 5 35 - 15 @5.2 100g
7.Y0O0364 SMBE6-1028 ©@10.5 28 65 30 15.5 3 = = 15 @5.2 459
7.Y00365 SMBE6-1228 ©12.5 28 65 30 15.5 3 - - 15 @5.2 459
7.YO0366 SMBE6-1428 ©14.5 28 65 30 15.5 3 = = 15 @5.2 459
?g:ﬁ 7.Y00367 SMBE6-1628 ©16.5 28 65 30 15.5 3 - - 15 @5.2 459
% 7.Y00368 SMBE6-2028 ©20.5 28 65 30 15.5 3 = = 15 @5.2 409
i 7.Y00369 SMBE6-2228 ©22.5 28 70 30 18 5 35 - 15 @5.2 759
S 7.Y00370 SMBE6-2528 ©@25.5 28 70 30 18 5 35 = 15 @5.2 709
o
o

BB 2% (Screws) PTC-M5L12*2 SMBE6-1040, SMBE6-1240, SMBE6-1440
W (single hole shim) PTS-M5%*2 SMBE6-1640, SMBE6-2040, SMBE6-1028
TEUSREF(T-Nuts) PTN-M5P15*1 SMBE6-1228, SMBE6-1428, SMBE6-1628
WFL T Double holes shim) PTD-M5P15*1 SMBE6-2028

1B — Accessorier selection 2

224 (Screws) PTC-M5L14*2
LG Hy(single hole shim) PTS-M5%2 SMBE6-2240, SMBE6-2540
TEURE-Nuts PTN-M5P15*1 SMBE6-2228, SMBE6-2528
NLFL Y Double holes shim) PTD-M5P15*1

N CRG



SEIZE Cylinder Bracket

7D
B
1 - CE
o a Mo
L(:Q @ #o
g
e 9
| 65 5
*Eg
5E(PN) S (Model) B C D E F EE(Weight) iﬂg
7.Y00062 SMBE7-0856 08 56 10 25 90 6.5 409 5
7.Y00021 SMBE7-1256 012 56 10 25 95 6.5 439
7.Y00006 SMBE7-2056 220 56 10 25 105 6.5 479
sCim#E  Side Manifold Block Eg
o
o re P 5_,_C_ . .D_, E F 15 %
= © - ”
- o . v @0 .9 |°
12 | J T - —(} D
ﬁ§‘ oz 15 ~ k9
g= A % =
& } “ & gs
= = %5, C_,_D_, E F_,_15 He
® - °
|
B
=z
S (PN) A= (Model) A B C D E F &8 (Weight) Bz
7.Y00153  SMB-10M5-02G18 45 90 15 15 15 15 51g 73
7.Y00154  SMB-08M5-02G18 30 75 15 15 15 E 429
™
B
5
—= |
© L) —‘\ T T T T T 1 I‘,— - E<
% <9H|\|||||||| =3
1 A 48 3
- % fiz
Q.
11 C D E F G 11 >
D-O-0-0-©-¢
B &
3
2 (PN) RIS (Model) A B C D E F G E&(Weight) 2
7.Y00157 SMB-06M5 26 34 12 - - - - 10g o
7.Y00156 SMB-08M5 38 46 12 12 - - - 14g 3
7.Y00155 SMB-10M5 50 58 12 12 12 - - 189 3
7.Y00167 SMB-14M5 74 82 12 12 12 12 12 26g z

i=FASEf / Application
£ A & &
APL4-M5 - S0 & fi—— APF-M5

APB-M5-@6

c=G



SCimHE Side Manifold Block

(IBETEMH%EED) (Kit With Screws Option)

7I: MFIRETEM L SHE ST a0 B2SSMB-5G18T £57.Y00229-T

%g Note: If screw kits needed, add T to the part number and model number. eg: Model SMB-5G18T Part number 7.Y00229-T
e
(=)
= =
e L
2 . U
£ o]
" <
%@ @kxews
Es:
Za§ gy
c C
I
|
O G1/8(x5
- 10| ©
9
§
2 F G
%2
HT
gz
fi2
SMB-5G18
5z
Bz PEP2525
7
£35S (PN) 7.Y00229 7.Y01020 7.Y01022
BS S (Model) SMB-5G18 SMB1-5G18 SMB2-5G18
;ég A(mm) 25 25 25
&3 B(mm) 15 15 15
8 C(mm) 15 15 15
5 D(mm) 35 35 35
E(mm) 5 5 5
F(mm) 7.50 7.50 7.50
> G(mm) 12.50 15 20
e H(mm) 20 20 20
2 I(mm)) 35 40 45
i PEP1818 v
S PEP2510 v
'§ PEP2518 v
] PEP2525 v
e PEP5025 v
PEP3030 v
PEP4040 N
B2 £7 355 &L {4 Accessorier selection
B2 2 (Screws) PTC-M5L14*1 PTC-M5L14*1 PTC-M5L14*1
Xyﬁ:Fag:“'(Singleholeshim) PTS-M5*1 PTS-M5*1 PTS-M5*1
TEUMEEHT-Nuts) PTN-M5*1 PTN-M5*1 PTN-M5*1
HE B (Weight) 30g 33g 349

ey CRG



SCimHE Side Manifold Block  @247&#4i%8) (Kit With Screws Option)
7353 NMERETEHSSMEENMT W B8ESMB-9G18T £57.Y00231-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMB-9G18T Part number 7.Y00231-T

B3y | FhE

d9qnL SNS - 3!404d

D
O
HEE e o
3|NPOA SIUdIS

J 9xG1/8

G1/8(x9)

(@)
S SR

J9bueyd 3oInd

H
|
@
I
©}
T K
a|npo\ diug

F G

52

e
2 (PN) 7.Y00231 7.Y01021 7.Y01023
#E(Model) SMB-9G18 SMB1-9G18 SMB2-9G18 Bs
A(mm) 25 25 25 ggg
B(mm) 15 15 15 =
C(mm) 30 30 30 g
D(mm) 35 35 35 g
E(mm) 5.50 5.50 5.50
F(mm) 15 15 15
G(mm) 12.50 15 20 B 2
H(mm) 20 20 20 18
I(mm) 50 55 60 8
J(mm) 15 15 15 E‘
PEP1818 Vv E
PEP2510 Vv 3
PEP2518 N g
PEP2525 Vv
PEP5025 vV
PEP3030 v
PEP4040 v

B2 £T 1% B2 44 Accessorier selection

1244 (screws) PTC-M5L14*%1 PTC-M5L14*1 PTC-M5L14*1
yﬂﬁzpﬁ(single hole shim) PTS-M5*1 PTS-M5*1 PTS-M5*1
TEUZFHT-Nuts) PTN-M5*1 PTN-M5*1 PTN-M5*1
REEWeight 509 529 54g

cors



B3y |, A

aqnL SNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

25

WiBESCHmHAE Side Manifold Block — @#2§7&#4i%#) (Kit With Screws Option)

i ERSTEMRSHESINT W 28#5SMB-D5G18T {57.Y00230-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMB-D5G18T Part number 7.Y00230-T

F 10x G1/8

G1/8(5+5) | !

F G
SMB-D5G18

PEP2525
S (PN) 7.Y00230 7.¥Y01024 7.Y01025
S (Model) SMB-D5G18 SMB1-D5G18 SMB2-D5G18
A(mm) 25 25 25
B(mm) 15 15 15
C(mm) 30 30 30
D(mm) 35 35 35
E(mm) 5 5 5
F(mm) 15 15 15
G(mm) 12.50 15 20
H(mm) 20 20 20
I(mm) 50 55 60
PEP1818 N
PEP2510 v
PEP2518 N
PEP2525 N
PEP5025 N
PEP3030 J
PEP4040 v

12 £T 1% B 14 Accessorier selection

BR 2% (Screws) PTC-M5L14*1 PTC-M5L14*1 PTC-M5L14*1
REJIESFQ(SingIehoIeshim) PTS-M5*1 PTS-M5*1 PTS-M5*1
TEUREH(T-Nuts) PTN-M5*1 PTN-M5*1 PTN-M5*1
BEEWeight 489 51g 529

C=G



ZHALEARAE Manifold Block — (257ZE#5%8) (Kit With Screws Option)

T MFRETEM R SMESIT W B2SSMB-A5G18T £57.Y00240-T
Note: If screw kits needed, add T to the part number and model number. eg: Model SMB-A5G18T Part number 7.Y00240-T

- 9 5

>
B3y | FhE

agnL SNS . 3|1401d

1
|
N
©
RS S A X

S|NPOA SIUBIS

e
®y
al
y 44 SMB-A5G18 .
/./7LPEP2525 %o
; E_-B
53
e
LE(PN) 7.Y00240 7.Y00241 °
A E2(Model) SMB-A5G18 SMB-A5G14
A(mm) 30 40
B(mm) (x5)G1/8 (x5)G1/4
C(mm) 18 20 5z
D(mm) 24 23 gJﬁT_Z,.
12 £T 3% E {4 Accessorier selection 3
1B %2 (screws) PTC-M5L25*2 PTC-M5L25*2
Xyﬁqzﬁ(smgle hole shim) PTS-M5%*2 PTS-M5*2
TR T -Nuts) PTN-M5P28*1 PTN-M5P35*1
BEEWeight) 509 80g
Hs
. =2
FEI<HF Extension Tube AS
frz
g
_+A
Bt
s

syusuodwo?) A10ss8d0y

SE2(PN) FIE(Model) A B C D E  &=8(Weight)
7.Y00736 SMBY12-50 @12 50 12 M10*1 5 9g
7.Y00735 SMBY12-100 212 100 12 M10*1 5 17g
7.Y00733 SMBY14-50 @14 50 12 M12*1 5 10g
7.Y00734 SMBY14-100 o14 100 12 M12*1 5 20g
7.Y00732 SMBY20-50 @20 50 15 M17*1 8 169
7.Y00731 SMBY20-100 220 100 15 M17*1 8 31g
7.Y00462 SMBY20-150 @20 150 15 M17*1 8 47g
7.Y01027 SMBY25-100 @25 100 15 M22*1 8 43g
7.Y00729 SMBY30-50 @30 50 18 M27*1 9 299
7.Y00730 SMBY30-100 @30 100 18 M27*1 9 58¢g
7.Y00463 SMBY30-150 @30 150 18 M27+1 9 879

CRG



. K

MEsS
aqnL sns . alyoid

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

s

a|npo\ diig

i

b b2 |

saddiN 1y

FrisHHm

3|NPOIN Wnndep

-_3
=
e

sjuauodw o) A10ssa20Y

27

+=&E#EE R Swing Block

BS(PN) #S(Model) A B C D E E%(Weight)
7.Y00048 SMBT4-G1820 @20 G1/8 19 14 28 11g
1EHEEHR SSW Connector SSW
22 (PN) EE) A ) C D E F G H &8 (Weight)
7.Y00028 SMBT1-M1412  M14*1 @12 16 16 45 8 25 20 169
S 47iE#ELR Parallel Connector
E
[a]
oy
L%
A .
S (PN) #IE(Model) A B C D E F E=(Weight)
7.Y00042 SMBP-0808 28 28 12 12 35 10 11g
7.Y00043 SMBP-0812 28 212 16 16 43 12 239
7.Y00044 SMBP-1212 @12 @12 16 16 44 14 21g
7.Y00045 SMBP-2012 @20 212 25 25 60 18 759
7.Y00046 SMBP-2020 @20 @20 25 25 66 24 71g

CRG



+=Fi&E#ER Cross Connector

|

D
B3y | FhE
aqn1 SNS . 3|1304d

9
2
' =2
#2(PN) A E(Model) A B C D E & (Weight) e
7.Y00025 SMBT-0808 08 8 12 12 35 10g 0
7.Y00026 SMBT-1208 012 08 12 16 43 169
7.Y00020 SMBT-1212 212 212 16 16 47 229
7.Y00794 SMBT-1214 212 014 18 18 48 29g
7.Y00027 SMBT-2012 @20 212 25 25 59 729 IS
7.Y00005 SMBT-2020 @20 @20 25 25 64 689 i

J9bueyd 3oInd

?
il oy
a|npo\ diug

7.Y01004 SMBT-4025 @40 225 30 45 92 27 107¢g

" &
\ .

B %l’.
£55(PN) B E(Model) A B C D E =& (Weight) #z
7.Y01002 SMBT-1414 @14 @14 18 18 46 259 53
7.Y00998 SMBT-2520 @25 @20 24 29 69 799 7%

7.Y00999 SMBT-2525 @25 @25 30 30 78 114g

E
[a] V- @a w %E
l\ & 1[5
X H=
DA §_
£ )
L © ’ 1

© I 2
e e
o
£8S(PN) #E(Model) A B @ D E F EE(Weight) <
7.Y01059 SMBT-4020 @40 @20 25 45 88 27 101g S
el
o

©
O
©
55 (PN) F5(Model) A B C D E F EE(Weight)
7.Y01003 SMBT-4040 240 240 45 45 112 112 2599

CRG



+=iEEHR  Cross Connection Block

CE E—— -
S e | = o
g4 A I o
§_ % g [ "
Q@ i
g%g \ ’ \‘\___@’
=] . - g )
z}ié : i E‘th(\
Ha )
HE(PN) BE(Model) A B C D) E EE(Weight)
7.Y00192 SMBT2-1212 @12 @12 33 28 28 119
7.Y00185 SMBT2-2020 @20 @20 48 42 42 309
RO 7.Y02020 SMBT2-4040 @40 @40 91 60 60 393¢g
e 7.Y02021 SMBT2-3030 @30 @30 71 50 50 252g
% 7.Y02022 SMBT2-2525 @25 @25 60 43 43 1659
E 7.Y02025 SMBT2-4025 @40 @25 75 60 45 2719
2 7.Y02026 SMBT2-4020 @40 @20 69 60 40 234g
3z O
s =
5=
w2 '
28
5>
@Z RS (PN) FE(Model) A C D E F (€] H I E&(Weight)
53 7.Y00329 SCD-2010 54 14 @10 19 28 19.5 @20 14.50 419
e
7.Y00330 SCD-2014 56 18 @14 22 28 19.5 @20 16.50 51g
7.Y01049 SCD-3020 75 18 @20 25 35 26 @30 20 789
B
s ©
?ﬁzé [~ J ©
ZH 3 P8 =~
Tt (
s : S ©
< ! G H
2 " :
+ >
W e ik
8 |
o
E ° -
g £E2(PN) EIE(Model) A B C D) E F G H EE(Weight)
2 7.Y00233 SCD-2020 61 61 19.5 @20 28 28 19.5 @20 85¢g
7.Y01050 SCD-3030 84 84 26 @30 35 35 26 @30 989

29

IEFASLAY / Application

VM18-M5

SCD-2010 ——=

VFR1011-M5

CRG

FGA-22-HT160



+=iEEEHR#2 Cross Connector#2

o . B3
- - 7=
%Q._. ’ 69 b

Cg @

S o
S|NPOA SIUBIS

£2(PN) A= (Model) A B C D E =E(Weight)
7.Y00047 SMBT3-2020 220 @20 25 78 45 1709
Hhe
e
o
== JF | Y v )
T=84E#EHR T Connector E
%
o ° B<
@ HE
: & e
. ®
‘ :
I r—;/;?{ﬂ T ol
\ -
&z
HE(PN) BEIE(Model) A B C D 3 3 G EE(Weight) %;;
7.Y00029 SMBF-0808 8 28 12 20 30 M4 14 14g B
7.Y00030 SMBF-0812 28 @12 16 20 30 M4 14 23g
7.Y00031 SMBF-1208 @12 28 16 26 30 M4 16 199
7.Y00032 SMBF-1212 @12 912 16 26 30 M4 16 189
7.Y00033 SMBF-1220 @12 20 25 30 45 M4 20 60g -
7.Y00034 SMBF-2012 @20 012 25 40 45 M4 25 639 %5
7.Y00035 SMBF-2020 @20 20 25 40 45 M4 25 569 EE
H=
c S
‘EQ%_-.\‘.\ 0 o
Ty i3]
fas

<}
syusuodwo?) A10ss8d0y

£RE(PN) A5 (Model) A B C D) E F G BEE(Weight)
7.Y00036 SMBF1-0808 28 @8 12 28 26 M4 22 15g
7.Y00037 SMBF1-0812 28 @12 16 28 30 M4 22 31g
7.Y00038 SMBF1-1208 @12 28 16 35 30 M4 25 299
7.Y00003 SMBF1-1212 212 212 16 35 30 M4 25 269
7.Y00039 SMBF1-1220 212 220 25 44 45 M4 34 88g
7.Y00040 SMBF1-2012 220 @12 25 54 45 M4 39 1119
7.Y00041 SMBF1-2020 220 220 25 51.5 45 M4 39 789

CXRG B



MRS . X

2qnL SNS . 3|!40id

HEE S A

9INPOA SIUIS

SR

Jabueyd }dIND

M

\
4

i

a|npo\ duo

b b2 |

saddiN 1y

FrisHHm

9|NPO wnndep

~
F=

sjuauodw o) A10ssa20Y

31

fE%EE37 28 Sensor Bracket

55(PN)
7.Y00070

A5 (Model)
SMBJ1-5

EE(Weight)
99

55 (PN)
7.Y00071

#E(Model)
SMBJ2-6

EE(Weight)

129

2B 28 Chuck Bracket

25.40

15

s

pal
17

40

[

32

24.70

10

25.40
15 y/
D & 0
N Zaran)
U N
25.40 dog
L
| Py

40.70

LI

£RS(PN) BlE(Model) A B @ D) E F G BEE(Weight)

7.Y00072 SMBT5-8 @8 M4 25 12 27 22 12 10g

7.Y00073 SMBT5-12 212 M4 30 18 30 26 14 199
CRG



%28 Bracket

A gl
@ 3 )
; ! =
| -
G | &5
[l I g
J Il
— wEAA
A
=%
1© © 2
= =
£ e
E o
2 (PN) £12(Model) A B C D E F E&(Weight)
7.Y00074 SMBT6-12 212 26.5 16 16 40 30 35g
IR 71228 Suction Bracket E‘s’.
o
e E
«Q
%2
E-B
VEES
e 8
5E(PN) A= (Model) A ) C D E E8(Weight)
7.Y00057 SMBG1-8M5 o8 M5 12 12 33 9g
7.Y00058 SMBG1-8M6 28 M6 10 12 33 9g g?
7.Y00059 SMBG1-12M5 212 M5 10 16 47 16g A
7.Y00060 SMBG1-12M6 212 M6 10 16 47 169 bk
7.Y00061 SMBG1-12G18 212 G1/8 16 16 47 25g
1B 48 Slide Bracket
N O
S <
o {B% ]
i I I H3
L B J =
. S
- 5
[l
O w
Y
HE(PN) BIE(Model) A ) C D E F G H &=&(Weight) Eg%’
7.Y00115 SCF1-40M3 M3 40 4.5 12 5 56 10 8 79 g
7.Y00118 SCF1-40G18 G1/8 40 45 12 6 68 16 14 12g <
7.Y00129 SCF1-70M3 M3 70 4.5 12 5 86 10 8 10g g
7.Y00132 SCF1-70G18 G1/8 70 45 12 6 98 16 14 15g 3

v \,j (&)= B ]

v g
55 (PN) BS(Model) A B C D E F G H BEE(Weight)
7.Y00173 SCF2-40M5 M5 40 M5 12 4.5 4 68 14 14 99
7.Y00117 SCF2-40M6 M6 40 M6 12 4.5 4 68 14 14 10g
7.Y00130 SCF2-70M5 M5 70 M5 12 4.5 4 98 14 14 12¢g
7.Y00131 SCF2-70M6 M6 70 M6 12 4.5 4 98 14 14 139

CRRG Y



23
ms SMZ3EL 28 Gripper Installation Bracket
e
g4
g
= =]
. el - 11 ]
2 " ':‘ SMBE1-1440T i
iﬁg SMBY14-50——
3 . .
® —— PEP2525 o
£E(PN) #Z=(Model) A G H I J EE(Weight)
RO 7.Y00740 SMBM-10 3.2 a5 D2 23 16.4 12 18 14 4 M10*1 5g
s 7.Y00741 SMBM-16 4.2 6.5 @3 30.6 23.6 15 22 15 5 M12*1 10g
% 7.Y00728 SMBM-20 @5.5 26.5 24 42 27.6 18 32 15 5 M12*1 149
L{SD 7.Y00739 SMBM-25 6.5 a7 @5 52 33.6 22 40 18 6 M17*1 279
- 7.Y00738 SMBM-32 @26.5 210 () 60 40 26 46 18 6 M17*1 369
7.Y00737 SMBM-40 @8.5 @16 @5 72 48 32 56 20 8 M27*1 679
%9
g+
|z
fgg 28112 BracketL12
g 3
s> - @ —— - —f D
= -
Nz
2 zs
48 18
< ®'\'7'
34 3 :
Eg o i ]
=g § 7
=
:
Q.

5S(PN) ES(Model) HE&E(Weight)

7.YO0081  SMBT9-12 23g
I %
e B
8 28 BracketT
p
o
3
E
% § oo —O— 2w
20
38
38 5
2M3 20 14 2-M4
L -3
Ros S—
12/ 24 22,50
48 17
17 15.50 4.50
»{-'_|b= ;::F.EE = 5 8
k) CRG—— d = -
[ |

50



%28 BracketT

32

36
30
2:

5.50

| 0o

45

21

36

36

R &
L~ _ il
BS(PN) #ES(Model) =E&(Weight)
7.Y00255 SMBU2-20 499
%28 Bracket TH
12
- ©
(D%
- Iy
i ] |
“ 12
27
20
e ~ ,I_xf\""
o Ly d
- \r L/
A J
HE(PN)  ElS(Model) HE&(Weight)
7.YO00085 SMBU3-8 10g
- ©
= 8
2,
<[] 0 [
| w0 | ©
E ‘—e——e— 0~

£55(PN)
7.Y00086

#5(Model)
SMBU4-12

BEE(Weight)
22g

38

CRG

B3y | FhE

3qnL SNS . 3|l404d

HEE A

S|NPOA SIUBIS

S SR

Jebueyd }dInd

il oy
a|npo\ diug

ham 2 20301

JaddiN 11y

FrisHHmt

S|NPOIN wWnNNdep

=

syusuodwo?) A10ss8d0y

34




. K

MEsS
2qnL sNs . a|yoid

HEE S A

9INPOA SIUIS

SR

Jabueyd }dIND

Mm%

a|npo\ duo

FFih

b b2 |

saddiN 1y

FrisHHm

9|NPO wnndep

~
F=

syusuodwo) A10ss900y

35

28 Bracket TH

-®

HS(PN)
7.Y00087

A5 (Model)
SMBU5-20

BEE(Weight)
449

28 Bracket TV

35

38

25

[ e
8 2
I T
e al
i I s
32
48

£E5(PN)
7.Y00088

BlE(Model)
SMBUG6-8

BEE(Weight)
10g

HS(PN)
7.Y00089

IS (Model)
SMBU7-12

EE(Weight)
269

28 BracketT

20

27

26

16

o

30

;
-
&
&

b~

48

HS(PN) &S5 (Model) EE(Weight)
7.Y00090  SMBUS8-20 39g
G

21.50

35

25

.ﬁ-
D

3-M4

T

19

40



EEX2ZE Fixed Bracket

_ 30 25 %g‘;
_ - ‘ -
—a < [ I [ I e
’ [ o
g
4 ??
SMBU9-M10 R
*Eg
M10X1 %
S (PN) BS(Model) =E=&(Weight)
7.Y01051 SMBU9-M10 21g
e
3ZZB Bracket ;
A 2

C
VT
@
AN 1 4
il oy
a|npo\ diug

5>
£ #imA-A %o g‘]ﬁg
E 73T
7z
£E2(PN) F2(Model) A B C D E F E&(Weight)
7.Y00091 SMBK1-8T10 08 10 16 ©55 30 20 209
7.¥00092 SMBK1-12T10 012 10 16 ©55 30 20 l4g
7.Y00093 SMBK1-20T10 @20 10 27 ©65 40 30 369
7.¥00094 SMBK1-8T16 08 16 16 ©65 30 20 329 Hs
7.YO00095 SMBK1-12T16 212 16 16 @4.5 30 20 209 EEE
7.¥00096 SMBK1-20T16 220 16 27 265 40 30 48g ﬁ;
o
o
B2 28 Slide Bracket £
>
B
- 2
—locs

syusuodwo?) A10ss8d0y

5S(PN) B 5 (Model) A B C D E F BEE(Weight)
7.Y00064 SMBS-8T10 @8 10 16 30 M4 20 16g
7.Y00065 SMBS-12T10 @12 10 16 30 M4 20 15¢g
7.Y00066 SMBS-20T10 220 10 25 40 M6 30 339
7.Y00067 SMBS-8T16 @8 16 16 30 M6 20 29¢g
7.Y00001 SMBS-12T16 Q12 16 16 30 M6 20 299
7.Y00068 SMBS-20T16 220 16 25 40 M6 30 449

CXRG )



MRS . X

aqnL SNS - 3|140.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

e

\
4

i

a|npo\ diig

b b2 |

saddiN 1y

FrisHHm

3|NPOIN Wnndep

-_3
e

sjuauodw o) A10ssa20Y

37

1BF5S7 28 Slide Bracket

L E.

55 (PN) #E(Model) A B C D E F E=(Weight)
7.Y00119 SCF3-40M10 M10*1 40 16 6.5 5 70 10g
7.Y00120 SCF3-40M12 M12*1 40 16 6.5 5 72 10g
7.Y00121 SCF3-40M17 M17*1 40 25 6.5 5 80 20g
7.YO0133 SCF3-70M10 M10*1 70 16 6.5 5 100 l4g
7.Y00134 SCF3-70M12 M12*1 70 16 6.5 5 102 149
7.Y00135 SCF3-70M17 M17°1 70 25 6.5 5 110 284
‘ G
cas® I ‘ I
- |
g D | E
— 7 @%‘: °
87 S
85 (PN) S (Model) A B C D E F (€] H I E&E(Weight)
7.Y00122 SCF4-0840W12 4.5 08 12 40 14 16 70 6 20 149
7.Y00123 SCF4-0840W16 6.5 08 16 40 14 16 70 6 20 209
7.Y00004 SCF4-1240W16 6.5 @12 16 40 16 16 75 6 25 21g
7.Y00124 SCF4-2040W25 6.5 @20 25 40 20 16 86 6 34 39¢g
7.Y00136 SCF4-0870W12 4.5 08 12 70 14 16 100 6 20 189
7.Y00137 SCF4-0870W16 6.5 28 16 70 14 16 100 6 20 259
7.Y00138 SCF4-1270W16 6.5 @12 16 70 16 16 105 6 25 259
7.Y00139 SCF4-2070W25 6.5 @20 25 70 20 16 116 6 34 49¢g
G
I’.
ol E e» -
| |
| D
H
58S (PN) #IS(Model) C D E F (€] H I EE(Weight)
7.Y00125 SCF5-0840W16 6.5 28 16 40 20 16 14 70 6 209
7.YO0126 SCF5-0840W12 4.5 8 12 40 20 16 14 70 6 15¢g
7.Y00127 SCF5-1240W16 6.5 @12 16 40 25 16 16 75 6 209
7.Y00128 SCF5-2040W25 6.5 @20 25 40 34 25 20 86 6 53¢
7.Y00140 SCF5-0870W16 6.5 08 16 70 20 16 14 100 6 259
7.Y00141 SCF5-0870W12 4.5 8 12 70 20 16 14 100 6 199
7.Y00142 SCF5-1270W16 6.5 012 16 70 25 16 16 105 6 259
7.Y00143 SCF5-2070W25 6.5 @20 25 70 34 25 20 116 6 48¢g
=G



JE4Es7 28 Rotation Bracket

Filled
ZE
;o
g9
&
~ >
_Vi0g,.
Ly T w2
2
7 Em
i
E =
E
8S(PN) #S(Model) A B C D E F G H EE2(Weight)
7.YO0099 SMBR2-M10 M4 M10 14 14 26.5 11.5 28 19 69 o
7.YO0100 SMBR2-M12 M4 M12 16 16 33.5 13.5 D12 23.5 12g ﬁ%-
o)
%
E
F %9
: B9
OL J L ZH§
s e
H A
¢
o
5z
© oF
BU O
Eche]
7z
55 (PN) #S(Model) A B C D E F G H E&Z(Weight)
7.Y00103 SMBR4-0808M4 M4 28 28 12 32.5 11.5 12 17.5 79
7.YO0110 SMBR4-1208M4 M4 212 28 16 37.5 11.5 16 21.5 139
7.YO0019 SMBR4-1212M4 M4 D12 212 16 39.5 13.5 16 23.5 159 E§
7.Y00268 SMBR4-1212M4L M4 212 212 16 55 29 16 39 209 EEE
7.Y00461 SMBR4-1420M6 M6 214 220 25 60 20 25 37 709 hé
7.YO0007 SMBR4-2020M6 M6 220 @220 25 60 20 25 37 599 §_
7.Y00206 SMBR4-2020M6L M6 220 @220 25 85 45 25 62 81lg o
B
i3

syusuodwo?) A10ss8d0y

T
B
£5(PN) BE(Model) A B C ) E F G BE&E(Weight)
7.Y00111 SMBR5-1208 @12 @8 29 14 38 22.5 135 249
7.Y00104 SMBR5-0808 @8 @8 29 11.5 36 20 13 169
7.YO0112 SMBR5-1212 @12 @12 29 14 38 22.5 135 18¢g

CXG JEL



. K

MRSy
aqnL SNS - 2|140ud

HEE S A

9INPOA SIUIS

BEGES 28 Rotation Bracket

(02

J

C D E F G

H

HE(PN) BIE(Model) A B I J EE(Weight)
7.Y00113 SMBR7-0808 28 28 16 15 15 25 10 15 21 32.5 139

7.Y00114 SMBR7-1212 212 @12 20 18 18 29 11 18 23 38 18g

SR

Jabueyd }dIND

Mm%

a|npo\ duo

i

b b2 |

saddiN 1y

FrisHHm

9|NPO wnndep

~
F=

sjuauodw o) A10ssa20Y

39

£5(PN)
7.Y00063

#lE(Model)
SMBR-46

EE=(Weight)
31g

t5E(PN) ElE(Model) ZE&(Weight)
7.Y00098 SMBR1-12 99
CG

13.50

46
6

22

28.50

9

22




REZEESZE Direct Connector For Vacuum Cup (47&#4i%E) (Kit With Screws Option)
T NEBRSTEM R SMESIT 0 BUESVA-G18T #57.Y00235-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SVA-G18T Part number 7.Y00235-T AU g
7=
e
P c
! i
&
|l = |-
| w
=2
- 2
[ il Ew
e Zﬁ?
A%
:H&?
— — o s
o
g
*xQ
E_-B
VEES
He
FGA-43-HT1-60
VM24-G18
PFG-25-SI-55 52z
&z
B3
VM35-M5 Jle
SVA-G18 ‘
—— SVA-G18
_al PEP2525 PEP2525
»w s
H3
{¢§
HE(PN) 7.¥00235 7.Y00237 £
#E(Model) SVA-G18 SVA-G14
A(mm) G1/8 G1l/4
B(mm) G1/8 G1/8
C(mm) 15 15 l}ﬁﬁ
D(mm) 24 24 L
E(mm) 12 10 S
PEP2518 v N o
PEP2525 v N 3
PEP5025 v v §
PEP4040 v v b
PEP3030 v v
12 €T % B {4 Accessorier selection
B2 4% (Screws) PTC-M5L16*2 PTC-M5L16*2
SNy Single hole shim) PTS-M5*2 PTS-M5%*2
TEUREF(T-Nuts) PTN-M5P30*1 PTN-M5P30*1
BEEWeight) 42g 40g

CRG )



0f &2 Bl e 52 28

Direct Connector For Vacuum Cup

(RETEHi5%HES) (Kit With Screws Option)

e NERETEMRSMESMT W BESVB-M5T £5E7.Y00242-T

ggg Note: If screw kits needed, add T to the part number and model number. eg: Model SVB-M5T Part number 7.Y00242-T
7= £ <
e .
%:; 7 N
| el
@ 0
e .
iﬁ% _
o
= W ©
| E— | N )
o
g
3= O
é% FGA-43-HT1-60
\E
e VM24-G18 - FGA-25-HT1-60
.i“" VM02-G18
= »
SVB-G18
5z \
Bz . SVB-G18
L PEP2525
PEP2525
E§ 25 (PN) 7.Y00242 7.Y00244 7.Y00243
fﬁg #lE(Model) SVB-M5 SVB-G18 SVB-G14
e A(mm) M5 G1/8 G1/4
g B(mm) 16 25 25
@ C(mm) 13.5 21.5 21.5
D(mm) M5 G1/8 G1/8
E(mm) 8 15 15
iz F(mm) 4 7.5 7.5
1¢§ G(mm) 29 445 46.5
g H(mm) 18 25 25
< I (mm) 4.3 8 10
E PEP2518 - v v
3 PEP2525 - N N
£l PEP5025 - Vv Vv
’ 12 £7 1% B 14 Accessorier selection
BRZ% (Screws) PTC-M4L12*2 PTC-M5L16*2 PTC-M5L16*2
yﬂﬁqzﬁ(single hole shim) PTS-M4*2 PTS-M5*2 PTS-M5%*2
TEUREH(T-Nuts) PTN-M4P8*1 PTN-M5P15*1 PTN-M5P15*1
RAEEEWeight) 159 45¢g 45¢g

238 CG



IREINKEESZZE Mounting Bracket For Vacuum Cup (25T&#%#) (Kit With Screws Option)
MBI EM S SMBIS T 4 BESVC-M5T £57.Y00328-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SVC-M5T Part number 7.Y00328-T fii
N E 7f7.f§_“~
N o) %mm
| &
&
Qy | o B
© © d =D 1
s
o - H2
zag
I oy
RO
) - #s
M E ;;.
%2
E_U
FGA-43-HT1-60 gs
e
/ VM24-G18 °
| % 5z
:t’ : — SVC-G18 gg
: it
—— PEP2525
B
£55(PN) 7.Y00328 7.Y00238 7.Y00239 B3
B E(Model) SVC-M5 SVC-G18 SVC-G14 {4:%
A(mm) M5 G1/8 G1/4 B
B(mm) 16 25 25
C(mm) 14 21 21
D(mm) M5 G1/8 G1/8
E(mm) 8 15 15 By 2
F(mm) 4 7.5 75 #F%
G(mm) 65 88 88 i
H(mm) 40 50 50 9
L(mm) 6 10 10 3
M(mm) 8 15 15 ]
N(mm) 4.2 5.2 ?5.2 @
PEP2518 v v v
PEP2525 v v v
PEP5025 v v v
PEP4040 - v v
PEP3030 v v v
12 £T 3% B 14 Accessorier selection
IR (screws) PTC-M4L12*2 PTC-M5L16%*2 PTC-M5L16%*2
KA HY (single hole shim) PTS-M4*2 PTS-M5%*2 PTS-M5%*2
TEUREH(T-Nuts) PTN-M4P8*1 PTN-M5P15*1 PTN-M5P15*1
SLFLFHYDouble holes shim) PTD-M4P8*1 PTD-M5P15*%1 PTD-M5P15%1
BEEWeight) 20g 60g 60g

CRRG Ry



A et IR 2 EESZZE Mounting Bracket For Vacuum Cup (25T&#4i%8) (Kit With Screws Option)
BRI EMSRSMESIT a0 885SVD-M5T £857.Y00416-T

ggg Note: If screw kits needed, add T to the part number and model number. eg: Model SVD-M5T Part number 7.YO0416-T
7=
g I-—“E )%
e
=5 5 ( )
= =
g’ &3
® T
F e @ o O
i R
== ¢ ™
85 W g Q D SIS
E 1Ia
el :
.|~;&,(E)
23
9
%
VM33-M5
%o FGA-16-HT1-60
Az PFG-20-SI-55
He
VM18-MS SVD-MS\\g’
SVD-M5
52
#z
B3 PEP2518
7% PEP2525
RE(PN) 7.Y00416 7.Y00417 7.Y00418
BHs FE(Model) SVD-M5 SVD-G18 SVD-G14
gg A(mm) M5 G1/8 G1/4
F= B(mm) 16 25 25
g C(mm) 13 21 21
® D(mm) M5 G1/8 G1/8
E(mm) 10 15 15
F(mm) 5 7.5 7.5
Bz G(mm) 28 43 13
i H(mm) 10 17 17
8 PEP2518 v v v
E PEP2525 v v v
3 PEP5025 v v v
% PEP4040 - v v
2 PEP3030 v v v
B2 £7 5% BC {4 Accessorier selection
B8 4% (Screws) PTC-M4L12*2 PTC-M5L16*2 PTC-M5L16*2
WA EHY(single hole shim) PTS-M4*2 PTS-M5%*2 PTS-M5%*2
TEUMREHT-Nuts) PTN-M4P8*1 PTN-M5P15*1 PTN-M5P15*1
BB EWeight) 15g 45¢g 429

2R CG



kL= fF Leg For Vacuum Cup

IZFELH / Application

FGA—16—HT1—60—’
VM02-G18 — ==

SVE-G181440

FGA-43-HT1-60

VM24-G18

SMBE1-1440
SVE-G181440
PEP2518 ﬁ
ﬁ" SMBC-1432
PEP2525
23S (PN) S (Model) Al(mm) A2(mm) B(mm) C(mm) D(mm) E(mm) F(mm) E=Z(Weight)
7.Y00410 SVE-M51030 M5 M5 210 30 11 6 16 10g
7.Y00411 SVE-M51060 M5 M5 @210 60 11 6 16 139
7.Y00412 SVE-M51090 M5 M5 210 90 11 6 16 17¢g
7.Y00772 SVE-M51230 M5 M5 212 30 13 7 17 12g
7.YO0773 SVE-M51260 M5 M5 212 60 13 7 17 159
7.Y00774 SVE-M51290 M5 M5 212 90 13 7 17 199
7.Y00413 SVE-G181440 G1/8 G1/8 D14 40 15 8 22 179
7.Y00414 SVE-G181480 G1/8 G1/8 214 80 15 8 22 25¢g
7.Y00415 SVE-G1814120 G1/8 G1/8 214 120 15 8 22 329
7.YO0008 SVE-G142050 G1/8 Gl/4 @220 50 20 8 23 409
7.Y00009 SVE-G1420100 G1/8 Gl/4 @20 100 20 8 23 60g
7.Y00010 SVE-G1420150 G1/8 Gl/4 @20 150 20 8 23 759

C=RG

B3y | FhE

agnL SNS . 3|1401d

HEE A

S|NPOA SIUBIS

S SR

J9bueyd 3oInd

S
a|npo\ diug

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

44




FhE Clamp Leg

=LA / Application

A
M% D
; ©
§- .
Q‘é% M
EV’
Zﬁi
i o
Be B ERKE
X Clamp Leg Heavy Clamp Leg
3 (SCA1) (SCA2)
3
e | e
EQ
g3
|\
as PFG-60-SI-55 e
VM-G14M-M10M GFR20-95
VFM-2020-G14 SMBK1-20T10
sz a £
%g SCA1-2020L100 SCA1-2020L100——
712 y
SMBK1-20T10
PEP2525
PEP2525
BS
#H3
ﬁ:gg,- 55S(PN) FE(Model) A(mm) B(mm) C(mm) D(mm) F(mm) G(mm) EE(Weight)
< 7.Y00398 SCA1-1010L30 @10 @10 30 14 19 19 10g
7.Y00399 SCA1-1010L60 @10 @10 60 14 19 19 159
7.Y00400 SCA1-1010L90 @10 @210 90 14 19 19 209
7.YO0769 SCA1-1212L30 @12 @12 30 19 21 21 139
Bﬁ; 7.YO0770 SCA1-1212L60 @12 @12 60 19 21 21 18g
1¢§ 7.YO0771 SCA1-1212190 @12 @12 90 19 21 21 23g
5 7.Y00401 SCA1-1414140 @14 @14 40 18 26 24 20g
2 7.Y00402 SCA1-14141L80 @14 214 80 18 26 24 309
-g 7.Y00403 SCA1-14141120 014 014 120 18 26 24 409
§ 7.Y00404 SCA1-2020L50 @20 @20 50 25 32 31 459
a 7.Y00405 SCA1-2020L100 @20 @20 100 25 32 31 709
7.Y00406 SCA1-2020L150 @20 @20 150 25 32 31 1059
7.Y00407 SCA1-3030L80 @30 @30 80 40 44 46 1709
7.Y00408 SCA1-3030L140 @30 @30 140 40 44 46 2309
7.Y00409 SCA1-3030L200 @30 @30 200 40 44 46 3009
7.Y00996 SCA2-2020L50 @20 @20 50 25 32 31 659
7.Y01000 SCA2-2020L100 @20 @20 100 25 32 31 869
7.Y00997 SCA2-2020L150 @20 @20 150 25 32 31 101g
7.Y01006 SCA2-3030L80 @30 @30 80 35 43 42 209¢g
7.Y01005 SCA2-3030L140 @30 @30 140 35 43 42 288g
7.Y01001 SCA2-3030L200 @30 @30 200 35 43 42 3449

45 ebs{c



IEEEz3E Swivelling Support

IEFALI / Application

Q:\
' 0
|
g [&4-— & —-
\_ | )
| o>
L o]
19.50 E |
A
S (PN) 7.Y00236 7.Y00234 PFG-40-SI-55
Hs(Spec) SCC-20G18 SCC-20M16 e
A(mm) 54 60.5 VM35-M5
B(mm) 19 24
C(mm) 5 6
D(mm) G1/8 M16x1
E(mm) 25 29 PAT20
G(mm) R9.5 R12 : SCC-20M16
BEE(Weight) 30g 409

CRG

B3y | FhE

aqnL sNS . 3|140id

HEE A

S|NPOA SIUBIS

S SR

Jebueyd }dInd

S
a|npo\ diug

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

46




MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-_T3
=
e

sjuauodw o) A10ssa20Y

47

NREZJJEESZZE NR Nipper Mounting Bracket

<q ————NR20-P
T
—SCE-NR20

‘Al

SMBE3-2040T

- PEP2525
E2(PN) 7.Y00331 7.Y00261 7.YO0742
72 (Model) SCE-NR20 SCE-NR30 SCE-NR50
A(mm) @20 @20 @30
B(mm) @45 @56 @75
C(mm) 35 40 48
D(mm) 28 33 41
E(mm) 94.5 111 138
F(mm) 53 65 83
G(mm) 20 25 40
=E(Weight) 659 110g 308g

GT-NS20

PEP2525

d SMBE1-2060T

HE(PN) 7.Y00692 7.Y00693 o
A2 (Model) SCE1-NS20 SCE1-NS30 0 =
A(mm) 245 ?56

B(mm) @20 @20

C(mm) 65 76

D(mm) 27 33

E(mm) 40 40 D E

F(mm) 25 25

G(mm) 94 106

E&(Weight) 111g 123g
NYOS5 BEJEEER  NYOS5 Fixing Block

33 21
GT-NYO05 - ‘ l ‘ _ g
- N g I ®7.20
- SMBE1-1240T,
Uy - |
. D12
b = SCE2-05 5
A
N
#S(PN)  EES(Model) E&(Weight) @

7.YO0796 SCE2-05 179

CRG




NY10.NY15 BZ7JEER  NY10.NY15 Fixing Block

45 35 "D
GT-NY10 S — 3
il b [ ==
' D7.20 | ~ i@:&
N Y B 5
M @20
SCE2-1015 45
u 35 %g
%0 e
g
D 4.50 =
Q&8
#2E(PN) #ES(Model) =E(Weight)
1.Y00094  SCE2-1015 389 E‘g_
o
NY25BI7JEZER  NY25 Fixing Block 2
52 5.20 %’ ;EQ
GT-NY25 @ Bz
9 10 o He
- « )
-
& y @20
- 54
40 5z
SCE2-25 &z
3
SMBT-2020 g o
52(PN) HE(Model) EE(Weight) _
7.Y00633  SCE2-25 61g %5
‘53
fiz
BIJ]EESZE Nipper Bracket 2
g‘
‘ D < F
Bl o€ LO & W%
o o © b /-e 3
o
o )4 o <
&
3
E
= Z
SCE3-N20
RS (PN) BE(Model) A B C D) E F EE(Weight)
7.Y00075 SCE3-N10 036 M6 40 75 45 30 2469
7.Y00076 SCE3-N20 45 M6 40 75 53 30 2289
7.Y00077 SCE3-N30 256 M6 40 86 63 30 2679

CRRG X



. K

MEsS
aqnL sns . alyoid

HEE S A

3|Npo 51U31S

SR

J9bueyd }oINd

s

a|npo\ diig

i

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-_3
=
e

sjuauodw o) A10ssa20Y

49

5S(PN) 7.Y00868
STV SCE4-NR(L.R)

XL.RECXIIHE L.RUse together
XGT-NRF GT-N Use
XE 2 Weight : 65.5g

SCE4-NR20

M ]
< i SCE4-NR(L.R)
8 & 3
9’ I I 3’ I I
SEEENEZE Gas Cut fixation
‘
DA ¢
o
o) M5 | AN
v [a]
85 (PN) #Z(Model) A B (@ D E F BE=(Weight)
7.Y00146 SCE4-NR30 56 35 85 10 40 15 111g
7.¥00147 SCE4-NR20 45 30 75 10 40 15 93g
7.Y00148 SCE4-NR10 36 25 65 10 30 15 729
BT OE AL iS22 Adjustable Nipper Mounting Clamps
GR12B-12 SCE4-NR30 |ﬁ@| | o
D

20

N30AA1l4  SCE-NR30-D12
SCE4-NR(L.R)
=2(PN) FI2(Model) A B C D E & &8(Weight)
7.Y00946 SCE-NR20-D10 @45 210 56.5 93 65 57.5
7.Y00947 SCE-NR20-D12 @45 212 56.5 93 65 55.5
7.Y00948 SCE-NR30-D10 @56 @10 62.5 104.5 77 67.5
7.Y00949 SCE-NR30-D12 @56 212 62.5 104.5 77 65.5

CRG



MM FERBEZZE Access Robot Bracket

lw)
(s3]
B3y | FhE

aqnL sNS . 3|140id

e

HEE A

S|NPOA SIUBIS

RS (PN) BE(Model) A B C D) E EE(Weight)
7.Y00051 SMBH1-8M5 08 14 35 12 @5.5 15¢g
7.YO0052 SMBH1-8M6 28 14 35 12 6.5 12g o
7.YO0053 SMBH1-12M5 012 20 39 16 5.5 30g }ﬁ%
7.Y00002 SMBH1-12M6 @12 20 39 16 6.5 259 5
7.YO0054 SMBH1-12M8 @12 20 45 25 @9 429 é
7.YO0055 SMBH1-20M6 @20 20 50 25 6.5 489 2
7.YO0056 SMBH1-20M8 @20 20 50 25 @9 51g
. %o
o
T HE
Q.
S — {LT-%
D W
G
N
w . 52z
?G g W 2
Ol B
=R 7%
“ ©
- T
BS
z=2
@‘ 3
1¢§
85 (PN) #E(Model) A B C D E F (€] H T E&E(Weight) o
7.YO0869 SMBE7-18M5 16 82 6 15 15 27 5.5 18 7 20.5¢g
7.Y00870 SMBE7-18M6 16 82 6 15 15 27 6.5 18 7 209
7.YO0871 SMBE7-25M5 16 90 7 15 15 30.5 @5.5 25 7 22.5¢g W
7.Y00872 SMBE7-25M6 16 90 7 15 15 30.5 6.5 25 7 229 1%

iBFASLA / Application

syusuodwo?) A10ss8d0y

CRG )



MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

51

== Elbow Arm

izFAsLf5 / Application

Y

GRX20-CN

SEA-2020L50 3

SMBE3-2040

£5(PN)

S (Model)

A(mm)

|

B(mm)

C(mm)

¥ .

GBD22HU ——=

SEA-1414L80

SMBE2-1450 é

D(mm) E(mm) F(mm) G(mm)

EE8(Weight)

7.Y00388 SEA-1010L60 @10 210 60 10 13 93 12.5 20g
7.YO0776 SEA-1212L60 @12 212 60 12 15 98 14.5 229
7.Y00389 SEA-1414L40 214 214 40 14 16 82 16.5 329
7.Y00390 SEA-1414L80 @14 Q14 80 14 16 122 16.5 429
7.Y00391 SEA-1414L120 @14 Q14 120 14 16 162 16.5 50g
7.Y00392 SEA-2020L50 @20 @20 50 20 19 104 22.5 709
7.Y00393 SEA-2020L100 @20 220 100 20 19 154 22.5 90g
7.Y00394 SEA-2020L150 @20 @20 150 20 19 204 22.5 120g
7.Y00395 SEA-3030L80 @30 @30 80 30 27 160 34.8 2359
7.Y00396 SEA-3030L140 @30 @30 140 30 27 220 34.8 3009
7.Y00397 SEA-3030L200 @30 230 200 30 27 280 34.8 3609
CRG



BAYEE  Heavy Duty Elbow Arm

—

IZFIELHI / Application

4O
B3y | FhE

3qnL SNS . 3|l404d

OSED0A 'L )
Sa=0 I

?s
[

i |

LOJ

o
RS S A X
3|NPOIA SIUBIS

®me
e
9
%
VFE2026-G18 %o
H3
HE
"
SEAH-2020L50——— SEAH-2020L50

- ._<—'7‘..-‘ % ?
SMBE1-2060 —o8 - A SMBE1-2060 3
W N :

£35S (PN) 7.Y00350 7.Y00351 7.Y00166 7.Y00352 7.YO0353 JAERY:
BS(Model) SEAH-2020L50 SEAH-2020L100 SEAH-2020L150 SEAH-3030L80 SEAH-3030L140 SEAH-3030L200 BS
A(mm) @20 @20 @20 @30 @30 @30 ?Eg
B(mm) @20 @20 @20 @30 @30 @30 &2
C(mm) 50 100 150 80 140 200 S
D(mm) 25 25 25 35 35 35 5

E(mm) 19.5 19.5 19.5 27.3 27.3 27.3

F(mm) 1135 163.5 213.5 168.5 228.5 288.5

G(mm) 28.7 28.7 28.7 40.7 40.7 40.7
BEE(Weight) 95¢g 115g 1309 330g 380g 435¢g ?E

syusuodwo?) A10ss8d0y

CRRG By



BEFRFEEE  Elbow Arm For Vacuum Cup

iERASLf / Application

BT
ZE
& A
e ”
B 5
8 |
C | F
2 H
e E
% A 1
o3 =
& ‘} r Q@ o
HS
g g
T*[(E)
e
Q
2 FGA-43-HT1-60 FGA-43-HT1-60
2 ./
%g VM24-G18 N
e VM24-G18
< SEAV-G1820L75 g‘t_,
l SEAV-G1820L75
> =
g; SMBE4-2012 r' \Qer SMBE2-2060
Eik PEP2525 &
78 >
(-LPEpzsls
Hs
=
48 3 HE(PN) A E(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) L(mm) ZE&E(Weight)
#%  7v00432 SEAV-M51045 M5  ©10 45 165 55 19 10 14 11 18g
£ 700433 SEAV-M510L90 M5 210 90 165 55 19 10 4 11 279
7Y00258 SEAV-G1814L60 G1/8 014 60 22 85 29 14 22 135 33g
7Y00434 SEAV-G1814L120 G1/8 ©14 120 22 85 29 14 22 135 50g
7Y00435 SEAV-G1820L78 G1/8 @20 78 22 85 29 14 22 135 609
Bt 7Y00247 SEAV-G1820L153 G1/8 ©20 153 22 85 29 14 22 135 100g
1* 7Y00436 SEAV-G1420L75 G1/4 @20 75 27 12 38 20 28 15 75g
7Y00437 SEAV-G1420L150 G1/4  ©20 150 27 12 38 20 28 15 115g

sjuauodw o) A10ssa20Y

53 e {c



EREREH Bush Nut

o
ZE
w NS
e
g2
g
DA
=%
Zms
Em
i
H2(PN) FE(Model) A B C D E F&(Weight)
7.¥00271 SBNA-8M5 28 M5x0.8 212 8 10 1g .
7.¥00272 SBNA-8M6 238 M6x1.0 212 8 10 1g RE
7.¥00273 SBNA-12M5 212 M5x0.8 216 16 18 59 5
7.¥00274 SBNA-12M10 212 M10x1.0 @16 16 18 39 g
7.Y00276 SBNA-20M12 220 M12x1.0 @24 16 18 11g 3
7.¥00277 SBNA-20M17 220 M17x1.0  ©24 16 18 59
%9
B
ze S
He
(& )
sz
iz
o3
Gk
BS
HE(PN) #E(Model) A B C & (Weight) =8
7.Y00275 SBNB-12PT18 PT1/8 012 16 29 1[5
7.¥00278 SBNB-20PT18 PT1/8 220 25 179 trg
E& Bush
@B
B
(a3

syusuodwo?) A10ss8d0y

55 (PN) BE(Model) A B C BEE(Weight)
7.Y00280 SBND-1208 28 @12 16 69
7.Y00281 SBND-2012 212 @20 16 99
7.Y00282 SBND-2008 28 @20 16 11g

CRG B




B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

il
a|npo\ diig

b b2 |

JaddiN 11y

FHEHbm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

55

BHahRiEERER Quick Changer

NS A KIS iR B

Robot End Quick Change Device

Fﬂﬂﬁﬁ'/Product advantages
SiEE
EEFTNRAMNSKEMEREMUER, RETRS
EEEMEE. BARBHRNAKRALEEERILS TH#HEFE
=oRE
RERIGIHT SR EEAFRBANBES,
CRGHEFARIRIREEE R B BRANNIERS,

UENAZENSROBMNTERR, BRTHEKRY, RIETEEEMUFE,
== i BRI AT
=] Ae

Quick Changer Installation Example
ZHERRITHENG, ERTKEGBEHANG, XBTSmREIEEMIRT,
RIET E SRR R E o

High precision
The piston adjusting gripper side play the role of positioning, which provides high repeat positioning
accuracy. One million cycle tests show that the actual accuracy is much higher than the recommended value.

High strength

The locking piston with large cylinder diameter has strong locking force, CRG robot end fast device has strong anti
torque ability. When locking, there will be no shaking due to high-speed movement, thus avoiding locking failure and
ensuring repeated positioning accuracy.

High performance

The locking mechanism with multi conical surface design, long life sealing components and high quality elastic contact

probe are adopted to ensure the close contact of signal module.

C=G



B s RIFEEIRELR Quick Changer

Detection switch 3 clamping & releasing

———Alarm can be given when the piston is deviated during

B
E:
N [}
e
3
BIE(Model) QCAO5 QCA15 QCA25 QCA35 QCA50 QCA100 QCA200 ‘ QCA200-D1
E?gﬁrﬁedpawoad 3~5kg 10~15kg 25kg 25~35kg 35~50kg 70~100kg 150~300kg 150~300kg o
AN i i - - _ B i i - Tl
e QCA-05R QCA-15R QCA-25R QCA-35R QCA-50R QCA-100R QCA-200R | QCA-200R-D1 ZE z
Q.
=
%}%ﬂrside QCA-05G QCA-15G QCA-25G QCA-35G QCA-50G QCA-100G QCA-200G | QCA-200G-D1 ®
SEE B
o path 6-M5 6-M5 12-M5 8-G1/8 9-61/8 7-G3/8 12-G 3/8 8-G3/8
BRSI@B0Psi (5.58ar) 620N 1150N 2400N 2900N 4600N 12000N 16000N 16000N RE
Locking Force@80Psi ( 5.5Bar) 1 =
[a)
FRER 5
et weight 037 kg 0.27 kg 0.35kg 1.35kg 1.68 kg 5.13kg 9.00kg 9.00kg g
%2
H3
[z
M2z AM FEM me
Robot side Gripperside o)
=2
Nz
. BU O
- Eche]
% ”
o camnoctor femle S0 (4%)
90° connector (male) Hs
T AMESER FEMESER E’Eg
Signal module of robot side Signal module of gripper side ﬁz
S
=
o
[ ] &) ., oge .
ZeMaE (EBZ) /Safety capability (option)
ENREMEEFL, ZERHF .
Three safety capability switch, multiple protection it §
ShER#& M External detection 8
-——BEX R #L &8 A flade B 2 AL & % 0K A
———Checkwhether the piston in the robot side movesin g
xan place during clamping & releasing -§
Gripper side s Tt K 3
1 FF % @ | BB M Internal detection | @
Derectionsint 1 e g AT RSN HLEE AP E B E R REE !
=N BAFXO | e AAEEARETURE, BeTERABE |
Robot side L N 1 ———Check whether the piston in the robot side moves in place during I
BWUFXO [
I I
I I
| |
I I

CRRG 19



MRy |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

TG H it
3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

57

B ahtRiEFEEER Quick Changer

B S Al

Rated Load Test

N/paliddy peo
N/ S &

6000

5000

4000

FEnnHefar- BB 3E (L B 25

Gap Variation Curve when Load Applied

S
0.01 0.02 0.03 0.04 0.05
[EfE/mm
Gap/mm

0.06

QCA-2008 zfiR#R
QCA-200 Quick Changer

X-YEp S & NS

X-Y Static Bearing Moment Test

C=G

BHEHE | gx | a® |

0.000

EEEE

Ltdaaca el &

A0

1TEE T KM

1%

28 26 L as & EE L= BS5

()

78




B ahtRiEFEEER Quick Changer

i
=
= S o, .o
RAG i R
Maximum load test &2
rEINET-EFE 2

Gap Variation Curve when Load Applied %8
18000 £
<
A3
16000 3

14000

£ ji5 12000
510 10000 Re
g s
g 8000 5
“Z 6000 g

4000
2000 %9
E_U
0 VEES
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 e

BB/ mm
Gap/mm

QCA-200851R#%
QCA-200 Quick Changer

P P2 S
Jaddin J1y

ZAFHSEHIEIAE

BS

Z Static Bearing Moment Test %3

z

[

|igmmz | s | == | leiEEE | | | By |
SR

M acd L@El B

Fae b Ak S

3

3

o

E]

(FEIO]

CRRG 1



B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

b b2 |

JaddiN 11y

RS
3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

59

1EHRSEE Module Type

FAMERLHEF I

Module Mounting Mode on Gripper Side

R

QCSM-**G

v

o

M2z AR IRLZE 7

Module Mounting Mode on Robot Side

QCSM-**R — (-
- :
#iRDescription 15 pins
o m EEM m EEM
) E%*Eik @ﬁﬁt}}.&] Gripper side @ﬁ%{:&] Gripper side
Signal module QCSM-15R1 QCSM-15G1 QCSM-15R2 QCSM-15G2
A (83k) EiE (k) EiE (83k) EE (~3k)

=S s

Signal connector or cable

DB15R1-1000" DB15G1-1000"

Connector (female) Connector (male) Connector (female) Connector (male)

D-Sub15R2-1000" | D-Sub15G2-1000”

QCA-05R N

QCA-05 OCA05G N
QCA-15R N

QCA-15 OCA-15G J
QCA-25R N

QCA-25 QCA-256 J
QCA-35R N

QCA-35 e J
QCA-50R N,

QCA-50 0CA-50G J
QCA-100R N

QCA-100
QCA-100G i
QCA-200R N

QCA-200
QCA-200G N

QCA-200R-D1 N
QCA-200-D1
QCA-200G-D1 J
B S ol 50V 50V
Electrical characteristics CEEr';;)Et 2.5A 2.5A

@ EBLEM ALK The cable’s lengthis 1 meter

C=G

@ {UEL , AE%#F Jointonly, no wire



EHRZEE Module Type

failpns
ZE
__ e
——— QCA-**G g
=g
=
Hs
RO
23
9
Mg AN FEM HiEg AN FEM Mg AN FEM £9
Robot side Gripper side Robot side Gripper side Robot side Gripper side =25
/=
QCSM-08R QCSM-08G QCSM-19R QCSM-19G QCSM-26R QCSM-26G ﬁé’
il (8k) R (23k) il (8%) =l (a3k) R (8L ) =l (k) ”
Connector (female) Connector (male) Connector(fem?zl)e) Connector(malg Connector(fema(lg) Connector(mal%
3108A22-23S® 3108A22-23P® C’\:/|B53116F14-19S — MS3116F14-19P — MS3116F16-26S > MS3116F16-26P
08E-14-195(072)SR-B CMBOSE-14-19P(072)SR-B CMBOSE-16-265(072)SR-B CMBOSE-1 5_2521012)53_@
52
#z
S
J]2
B
H3
=
J J J

N

2N

2N
syusuodwo?) A10ss8d0y

380V 220V 220V

30A 3A 3A

c=c (@)



B REFEEER Quick C

hanger

z:  QCA-05
e
B9
g
%7
=
63
HEsAM FEM AR AMEFF X
Robot side Gripper side Robot side strap switch
T%'(:) =} =
o CSlGUOR  8.Y00355 C =N 8.Y00356 =10 8.Y00355-SP | 8.Y00355-SN
o) A=Vl QCA-05R aib=1(eelEhl QCA-05G aaE=10VIele ) QCA-05R-SP | QCA-05R-SN
E AR ESiamxs) PNP NPN
[} *Material: steel TERERN
AR SERUE A
Tor modals with sensors. ¢
%0 ?49 EREE—
E-E 20 /
gz R RS SEEEEEE 7
i f — '~ g
4XM3V6
5z O (¢} Al
3 00 | [oFa=
BUD 1
at ' =
P2V4.5 °
o Q el
o — ©
I3\ 10
V& dosure 39
BS
z52 B M5 Unlock Port M5Lock Port 17. 50
e P geEERn 21.50
e R HEE M HRARDMMNY 6 12.50
g Theredareaiconyavailable  [heredarealsontysualble 12
o for models with sensors.
5 9
....... S - Il
: = ERE T ©+ "@
BﬁE S T ; 8 < I O m 5
3 3 - 3 o ool,,—@m o{o)y— ¥
o 1 b '
i g - @ _________ l © -]
E N R (|
] .
: © H8 | 14 M4 ﬁ%@%ﬁ@
“ + Mounting Bolts @ 6XMS 6XMS @
o
N
AN
Robot side

AZSEOPE The air connection locked

B.Z3 S #AFTF Air connection released

1AL A MIZERE Robot side connection

2 MBEGEREFREFL Threaded through-holes

3 1EFER %2 E Optional mounting surface
N CRG

4 EZFENMSHE Positioning pin
5.FIBESFL straight through air hole
6.7 LA Central positioning

7 B3P R EE Protective base

8.EHIBAISFL straight through air hole



BEIRIELEIRIELR Quick Changer

iR
Flﬁ:%?&/Parameter M%
1EWNEERH A 3~5kg 1.Recommended rated load : 3~5kg i@g
1%]
2.8 1@80Psi (5.5Bar) 620N 2.Locking force@80Psi ( 5.5Bar) 620 N = g‘_
o
JFREAHNIE (X&Y): 23.4Nm 3.Static Load torque ( X&Y ) : 23.4 Nm
4B AH AN (Z): 31.5Nm 4.Static Load torque (Z) : 31.5Nm
SABEEEFREE (X,Y&Z): £0.015 mm 5.Repeatability accuracy ( X,Y&Z): £0.015 mm X%
iz
6.E2-HEE: 0.37kg 6.Weight after locked : 0.37 kg ;éﬁg'
4
THBAMES: 0.29 kg 7.Robot side’ sweight : 0.29kg 'Hé
8.ZAMEE: 0.08kg 8.Gripperside’ sweight: 0.08 kg °
I.RAARTFARE LI 9.Maximum allowable angle deviation: +1°
10.HBESILRT (B=) :(6) M5 10.Size of straight air hole (quantity) : (6) M5 o
c
e
[a)
3
a
o
%2
E_'B
HE
it
©49 ®
1 20
3
! 52
T e ) S R
U (@) ﬁg
+—10 Ql ¥ 4
I3
3 o= N
Irs)
@ 4xM5 ;’%%?L/
Mounting Holes <
e 2
c
Gripper side 43
=
1.32EMiE$#EF Gripper side connection g
2 I280EE AL Threaded holes 4 ZEZFENMSHE Positioning pin °
3G ER L ZEH Optional mounting surface 5.FFENL Central positioning
B
e
s
<
0
o
2
o
*ﬁﬂl?éﬂ/Module Type :

F=RBR T{ESE B BEMRE
Product name Working Voltage Connector Connector PN
== @D
MEBAMUSSER | QcsM-15R1 7.Y00965 50V 25A DB15R1-1000 1.Y10163
FEMESHER | QCSM-1561 7.Y00966 50V 2.5A DB15G1-1000" |  1.Y10437

@ EFELEM ALK The cable’s length is 1 meter

CRRG Y



B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

Jabueyd }dIND

il
a|npo\ diig

b b2 |

JaddiN 11y

T i H it
3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

63

B ahtRiEFEEER Quick Changer

QCA-15

HesAm
Robot side
H5(PN) 8.Y00353 5 (PN)
aE=MVREN QCA-15R #E(Model)
T ERXIERA
RS R
Tor models with senaare. '€
@55
________________ 20/
] — : 2
. O : o
 — = —H <
Seeees q . |
| |
®/© [0} O @ o
0
i i 9
27V 4.5 é g
90 °
gEREIGENA
W RARE MG

Thered areais only available
for models with sensors.

o !
@ 1]
RI': P E R t S
S T
S 14
+
Q
Mg A M
Robot side

AFTSEOHE The air connection locked

B.Z5ZOAFF Air connection released
1 ML A MIZEE Robot side connection
2 BBEEEFRIE L Threaded through-holes

3. EHEC 4L ZEE Optional mounting surface

C=G

4XD4. 2 5
D3V 8(4) M4 4L g
H8 Mounting Bolts

kEM

AR AMFHFF X

Gripperside Robot side strap switch
8.Y00354 t={(z\) 8.Y00353-SP [ 8.Y00353-SN
QCA-15G cdf=1(\Vele ) QCA-15R-SP| QCA-15R-SN

ESamEs PNP NPN
P & tosure 37
16.50 20.50
Al 0. 5( 10
Tor models with sensars 6

@ @51H7

=

-©

[a>)
. :@*
§O@©-O
L N o
------- =|l®

4 EBEAFENRSE Positioning pin

5.Ei@AISFL Straight through air hole

6.7 /(B Central positioning

7.HiBEIS 7L straight through air hole

[

=©)

\m@



BniRiEERER Quick Changer

TR
EmE/Parameter 23
1EWEEEM: 10~15kg 1.Recommended rated load : 10~15kg %mé
& n
2.81% D@80Psi (5.5Bar) 1150N 2.Locking force@80Psi ( 5.5Bar) 1150 N = g‘_
3.8 AEE 756 (X&Y): 26.5Nm 3.Static Load torque ( X&Y) : 26.5 Nm °
4 B4SEH % (Z): 35.3Nm 4.Static Load torque (Z) : 35.3 Nm
S5.MUBEESHME (X,Y&Z): £0.015mm 5.Repeatability accuracy ( X,Y&Z): +0.015 mm ¥ g
iz
6.FE-HEE: 0.27 kg 6.Weight after locked : 0.27 kg ;ég
4
THEBAMES: 0.17 kg 7.Robot side’s weight : 0.17 kg _H§
8.KAMEE: 0.1kg 8.Gripper side’s weight: 0.1 kg °
IERAATARE L1 9.Maximum allowable angle deviation: +1°
10.HBRSIALRT (B&E) :(6) M5 10.Size of straight air hole (quantity) : (6) M5 0
5
o
g
%9
_E_'B
[z
e
$55
1 24
s>
#z
BITO
5o
0 o o0 m
9 j| ®
2XM3T6 i
I 4AXM5 27|, % g
;Emu @ Mounting Holes H8 @ EE%
Gripper side z
ﬁ:?—
1.2 EMiE#EA Gripper side connection %
2 WBEGEREFRFL Threaded holes 4 JEFZRENRE Positioning pin
3B 4L ZEE Optional mounting surface 5.500E{RIF Central positioning
B 2
e
s
a
o
2
*ﬁi*?éﬂ/Module Type 3

F=RBR T{ESE B BEMRE
Product name Working Voltage Connector Connector PN
== @D
MEBAMUSSER | QcsM-15R1 7.Y00965 50V 25A DB15R1-1000 1.Y10163
FEMESHER | QCSM-1561 7.Y00966 50V 2.5A DB15G1-1000" |  1.Y10437

@ EELLEAK ALK The cable’s length is 1 meter

CRG



BHahRIEERER Quick Changer

k- QCA-25
e
B9
g
=8
23
152
63
Be eI =AM NEBAMBITX
= Robot side Gripperside Robot side strap switch
2
“,gn £RE(PN) 8.Y00460 £RE(PN) 8.Y00461 Gt=1A\ T 8.Y00460-SP | 8.Y00460-SN
STV QCA-25R STV QCA-25G k= (Il EID)| QCA-25R-SP | QCA-25R-SN
88 gaierzy G NPN
X2 o hsregareajsonyuaabe
\E
g P
[0 1 [e2] : 0 ’_D Y :
1D A
f T 1
) &8
wt; 0007 1790
55 1 1?/_ ] B A
718 g 3
2XM3¥10 Y \ 9277 2 9 B L toslre 45. 5
19. 50 26
& 6p . gemam
% SR (S)ws |l s, | ~12M5(6)
for models with sensors.
%E TERIERH
=c BAERKLMMAL N = =
463 Tor mdals with senaarer ' - -
fiz @« [~
a —]
: \: o-= |- ®
N e=19= o O 0
ol I |
ke 3 !gg
W ° Tl 5
3 . A I | | - (@
o <
2 — <[;]l:l> 1
3 AM D=
o ——
g ) 0X04.3 M/
@ 4 FRE R 21.71 + 0.02
Mounting Bolts |
Mg AN
Robot side

A FZSREEOHE The air connection locked

B.Z8S$Z AT Air connection released 4 T3 FTERIE Positioning pin

1 44 A MIZE$E Robot side connection 5.HiBAISF straight through air hole
2 WBBLERE BT, Threaded through-holes 6.BIEAEISFL, straight through air hole
3G EEE Optional mounting surface 7. FuERIF Central positioning

By CRG



BniRiEERER Quick Changer

TR
FEmE ¥ /Parameter e
1EWEERM: 25kg 1.Recommended rated load : 25kg %mé
s n
2.81% 1@80Psi (5.5Bar) 2400N 2.Locking force@80Psi ( 5.5Bar) 2400 N = g‘_
3 FESAHSIE (X&Y): 59Nm 3.Static Load torque ( X&Y) : 59 Nm °
4B AHHIFE (Z): 80 Nm 4 Static Load torque (Z) : 80 Nm
S5.MUBEESMHE (X,Y&Z): £0.015mm 5.Repeatability accuracy ( X,Y&Z): +0.015 mm ¥ g
iz
6.FE-HEE: 0.35kg 6.Weight after locked : 0.35kg ;ég
THEAMER: 0.24 kg 7.Robot side’s weight : 0.24 kg g
8.KAMEE: 0.11kg 8.Gripper side’s weight: 0.11 kg °
IERAATARE L1 9.Maximum allowable angle deviation: +1°
10.B@ESILRT (&) :(12) M5 10.Size of straight air hole (quantity) : (12) M5 0
2
o
0 o
© s
y %2
S 23
88 S| g, 63 ag
1 20 -+l 3 e / ~ o
(©)] \ g
™ / (C
e i/ \\\ /,’ O ©
AN
] © 00( | ©
° c\ AN / 5%
1 2
™ BUT
S 2XM378 D 3 73
o WX
o> Py
14
4 )26%12 {778+0.02 \6X M il
Mounting Holes E s
B 2t
. . H3
Gripper side fiz
1.2 EMiE#EA Gripper side connection §
2 WBEGEREFRFL Threaded holes 4 JEFZRENRE Positioning pin
3B 4L ZEE Optional mounting surface 5.500E{RIF Central positioning
b
e
s
a
o
2
*ﬁﬂ%?&eﬂ/Module Type %

F=RBR T{ESE T{EEERR B BEMRE
Product name Working Voltage Working Current Connector Connector PN
== @D
MEBAMUSSER | QcsM-15R1 7.Y00965 50V 25A DB15R1-1000 1.Y10163
FEMESHER | QCSM-1561 7.Y00966 50V 2.5A DB15G1-1000" |  1.Y10437

@ EELLEAK ALK The cable’s length is 1 meter

c=G a



B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

b b2 |

JaddiN 11y

RS
3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

67

BHahRIEERER Quick Changer

QCA-35

S (PN) 8.Y00351
pib=T(VIeYel)] QCA-35R

HLEsAM
Robot side

5S(PN) 8.Y00352
sl =l QCA-35G

T ERIEA
R AERIE MY

Theredareaisonly available

for models with sensors.

FEM
Gripperside

£8S(PN)

ES 1R

Signal Detection Category

& cosue 52

MIBFAMHEFFX
Robot side strap switch

st =1Vl QCA-35R-SP

8.Y00351-SP|8.Y00351-SN
QCA-35R-SN
PNP NPN

sxG1/8 (6)

6XM8 REA(2)

Mounting Holes

26, 26
N (5 8xc1/8 =3z G
(@) ABRIGENA
S WRXLBMMANG g ;
o et [oo© \:U 000
N
o
g Nt < <
5|
) QBIJS@ e : OOOO o 0o
< H7 '
@| <
P E 3
ABRERH %‘D
WX MANG
j The red area s only available
BxB5 ;’% 2;m5dsels:t6 02 A G1/8Lock Port
o M5 223 iR4e -J0 2. /
HLE%/\@H Mounting Bolts B G1/8Unlock Port
Robot side
A ZTZSEOME The air connection locked
B.ZS#ZAFF Air connection released 4 EFZFTENRIE Positioning pin
1 44k A MIZE$E Robot side connection 5.Hi8AISF straight through air hole
2 $BUEHEFAIEFL Threaded through-holes 6. B8RS FL straight through air hole
3.EEHLZEME Optional mounting surface 7 FITENLA Central positioning 60°
105 N
o
1 50 +0.02 2XPAT 7 2
™)
<
© [0] (o))
g ) q & — =
Y o| ¥ 1
o 6V 11
3 s} H7
N &
FEM
Gripper side
1.2 EMiZEHE A Gripper side connection 23.75 £0.02
2 BB 47EREFAFL Threaded holes A JEFEFTENSH Positioning pin

3 JEES L ZEME Optional mounting surface
C=G

5. BRI Central positioning



BHahRIEERER Quick Changer

s #/parameter

1EBWNEEER: 25~35 kg

2.8 1@80Psi (5.5Bar) 2900N
FEEHIIIE (X&Y): 88.5Nm

4 BB AEHFIME (Z): 105Nm
SNABEEEHEE (X,Y&Z): £0.015mm
6.EE-IERE: 1.35kg
THEBAMESE: 0.85kg
8.KAMEE: 0.5kg
IRAAFARE L1
10.EBESILRT (8E8) :(8)G1/8

1EIRFER /Module Type

1.Recommended rated load : 25~35kg
2.Locking force@80Psi ( 5.5Bar) 2900 N
3.Static Load torque ( X&Y) : 88.5 Nm

4.Static Load torque (Z) : 105 Nm
5.Repeatability accuracy ( X,Y&Z) +0.015 mm
6.Weight after locked : 1.35 kg

7.Robot side’ sweight : 0.85 kg

8.Gripper side’ sweight: 0.5 kg

9.Maximum allowable angle deviation: £1°
10.Size of straight air hole (quantity) : (8) G1/8

FERER T{EEBE TERBIR BN BEGRS
Product name Working Voltage Working Current Connector Connector PN
ﬂg?/\d{muigfﬁm QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000? 1.Y10080
;fmg{%%%t.* QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-1000® 1.Y10081
*&%Ajﬂuﬁ—?—%& QCSM-08R 7.Y00477 380V 30A 3108A22-235% 1.Y10710
%%mgr%%*%% QCSM-08G 7.Y00478 380V 30A 3108A22-23P2 1.Y10711
nEAmESER | oo | 7voosss A o iR eT [ Lvises
XRIESER | qesuelss | 7voosss T
MEAMESER | qusw2R | 7v00ds4 2 R oA W
ARMESER | acswes | 7vooues 220v i ST A R T,

@ EEL &I ILK The cable’s length is 1 meter

@ {UEL , FE%H Jointonly, no wire

SRR REB/High Frequency Module Type

FREWR TEBE TEBR
Product name Working Voltage Working Current
felaking QCHFM-E14-CIR 7.¥02003 14KV 5A
REMESER QCHFM-E14-C1G 7.¥02004 14KV 5A
=1 - -
KB EBIER/Pneumatic Extension Module
FREWR RS ®s S BREY FRER RS ®s i LEAEd R
Product name Model PN Gas path  Threaded hole Product name Model PN Gas path  Threaded hole
B RIR | QCAM-06G18R | 701015 | 6 G MEMITETEER) QCAM-10M5R | 7.01053| 10 M5
KB BEER | ocAM-06G18G | 7.Y01016 | 6 G1/8 KEMSET BRR | QCAM-10M56 | 7.¥01054 | 10 M5
MEASETRER | QcAM-06G18R-E | 7.v01018 | 6 G1/8 ARSI BER| QCAM-06G18R-F | 7.Y02005 | 6 G1/8
S =P FEMIE
REMSEETRER | QCAM-06G18G-E| 7.Y01019 | 6 Glg  FRWEHSHIRESR |QCAM-06G18G-F | 7.¥02006 | 6 G1/8

BB iR ZESIEWR/Self-Sealing Fluid Air Module

FERBTR BS

Eea=}

=3

Product name Model PN
NESESER | Qcwm-oR 7.¥02013
REMESER QCWM-02G 7.¥02012

c=G @

B3y | FhE

d9qnL SNS - 3!404d

S R

3|NPOA SIUdIS

S SR

J9bueyd 3oInd

il

mp £
pri o) a|npoy duup

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

JaddiN 11y




B ahtRiEFEEER Quick Changer

QCA-50

B2
ZE
e
B9
g
%7
£s
=
63
HLEE AN FEM HAR AT X
Robot side Gripper side Robot side strap switch
HRo
#Ba RS (PN) 8.Y00349 5 (PN) 8.Y00350 Gt={(N 8.Y00349-SP | 8.Y00349-SN
o} A=Vl QCA-50R aib=leED] QCA-50G *‘J':'(Model) QCA-50R-SP| QCA-50R-SN
é qERERY é;ﬁe*t::éd?n PNP NPN
] WA XEBE MG
The red area s only available o
formodels with sensors. 50 +0.02 Q
. B ppeeserisy B [
;.5% :q: . H\gh Strength Bol
[E A @\ , 4XM4T8
#e " =t ==
_ ool
—Jox [ Jo0
] A o] nr CEL |
B G1/8 Unlock Port/
roccEar / L&Q 2 (A& cosure 54
g); A G1/8 Lock Port 60° . < 27 27
4
25 m &
75 L
;eve(éalreali:nlyavanable @‘ ‘@
I\ Sy [©
5 sl 6 o
=f S-S -©
=g o nemiagn ® ” »
e < RRXAEAINN U U
4¢§ o euinasmaer ‘“ “‘
< oOXD 0
° MszigR@
.28 A ® ®6H¢715 20+ Mounting Bolts ® @
Robot side
5§ > FEREEOSE The air connection locked 3G L ZE M Optional mounting surface
1% § B ﬁ:quh\ﬂ: Air connection released 4 JEERATENH Positioning pin
3 1 H4 AMIIZEREE Robot side connection 5.EBAIS 7L Straight through air hole
i 2 MBEGEREAIEFL Threaded through-holes 6. ZERIF Central positioning 60°
E
E
2 4X03.30 79 50 +0.02 2Xp 4V 7
1
T oL [ ¢ :
-] & >
3 . ——nC) o g
2 9 2
A 0 o
< — <
FEM
Gripper side 6XM8§E§§£{,@

1.2 EMiE$ZF Gripper side connection
2 B2BGEIE L Threaded holes
3 IEER L ZE A Optional mounting surface

@ CRRG

(1) 2X06v15
H7

Mounting Holes
4 ERZFAERE Positioning pin
5.4LERIA Central positioning



BHahRIEERER Quick Changer

EamE#/Parameter

B3
1.ENEE R 35~50 kg 1.Recommended rated load : 35~50kg 7f7.r:—n_"
2. 812 H@80Psi (5.5Bar) 4600N 2.Locking force@80Psi ( 5.5Bar ) 4600 N %N\""
S ERESAIIIE (X&Y): 165Nm 3.Static Load torque ( X&Y) : 165 Nm E&E
4 EEEEEIIE (Z): 226 Nm 4.Static Load torque (Z) : 226 Nm <
SABEEEFREE (X,Y&Z): £0.015mm 5.Repeatability accuracy ( X,Y&Z): £0.015 mm ®
6.EE2-BEG: 1.68kg 6.Weight after locked : 1.68 kg
THBAMES: 1.08 kg 7.Robotside’ sweight: 1.08 kg
8.FEAMEE: 0.6 kg 8.Gripper side’ sweight: 0.6 kg Z o
IERAAFARE L1 9.Maximum allowable angle deviation: +1° 2]
10.HBRSILRT (#=E) :(9)1/8 10.Size of straight air hole (quantity): (9) 1/8 zﬁ z

ZH o

e
o
i
EIRFER IModule Type
[l =L T/EEBIE TEEBR M EEESRS Hho
Product name Working Voltage Working Current Connector Connector PN % <.
=== %
mig(/\d@“ia.’fﬁ;.i* QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000% 1.Y10080 a)
[
SEEMIES TR QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-1000% 1.Y10081 g
Hﬁg}\d{mﬁ?ﬁ%iﬁ QCSM-08R 7.Y00477 380V 30A 3108A22-2352 1.Y10710
AESER QCSM-08G 7.Y00478 380V 30A 3108A22-23P? 1.Y10711 § @
©
HEAMYS St ) MS3116F14-195@ 1.Y11420 |
Robot side signal module QCSM-19R 7.Y00954 220V 3A CMBOSE-14-19S(072)SR-B® 1.Y11863 ?i'ﬁl:é’
LRSS . MS3116F14-19P% 1.Y11419 &
S st o oo QCSM-19G 7.Y00955 220v 3A CMBOSE-14-19P(072)SRB2 | 1.Y11864
PEI e i MS3116F16-265% 1.Y11867
Robot e signal ol QCSM-26R ol 220 - CMBOBE-16-265(072)SRB2 | L.Y11865
RS e MS3116F16-26P? 1.Y11369
Grperside signal mae Q 7.Y00465 220V = CMBOSE-16-26P(072)SRB? | 1.Y11866 s>
@ EREELEMK 1K The cable’s length is 1 meter @ Rk , FE&EHF Joint only, no wire ) >

s

AR
e e .

SRR ZEBY/High Frequency Module Type
FERAR T{ERBE TEBR
Product name Working Voltage Working Current
==l <
nEaAMIESEER QCHFM-E14-C1R 7.¥02003 14KV 5A % 8
c
KEMIESHER _Fl4- 43
anpersides\g:?module QCHFM E14-C1G 7.Y02004 1.4Kv 5A {L‘F <
2
=
o
""'t . .
S BIER/Pneumatic Extension Module
FERER e He Sk 23| FERER Be He S B3| B &
Product name Model PN Gas path  Threaded hole Product name Model 1N Gas path  Threaded hole {4: §
MEANSET RER | QCAM-06G18R | 7.Y01015 6 G1/8 MBEANSET RER | QCAM-10MSR | 7.Y01053 | 10 M5 g
iz & 1= O
REMEY IR | QCAM-06G18G | 7.Y01016 6 G1/8 FBIUET BRR | QCAM-10M5G | 7.¥01054 | 10 M5 §
o
A= RIER | 0cAM-06618R-E| 7.Y01018 | 6 Gy MEAUBISEIRER OCAM-06G18R-F | 7.Y02005 | 6 G1/8 2
SeA=[] . . @
REMSERYT R | QCAM-06G18G-E| 7.¥01019 | 6 G1/8 REMEEEY RER | QCAM-06G18G-F | 7.Y02006 | 6 G1/8

B B3R = S1E1R/self-Sealing Fluid Air Module

FERETR

oS

102

ks
Product name Model PN
MEAMUSSER | Qcwm-02r 7.¥02013
TAMESER | ocwm-026 7.¥02012

c=G



BHahRIEERER Quick Changer

QCA-100

B2
ES
N o
e '
&
152
Hs
&
HLEsAM FEM
Robot side Gripperside
8.Y00362-SN £BS(PN) 8.Y00363
Re QCA-100R-SN E=TVEGEN QCA-100G
23 fESHRESE
z Signnal Detecli’on C’e\Egory NPN o
3 A
S ) 6X®8.3
o002 § 1e5Ei
o Mounting Bolts
- 4XM4V8
n_ 0 7
éé’ A G1/8LOCK Port L@ /fr\w
%gg B G1/8Unlock Port §9)'l ¢ $ MINE
c
g 9 o 010 2
) <
a A& 75
%ﬁo" 62.50 £0.02 45 30
20 16.50
. /
op >
%% 6XM3 i -O- \\ \\ @95 @ :©
718 4 A VAR -
/ \ / \ @30
3 ( o
o © — ~ |
/ 2X@10715, = 4
Vo B !
/ H7 @
\ /
< U
8t T 2 3 =
Qfﬁg TN\ T2.5H8 i
s YN 0125
g Robot side Q0 7xG3/8 J \ 7x G3/8 10
o
A FZEIZEOPEX The air connection locked 5.5 A B HFAFF Monitor position released
B.Z5#E #AFF Air connection released 7 EZEBENRIH Positioning pin
1 HU# A MIZEE Robot side connection 8.FLENLA Central positioning
B 2 WS B B Monitoring position locked 9 H128 AL FFX Proximity switch for robot side confirmation
s 3 MBEYERE B FL Threaded through-holes 10.E@BEISF, Straight through air hole

4 JEBELEZZEE Optional mounting surface

9|\ 4xM4T8
Q:

50 £0.02 2x94v10

sjuauodw o) A10ssa20Y

(@]
i
o)
R v 1 g
Q v
= Y] ° b (3) 28047
ZEM /
i ; 2x®10¥15 6XM 102247,
GrlpperSIde @ X H7 Mounting Holes

13&E#FAERITE Positioning pin
295§{mﬂ1$§§ Gripper side connection

C=G

3. 4TSI Central positioning
4 1B 4L ZETH Optional mounting surface

71



BHaNRIEERER Quick Changer

FEanE ¥ /Parameter

Bk SiER/Self-Sealing Fluid Air Module

EEa=]

BB BE =7
Product name Model PN
MEBAMISESHELR QCWM-02R 7.¥02013

Robot side signal module :
ff-ﬂﬂ‘ﬁ;%’f%i% QCWM-02G 7.Y02012

c=G

B
1EWEESSR © 70~100 kg 1.Recommended rated load : 70~100kg *Z:;—"
2.5 % 77@80Psi (5.5Bar) 12000 N 2.Locking force@80Psi ( 5.5Bar ) 12000 N g
3.EHSEEJI5E (X&Y) 1538 Nm 3.Static Load torque ( X&Y) : 538 Nm s
4 FRSAFENE(Z): T20Nm 4.Static Load torque (Z) : 720 Nm =
S5ABEERE (X,Y&Z): £0.015mm 5.Repeatability accuracy ( X,Y&Z) : £0.015 mm ®
6.EE-HERF: 5.13kg 6.Weight after locked : 5.13 kg
THEAMES: 3.57kg 7.Robot side’ sweight : 3.57 kg
8.KAMEES: 1.56kg 8.Gripperside’ sweight : 1.56 kg S
o
ImAARTFARE: 1° 9.Maximum allowable angle deviation : +1° za 2
10 BB SFALRT (%&) : (7)G3/8 10.Size of straight air hole (quantity) : (7) G3/8 zﬁ z
Te
o
-
1R R /Module Type
FREWR T{EBE TEEER BEEl EEHEsS Hho
Product name Working Voltage Working Current Connector Connector PN }ﬁ %
g 2 0 =~
e Ugﬁfaﬁﬁ‘l QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000% 1.Y10080 a)
[«
%Emu{ﬁg%@i% QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-1000% 1.Y10081 L,%
*ﬂééfﬁm“ﬁ?*ﬁm QCSM-08R 7.YO0477 380V 30A 3108A22-2352 1.Y10710
f%ﬂg‘ﬁﬁ*fi‘* QCSM-08G 7.Y00478 380V 30A 3108A22-23P2 1.Y10711 ég
PIEIN =t ey ) MS3116F14-195? 1.Y11420 [HE
R sl ol QCSM-19R 7:Y00954 220v 3A CMBOBE-14-195(072)5RB? | 1.¥11863 {Eg
kEM=StEth ) MS3116F14-19P? 1.Y11419 >
o s s o QCSM-196 7.Y00955 220V 3A CMBOSE-14-19P(072)SR B2 | _ 1.Y11864
eI i MS3116F16-2652 1.Y11867
Robotsid gl module QCSM-26R AT 2407 s CMBOSE-16-265(072)SR82 | _ LY11865
EEMIE SRR B MS3116F16-26P? 1.Y11369
S SR TS el 3A CMBOSE-16-26P(072)5R-B2 | 1.Y11866 s>
@ EREEEMIE ALK The cable’s length is 1 meter @ {EL , FEL%H Joint only, no wire zh >
BE
ks
e as .
SRR ZEBY/High Frequency Module Type
FERER T1EEBE TIEEBR
Product name Working Voltage Working Current
R AIESEE: QCHFM-E14-CIR 7.¥02003 1.4KV 5A s
REMESER QCHFM-E14-C1G 7.Y02004 1.4KV 5A =2
Gripper side signal module éﬁ 3
fas §
=
- . . ©
SKRY BIER/Pneumatic Extension Module
FERER e 5 S BRI, BB BE 5 S BRIYF,
Product name Model PN Gas path  Threaded hole Product name Model PN Gas path  Threaded hole
MEBAMSETRER | QCAM-06G18R | 7.Y01015 | 6 G1/8 MEANSE BERR | QCAM-10MSR | 7.Y01053 | 10 M5 ?Eﬁ
(3
R RER | QCAM-06G18G | 7.¥01016 | 6 G1/8 FREAMTEESRER | QCAM-10M5G | 7.¥01054 | 10 M5 3
<
[ I [a)
HEBAMSEE R | 0cAM-06G18R-E| 7.v01018 | 6 G1/8 MEBAVSEETRIER) QCAM-14MSR | 7.v01055| 14 M5 3
=T " SeEM 3
FEMSERER | QcAM-06618G-E| 7.¥01019 | 6 G1/8 REMSETRER | QCAM-14M5G | 7.¥01056| 14 M5 g
3
EANGHTET BB QCAM-06G18R-F | 7.Y02005 | 6 G1/8 @
SRS BER [QcAM-06G18G-F | 7v02006 | 6 | G1/8
ripper side self-proclaimed Pneumatic Extension Module:



B3y |, A

aqnL SNS - 3|140.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

73

BERIEEEIRELR Quick Changer

QCA-200

w2 AM
Robot side
e= (AN 8.Y00272-SP | 8.Y00272-SN
=TV E QCA-200R-SP|QCA-200R-SN
ERlamEsl PNP NPN
200

FEM
Gripperside

S (PN)

8.Y00357

B 5 (Model) [Koldf:

-200G

\50+ 0. 02

85. 60 0|
®\ \*‘ 8X@3.307 12
o & | o |8
199 00 718
7 o+ T 1 3 I
A G1/8Lock Port/ T S o
B_G1/8Unlock Port ¥ C% 8 2
—= < &
83.60 + 0.02 F & dosure 100
. 60 40
‘%0 34 23
So.
?125
<>- -&>
Y <) SN - -
6XM3 I N 2X® 107 15 @ ©
H7
! @~ )o||r©
A
L p—
6x®10.70
] M10 22262 O ")
< Mounting Bolts
) S ©- I [©
@257 3
y H8 ©- -Q
Hag A 62.50+ 0.02 12 x G3/8/ \12xG3/8 (7))
Robot side
A ZEIZOSE The air connection locked 5. 5= B FF Monitor position released
B.Z5Z AT Air connection released 7 EZEBENRIE Positioning pin
1*”:*)&A1Jn\“l§§§ Robot side connection S.EF"DEEZFE Central positioning
2 WBEERE B AL Threaded through-holes 9 #1258 AMFBIAIERLFF X Proximity switch for robot side confirmation
3B 4L ZEE Optional mounting surface 10.E@8S7F Straight through air hole
4 SR E S Monitoring position locked 11.5@8 57 Straight through air hole
()9@
®200 9
1 3
85. 60 8XM4T10©
|
e S 2Xp 10V 15
3 ~ [/ \ H7
UL .
~ 3 3
o 504002 B ~ (5)280H7 9 , 3
et < - -
o) 8,
FEM 0125 T \ 4 \
ri rsi
Gripper's de 62.50 + 0.02 6XM10 %247l

1ZEMiERE Gripper side connection
2 BBEUERZ B L Threaded through-holes
3. EER L EEE Optional mounting surface

C=G

4 JEREFTE A Positioning pin
5.5 LB Central positioning

Mounting Holes'



BHahRIEERER Quick Changer

s /Parameter

B3
LEWEEHA: 150~300 kg 1.Recommended rated load : 150~300kg =
2,812 1@80Psi (5.5Bar) 16000 N 2.Locking force@80Psi ( 5.5Bar) 16000 N g
3EESEAHE (X&Y) : 1360Nm 3.Static Load torque ( X&Y) : 1360 Nm s
4 FEBEHAE (Z) ¢ 1130Nm 4 Static Load torque (Z) : 1130Nm =
SAUBEERE (X,Y&Z): £0.015mm 5.Repeatability accuracy (X,Y&Z): £0.015 mm ®
6.EE-HEE: 9kg 6.Weight afterlocked : 9kg
THBAMESE: 6.2kg 7.Robotside’ sweight: 6.2kg
8.KAMES: 2.8kg 8.Gripperside’ sweight: 2.8kg H@
I.RARNFAME: *1° 9.Maximum allowable angle deviation: +1° Bag
10.E@ESILRYT (#&) @ (12)3/8 10.Size of straight air hole (quantity) : (12)3/8 zﬁ z
ZHo
e
[¢]
il
1EIRFER IModule Type
AR T{EBE TEEBR BEHRG EEHSRS Hho
Product name Working Voltage Working Current Connector Connector PN }ﬁ %
B AMESHER x
Robolsides\gl:l module QCSM-15R2 7.Y00468 50v 2.5A D-Sub15R2-1000? 1.Y10080 Q
[
%Ew%;%@% QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-1000% 1.Y10081 8
*&%&F“Fﬁ%& QCSM-08R 7.Y00477 380V 30A 3108A22-235@ 1.Y10710
fiﬂﬂﬂfﬁ%*%f* QCSM-08G 7.Y00478 380V 30A 3108A22-23P2 1.Y10711 § )
el
2 AMI=E1EE ) MS3116F14-19S@ 1.Y11420 [HE
R e sl o QCSM-19R 7.Y00954 220V 3A CMBOBE-14-195072)5RB2 | 1v11863 {Eg
LRSS . MS3116F14-19P2 1Y11419 &
e s i ot QCSM-19G6 7.Y00955 220V 3A CMBOBE-14-19P(072)SRB2 | 1.Y11864
PEI i MS3116F16-2652 1.Y11867
Rabot e signal e QCSM-26R LIRSS 220 2 CMBOBE-16-265072)SRB2 | L.Y11865
FEMSSEHR - MS3116F16-26P% 1.Y11369
rer s QCSM-266 AL 220V 3A CMBOSE-16-26P(072)5R-B2 | _ 1.Y11866 s>
@ LK ALK The cable’s length is 1 meter @ {33k , REL#F Joint only, no wire ) >
Ein
e
I .
= sutERIEBY High Frequency Module Type
FREWR T/{EEBE TIEEBR
Product name Working Voltage Working Current
MERAMIESIRGR QCHFM-E14-CIR 7.¥02003 14KV 5A
Robot side signal module E s
EEMESHER QCHFM-E14-C1G 7.Y02004 1.4KV 5A Z= 2
Gripper side signal module éﬁ 5
Lz §
=1 <
S BIER/Pneumatic Extension Module ®
FERAMR B C4= S 12457, FRER = = S 1R,
Product name Model PN Gaspath  Threaded hole Product name Model PN Gas path  Threaded hole
e B AR | QCAM-06G18R | 7.Y01015 | 6 Gy MEMUTETREER) QCAM-10M5R | 7.Y01053| 10 M5 Bz
= = %3
REMUETRER | QCAM-06G18G | 7.¥01016 | 6 G1/8 KEMAEYRER | QCAM-10MSG | 7.v01054 | 10 M5 %
2
M [ 1 -
HEAMSEY BB | QCAM-06G18R-E | 7.v01018 | 6 G1/8 MEAUSEETRIER| QCAM-14MSR | 7.¥01055| 14 M5 g
B/ & =l n E
REMSER B | QCAM-06G18G-E| 7.¥01019 | 6 G1/8 KRR BER | QCAM-14M5G | 7.¥01056| 14 M5 g
IIEES 3 2
MEANEE T RER| QCAM-06G18R-F | 7.Y02005 | 6 G1/8 Z
Grger s slf-procamed Preuaic Exension e

B&Z iR =S iER/Self-Sealing Fluid Air Module

S

prer=|

FEREWR =7
Product name Model PN
Mg AMESiER i
Robot side ggna\-?odme QCWM-02R 7.Y02013
KREMESERR QCWM-02G 7.¥02012
Gripper side signal module

c=G



B3y |, A

aqnL SNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

Jabueyd }dIND

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

75

BHahRIEERER Quick Changer

QCA-200-D 1430

e AM
Robot side

E SHIEE]
Signal Detection Category

A G1/8Lock Port/

B G1/8Unlock Port

8.Y00272-SN-D1
QCA-200R-SN-D1.
NPN
@200
85. 60 0
50+ 0. 02 o 8X®3.307 12
| 1D
o & i L o 12
8 9 7 Q0 ¢
+ o T 1 1

@
)
‘O
O
4.50
37.50

3
9) &
- 83.60 + 0.02
3
o
G-
125
-
6XM3 ’ N 2XD 107 15
g H7
) XA \ (@)
va N V
h -\ 1 6x910. 70
: ~ / M10 ZzEiges
J| 045 N b Mounting Bolts
N -
‘9\0—’ @25V 3 ®
h Y H8
62.50+ 0.02
neEAm o
Robot side

A ZBZSEEOME The air connection locked
B.Z8 5 AT Air connection released

1 44 A MIZE$E Robot side connection

2 W24ERE FIEFL Threaded through-holes
3B 4L ZEE Optional mounting surface
4 S BHE Monitoring position locked

SEM

Gripperside

8.Y00357-D1

Fas

'J'='(Mode|) QCA-200G-D1

A& 100

40

23

i

-O
-©
O

ON¢

“©
-

(10_8x G3/8

5 WS EWFF Monitor position released
7 ERREME Positioning pin
8.FLTERLFE Central positioning

8x G3/8 @

9 H1.28 AMMFIAEEILFF X Proximity switch for robot side confirmation
10.EiBRISFL straight through air hole
11. B8RS 7L straight through air hole

®200
1 3
85. 60 BXM4T10
© 3¢
3 N A
U \J 2
LI
~ 3 18
©|  50+0.02 ®
- <
SeEM
Gripper side

1.2 EMIZE$HE Gripper side connection
2 MBEEREFIIEFL Threaded through-holes
3EFEMELREEE Optional mounting surface

C=G

4 EFZFAENIEE Positioning pin

5)980H7

()

{196
b-Q
2X9 107 15
Q \ i
T \
4y
\
ﬁi 3
7/ [se]

@125

62.50 + 0.02

\ \ 6XM10 L%HL

5.7FTEIA Central positioning

Mounting Holes



BHahRIEERER Quick Changer

s /Parameter

1EWEEH A : 150~300 kg
2.P1EFH@80Psi (5.5Bar) 16000 N
3ESEHANE (X&Y) : 1360Nm

4 FFBEHANE (Z) ¢ 1130Nm
SMUBESHEE (X,Y&Z): £0.015mm
6.EE-HEG: 9kg

THIBRAMESE: 6.2kg

8. KAMEE: 2.8kg
I RAAFAMRE: *1°
10.E BB SR (&) : (8)3/8

1.Recommended rated load : 150~300kg
2.Locking force@80Psi ( 5.5Bar) 16000 N

3.Static Load torque ( X&Y) : 1360 Nm

4.Static Load torque (Z) : 1130Nm
5.Repeatability accuracy (X,Y&Z): £0.015 mm
6.Weight afterlocked : 9kg

7.Robotside’ sweight: 6.2kg

8.Gripperside’ sweight: 2.8kg

9.Maximum allowable angle deviation: +1°
10.Size of straight air hole (quantity) : (8) 3/8

3
1EIRFER /Module Type
FERER T{EEBE T1EEBR R EEREGES
Product name Working Voltage Working Current Connector Connector PN
*&%?Ajﬂﬂi%fﬁtk QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000% 1.Y10080
QEE‘M%;%*’%H QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-1000% 1.Y10081
*&%?{\ijﬁfﬁ%m QCSM-08R 7.Y00477 380V 30A 3108A22-2352 1.Y10710
%%mﬁ%*%% QCSM-08G 7.Y00478 380V 30A 3108A22-23P@ 1.Y10711
@)
A= S &L . MS3116F14-19S 1.Y11420
oo i sl QCSM-19R 7.Y00954 220v 3A CMBOSE-14-195(072)5RB% | 1.Y11863
[}
EE=SEth . MS3116F14-19P 1.Y11419
e s it ol QCSM-19G6 7.Y00955 220V 3A CMBOSE-14-1P(07)SRB2 | 1.Y11864
Q
MEAMSSELR ) MS3116F16-26S 1.Y11867
Robot ide signal module QCSM-26R Al 2807 o CMBOSE-16-265(072)SR-B® |  1.Y11865
EEMSSHER i MS3116F16-26P% 1.Y11369
et e Lot REljgecs PR 220 2 CMB0BE-16-26P(072)SRB2 | 1.Y11866

@ EELEI LK The cable’s length is 1 meter

@ uEk,

RELH Joint only, no wire

SIatER 2B High Frequency Module Type

FRER T{EEBE T/EEBR
Product name Working Voltage Working Current
i MESER QCHFM-E14-CIR 7.¥02003 LKV 5
95%@21%%:%% QCHFM-E14-C1G 7.Y02004 1.4KV 5A
=1 - -
KB BIER/Pneumatic Extension Module
FRER ili=3 i S 1R, FRER RS i i 1277,
Product name Model PN Gas path  Threaded hole Product name Model PN Gas path  Threaded hole
HEAMSEE R | QCAM-06G18R | 7.Y01015 | 6 G1/8 MEAUSET RIRR | QCAM-10MS5R | 7.Y01053 | 10 M5
KBTI BRR | QCAM-06G18G | 7.¥01016 | 6 G1/8 AWM RER | QCAM-10M5G | 7.v01054 | 10 M5
I 1; [
HEEAMSER R | OCAM-06G18R-E| 7.Y01018 | 6 G1/8 MEBAUSEETRIER| QCAM-14MSR | 7.v01055| 14 M5
SeA=L] X [ 1;
REMTEY B | QCAM-06G18G-E| 7.¥01019 | 6 G1/8 KRNI RER | QCAM-14M5G | 7.¥01056| 14 M5
MBS TE B QCAM-06G18R-F | 7.Y02005 | 6 G1/8
REMEH"TE RER | QCAM-06G18G-F | 7.02006 | 6 G1/8
ripper side self-proclaimed Pneumatic Extension Module

BZBH iR ZESIERR/Self-Sealing Fluid Air Module

e

Eea=}

FEmBATR i)
Product name Model i\
*{%Ajﬂﬂfﬁ*ﬁiﬁ QCWM-02R 7.¥02013
%f-@gf%;%’f%i% QCWM-02G 7.¥02012

c=G

B3y | FhE

d9qnL SNS - 3!404d

S R

3|NPOA SIUdIS

S SR

J9bueyd 3oInd

il

) B
tlHJErJT[ a|npo\ diug

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

JaddiN 11y




B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

b b2 |

JaddiN 11y

RS
3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

77

TRIRZE

# Module Typer

QCSM-15

C=G

36.24

vl

0__[l

7.Y00965
*’J':'(Model) QCSM-15R1

ag AMIAELR

Robot side module

38.50

30.80

17.52

. 30.81

o o=

: 50V

N N

7.Y00468
*“':(Model) QCSM-15R2

Ol 0203 04 05
@ 06 07 08 03 010 @
0110120130141015

HEEAMARER

Robot side module

0 == 0

o
™

[ I

24.84
39.12

60
BJE Voltage: 50V
B3R Current: 2. 5A
E8 Weight: 68¢g
¢ &

IH
cu

F Suitable for: QCA35. QCA50. QCA100.

@ Q150140130Q1201101009 @
08 O7 05 OF 04 03 02 O1

QCA200. QCA200-D1

= +
v.

0 [l

7.Y00966
ﬁ;?(Model) QCSM-15G1

FEMELR
Gripper side module

oF 9

¥ BJE Voltage: 50V
¥ HEA Current: 2.5A
¥ E& Weight: 29. 8¢

J 1
8‘ o
|
16.97
13081
S|
—— S
31

7.Y00469
i?(ModeI) QCSM-15G2

FEMER

Gripper side module

@ /’ oaoomoeon@s @
{ ©: 020300050105}

il 5 0
o <
c4 O W @ g
‘ [ T N
24.84
3912
=29 |3
G

X HBJE Voltage: 50V
¥ ER Current: 2. 5A
¥ EE Weight: 48.5¢

e



1EHRSEA Module Type
QCSM-08

B
ZE
2
g9
g
Hes AR KEMER
Robot side module Gripper side module %
783
PO 7.¥00477 O 7.v00478 ;E'%r;
STV QCSM-08R A=V QCSM-08G Hs
72.39 g
0 Ol «—
a ) |
© RO
2
ol & M
&l N o
o (o] S0
S tE o 23
Sl EE
He
72.39 67 ®
% HLJE Voltage: 380V X HBJE Voltage: 380V
% HE Current: 30A ¥ HLE Current: 30A
X E= Weight: 434.7¢ ¥ E== Weight: 330g
% JEAT Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1 _>
e
)z
QCSM-19 =5
AR
BS
Hes AR KEMER ZE §
Robot side module Gripper side module =
Q.
=N 7.v00954 =N 7.v00955 3
st =V QCSM-19R SE=VCE D] QCSM-19G
[l I 0 0
| 1P OHIFS I 1P @[ B 2
N~ 0 3 ~ 1
(S24 g N [e0] g
0
< O, (o) Yo 3
o ﬁo_(? \ H o o
I E
S
S~

¥ HJE Voltage: 220V X H
¥ ER Current: 3A ¥ R
¥ EE Weight: 178. 3g X E
% 1&E2F Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1

oltage: 220V
urrent: 3A
eight: 130.7¢g

=o<

c=G



1EHRSEE Module Type

QCSM-26

R D
ZE
e
B9
g
B8 A MR FEMIER
o Robot side module Gripper side module
iﬁ% PO 7.Y00464 C O 7.Y00465
T =TV QCSM-26R =TV QCSM-26G
i N N n
Q o) o O ©
re) o
2 o o N
.|~;&,(:) 8 O © < < o) ©) £
s [ |
2
2 32
8 40
2§ g8
= | 0
B8
% HBJE Voltage: 220V
% HLE Current: 3A
gz ¥ =& Weight: 198.5¢
Wz % JEEETF Suitable for: QCA35, QCA50. QCA100. QCA200. QCA200-D1
SIEHRZER High Frequency Module Type
B
283
4¢§
HLES A MR ~ REMER
. | Robotside module | "/ Gripper side module
ey proy= o '
3 CE= (N 7.Y02003 CA={(ANEY  7.Y02004
g U=V QCHFM-E14-CIR ==V QCHFM-E14-C1G
3 N N 0
3 =1 = = 2

J£ Voltage: 1. 4KV
i Current: 5A

P
P
¥ EE Weight: 194. 5¢

el CRG

B F Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1

oltage: 1.4KV
urrent: 5A
eight: 151¢g

KK
e cEE-
&t
=0 <



#sL Connector

19 E kL (L)

19 core straight connector (female head)

48.41

£RE(PN) 1.Y11420
aeb=(Vele )l MS3116F14-19S

% EE Weight: 36.8¢g
¥ JEBECTF Suitable for:QCSM-19R

2615 B LK (L)
26 core straight connector (female head)

8.97

T .

51.99

£RE(PN) 1.Y11867
aeb= (Vo) MS3116F16-26S

¥ EE Weight: 44. 8¢
¥ EBLTF Suitable for:QCSM-26R

90°#%3L 90°Connector

$12.70

L9 E LR (Ak)

19 core straight connector (male head)

£RS(PN) 1.Y11419
aeb=((Vele D MS3116F14-19P

% E=E Weight: 36.8g
% EACF Suitable for:QCSM-19G

265 Bk (AK)

26 core straight connector (male head)

£RS(PN) 1.Y11369

aeb=((Vele ) MS3116F16-26P

¥ EE Weight: 44. 8¢
¥ EBCT Suitable for:QCSM-26G

99.53

B3y | FhE

agnL SNS . 3|1401d

HEE A

S|NPOA SIUBIS

S SR

J9bueyd 3oInd

S
a|npo\ diug

ham 2 20301

JaddiN 11y

8i90° L (B:k)

8 core 90° connector (female head)

76.98
8.26

T
d

|
{13

5.0

37.31

£RS(PN) 1.Y10710
at =iVl 3108A22-23S

% E= Weight: 149. 3¢
¥ JEBECT Suitable for:QCSM-08R

-

50.62

(%)

8iS90° 5L (

8 core 90° connector (male head)

76.98

i

AN

.

50.62

(@)

E

37.31

H£2(PN) 1.Y10711
at = (VIeell  3108A22-23P

X EEE Weight: 119. 2¢g
¥ JEHBCTF Suitable for:QCSM-08G

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

c=c [0)




B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

S SE
3|NPOIA SIUdIS

J9bueyd }oINd

il
a|npo\ diig

b b2 |

JaddiN 11y

RS
3|NPOIN Wnndep

sjuauodw o) A10ssa20Y

81

90°#%3L 90° Connector

19:E90° 53k (B3K)

19 core 90° connector (female head)

54.85 $28.50
42.85
g
54.85 o
Hlodddd
~ m 90 So o‘l‘ o] (7
HE(PN) 1.Y11863 |

#IE(Model) CMBOSE—14—19S(O72)SR—B‘

X EE Weight: 81.1¢g
¥ EHBCTF Suitable for:QCSM-19R

26i590° 1% 3L(BF3k)

26 core 90° connector (female head)

58.35
44.40

$32.16_,

HS(PN) 1.Y11865

k=10 [elo [ D CMBOSE-16-265(072)SR-B

X EE Weight: 99.5¢
¥ EHECF Suitable for:QCSM-26R
cCG

19590523k (A3k)
19 core 90° connector (male head)

54.85
42.85

$28.50 |

18

HS(PN) 1.Y11864 |
#ES(Model) CMBOSE—14—19P(O72)SR—B‘

X EE Weight: 79. 2¢g
¥ EELF Suitable for:QCSM-19G

261590°5 3L (k)
26 core 90° connector (male head)

58.35
44.40

46

£BS(PN) 1.Y11866
ek ="(\V/[e)o [=1 )}l CMBOSE-16-26P(072)SR-B

¥ EE Weight: 96. 4g
¥ EECF Suitable for:QCSM-26G




552k Quick Changer Signal Cable

. Y
¥ .;@ 3

fﬁ_"

IS RIRES LBk )

15 core quick changer signal cable (female head)

5S(PN) 1.Y10163
G Ve DB15R1-1000
X EE Weight: 125.7¢

P ﬁ?%éﬁéfﬂ‘t’t%ﬂ* The wire’ s length is 1 meter
% J&EBCF Suitable for:QCSM-15R1

LSEVRIRIS S22k )

15 core quick changer signal cable (female head)

5S(PN) 1.Y10080
=TV D-Sub15R2-1000
X EEE Weight: 142¢g

X EEEZEMAKCHIK The wire’ s length is 1 meter
¥ EELF Suitable for:QCSM-15R2

Y

ISERIBIES L(DX)

15 core quick changer signal cable (male head)

£RE(PN) 1.Y10437
aeb=l(VeeEhl  DB15G1-1000

X EE Weight: 123.7¢g
P E?%éf&ﬂ‘t’tjﬂ’]* The wire’ s length is 1 meter
¥ EHECF Suitable for:QCSM-15G1

\_@z—- S

N

LI5S RIBES LX)

15 core quick changer signal cable (male head)

1.Y10081

4—b|=|(PN)
aet=V[ele [l D-Sub15G2-1000

X EE Weight: 141. 4¢
X EEEZEMACAHINK The wire’ s length is 1 meter
¥ EE.F Suitable for:QCSM-15G2

C=RG

B3y | FhE

3gnL SNS . 2]1404d

HEE A

S|NPOA SIUBIS

S SR

J9bueyd 3oInd

S
a|npo\ diug

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

82




S EiELR Pneumatic Extension Module

m
ZE
e
g4
g
HLEs AMRIR FEMIER
%2’ Robot side module Gripper side module
1= 2
Hs 2E(PN) 7.Y01015 - ={(\) 7.Y01016
s stk ={(\lele Sl QCAM-06G18R SdE=TVee S QCAM-06G18G
to © ©
}ﬁé% 50+0.02 2 © g 50+0.02 i 3
o ©
e © °
1 o ) {O O ©«\ @@/3
o > O “e
%< ix042 6xG1/8
=27 T e 28
H § Wounting Bolts Mmmlmg Bo\s
Q
#% % B Weight: 141, 4g % B8 Weight: 140.9g
% IEELF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1
sz
#z
B3
Jle
'S
z5g "
‘53 MEEAMELR FEMER
ﬁ:g Robot side module Gripper side module
° RS(PN) 7.Y01018 525 (PN) 7.Y01019
aib={\Ylele Sl QCAM-06G18R-E atb={\VleTe[S)) QCAM-06G18G-E
B 2 o o ° °
0 : 3§l [[°
= b
: 50+0.02 2 x@4 39 @ J_M_l 2x@439 @
o Hg H8 @
'g 80 3 @ 3 80 3 @ 3
g @ 50+0.02 @
Z () n o -
e 28 | e 28 |

2xp4 39 4 x@ 4.20

4 3 Hg M4 ¢
Mounting Bolts Mounting Bolts

X EE Weight: 145¢g % EE Weight: 148¢g

% I&ECF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1

RN CRG



SRy B Pneumatic Extension Module

i
ZE
e
g9
g
g AMtER FEMER
Robot side module Gripper side module ,%5
=2
H2
HS(PN) 7.Y01053 £S(PN) 7.Y01054 gg§
sl ={Vlee Sl QCAM-10M5R sl =l Sl QCAM-10M5G =
E o ° ° °
@
° ) I I\\ @ = re
\2xp4r 9 o fan
50:0.02 © =~
fe s °° o 50:0.02 \%.‘3 @ o s
93.70 o Oo N 93.70 8 ©© N &
o | %
5 e ° ° e’ o J 15 e° © % o° o P
9| o o o o 0 o oo [©) k2
© o\ 32l o o 0o o s\ 53
\(0 xM5 2540 ©] 25.40 [
- Q.
4M>‘<1 ;'20& X 420 10 xM5 e
Mountingéolts M4 ﬁunﬂng B0l
X EE Weight: 263.9¢g % EE Weight: 267.9¢g
¥ JEERTF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1
=
=z
s
J]2
B
. - =2
HLEs AR FEMER g5
Robot side module Gripper side module {¢§
=) 7.Y01055 £RS(PN) 7.Y01056 >
ate={0Ve ] QCAM-14M5R sl ={lele Sl QCAM-14M5G
° ° o o @ B &
® q () ? g ©© %38
Py 6\\ oO ) 0 o) g
m) = <
50:0.02 \&M& 00 50:0.02 \M @© o
B oo | %] s ® g e E 3
120 e = 120 - ©© - S
°° ©] g
N 0O 0 .0 O O O O D = ¢
S o ) o o Jo © ©o o O ©o [ @@
ge| oo 0o o0 o0 0\0 Oo ge| oo o o0 o0 \o )
(2] (©) ) © Q
4 x® 4.20, \14 xM5 25.40 4 x @ 4.20, 14 x M5 25.40
M4zz°=¥i§ M4 ZRRE
Mounting Bolts Mounting Bolts
X EE Weight: 207. 4¢g ¥ EE Weight: 210. 3¢

¥ 1&EETF Suitable for: QCA100. QCA200. QCA200-D1

CRG



B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

b b2 |

JaddiN 11y

RS
3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

85

BESEY EfER Self-proclaimed Pneumatic Extension Module

Mes AMtER F B MR
Robot side module Gripper side module
5S(PN) 7.Y02005 5S(PN) 7.Y02006
aeb={{\lele <)l QCAM-06G18R-F aeb={(\lele <)l QCAM-06G18G-F
80 .
5 5 = o mm ®
g _ RIC o
50 +0.02 2x0 439
e 2r e o WOERRE 3 8
80 9 © 2x04F 10 Mounting Bolts
> g .
~| oo :n
¥ &F FF ¥
2x® 47 10 4%4.2 32
H8 M4
¥ EE Weight: 150g Mounting Bolts X EJEE Weight: 152g
% 1EEZF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1
cCG



B&ZimA/S SR Self-sealing Fluid/Air Module

O
= ,

_ @,
‘e

Hag AMARLR

HS(PN) 7.Y02013
Zi=(Model) puelaVE I

[ [

41

28.50

¥ T1EEETERE:-28.9° C "65.6°C
X MER: FHERINE

X EE: 393. 6g

3 Range of working temperature:=28.9° C "65.6°C

3 Material: Stainless steel housing
¥ Weight: 393.6g

% J&EECF Suitable for: QCA35. QCA50. QCA100.

Robot side module

(4

Do

“ SRR
.

Gripper side module

E(PN) 7.Y02012
STV QCWM-02G

[ [

41

O O

QCA200. QCA200-D1

60

27

¥ TEBEERE:-28.9° C 765.6°C
X MER: FTHENINE

>:< i% 379g

3 Range of working temperature:-28.9° C "65.6°C

3 Material: Stainless steel housing
¥ Weight: 379¢

B3y | FhE

d9qnL SNS - 3!404d

S R

3|NPOA SIUdIS

S SR

J9bueyd 3oInd

T K
a|npo\ diug

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

c=G @




RFZFERRHER Round Manual Quick Changer

iy
Kb * fUHE HEOATR F ik
%g * AHERTE=I.
% B T ESMABIEEITAIEIR,
® 4, 8,108 12 SEhEE.
°© FER S (AR SFMFDE BM) SFF R4,
3z
2 ® Easy replacement of the EOAT on the robot.
;f;'!g e Suitable also with vacuum ports.
‘Hcg’ e Avoids mistakes in pneumatic and electrical connections.
® e 4,8,10 or 12pneumatic connections.
QC-RI0K QC-G90 e The two parts (robot side and gripper side) are supplied
separately.
]a
o TR BiEERES
§ Medium Filtered compressed air
: FEH5EE
Pressure range S s
+ O N -
é% EESEE 5~ 60°C
7 Temperature range
fre UM IR SRkt
B TRERHRIEIR )
Robot side quick changer QC-R50K QC-R90K QC-R150K QC-R160K QC-R200K
HURF MR RERE RS E S 2640
Robot side quick changer weight 1039 3189 11599 12009 g
> 3 FEmRy e
g; BE MR RIEFEIRER QC-G50 QC-G90 QC-G150 QC-G160 QC-G200
BE Gripper side quick changer
72T
R BREMNREERIERES
1890
Gripper side quick changer weight 659 2279 8379 900g g
EEA 350N 1400N 3500N 3500N 9000N
o B,\"ffﬁﬂﬁﬁ 20Nm 100Nm 250Nm 250Nm 600Nm
ZE
#i ﬁiﬁﬂﬁﬁ 10Nm 60Nm 150Nm 150Nm 300Nm
’ i
Recomended payload okg 15kg 35kg 35kg 75kg
> e HiEE HiEE 2] HiEE 2]
Egg Colour Brass Brass Black Brass Black
3 L EFARA)
§ Installation and use example
° % Loc
E Max 25
2 ARG

Two times locking |

B e Tl

Example of Install with lock

B Lock
Max 2Nm {—\

freaod
Safety locking

Y8 CRG



RFZFERNRE Round Manual Quick Changer

ﬁﬂﬁ:/Accessories Wy
7=
HBSEIEAY Electrical connection module %N\ -
c
& n
=]
+D-SUB9 i #23 1/0 HRIRFFIRAE IR, + 1/0 quick change by D-SUB 9 pins connector. g
o
« FEB D 7 FHEMH: * The two parts are supplied separately.
QCSM-9R2 M F M5 SRR QCSM-9R2 robot side signal module.
F 2
QCSM-9G2 A EM{E SiEiR QCSM-9G2 gripper side signal module. %’E%
= =
RO-1000 45E&EEEL R9-1000 45 degree metal female fitting. g
>
G9-1000 45E&E Ak G9-1000 45 degree metal male fitting.
RO
LLYRE s
Safety locking(Standard) al
HURFMUS SR 7.Y00922 5
Robot side signal module QCSM-M9K 2
7.Y00862 -
QCSM-9R2
%2
E-E
[z
e
o
Connector-Female
1.Y06423 >
R9-1000 # %
S
NIV 5
RRUBHITX (H ) BRALS e 7
Output Switch(Option) 1.Y06424 I’
G9-1000 7= o
£ REMESHEER
L Gripper side signal module
\J 7.Y00863
d QCSM-9G2 B
= =3
ZEE
=
Q.
=
o
s e — r . . . 2
1§%ﬁﬁﬁm§/8|ngal Wire Cross-sectional Sketch Map 8
a
o
3
el
o
=3
]
ov @

24V

[ »
BERIPE

Insulation Protective Layer D-M9B
L2 H X

Output Switch

Fig=

Shielding Layer

CRRG Ef



RFZFERRHER Round Manual Quick Changer

it
o
=
e QC-50 =S #]/Parameter
s®=n
=]
§ Bs Model QC50
o
i BEREEES
R Medium Filter;Eco,nqurﬁe;Eed air
E/EE Pressure Range 5~6 bar
%g BEEE Temperature Range 5~60°C
Iﬁ § FLA S M A9 R IR 3% R AR R Robot side Quick Changer QC-R50K
—a
& MM B SRR L 242 BR & 8 Robot Side Quick Changer Weight 103 g
BB M EYRE AR IR Gripper Side Quick Changer QC-G50
SEEMBY IR ISR ESE  Gripper Side Quick Changer Weight 65¢g
'l%g E=ga)) Vertical Pulling Force F 150N
s
S g Rotating Torque Mt 20Nm
g g Reversal Torque Mb 10Nm
BNt Recomended Payload 5kg
5.5_5 BE Precision +0.05
H =R
'ﬁ:é i) Colour Brass
’ HEESIRY (#8) Size of straight air hole(quantity) 4-M5
RviHHH/Dimension
52
=z
a3
Jle
1%‘ = 12.63
© 1 o0
< o) )
a2 50 . | A — 2
2 5 i ¥ SO\
= & D 0O
g 1 AR | 1
c =] \ o .
§ i S ) ﬁ(é \
g ] —o
< 4 (=] O Va @
ik Tl °°
C : |
Bt = o
Vi ’ N = 1 O \2x® 3H8v6
g 34.6 ;
< —_—
3 230 a5 4xM378
3 i
B . _ ,/ ) 40:0. 02
3 ZAHBFIC QCSM-MIK c —
3 Safety Lock (Standard) c
\\
10.50 .
LA TG (R 18
Safety Lock Output (Optional) — =
27 (4HfF)
— " <Assemb\ing L
HUA T M AY BRI HR AR R CEs((NE  8.Y00402
Robot side quick changer =V QC-R50K

0 c=c



RFZFERRHER Round Manual Quick Changer

B
‘ZY\"% Oeo g 12":%
&, 15 "0, b 6, 3 40:002 &
o ‘o i . g’ $|7.J 2
r %m
I g =
O n i ( / (o] O S
j=] [=]
1 OQOF i, e
o I | O
R | ir\% )
S D : Q@ T 2 “ SE )
\é) C @) i e ) 0] Bag
(o) © i ] | =2
© (He : A
35 Y | Z‘—é oy
2 346 &
27 (A& )
Assembling 27
AEMB R EIE R £E(PN) 8.Y00055 Eg
Gripperside quick changer AE2(Model) QC-G50 5
2
EIRFER /Module Type
RE 7RG /O e
Product Product name I/0 connection type Working current gﬁ <
frg
I WESER | Qesm-9R1 7.¥00823 9%tD-SUB MAX 3A R9-1000
(1.Y06423)
s>
3
N == E:I';
JERIESER | Qesm-961 7.Y00824 9%tD-SUB MAX 3A G9-1000 hE
(1.Y06424)
*R9-1000, G9-1000i%HE , ERELLEK ALK
*R9-1000, G9-10000ption,the cable’s lengthis 1 meter
=
#H3
. . =
RIBIEIZEIRInterface  (BETEM%E) (Kit With Screws Option) 2
B NFZETEHESTESMIT W B8SSIP-50BT £57.Y00650-T ®
Note: If screw kits needed, add T to the part number and model number. eg: Model SIP-50BT Part number 7.YO0650-T.
B 2
3
s
a
o
3
3

55(PN) 7.Y00650
EI5(Model) SIP-50B
QC-G... QC-G50
EE(T) 4mm

12 £7 1% B 14 Accessorier selection

BR22 (Screws) PTC-M5L12*4
Xﬂﬁ$ﬁ(5ing|e hole shim) PTS-M5*4
TEUMREHT-Nuts) PTN-M5*4
BB (Weight) 90g

c=c @)



B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

S SE
3|NPOIA SIUdIS

J9bueyd }oINd

il
a|npo\ diig

b b2 |

JaddiN 11y

FHEHbm

3|NPOIN Wnndep

sjuauodw o) A10ssa20Y

91

RFZFERRHER Round Manual Quick Changer

QC-90

RT.I'iHHE/Dimension

35

i

122.50

0]

4.50
)
3
o

MU 3 M B9 R R L HRAR IR

Robot side quick changer

C=G

ZL2YIRAQCSM-MIK
Safety Lock (Standard)

FmB#/Parameter

s Model Qc90

e Medium Filteergiclj?c;,rﬁﬁgj air
ENERE Pressure Range 56 bar
RESTE Temperature Range 5~60°C

AR T M A IR IR IR AR R Robot side Quick Changer QC-R90K

PR FEMI B R H4E3REE  Robot Side Quick Changer Weight 3189

JA B MY R IR AR IR Gripper Side Quick Changer QC-G90

BEMIBYRERZIRIEIRE S Gripper Side Quick Changer Weight 227¢g

EHNN Vertical Pulling Force F 400N
ik zgziba Rotating Torque Mt 100Nm
% Reversal Torque Mb 60Nm
BiE Recomended Payload 15kg
BE Precision +0.05
) Colour HAE
Brass
HEASILRT (#8) Size of straight air hole(quantity) 8-G1/8
11.85
——
’ o
o ©
5.5 =l o
o T
M o)
- A
0] |
2 = 3
S : @
o
L ~
o
s
| =
O™ 1 3
n
tional) [~ | | o
| <
=
18.60 _8-G1/8 #5010 =)
8-G1/8 Inlet port 47.50 B
42643360 53.6 9
™ TAssembling 33.601 &

£RS(PN) 8.Y00359
ZiS(Model)| moles:t1e] ¢




RfFZFERNRER Round Manual Quick Changer

o
550, | B 2
———12 ZE
gl N - ®
it 3 S e
IT ) c’:" %C‘f,
[ l:[l < o
o
\d—) o
9 ™
8 25
g 0 =%
S 2
Uk ¢ &l
15 8-G1/8 #50 = Hg
8-G1/8 Inlet port 2 s
33.60( AE >
6 16 4-M3V5 Assembling 33.60 e}
=N o
I HEIDIE
O O O 7e
23
2
1= [
N . 51 S(PN) 8.Y00033 >
A BRI RS R B2 (Mode!) TN g
Gripperside quick changer Y
%2
*ﬁﬂ&%ﬂ/Module Type Z%;
=S
Q.
FRE FERER e J/OxtEfKRY e "2
Product Product name 1/0 connection type Working current
Wﬁwfﬁﬁ% QCSM-9R2 7.Y00862 9%tD-SUB MAX 3A R9-1000 s>
(1.Y06423) =N =
EH]
712
JARMESER | QcsM-962 7.¥00863 95tD-SUB MAX 3A G9-1000
et (1.Y06424)
<
*R9-1000. G9-1000i%E , EHELLK ALK %5
*R9-1000. G9-10000ption,the cable’s lengthis 1 meter 5 5
fr=
, Q.
T*?ﬁﬁ?%*ﬁ/lnterface (1BETEMI%ED) (Kit With Screws Option) =
MBS EH SR EMESMT W0 BSSIP-90BT £857.Y00634-T
Note: If screw kits needed, add T to the part number and model number. eg: Model SIP-90BT Part number 7.Y00634-T
- - >
w G
- = - - §
a
- - S
- -~ '§
4 = = 3
w Lg ~N h% g
- 3
8RS(PN) 7.Y00634
S (Model) SIP-90B -
QC-G... QC-G90 4
EE(T) 3mm
928 £ 156 BC {4 Accessorier selection o
ﬂ;ﬁ(Screws) PTC-M5L12*4 4
mﬁ:‘zﬁ(smgle hole shim) PTS-M5*4
TEUMREF(T-Nuts) PTN-M5*4
B EWeight) 190g

CRRG BV



RFZFERRHER Round Manual Quick Changer

it
3
=
.o o
o QC-150 S /rarameter
s®=n
=)
§ ns Model QC150
o
7 i BETBERETS
R Medium Filtered compre_;lged air
E/EE Pressure Range 5~6 bar
wv
%g BEEE Temperature Range 5~60°C
i MMEMEOMEERER  Robotside Quick Changer ac-R150K
—a
& HARFEM YRR RIERE S Robot Side Quick Changer Weight 1159 g
A E MY R IRIE IR Gripper Side Quick Changer QC-G150
SEEMBYRIRIEHRIEIRES  Gripper Side Quick Changer Weight 837¢g
O
R B FEEHNAH Vertical Pulling Force F 1000N
s
S g Rotating Torque Mt 250Nm
=}
g ikeaib i Reversal Torque Mb 150Nm
B E Recomended Payload 35kg
+ 0
fg.i% BE Precision +0.05
/s )
,fq; g ) Colour Black
° BEEBEASHRT (#%E) Size of straight air hole(quantity) 10-G1/4
> - -
=> R~Ti%BB/Dimension
=z
BIT
555
713
21.
Ak oo
%6 =
BS ISy 1 ©w|©
K -
z5g .
‘53 10-G1/43#50 N
10-G1/4 Inlet port S
= =
a © ¥
5 S R
go
o
e}
b 2 5
z iREL QCSM-M9K
14:% éza%tﬂﬁ%iQ(Standard) \y/
5 ; 717 5
3 ¥ 116
3 ‘Assembling 47
>
2

@
=
w
<
(9]
>
6
10

AR S B9 IR R L R AR R CE= (N 8.Y00376
Robot side quick changer eIV ED QC-R150K

RN CRG



RAZFERNRER Round Manual Quick Changer

21.30

-~ © S gg g
§ —prife "
ol _ e NG “n
e as
1 8 Z
=1 o
gl= | e /|7 \ ’
i g P o ]
Sl $2 . [ =
/ v
3 : ° \ & , %5
¢ Bl 1 2 \Ne Y fg;.
N ~ — E
: gs . = o T / pa=| s
(e Mogtne ~___ -~ g
LMy 10-G1/4 Inlet port © >
5 b
ARE4T | g
Assembling 47 @
o
= Ho
2
2
a
8 B MR RIRFE AR R BS(PN) 8.Y00377 o
Gripper side quick changer EEESIVELEN] QC-G150
%2
1EIRZEB /Module Type B
ZHo
e
FmE FEmRATR 3 1/Oi&HERY ®
Product Product name 1/0 connection type Working current
HURFMIESHER
oot e o moas | QCSM-9R3 7.Y00819 9§tD-SUB MAX 3A R9-1000 sz
(1.Y06423) I
%'U
hE
A ===
JERIESER | Qesm-963 7.Y00820 9%+D-SUB MAX 3A G9-1000
(1.YO06424)
BS
*R9-1000, G9-1000%ER , MEMELLE ALK e
*R9-1000, G9-10000ption,the cable’s lengthis 1 meter A 5
fiz
Q.
T*?ﬁﬁ}%*&/lnterface (RETEHi%ED) (Kit With Screws Option) 5
i NEIREEMRSMNESIT W 28SIP-160BT £557.Y00635-T
Note: If screw kits needed, add T to the part number and model number. eg: Model SIP-160BT Part number 7.Y00635-T o "fb
M2
-] ST -] %53
SR E
<
N\ 0
- \ - e}
- - _g
- - %
 PENIere. - :
-- 4

5S(PN) VATIES

S (Model) SIP-160B
QC-G... QC-G150/QC-G160
[EE(T) 4mm

2 £7 3% B 14 Accessorier selection
ﬂgﬁ(Screws) PTC-M5L12*4
mﬁqzﬁ(smgle hole shim) PTS-M5*4
TEUEEH(T-Nuts) PTN-M5*4
REEWeight) 5409

.



RFZFERRHER Round Manual Quick Changer

it
)
=
NG o
o QC-160 = amE#/Parameter
B9
=y BS Model QC160
o
N’ Medium X EdEEEES .
Filtered compressed air
[EF13EE Pressure Range 5~6 bar
%g BEEEE Temperature Range 5~60°C
zﬁgg’_ FLAE 3 M B TR IR 5% R AR R Robot side Quick Changer QC-R160K
& WMARFEM A RERELIEIRE S Robot Side Quick Changer Weight 1200 g
JA B MY RERFE IR AR IR Gripper Side Quick Changer QC-G160
SEEMIBYRIREHIIEIRE S Gripper Side Quick Changer Weight 900¢g
O
R <. \EHRAH Vertical Pulling Force F 1000N
s
S TR Rotating Torque Mt 250Nm
g Ekagaibi) Reversal Torque Mb 150Nm
e 30Gak=4 Recomended Payload 35kg
+ 0
é% EE Precision +0.05
5 )
'ﬁ:é ) Colour Brace
° BEHMSIRYT (%28) Size of straight air hole(quantity) 12-G1/8
=> quﬁﬂﬂ/Dimension
2
BIT
Bk
Jle
22
- il % 6 §| g
BS S N o
23 0 i 4
= ~ }
53 %2 BIFE QCSM-MIK 12-G1/8350 : N
ﬁ: z Safety Lock (Standard) 12-G1/8 Inlet port 1 | <
o — e
o © I | +l
= ; < o R
° \ ) F° |o
3 Y .
S |
> 1 | o
=
|
B 5 ¥ | E
%3 |
§ |
5 5.7Q
3 L _|Banto
g Assembling 49
o
N 3| 116, 4-M375
© S
52\ 6
o e o oo
AL S M A9 RIR R 1R AR R HS(PN) 8.Y00360
Robotside quick changer sle={(VleeEl QC-R160K

95 g e<{c



RfFZFERNRER Round Manual Quick Changer

v y 22 5 A
114 \% Y . -] 2 M%
~— [to) e] S
D - e
%) - P, S \ % ‘:
P NS g
ey ¢ \(? Q
o = | \
& 3 T BREE
2 S\ 2 oY %8
: x \\\ \Q\\ _ 2 - ;JEE
| O)\12-61/8 i#t50 ~ \0\ T = B
: T2-G1/8 Inlet port ~—___ - - 18 pa=| §_
HERT 49| @
Assembling 49
:H&Q
23
o
B BB BRR T RIS R FEGOM 8.v00053 g
Gripper side quick changer =TVl QC-G160
xQ
EIRZEEY [Module Type ae
He
~mE FERAR £ ilojuz:-=Sidl ®
Product Product name 1/0 connection type Working current
NS WESTER | Qcsm-9R2 7.Y00862 9$tD-SUB MAX 3A R9-1000 52
(1.YO6423) ng z
e
G’ff*‘md'“i’%ffiﬁ QCSM-9G2 7.Y00863 9%tD-SUB MAX 3A G9-1000
(1.Y06424)
BS
*R9-1000, G9-1000MHE , EERELL KK 2
*R9-1000. G9-10000ption,the cable’s lengthis 1 meter EE
=
Q.
RIEIZEIZEIR/Interface (BSTEM%E) (Kit With Screws Option) <

T MEIRETEM RS MELS T w0 BSSIP-160BT £57.Y00635-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SIP-160BT Part number 7.Y00635-T | N
Y

48,

~
F=

500

.
[
e

-

(]
‘Lg ]
©

20

52

110

syusuodwo?) A10ss8d0y

55(PN) 7.Y00635

IS (Model) SIP-160B {
QC-G... QC-G150/QC-G160 -
[EE(T) 4mm
B2 47 1% B {4 Accessorier selection
BB4% (screws) PTC-M5L12*4
mﬁqzﬂ(ﬁngle hole shim) PTS-M5*%4
TEUREF(T-Nuts) PTN-M5*4
B B (Weight) 5409

c=c @)



MRy |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

Frm

a|npo\ diig

b b2 |

JaddiN 11y

FHEHbm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

97

RFZFERRHER Round Manual Quick Changer

QC-200

quﬂﬂﬂ/Dimension

v

R 2 iR QCSM-MIK
Safety Lock (Standard)

6-M837T K [ 7E 7L

6-M8 countersunk fixing hole

12-G1/4#5 A 8-M3

12-G1/4 Inlet port ;

[ ] 1o.® O -

16

©

-

20

AU T 0 B 1R T2 5% A 3R

Robot side quick changer

C=G

ZEBRHIT R (%R

Safety Lock Output (Optional)

EmE¥/Parameter
ns Model QC200
o i BEREETES
ks Medium Filtered compressed air
E/EE Pressure Range 5~6 bar
BESEE Temperature Range 5~60°C
FLA S M A9 R IR 4% R AR R Robot side Quick Changer QC-R200K
M EM R RRILHEIEIREE Robot Side Quick Changer Weight 2640 g
A EMBY R FEIRIE IR Gripper Side Quick Changer QC-G200
BEMBYREIEMRIEIRES  Gripper Side Quick Changer Weight 1890 g
FEHHAH Vertical Pulling Force F 2000N
2l Rotating Torque Mt 600Nm
Esikazaibial Reversal Torque Mb 300Nm
BNt Recomended Payload 75kg
BE Precision +0.05
EE
) Colour Black
BEESHART (#%=2) Size of straight air hole(quantity) 12-G1/4
)
8
?'o
«©
T ©|
|
[
| A
I N
| S
o
|l v w b
33 3| ©
td 5
3 2
|| S
|
| &
I M
Il 6-M10EEFL
- 6-M10 fixing hole
30.70
HER55.7
Assembling 55.7 | 175
A= (AN 8.Y00209
L=V ED QC-R200K




RfZFERNRER Round Manual Quick Changer

S 6-M10 {, 1 ©
%o e,:_\ 6-M10fix;l§|ngﬁh§rle % g
T N E
@ N
<K N o
y lg:l/ =3
¢ 2 4
il d
NG AN 0
Q e S99 o
8 ?e ?g 2 B

o o
. 3 g * %
| |j Zms
A= N
Bz
M10 I Hg
— S 6-MBEEH, 3

6-M8 fixing holl
% ixing hole ®
6-MB Tk EEH
- 6-M8 fixing hole 25
175 HER55.7 120

Assembling 55.7
2-G1/4#[ 0
2-G1/4 Inlet port

ol Tof iol ol |

S SR

1
1

J9bueyd 3oInd

Ef 16 8-M3X6 <
ARMBIPRREIRELR £S(PN) 8.Y00208 FQ
Gripper side quick changer GUE=IYISI  QC-G200 %;
=0 o
=1 1 He
1R R /Module Type S
RE FEREBR 15 1/OesEEY T{EEBiA

Product Product name I/0 connection type Working current
5z
iz
I MESER | Qesm-9r4 7.Y00821 9%tD-SUB MAX 3A R9-1000 3

(1.Y06423)

G’f“ﬂ'ﬁ%ffi% QCSM-9G4 7.Y00822 9%tD-SUB MAX 3A G9-1000 a5
? (1.Y06424) =0
‘53
*R9-1000, G9-1000i%HE , EELELIC LK ﬁ: §
*R9-1000. G9-10000ption,the cable’s lengthis 1 meter g

ﬂmﬁg*ﬁllnterface 220

>

® P oy 2

T 36— 8" e

< p—— & gl |, & S

= “e e o 2

"4 N S

i | |© © 3

83 RDe 3

= -} i El

— — A
s O g ll

6x@ 112 BF

S (Model) SIP-200B
QC-G... QC-G200
ERE(T) 8mm
RAE E(Weight) 5789

8 £T 1% B {4 Accessorier selection
m?ﬁ(Screws) PTC-M 5L16*16
mﬁqzﬂ(single hole shim) PTS-M5*16
TEUREHT-Nuts) PTN-M5*16

c=c [0



MRS . X

aqnL SNS - 3|140.d

HEE S A

9|NPOIA SIUd1S

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

FFERRER Square Manual Quick Changer

72

60

@ O
@

® 2
50

&

QCS-G60
SEHESLRE (%)
Threaded Hose Module(Option)
55 (PN) 8.Y00081 8.Y00082 1.Y03525 1.Y03524
= (Model) QCS-R60 QCS-G60 KCHO04-M5 KCHO06-M5
fa#i(Load) 70N - -
E2/Weight 1489 799 79 9g
QCS-G100—— —
RS
Unidirectional joint(5 Pieces)
KCHO06-M5*5
KCHO04-M5*5
98

QCs-

I

g A
RIEEEL(5D)

R100

100

100

B
g 9 1 J
¥
116
— C -

BURIRL
Lock screw

‘:‘,-;» ‘__.'f : Quick coupling(s Pieces) L] |
r oy PN MS-10SF*5
}bél /.._: I._E_.I
. . ]
MS-10PF OI =
N [
RS (PN) 7.Y00332 7.Y00175 7.Y00860 7.Y00861 YA LVERY 1.Y04667
#E(Model) QCS-R100 QCS-G100 KCHO04-M5*5 KCH06-M5*5 MS-10SF*5 MS-10PF
fh#(Load) 300N - - - -
&E8/Weight 463g 2409 869 969 1969 11g
QCS—Glﬁ: — e ‘ ; = BB E =] N
EBEESL(ST) 8 Q)
Eg:‘:iligeecrt'i:;«asl joint(5 Pieces) 3
KCH104-M5*5 . 180 i
1]5280 100 130
QCS-R160 L!) §
e & 3
’ g | e . @ ;I || :
. BEEL(5D) 9\5‘_909)0 N ! \I;
“;ﬂi’" - Quick cougllng(S Pieces) @ L
-"J‘dé:; - MS1-10SF*5 I.!
~ ° g [4i
9 ; J 2
ﬁ]%e’fi’fﬁ(jsﬁe%odule(omion) QCs-G160 QCS-R160
£8S(PN) 7.Y00160 7.Y00161 7.Y02016 7.Y02017 7.Y02018 1.Y20004
#E(Model) QCS-R160 QCS-G160 KCH104-M5*5 KCH106-M5*5 MS1-10SF*5 MS1-10PF
faz(Load) 800N ; . i} )
E&2/Weight 1198¢g 6349 869 969 1969 11g

C=G



LF.FE N L-Type Manual Quick Changer

Fidjed
2 CE
24 4-95.8 >
280_|,_ 2120 15 50 15 ~ %
13.85 Q) G/ B4
&
g 0O O (5
] N
O G "
o
_'| 0] |'_'|| ||'_'| =%
Pz
R x7
X0, A & 15 z
AN 1.Y01275 & A3
7 =
EEE=T(VIOO SNl QCL15R-Y &
25
MEBTE A H
MER: 1859
MREME: MAFM
HAMER: ~15kg
¥Superhard aluminum
%Weight: 1859 RO
¥Installation location: Robot side }ﬁ o
3Load weight: ~15kg :
3
=3
Q
]
28
4-M5 17 1
e m|: x2
v M _E_'c
c/ B HE
-y o e
< 3 ~ o
b SEE 2
-
’ O C =
S)
s A s J__I_mo.so
80 51| o6 ﬁ;
&z
BUT
59T
712
A=A 1.Y01276
ale= Ve QCL15G-Y
SR
WER: 2949
MREME: AN
KAMER: ~15kg BS
Steel g-‘f 2
¥Weight: 2949 g <
*Installation location: Grip side “H 3
#Load weight: ~15kg s §
Q.
=
)
N— . .
=R / Application
Mz
L
o
<
o
FHRRE HHER e)
RiAXE Robot arm .g
Quick changer o
..... 2
3
@

V)

Center of gravity B OREER
Distance to the

center of gravit

Grip

.



LFZFEBNRIE L-Type Manual Quick Changer

m
3 PR R—
E 3 3
S \ \
e :\LJA:
= 4 B _.| r
N
: 1 o |
o . .
SV
/2 S | | A $6.50
o 4  C Go
a3 LT
< &
=2 50
Hg Cas RN 8.Y00236 80
c
a atb={(VeEE QCL15R-S
MR E R H
MEH: 190g
MREME: NMAHFN
HARER: ~15kg
¥Superhard aluminum
R %Weight: 190g
}ﬁ f; ¥Installation location: Robot side
A *Load weight: ~15kg
>
S
Q
o]
100
iz O
é_% 50 30
|\
e - M
2
o b 7
D -
o
13
i
i I 4 <
52
&z g
BUT
ekl
713
CE={AY  8.Y00235
2 S(Model) pelahiYeRy 3 @
MABREH
&R 1979
MREME: RAM
BS HAMER: ~15kg
EE 2 %Superhard aluminum
Qﬁg ¥Weight: 197g
7 *Installation location: Grip side
'{L.ch, 3Load weight: ~15kg
2
o
\— . . .
= FSLI / Application
T >
2
) .
2 FahBbiE BB
A RIEAXE Robot arm
g Quick changer
3 e
=
©
2
B .
Center of gravity FEOROIEE

Distance to the

center of gravit:

Grip

IO CRG



LF.FE N L-Type Manual Quick Changer

150 i} g
130 1~7_f(:p_h
90 i\ .
m [%)
=g g7
P35 © I =
© &
< N
) [ »
@ @ Ry L
’ ® /,o e | 1@, o
®© 3¢ ! ! < :i%
palz]
3 5> & A ?SE
EEa=] hd QE <
CE={(NB  8.Y00101 Hg
c
dl=(Model) BoJeEL 8 0 20 by oy
©
FBIR R S
MER: 5059 <
HREE . HAFEN 40
HAMER: ~35kg
¥Superhard aluminum —
¥Weight: 5059 ’P&Q
*¥Installation location: Robot side }ﬁ a
#Load weight: ~35kg (g ~ :
3} >
__'—/ _| L
I 1 [ | a
o
e
%2
BT
J ) H
—— 3
) O O
o G
S ]
oN\_N &
o) Q &
I 53
= St ©20 = = 'ﬁ‘?‘%
< i
50 N 7%
130

5S(PN) 8.Y00102
Z=(Model) eleieLIen

B REA S
ME=R: 5659 g
MBREME: AR ©
AR ES: ~35kg B E§
¥Superhard aluminum f'_E o
%Weight: 5659 Qﬂg
Installation location: Grip side =
¥Load weight: ~35kg {L.F §
o
75 75 %
150
e = . .
=AsLAI / Application
j >
M [a)
a
e
«
FohERE BHE =}
RiRFA%E Robot arm <
Quick changer g\
=
o
E
a

a2 .
Center of gravity L. B E IS
Distance to the
center of gravit;
Grip

c=G



FaIRIEEHRIER Manual Quick Changer Module

iR
o
=
.5 78
e 14
% 7
3
c
3 / OIC
%
o s S\ 4-M5
5a 3 o D
R2 @ | <
7] S ~| — PN
i 9 4
o
Ha
c
o
- @
4-5.50
nm,(:)
#]a
[a)
3 15 =
2 ClEON  4.Y00480
e B 5 (Model) BP90
% gﬁ'l:ﬁ':
% B 2349
*x9Q K REME: RAMN
Bm ¥ Iron products
el < ¥ Weight: 234g
Zq: 3 3% Installation location: Grip side
c
o
121
115
25 40
g ? 14
=z
%g- D..a
ik AR E \\
/ \
> - [
3 :| M6 [~ @Ez < o &
23 S| Y o=~ 7~
- 0
=
g
=N S
® & r@ {D—=
Y| <
5
8-99 8-¢6
B & 555(PN)  EER(IZEY
g B2(Model) EIER
o
< * BHR
2  EE: 6609
g K REME: RAM
o 3% Iron products
S 3 Weight: 660g
g 3% Installation location: Grip side

i CRG



FBshtRie Square Automatic Quick Changer

W o4 BE04 23
Loosen m Me__?h'
o) e
o &
L{)_ o
I
4-96.60 11 FLIRS. S W F L2EL)
4-96.69 11 Counterbore depth 8.5(Hole for robot mounting) % @
92 o
<
21 0 21 APB-M5-06 1
[=)
o 5
To)
ol @ N 3 tho
© o s
(= N a
sl s 2
£55(PN) 8.Y00037 o Te) é
SISV QCA-S10R o o ®
KEEAIE: TURFN APB-M5-®4| 8.50 75 8.50 |APB-M5-94
XE B 4669 %0
KATMER: ~10kg 3
¥Installation location: Robot side 2-M4 % Z
%Weight: 466 5 a =9
>:<Loa3weight:g~10kg @ Ih?]zﬂ @ #F%
arf ? 4 ©
34 24 34
5z
#z
S
7]z
8 L B
1|0 vooo0) @ 15 (ceees
S| o=@ 0 ) Oy s
H3
4-M6( REZRAIBAA ) =
4-M6(Thread hole for gripper mounting) e
92 g
APB-M5-06
o a
B o
© O— 8 S
£55(PN) 8.Y00038 el =g §
IO  QCA-S10G g' fo— g :
KLEEE: AN =
XE 2 230g
XAIRER: ~10kg APB-M5-®4 | 8.50 75 8.50 |APB-M5-®4
*Installation location: Grip side o
#Weight: 230g L)
#Load weight: ~10kg 34 | 24 | 34 <
| |
M

2-M4

c=G



HEE S A TRSS | X

Frm SR

b b2 |

FrisHHm

-z
=
=

473z Parallel Gripper

=
,_,‘, S GMHZ2-10S GMHZ2-16S GMHZ2-20S GMHZ2-25S GMHZ2-32S GMHZ2-40S
S S (Model)
3 D GMHZ2-10D GMHZ2-16D GMHZ2-20D GMHZ2-25D GMHZ2-32D GMHZ2-40D
c
o
@ fIf2 Bore 10 16 20 25 32 40
SEFARA Fluid 5 Air
BIER
{FEES SEE(MPa)  Singleaction 0.35~0.7 0.25~0.7
% Operating pressure range  su/ef 02-07 01~07
3 Doubleaction : : . :
« 3
z FERTFIRE o
g Environment and fluid temperature S
c
o EERBE(Mmm)
Repeatability accuracy =l =02
REEMME(C.p.m) 180 60
Maximum frequency of use
po) FYEF T Action mode BA{ER-IEF Single action - Double action
<
o | 1 . .
~ MEF*.(EI&.IE) . Tof s FF % Contactless magnetic switch
a) Magnetic switch (optional)
o P .
a EE0O4R Pipe Size M3x0.5 M5x0.8
©
B 53g 123g 2279 3099 4159 5439
E&(Weight)
D 52.5g 1209 225¢g 3149 4109 537g
[q] M .
= [#ER ] GMHZ2—
=z Standard type
3 ) AT - -
c Sl o Parallel opening and closing type
® B E 10mm Elo%e -
16{16mm :{Jﬂ?ﬁiﬁ d
2- KIZMGR K1 ol20 ction mode
2-K thread depth K1 _29]20mm DR
(ﬁiﬁ?ﬂi‘%> q) _25]25mm Double action
ounting threa —t
32}32mm S [EfemstoEs)
> 4- KIROUR K2 (Z2FIR3L) v _40[40mm __[Singleaction(Open)
= 4-K thread depth K2 (Mounting thread) L.
z V. o LEFL (B, D v K5 [ Gripping f°“°;$§t
kel - Prepared hole dia.oL through N/ Gripping force N Fiase
3 (Mounting hole) ot N S FRRRABARE )
= 1 @_ ):) _h:ﬁ L= Gripping force per finger Effective value mm
H Model IXEN(D EEN(S) | OpeninglClosi
U QI DK\C Double ac)tion Singlea(ctzon s"g::\(rég;‘hgiségg)
v - \,Q :(: L 9hZE/External| #E/Internal |9MZ/External (om)
4}: _3} Cl GMHZ2-100 11 17 7.1 4
1
Q el GMHZ2-160 34 45 27 6
GMHZ2-200 42 66 33 10
NN
s ofz [ l.c_] B BB | |, GMHZ2-250 65 104 45 14
2 gﬁ A D S p— GMHZ2-320 158 193 131 22
< ] - KIRGUR N
3 S E 2K thread depth K3 GMHZ2-400 254 318 217 30
=z (REREI) GMHZ2-100fIBIEFF X REER T GMHZ2- OO B F X R EMR Y
o (Mountin th‘read) GMHZ2-100Magnetic Switch Mounting GMHZ2- 00 Magnetic Switch Mounting
g- #HEOSEH)* 9 Groove Dimensions Groove Dimensions
= Inlet Port S (Close) #HSOSE *
® 4-P §®B3|,4-P through Inlet Port S (Open) 4 82 A 4 6.2 . A
3 BT R TR §
(ZEMERIRSL) 5 | o — TR LA
(Thread for mounting ) f=—=i| / Magnetic switch — Magnetic switch
} mounting groove mounting groove
b 5| /
z = Y Ple) e i <l
2 R 3 8
m Q o]
o U
<
A A%
g o J - J
° * BERNGE, —MBOEAFRIL. F) FEREMA X, STARALUBA &% ) MMM D-Y59 . D-Y69 K D-Y7
g * For single action, the port on one side is a breathing hole. Note) When using Magnetic switches, B, SMA A LUBFLRE
o . . throughhole mounting is not possible. Note) When using Magnetic switchesD-Y59, D-Y69.
3 RTJ;E(mm) Dimensions table D-Y7, throughhole mounting is not possible.
a
fI#Z(Bore) A B C D E F G H | J K K1 K2 K3 ol M N
10 6 23 12 37.8 57 29 16.2%  11.235; 43, 16 M3x0.5 6 5.5 6 2.6 27 211H9T 2
16 7.5 24.5 15 42.5 67.3 38 20.9% 14.93%: 58 24 M4x0.7 4.5 8 8 3.4 30 @17HIT 2
20 9.5 29 20 52.8 84.8 50 26.3% 16.33% 854 30 M5x0.8 8 10 10 4.3 35 @21H9T 3
25 11 30 25 63.6 102.7 63 33.33 19.3% 1035, 36 M6x1 10 12 12 5.1 36.5 @26H9T73.5
32 12 40(49) 29 67(76) 113(122) 97 487%° 26 35 125, 46 M6x1 10 13 13 5.1 48(57) @34H9T 4
40 15 49(62) 36 83(96) 139(152) 119 60 %" 30 385 145, 56 M8x1.25 13 16 17 6.6 58(71) @42H9T 4
fI{2(Bore) O P Q R S T u \Y w X Y z Y1 Y2 AA BB CC DD  EE
10 11.4 M2.5x0.45 3 5.7 M3x0.5 23 9 19 5 5 11 @2H9T 3 16.4+005 522002 7 .6+002 18 12 - - -
16 16 M3x0.5 4 7 M5x0.8 30.6 7.5 19 8 Jos 13 23H9T 3 23.6+005 6.52002 112002 22 15 1.6 21 5.8
20 18.6 M4x0.7 5 9 M5x0.8 42 10 23 10 8s 15 @4HIT 4 27.6+00s 7.52002 16.8%002 32 18 14 2.1 9
25 22 M5x0.8 6 12 M5x0.8 52 10.7 23.5 1235 20 @4H9T 4 33.6+00s 10 2002 21.8%002 40 22 19 3.5 1.5
32 26 M6x1 7 14 M5x0.8 60 1 31(37) 158 24 @5H9T 5 4001 12 20m 23+0z 46 26 24 3.3 1.5
40 32 M8x1.25 9 17 M5x0.8 72 12 38(45) 18 80s 28 @5H9T 5 4801 14 *o 2Q0*o 56 32 29.4 3.7 13
FREFESE PIII R E)( ) IR AERNRY

For switch selection, please refer to page P191.

-

The size of the single action is within ().



IEFEITE Lengthen Parallel Gripper

1.Y09405 1.Y08175 1.Y09882 1.Y09883 D
E={(\)) e
“ 1.Y07974 1.Y08146 1.Y07975 1.Y08802 B
S GMHZL2-10S GMHZL2-16S GMHZL2-20S GMHZL2-25S %m 2
B E(Model) =32
D GMHZL2-10D GMHZL2-16D GMHZL2-20D GMHZL2-25D =
o
142 Bore 10 16 20 25 ®
EFFRA Fluid =5 Air
e
{FEES SEE(MPa)  Singleaction 0.35~0.7 0.25~0.7 S‘Zm
’ PA
Operating pressure range . EF 0207 e B8 )
oubleaction *“ 7
FERFARE e s
Environment and fluid temperature i s
ESREE(Mm) ®
Repeatability accuracy =l
= ERME(c.p.m) 120
Maximum frequency of use
EFS = Action mode EA{ER-SUER Single action - Double action RO
: Ha
M&F*.(E‘rﬁ.ﬁ) . T B EFF % Contactless magnetic switch a
Magnetic switch (optional) z
S 42 Pipe Size M3x0.5 M5x0.8 3
63g 1399 218g 3029
EE(Weight)
D 599 130g 211g 293g %o
— o
M [ 458 ] GMHZL2—[20] 52
N Standard type ng_
S priplail <
- ° Long Stroke type
@ Bor
— ore ER
N it [ Action mode
(Z54BLy) v 10{10mm J—
Mounting thread s P
(Mounting thread) 16/ 16mm D %I{FE?EQ .
vi Sol20mm” | Double action s>
_ . N kel bbbl S [BER=(EF) )
ssECse, 25[25mm__|sigecionOpen) E
e Erer LI R3F 7 | Gripping force ﬁ'g
_ hs JE [/ e | oo B
1 = o @ B S0 TR ANERE ity
—— | 9[ _W\c$— L= Gripping force per finger Effective value mm
f=- r INEH(D, (S Opening/Closi
- T N §§ / | g Model Double (ac)tion Sin%l?a(ct%on S\Vgsgl(?vm:i&dgg)
T ® o T Pt q 9MZE/External | }1Z/Internal |hM&/External ()
. - GMHZL2-100 11 17 7.1 8
B | GMHZL2-160 34 45 27 12 BS
O| T &g 0
°| T N GMHZzL2-200 42 66 33 18 =g
2 8 BB GMHZL2-250 65 104 50 22 78 3
o| © c \A
K| & z § § =
E 2 -KIZEER K GMHZL2-100R MR LR T GMHZL2- 00 BT R 9
2-K thread depth K3 GMHZL2-100Magnetic Switch Mounting GMHZL2- OO Magnetic Switch Mounting c
w (i;%@i?) " Groove Dimensions Groove Dimensions o
ounting threa
#S0S() 4 62, N ~ ™
wp Inlet Port S (Close HSASED 5 >
- . 2y 5
=R Inlet Port S (Open) " "
(Mounting thread) t@} « g
I i Sl — ai oL 10 i+ >
= = x & 9| ar ?E a
i @ : o PR a
f <
QR \_m 2 Q_ | o
o | " )
\ w 3
s 3 DD 12 o
© ~ 6.2 ) S
. - 22 J S
* BERRYAE , —M $EROZRFIRIL £
* For single action, the port on one side is a breathing hole. ) ERAMMFXE , SMATLUEFLRE 3E) ERABEMFFX D-Y59 . D-Y69 K D-Y7 ©w
Note) When using Magnetic switches, Egvh%mZ:WLliE?Lf% hesDY50. D16
. . throughhole mounting is not possible. Note) When using Magnetic switchesD-Y59. D-Y69.
Rvﬁ( mm ) Dimensions table D-Y7, throughhole mounting is not possible.
fI{&(Bore) A B C D E F G H | J K K1 K2 K3 oL M N
10 6 25(35) 12 37.8(47.8)  57(67) 35 19.2% 1123 4%, 16 M3x0.5 6 5.5 6 26 29(39)  @11HIT 2
16 7.5  31(36) 15 452(50.2)  70(75) 47 26.9% 14.9% 53, 24 M4x0.7 45 8 8 3.4 36(41)  @17HOT 2
20 9.5 36(42) 20 58(64) 90(96) 62 34.3%  16.33. B 30 M5x0.5 8 10 10 4.3 43(49) @21H9T 3
25 11 40(50) 25 66.9(76.9) 106(116) 75 41.3% 19.38. 1035, 36 M6x1 10 12 12 5.1 48(58) @26H973.5
fI{&(Bore) O [ Q R S T U \ W X Y z Y1 Y2 AA BB CcC DD EE
10 11.4 M2.5x0.45 3 5.7 M3x0.5 23 8 21(31) 5 8 11 B2H9T 3 16.4%00s 5. 2%0m 7 6o 18 12 - - -
16 16 M3x0.5 4 7 M5x0.8 30.6 8 25(30) 8 s 13 @2H9T 3 23.6%00s 6.5x002 1102 22 15 11.6 21 5.8
20 18.6 M4x0.7 5 9 M5x0.8 42 10 30(36) 1038 15 B4H9T 4 27.6%00s 7 5002 16.8%02 32 18 14 2.1 9
25 22 M5x0.8 6 12 M5x0.8 52 10 33(43) 1256 20 B4HIT 4 33.6%00s 10 z02 21.8=002 40 22 19 3.5 11.5
FFXIEFIESE P11 ] () RBIRT R BEEI R

For switch selection, please refer to page P191. The size of the single action is within (). .



Y B Y Type Gripper

it
ZE
gmé - 1.Y02014 1.Y02730
=G &S(PN)
= : | D | 1.Y05738 1.Y04328
® & BEModel) S GMHC2-16S GMHC2-20S
= ode
GMHC2-16D GMHC2-20D
_— fil{12 Bore 16 20
8 fEFBRE Fluid 5 Air
iﬁ § EEES SBE(MPa) Sinﬁlﬁﬁion 0.1~0.6
Hg .
c Operating pressure range
& P PIESIETEE  cule atin 0.25~0.6
RERRINEE .
Environment and fluid temperature B
RfERME(C.p.m) 180c.0.m
o Maximum frequency of use P
23 EEHEE(mm) +0.01
2 Repeatability accuracy o
Q
=}
S S 99 167
e E&=(Weight) 2 2
D 1089 1779
+ O
éé [#RAER ] GMHC2—|20]
gﬁ‘ Z Standard type
i¢§ S AFFE J :
= Bearing point opening and closing type
[aKE
Bore Eﬂ{'ﬁ}"j‘iﬁ
Action mode
D |REMAR
16/16mm DoubIeIaction
. . S |BRERX(EF
g z JESOS () 20(20mm Singleact;ng(ﬁ)en;
z
EH
Jle
HSOTH),
Inlet Port T (Open)
BS £ 4-KiEFLL
§ 2 4-K Through hole for fastening L
ZE - : / -
4 § ~ PV = (\&
e Of o —-== i \2-K
) o o =
[l -1 " Ol O —t
R S >
=" >,
= o s
+ > A B BB
ik :
3 AA
g D
<
& 2-N
3
H
>
o
z B o
¢ o
H

EEOR
P PipeSize U V W X Z AA BB CC DD

S T

16 39 162 446 625 226 16 4 7 7 24 M4X0778 34 107 M4X0.778 16 M3X0.5 M5X0.8 7 183 8 13 17 236 15 306 22

20 45 217 552 787 28 20 52 9 8 30 M5X0.8710 4.3 157 M5X0.878 8.6 M4X0.7 M5X0.8 75 222 10 15 21 276 18 42 32

LIRS 0l
For switch selection, please refer to page P191.

o



=JI\3Z Three Jaws Gripper

BS(PN) 1.Y04529 1.Y04764 1.Y05750

fir
5 (Model) GMHS3-16D GMHS3-20D GMHS3-25D M%
.
£I1R Bore 16 20 = o
{ERA Fluid =5 Air i
o
{55 FAEJ35B Bl Operating pressure range 0.2~0.6MPa o
BRI RRE o
Environment and fluid temperature -10~60%C
EEHE(mm) %g
Repeatability accuracy AU %’EE
— - =
BEEATE(C.p.m) 120c.p.m ?ﬁg
Maximum frequency of use c
o
ZHER action mode Y{EFA Double action
IMERFF
;%)j‘;;o}%jj N External di;meter clamping 14 25 42
FE30.5MPa WiESsE
Note) gripping force N internal diameter clamping 16 28 47 'H&O
o SEEIAEES g 2 3 RS
~
HR PR TR s 4 6 2
Standard finger stroke with hood 2
Q
KITEFIETIE 2
Long stroke finger stroke t 1y 12
#E{ZRc Pipe Size M3x0.5 M5x0.8 %o
BAMEFF % Magnetic switch WEHFRE Built in magnetic ring type Z%g
=& Weight 59¢ 96.79 138g ﬁg
o
) FIFIMRRI RIS |, ©16-025/93% i M IEEL =20mmATRIEUE
Note)Clamping force when holding the outside diameter,
The value of the holding point of @16-@25 is L=20mm
olu MERY —_
22 NA [#REB ] GMHS3 = >
1k N Standard type g Z
SfS SE y BT
o ét\ k=S 73T
e R 5 ° Bore 72
EE - 1 R
KE 16/16mm 4o mode
D |W{EAR
ﬁgii;oove 20{20mm ;({);bk;éction
S AR
N . 25[25mm Singleacti)n(Open)
3-SAME#L 3-SA Through hole for fastening
SB3sk 7, T SC 3-SACounterbore J E <
0 Z= 2
|l O iy Iﬂ ml o < 2 < ?ﬁfg
— “ L] |r_ o] ] i ZL_F =
© iy :
=
O o o)
) [sa]
#s0pen {1 @ q 2
Inlet Port P (Open)
HSOP(F)
Inlet Port P (Close) o " l}ﬁﬁ
Iy g
3 3
&
3
el
o
=3
o
>

&I42(Bore) AA AB J K NA NB
16 35 32 10 4 8 5h9
20 38 35 12 5 10 6h9
25 40 37 14 6 12 6h9
FI4R(Bore) 0 P Q SA SB SC B UA UB VA VB WA XA XB
16 2 M3x0.5 6 34 65 8 5 M3x0.5 45  2H9 2 17H9  2H9
20 25  M5x0.8 7 34 65 95 6 M3x0.5 6 2H9 2 21H9  2H9
25 3 M5x0.8 8 45 8 10 6 M4x0.7 6 3H9 3 26H9  3H9

3
FREFIESE P11 T
For switch ?election, please refer to page P191. CRG



FPTRIEFEsN=LINFE FPT Two-finger Translational Gripper

B3
:%" 45 = Features
Y 2
g o TSI EEEE TE
3 ol |50 o BT XIEO
- o BEEFF XN
. o FEEREEN
S o —FRRBUHFIRIE

RS e o it
3|NPOIA SIUdIS
.
[

o .
s s . - # ® T-tooth guide rail. Compact structure and reliable
-‘ — - = -

® Magnetic switch interface

® Proximity switch interface

71N =18
Ba%ﬁ}zﬁion Dustﬁ:c::f}fljgrsion High tem';’alfanture version ® Pipeless connection interface
o ® Ten million maintenance-free operations
e
g
¢  FARSE Technical Parameter
xQ we e BIE1TE KRN BE ITHEE | BKFEKE | RARINFEEE | E5EURE PR
1=k = Single finger stroke| Gripping force SelfWeight | Workpiece weight| Longestfingerlength | Maximumsingle finger weight |Repeat positioning accuracy
FE (PN) (Model) (ke) (ke) (mm) (mm) P
He 1.13289 FPT-40A-1 25 123 0.08 0.68 50 0.1 0.01 40
® 1.¥13290 FPT-40A-1-SD 25 123/132 0.11 0.68 50 0.1 0.01 64
1.¥13291 FPT-40A-1-TEM 25 123/132 0.08 0.68 50 0.1 0.01 40
1.Y13292 FPT-50A-1 4 140/145 0.15 0.77 64 0.18 0.01 40
1.¥13293 FPT-50A-2 2 290/310 0.15 1.60 58 0.18 0.01 40
5z 1.Y13294 FPT-50A-1-SD 4 140/145 0.18 0.77 64 0.18 0.01 64
Fz 1.¥13295 FPT-50A-2-SD 2 290/310 0.18 1.60 58 0.18 0.01 64
B3 1.Y13296 FPT-50A-1-TEM 4 140/145 0.15 0.77 64 0.18 0.01 40
7% 1.¥13297 FPT-50A-2-TEM 2 290/310 0.15 1.60 58 0.18 0.01 40
1.¥13298 FPT-64A-1 6 250/270 0.28 1.38 80 0.35 0.01 40
1.Y13299 FPT-64A-2 3 520/565 0.28 2.86 72 0.35 0.01 40
1.Y13300 FPT-64A-1-SD 6 250/270 0.35 1.38 80 0.35 0.01 64
1.Y13301 FPT-64A-2-SD 3 520/565 0.35 2.86 72 0.35 0.01 64
BHs 1.¥13302 FPT-64A-1-TEM 6 250/270 0.28 1.38 80 0.35 0.01 40
EE § 1.¥13303 FPT-64A-2-TEM 3 520/565 028 2.86 72 0.35 0.01 40
s 1.¥13304 FPT-80A-1 8 415-465 05 231 100 0.6 0.01 40
3 1.¥13305 FPT-80A-2 4 860/960 05 473 90 0.6 0.01 40
® 1.¥13306 FPT-80A-1-SD 8 415/465 0.6 231 100 0.6 0.01 64
1.¥13307 FPT-80A-2-SD 4 860/960 0.6 473 90 0.6 0.01 64
1.Y13308 FPT-80A-1-TEM 8 415/465 0.5 231 100 0.6 0.01 40
0 e 1.¥13309 FPT-80A-2-TEM 4 860-960 0.5 473 90 0.6 0.01 40
s g 1.¥13310 FPT-100A-1 10 660/725 0.81 3.63 125 11 0.01 40
2 1.¥13311 FPT-100A-2 5 1370/1500 0.81 7.54 115 11 0.01 40
< 1.¥13312 FPT-100A-1-SD 10 660/725 0.99 3.63 125 11 0.01 64
) 1.¥13313 FPT-100A-2-SD 5 1370/1500 0.99 7.54 115 11 0.01 64
'§ 1.¥13314 FPT-100A-1-TEM 10 660-725 0.81 3.63 125 11 0.01 40
g 1.¥13315 FPT-100A-2-TEM 5 1370-1500 0.81 7.54 115 11 0.01 40
¢ 1.¥13316 FPT-110A-1 20 1050-1150 2 5.25 150 2 0.01 40
1.¥13317 FPT-125A-1 13 1080/1170 1.35 5.94 160 2.1 0.01 40
1.¥13318 FPT-125A-2 6 2240/2420 1.35 12.32 145 2.1 0.01 40
1.¥13319 FPT-125A-1-SD 13 1080/1170 1.55 5.94 160 2.1 0.01 64
1.¥13320 FPT-125A-2-SD 6 2240/2420 1.55 12.32 145 2.1 0.01 64
1.¥13321 FPT-125A-1-TEM 13 1080/1170 135 5.94 160 2.1 0.01 40
1.¥13322 FPT-125A-2-TEM 6 2240/2420 1.35 12.32 145 2.1 0.01 40
1.¥13323 FPT-160A-1 16 1640/1770 26 9.02 200 35 0.01 40
1.¥13324 FPT-160A-2 8 3200/3460 26 17.60 190 35 0.01 40
1.¥13325 FPT-160A-1-SD 16 1640/1770 3 9.02 200 35 0.01 64
1.¥13326 FPT-160A-2-SD 8 3200/3460 3 17.60 190 35 0.01 64

o



FPTRRISERNZLINFE FPT Two-finger Translational Gripper

Fijhs

o

/=30 = =] AN & 2 g oo *Z 2

BigTE K H BHE IHEE BEKFEKE BABINFEEE ESTEURE A . ®

Single finger stroke Gripping force SelfWeight ~ Workpieceweight  Longest finger length Maximum single finger weight ~ Repeat positioning accuracy |P%n& %m wv

(mm) (N) (kg) (kg) (mm) (kg) (mm) e =G

1.Y13327 FPT-160A-1-TEM 16 1640/1770 2.6 9.02 200 35 0.01 40 g_

1.Y13328 FPT-160A-2-TEM 8 3200/3460 2.6 17.60 190 3.5 0.01 40 ®
1.Y13329 FPT-200A-1 25 2700/2870 52 14.85 240 6.5 0.02 40
1.Y13330 FPT-200A-1-SD 25 2700/2870 5.8 14.85 240 6.5 0.02 64

1.Y13331 FPT-200A-1-TEM 25 2700/2870 5.2 14.85 240 6.5 0.02 40 SIZ %]

o

1.Y13332 FPT-240A-1 30 4200/4440 8 21.50 280 8.5 0.04 40 Za 3

A= N

1.Y13333 FPT-240A-1-SD 30 4200/4440 11 21.50 280 8.5 0.04 64 Zﬁ <

o

1.Y13334 FPT-240A-1-TEM 30 4200/4440 8 21.50 280 8.5 0.04 40 o

1.Y13335 FPT-300A-1 35 6000/6260 135 33.00 300 BISE5 0.05 40 ®
1.Y13336 FPT-300A-1-SD 35 6000/6260 17.5 33.00 300 11.5 0.05 64
1.Y13337 FPT-300A-1-TEM 85) 6000/6260 135 33.00 300 11.5 0.05 40

e

23

| = hnvd s S, Q

BSHER aliEM B IE) -

. . . . Q

Model explanation Optional accessories(see below for details) o

. 71N 11

SD Bhaehi N _ | B3

-SD Dustproof version ‘ g B°

— - Bs

TEM A frg

) ) BEFFX M8 HIHEFFR M8 90°EF s
-TEM ngh temperature version Proximity switch M8 Magnetic switch M8 AhE S E Rk
90° bend angle

Rotatable Hose Fitting

5>

oz

BUT

EChe]

712

B

- 0

Tc

=

“H3

=

a

=

®

M2

e

3

<

Ia)

o

3

o

=3

o

>

CRG



FCT=18an=LIMFE FCT Three-finger Translational Gripper

fijn
E: oy P
. 5 Features
4 o TS IS AT
d o BIEFFXED
o FAFXRIEN
s o FEtEREO
e §, o —TRRGHEFIRIE
Zﬁg_ ® T-tooth guide rail. Compact structure and reliable
% ) 4 ® Magnetic switch interface
® Proximity switch interface
HANR Fr 4R = imhi ® Pipeless connection interface
Basic version Dustproof version High temperature version
o ® Ten million maintenance-free operations
]a
g
3 FARE%L Technical Parameter
He LT _%#_Eﬁf% ES P BHE ITHES BRFEKE %j{%f%?‘éﬁ% E’E?Efﬁ*%}ﬁ 1P
9% o (PN) (Model) Single finger stroke Gripping force Self Weight Workpieceweight | Longestfingerlength | Maximumsingle finger weight |Repeat positioningaccuracy i
-E (N) (kg) (kg) (mm) (kg) (mm)
I g 1.Y13338 FCT-40A-1 2.5 255/270 0.12 1.38 50 0.1 0.01
e 1.Y13339 FCT-40A-1-SD 2.5 255/270 0.15 1.38 50 0.1 0.01 64
® 1.Y13340 FCT-40A-1-TEM 2.5 255/270 0.12 1.38 50 0.1 0.01 40
1.Y13341 FCT-50A-1 4 325/355 0.25 1.76 64 0.18 0.01 40
1.Y13342 FCT-50A-1-SD 4 325/355 0.31 1.76 64 0.18 0.01 64
1.Y13343 FCT-50A-1-TEM 4 325/355 0.25 1.76 64 0.18 0.01 40
52 1.Y13344 FCT-64A-1 6 580/640 0.43 3.19 80 0.35 0.01 40
i) iz‘ 1.Y13345 FCT-64A-1-SD 6 580/640 0.6 3.19 80 0.35 0.01 64
B3 1.Y13346 FCT-64A-1-TEM 6 580/640 0.43 3.19 80 0.35 0.01 40
R 1.Y13347 FCT-80A-1 8 1000/1080 0.79 5.50 100 0.6 0.01 40
1.Y13348 FCT-80A-1-SD 8 1000/1080 1 5.50 100 0.6 0.01 64
1.Y13349 FCT-80A-1-TEM 8 1000/1080 0.79 5.50 100 0.6 0.01 40
1.Y13350 FCT-100A-1 10 1800/1902 1.41 9.90 125 1.1 0.01 40
1.Y13351 FCT-100A-1-SD 10 1800/1920 1.9 9.90 125 1.1 0.01 64
% § 1.Y13352 FCT-100A-1-TEM 10 1800/1920 1.41 9.90 125 1.1 0.01 40
ZE § 1.Y13353 FCT-125A-1 13 3100/3330 2.8 17.05 160 2.1 0.01 40
ﬁ: z 1.Y13354 FCT-125A-1-SD 13 3100/3330 3.23 17.05 160 2.1 0.01 64
3 1.Y13355 FCT-125A-1-TEM 13 3100/3330 2.8 17.05 160 2.1 0.01 40
5 1.Y13356 FCT-160A-1 16 3100/3330 5.6 33.00 200 3.5 0.02 40
1.Y13357 FCT-160A-1-SD 16 6000/6390 6.5 33.00 200 3.5 0.02 64
1.Y13358 FCT-160A-1-TEM 16 6000/6390 5.6 33.00 200 45 0.02 40
1.Y13359 FCT-200A-1 25 7100/1540 11 39.05 240 6.5 0.05 40
By & 1.Y13360 FCT-200A-1-5D 25 7100/7540 12 39.05 240 65 0.05 64
" a 1.Y13361 FCT-200A-1-TEM 25 7100/7540 11 39.05 240 6.5 0.05 40
5 1.Y13362 FCT-240A-1 30 9500/10400 20 55.00 280 8.5 0.05 40
§ 1.Y13363 FCT-240A-1-SD 30 9500/10400 21.5 55.00 280 8.5 0.05 64
3 1.Y13364 FCT-240A-1-TEM 30 9500/10400 20 55.00 280 8.5 0.05 40
§ 1.Y13365 FCT-300A-1 35 14500/15200 33 79.75 250 11.5 0.05 40
@ 1.Y13366 FCT-300A-1-SD 35 14500/15200  35.5 79.75 250 11.5 0.05 64
1.Y13367 FCT-300A-1-TEM 35 14500/15200 33 79.75 250 11.5 0.05 40
B SR a4 (F B W)
Model explanation Optional accessories(see below for details)
-SD BN .\ . o
-SD Dustproof version :”%;;w — . g | I |
-TEM SRR N N
. . LT X M8 BMEFFR M8 90°51y SBEEDRHAG
-TEM ngh temperature version Proximity switch M8 Magnetic switch M8 AhEE S E Rk Elastic unloading
90° bend angle mechanism

o

Rotatable Hose Fitting



FCT=18a1=IMFE FCT Three-finger Translational Gripper

iR
o
Bf#14 Accessory Components L
PR %S FRRE ik me
Product image (PN) Product Model Description = Z:
c
HK2m, RIERBL g
\:"% 1.Y01631 E2E-XIRSE12M Wire lengthis2m, the end is bare ®
BHRFX M8 1.Y06553 E2E-XIR5F12M | GRS B3
Proximity switch M8 Wire lengthis 2m, theendisbare
%g
= ®"S RS R B3
Productimage (PN) Product Model Description ZE é
T . H §
£K3m, RFEREL =
HiMEFFX M8 It DHYREIEL Wire lengthis 3m, the end is bare ®
Magnetic switch M8
FrmE K]S FmES iR
Product image (PN) Product Model Description 'H&@
23
\i IHMSI A E A E % 2
22 S-S 3 pins M8 Field wirable connector 2
M8F] Bk feas @
M8 wireable connector [}
FmE ®"s FRES R FEmE ®"s FRES + O
Productimage (PN) Product Model Description Productimage (PN) Product Model ég
|\
1.v13381 SL-040 B\
90EEZL, "
G1/88RgsEsk, 5
1Y13156  KQ2V06.01as ~ SMMAEEEXIm L2 Sl
: 90 degree elbow,
G1/8 threaded connector,
6mm Hose Fitting output 1.Y13383 SL-064
338 SL-080 % z
m e o 1.Y13384 L ﬁ] %
i ® BIT
B (o 9OEEEK, s L] | ik
= G1/BRE., : 1.Y13385 SL-100 71z
— 1.Y13158 KQ2V08-01AS 8mm A E LN -
90degree elbow,
900° 8 gl/s t};read;(;l:onne?or; BRI 1.Y13386 SL-120
AhE S E Rk mm RoseFitting outpu Elastic unloading mechanism
90° bend angl
Rotatabls?rlliogé1 iteting 1.Y13387 SL-160
5
o
90REEK, 1.Y13388 SL-200 EE £
GL/4B LIk, i 2
1.Y13157 KQ2V06-02AS emm S EREL Kt =
Q 90 degree elbow, 1.Y13389 SL-240 2
G1/4 threaded connector, o
6mm Hose Fitting output
1.Y13390 SL-300
3
@
o
<
)
o
3
-]
o
=
®
3
@

CRG



HENBE GMXSZZFI Air Slide Table GMXS Series

ity §14Z(mm) @ 6x2 @ 8x2 @ 12x2 @ 16x2 @ 20x2 @ 25x2
7 r% o Bore size (mm) (HB4F08) (HEETFO11) (BYTFO17 ) (HBLTFO22) (HHFD28) (HEHFD35)
S = EEEROR
«%m 2 Piping port size M3 x 0.5 M5 x 0.8 Rc1/8
Pt
= ; fERRAR Fluid 25 Ajr
2 FERA L Action SX/EFE Double acting
B = E A ED
ﬁzximum operating pressure 0.7MPa
REERAED
i - El\%nimum operating pressure 0.15MPa
o RIEHRINEE -10~+60° 3 i
777& % Ambienta;lﬁﬂuién;rnxperatures =G0 C(ﬁ*”\%) (No freezmg)
IE% & 2 J# & Piston speed 50~500mm/s
Hg
g £t Action REZEE M (#7E ) Rubber buffer (standard)
° iiig Lubrication FFEE Non-lube
AER AR TIEEE (0~5mm), *Optional with adjustable stroke device (0-5mm) e Em S T LY
SUSELRT , 2fEmH 0, RRRE, *Double cylinder with 2 times output force, thin volume *%lill?%lﬂ,% ! ﬁfﬁﬁb:!:lﬁl\'lﬁlslo\/lGéSVGsz i d
SETR TEQIRES , KRR/, *The combination of cylinder and worktable reduces the ease use turbine No.1 ol ITneed.
Hho RATFRESNR , BEEON, S overallsize
}ﬁ E STraz BeESHEE , EaEhE *Roller slider design, small friction, no gap between
~ *Ejbl\:%?iﬁl - $Es 7 cylinder and worktable, suitable for precise assembly
Q *WE& - %*ﬁﬁ % *Can install from 3 sides
5 HE AR R, *Built-in ring, can install magnetic switch
2 g 9
° i%3F 3K/ Selection table
- : . . 1=
| 1THEstroke (mm) || THAREA]EIRF unctional options | | %ﬁﬁ%s%a
= © H?é V=K S e ) N N
ég Bore size 10 20 30 40 50 75 100 125 150 ﬁiﬁﬂ%ﬁ% SHEE N | HIRE | |mmEE BEERE
§E =z ( mm ) (0~5mm) With buffer With end lock| | Axial piping Install directly
frg 24 34
o 2-wire 3-wire
GMXS D-M9N
5 . D-M9NL
s> - D-M9NV
ol 2 D-M9BL D-M9NVL
kel D-M9BV D-M9P
o
7% D-M9BVL | D-M9oPL
D-M9PV
D-M9PVL
Hs BERTHGE GMXS 12 _[VisN] FEREME TR MOAAS R
Zs 0 Model representation methods BEEFF A SHMFFRRT,
gﬁ 5 Number of Magnetic switches Eﬁiﬁﬁ*ﬂ%)ﬁﬁ,
== T - Bl —=.
s fe e ZEE [ 24 WS KERRES:
= e Bore Stroke —_—t FieS-0.5m, L-3m,
o Adjusting device P S 1/|\ Z-5m.
ZoS | TSR T .
Nil Without adjuster Functional options n n 5 : A96 , A96L
AURIBTE . ) e
AS /?dj’ﬁsteronextensionend Fics Nil V?:Vithoutadjuster HHFXEE Note)The specification and
= inEE ] ISR Magnetic switch ch._aracteristics of mag ne_tic
B = AT |Adjusteronretractionend F With buffer TicS |LHMRFX switch can refer to the series
158 A R R i Nil__| WithoutMagnetic switch of magnetic switch . At the
g A 'ﬁjﬂfter on bath ends With end lock HMFXBEESST X end of the model of magnetic
< *BS :ggrfggo%ﬁignsionend P ﬁ@%ﬁingtype = For the applicable Magnetic switch switch,the ‘Iength mark of
9 « ARk EE e B ESAEE IR T Rl models, refer to the table above. conductor is attached:
3 BT | Absorberonretractionend FR With bufferand endlock Nomark-0.5m,L-3m,Z-5m
3 . EREENE Fp | PEEENREEEZE Example:A96,A96L
3 Absorberonboth ends With buffer, Axial piping type
3 *GMXS6TRIEE S “GMXSETEMB

*GMXS6 without hydraulic buffer

*GMXS6 without locking

SERITESES

Combination of cylinder and worktable
PN

=RE. BEMNA

High precision, sturdy application

a. BREREE LS IR SR T)
worktable Picking and placement Heavy load Drive automatic
+ with high precision screwdrivefl;
. SEBEGMXS B
SHEE Air Slide Table GMXS A8
Guide rr\_\\
+ b
S
Cylinder

crs



B4 GMXSZEF Air Slide Table GMXS Series

Ell EhiaEfRE: Wke) E2 AHMEE: Ln(mm), FREROERBIZIEE: An(mm) Jo
Fig. (1) Load Mass: W (kg) Fig. (2) Overhang: Ln (mm), Correction Value of Moment Center Position Distance: An (mm) %Q
‘W A EIEPitch moment {Ri&FI%EYaw moment [E1#£1358Roll moment €|'_] 2
X
c
e
o) £
0.0 ] -
i
=
S b
%
5 2
& B3
i
c
o
=
FS
A
2
N po
B3 TR K : o
Fig. (3) Workpiece Mounting Coefficient: K ‘é’ 1 la)
g P, ! z
EEBAL & = 3
Table mounting Lg
i) B20%E: HENFEENE Note) Static moment: Moment generated by gravity =
wN%E: hERAISERT , HihETEARINE Dynamic moment: Moment generated by impact when colliding with stopper
=1 BARIEFREL Emax()) B4 RiFEFRHRER B .
Table (1) Maximum Allowable Kinetic Energy: Emax (J) Table (4) Allowable Load Mass Coefficient: ;é =]
K=1 HSModel i fciﬁjJEEAIIowable‘kinetic\: energy 10 %;
[ #4Z HRubber bumper | iRESE F&Shock absorber AN 2o
SATRIRLE GMXS6 0.018 - 207 AN e
End plate mounting e )
GMXS8 0.027 0.045 2
GMXS12 0.055 0.1 Bos
GMXS16 0.11 0.22 We,,
GMXS20 0.16 0.32 % g
K=0.6 GMXS25 0.24 0.48 03
£33 —
e 5z
o . $£502 &z
; . *3 EPOMUEIEBEIEE: An(mm) B I
= =, = . T
§E2 Eikfﬁﬁ%qaﬁﬁk'ﬁi Wmax(kg) Table (3) Correction Value of Moment Center Position Distance : An (mm) \ﬂé 5 g
Table (2) Maximum Allowable Load Mass: 7] °
Wmax (ko) sErpO R IE (B (STEL2) 0. 00 200300 500 700
= = Y EE‘: Correction value of moment center position distance (Refer to Figure 2.)| SFiCJJEfE Va mm/s
h%zl Miﬁﬁ'{ﬁﬁtgfﬁfd%ass MEI A1 A2 A3 A4 As As Average operating speed Va (mm/s)
GMXS6 0.6 GMXS6 1 6 13 16 16 6 @5 f[:‘ * -
PALEE
GMXS8 1 GMXS8 11 7.5 13 20 20 7.5 Table (5)Allowable Mc:mem Coe%cient: N
GMXS12 2 GMXS12 24 8.5 26 25 25 8.5 10
GMXS16 4 GMXS16 | 27 10 30 31 31 10 ' AN =
GMXS20 6 GMXS20 34 14.5 36 38 38 14.5 07 AN EE 2
GMXS25 9 GMXS25 | 42 | 19 44 | 46 | 46 |19 I e
o ~ 205 s
x4 BARAIFIE: Mmax(Nem) %3, g
Table (4) Maximum Allowable Moment: Mmax (N-m) NLD.IKL; ’ %
HE 17%2 (mm) Stroke (mm) & 203
o
Mode 10 20 30 40 50 75 100 125 150 oy E
GMXS6 | 0.7 1.0 1.2 1.2 1.2 - - - - K302
GMXS8 2.0 2.0 2.8 3.6 4.2 4.2 = = = _g
GMXS12 | 4.2 42 42 5.8 7.0 10.0 10.0 - - < M 2
GMXS16| 113 | 113 | 113 | 113 | 159 | 250 | 341 | 341 : 0 100 200 300 500 700 2
GMXS20 | 19.4 19.4 19.4 19.4 27.2 35.0 50.5 50.5 50.5 EYEE Vamm/s  HEERE V mmis 3
GMXS25 | 30.6 30.6 30.6 30.6 42.8 55.1 67.3 67.3 67.3 Average operating speed Va (mm/s) Collision speed V (mm/s) <
e
i) SEFEERE LT B0, (R R E AR g
IS Note) Use the average operating speed when calculating static moment.
1E%§E Sy m b (o] | Use the collision speed when calculating dynamic moment. -§
iZESymbol £ M Definition BA7Unit JBESymbol £ Definition BA{37Unit o
JHEROMU B IEREIEE TYEE @
An(n=1-6) Correction value of moment center position distance mm Va Average operating speed mm/s
EfIEE E &G
E Kinetic energy J w Load)ntlassAE kg
FEFNIRE VPP RERE
Ea Allowable kinetic energy J Wa Alowablo Toad mass kg
RASEFIEE PESERE
Emax Max. allowablz kinetic energy J We :\/Iass eﬁ\:;fm to impact kg
S SARVFETRIRE
Lnn-=1-3) Overhang mm Wmax Max. allowabIeJlgad r)n\;!;s kg
BHIAE(ESH. (R [IF%) . =4
M(Mp,My,Mr) Static moment (Pitch, Yaw, Roll) Nem @ Toad factor B
FEVFRRIAE (. (R, [EIF%) . FIFEPRERERY
Ma(Map,May,Mar) Allowabis stafic momant (Pitch, Yaw, Roll) N-m B Allowable Io)a:I ma:sieﬁicient B
F1JIE (S, R . FEFIIFERE
Me(Mep,Mey) Dynamic momeﬁl (Pitch, Yaw) Nem Y AH(l;wab\e moment coefficient -
FEFRIIIRE (S, fRES) . BIRIHRE
Mea(Meap,Meay) Allowable dynamic mmoment(Pi(ch,Yaw) Nem 5 Damp’er coefficient B
RASIF/IR(ESH. Rk [5%) . THRERE
Mmax(Mpmax,Mymax,Mrmax) Max. allowable moment (Pitch, Yaw, Roll) Nem K Workpiece mounting coefficient 3
v IhEEE mm/s

ollision spee: CRG



S@BEa GMXSZEZ Air Slide Table GMXS Series

GMXS O EitE GMXS O Basic type

i GMXS 8 &% GMXS 8 sasic type

B2
M2 2-M2.5x0.45424073 2-M3x0. 5485574
L] 2-M2.5x0.45 thread depth 3 2-M3x0.5 thread depth 4
e SR 2-M3x0.5 = . B2 2-M5x0.8 249 5(Fik/778
= 5 6 &?ﬂn{g ot v %g-;;é))ﬁwﬂi 55 ?; N 2 7 Operating port 2-M5x0.8 %% gég)“"—“ﬂi
= i Max. 9.5 (With strok
g 2 |3 J | 5 st &) 35 - | J : | 6 - Bipustor st reractomend)
< [ Kl 7ki wn
= o © A _ _M el
I = g o o It
o SEEE TE I 3 [HF ST
- == N [t c=
5a 3 =
s _ : 38 | |7 2-M3x0. 548554
;‘g" 2 8 65 2-M2.5x0.454240R3 : 5305 thrﬁ%ﬁ%ggmzt
5 § K 125 2-M2.5 x 0.45 thread depth 3 H K 14.6 451275, 100mmIsaieEz, )
Hg .
4-M3 x 0.5824054
5 18 (BimfTiEAReees) 0 6 M 413 x 0.5 thraad depth 4
(With stroke adjuster at o
© Mo extension end) 6.5 35
o 5 @W [ 17
d 8 < ]
N -4
[ee] o
o 2 S -
< N ©
e z
Z z ! zz
2 7z
s : BRI AR E
d Stroke adjuster at extension end
-| R N-M3X0.5882855R5 S
R ?r%gﬁgm 5 N-M3X0.5 thri%?;ﬁ. 5 R TIZR R
Stroke adjuster at retraction end
%9 &% o
5 AR SEN b -
E; Stroke adjusér at extension end JEIRTIEREEE e 8 ? - Ei:“ﬁ
2 o Stroke adjuster at retraction end B 2= |y NP
B3 S S & & )
e Y e o Bt < | "E
c -M3 x 0.5 thread dey HEeoc , i} L g
g EL T O OHQ O 1 8 9 g
3 Ao - olE£% in:i?
{_:‘]F, + S i chT= o TEES 1 i =
£ ) y g @3H9 S iR3 - 5 |3
£ i = +0.025 o £ —|e
. =2 /\r’l‘Of = 7@ h’ o o g :M N Sﬁ g g
z Ees S N . £ : (7-1>XF g & £
z Bgs ~3 : 12 So 3o
2 2 /o o © i e 2 7o 3 :
S o|BES B2 22
=73 olESs o =3 " m
7e = F n| o 2 s — o v )
= ~N| s =S 2 (Rl TR E) (NN-1)xH G
@3H9'9 F2.5 N % & ES (With stroke adjuster atextension end)
L350 ke N 2 ) & 2-M4x0.TIRELF6
®3H9+g'025depm 2.5 11 <2 1>XF §o§ uﬁ% 2-M4x§,71h£§§4{?§h6 H
ol £ A B
[N it = : Fi 2
T = :
11 5.5 w5 &8 H
~ : i
Hs 3 IEE i gis
—~a @ Ql Q HEP PN
e = K 56 © 060 6
48 3 (NN-1)xH G : Bis
< i -
# g H : i ‘ ‘
c . : Y B
o NN-M4x0.74255R8 A B H
® NN - M4 x 0.7 thread depth & = = : "7 "7
BEAA i : 13 65 13 6.5
Section AA AEE i |
AMZ@E},@ e@,r\ H 1
155 B ‘ hd NI (IS W <
Bt = ‘ :
2 - H I SIRS ~
%3 EW | ; T e
» ~ H 7
o Q H
§ - OR &
e ke f P
3 : . X ‘
3 L : NN-M4x0.78250%8  EEAA EmEBB
3 BB i [ NN-M&0Tthreaddepth8  gection AA Section BB
=] H . .
@ Section BB i RY% Dimensions (mm)
R<r% Dimensions (mm) i B (Model) F N G H NN
BE (Model) E N G H NN GMXS8-10 25 4 9 28 2
GMXS6-10 20 4 6 25 2 : GMX$8-20 25 4 12 30 >
: MXS8-
GMXS6-20 30 4 6 35 > : GMXS8-30 40 4 13 20 3
GMXS6-30 20 6 11 20 3 : GMXS8-40 50 4 15 28 3
: MXS8-
GMXS6-40 28 6 13 30 3 i GMXS8-50 38 6 20 23 4
GMXS6-50 38 6 17 24 2 : GMXS8-75 50 6 27 28 5
i BE (Model) | J K M z 7z
BS (Model) | . K M Z ZZ GMXS8-10 13 19.5 23.5 49 485 56
GMXS6-10 10 17 22.5 42 415 48 : GMXS8-20 8.5 29 33.5 54 535 61
GMXS6-20 10 27 32.5 52 51.5 58 GMXS8-30 9.5 39 43.5 65 64.5 72
GMXS6-30 7 40 42.5 62 61.5 68 : GMXS8-40 10.5 56 53.5 83 825 90
GMXS6-40 19 50 52.5 84 83.5 90 H GMXS8-50 24.5 60 63.5 101 100.5 108
GMXS6-50 25 60 62.5 100 99.5 106 GMXS8-75 38.5 96 88.5 151 150.5 158

CRG




@B Ea GMXSZEZ Air Slide Table GMXS Series

GMXS1 2 EitE GMXS 1 2 Basic type { GMXS1 6 B GMXS1 6 Basic type A
2-M4x0. THELLRS 2-M5x0.842465R5.5 = S v S
2M4x0.7 thread depth 5y /2. o Msy0 8 Bk11 (B 3 qq AMESireaddopinss SRR 2-M540.8 gﬁﬁg}ig(ﬁiﬂﬁ{ﬁz 5
2 95 Operating port 2-M5x0.8 3 o Operating port 2-M5x0.8 UE‘I E) N
AREE) P 90 Max. 13.5 (With stroke N pa
4.75 J | 8 Qﬂaa.ﬁs?;‘;'fl'e".f;é‘éﬁi end) © 5.5 ‘ J | 10‘ adjuster at retraction end) K 2
J— il =
o e N S g
- o R e %
! o | ]
of TT% o ® G ik | 3
S o | ik . t@ ol o &
J — - ? bl T -0
T eﬁfrﬁl - = LS4
EL ,j—‘ L1 - w} 10
*_ N A
s.]L.es ZZMAA{!(‘;);Ochgi%éﬁES \ 55 2-M5x0.8424GR5.5 ,% )
K 18.5 (37275, 100mm3ga/ g, ) ! 2-M5x0.8 thread depth 5.5 ok &
H K 21 Y5175, 100, 125mmAdiiE, ) 7@%
31.5  (Flm{TTEEAEES) (RRATIREEEEE) Ll 2
(With stroke adjuster at 375 (With stroke adjuster at extension end) c
extension end) — o
™" AR 2-M5x0.8 BLLRS ’ 2-MBx18R5LR10
1 \ 4% 2-M5x08threaddepth & ————gee 2- M6 x 1thread depth10
w| 8 M ml 10 M
o o
[te} ] [
S 8 e ] gl| | g e
[a]
] I!@J [ M ~
e (@)
Z § Z 2
72 (@ e
1 Y74 Q@
: 20 0
TR E - NP : BlR{TIREREE N-M5X0. 8424576 TR
E#ﬂ{ajﬁjis«er tomansion end ’\l}l_;w l\:l;‘l));(zhzi%%mf:sg E%{T*iﬂ:?%%ﬁ Stroke adjuster at extension end N—MSXSO,B (hr}a%?zem 5 Eﬂgﬁiﬂ%ﬁﬁem
. ol I T - 6 —_—
o S T / S o %2
=t T . ; = = W l | | - Y =
3 T 13 = i i mpevem— Bo
gis | ¢ 4 1= |3 S =IEA N
ot A ! - S5 © @ i B B
. - o—et ©—+ 8 88 22 i ~I2 <
‘;E Eg ' N RN - %g S o + ] | o o |2 o
elezl | Vo S K ks ol 23 /’@ © NG kS
o 2 EX) =
— ks 1T s © ey % | ¥
BaHO 053 5 F 4H9 TRUR35 3B ¢ N Mg
P (N 4H9 G somas 2 @5H9 "33 F sHo T4 |
1 2 ~ s @5H9*3%% geptn 4 +3030 [ é
2 —_— <ﬂ -1>XF 5H9 *3030 gepth 4 %2 s>
21 © |2 - %
9 5 (NN-1)xH G E A
- H 12 6 (NN-1)xH G ﬁ-‘?’
mm =Tt 4-M4x0. THREGR B ]
| | AMAOTRRES A e A o —
= - 4-M5x0.8 thread depth 7
Vodet 1 - |- ] 1 | }_A }.ﬁ
f’ . |
ﬁ\ v 4 B;
1 mil
GI Rale I2AYEN ,(@ = @) o (@ . N : {t
[—] & A4 '
DI A2 : PZ) —_ 1
BIAS B’: \ : 0B 0—10—0
N 41 | fH H5
H - oo 0
¥ A B : VO f‘f s
E i — 5 EE
5 24 105 == =
18.5 8.5 : 24 10.5 ‘ . S
H c
: ol @ 0 o
H 0 o 2 =
S SIES S
: i =
i & B %
e , , g
) ) : NN-Méx1ig5rx12  BHAA EEBB 3
NN-M5x0.842455710 EHEAA #mBB : NN-M6x1 thread depth 12 Section AA Section BB <
NN - M5x 0.8 thread depth 10 Section AA Section BB H . . &
i RY% Dimensions (mm) 9
R~% Dimensions (mm) | EEEEEEVELED F N G H NN 3
2 (Model) E N G H Y i GMXS16-10 35 4 16 40 2 ]
GMXS12-10 35 " 15 20 2 i GMXS16-20 35 4 16 40 2 z
GMXS12-20 35 I 5 20 2 f GMXS16-30 35 4 16 40 2
GMXS12-30 35 4 15 40 2 i _GMXS16-40 40 4 1 50 Z
GMXS12-40 50 4 17 25 3 i _GMXS16-50 30 6 21 30 s
GMXS12-50 35 6 15 36 3 | EGMXSH6S 85 2 285 85 4
GMXS12-75 55 6 25 36 4 gmzl 2'1(2’2 65 6 ?2 22 g
GMXS12-100 65 6 35 38 5 : 2 7 3
il F1S (Model) I J K M z zz
BS (Model) I J K M z e | GMXS16-10 10 40 29 76 75 87
GMXS12-10 10 40 26.5 71 70 80 ! GMXS16-20 10 40 39 76 75 87
GMXS12-20 10 40 36.5 71 70 80 ! GMXS16-30 10 40 49 76 75 87
GMXS12-30 10 40 46.5 71 70 80 ! GMXS16-40 10 50 59 86 85 97
GMXS12-40 10 52 56.5 83 82 92 i GMXS16-50 15 60 69 101 100 112
GMXS12-50 22 60 66.5 103 102 112 { _ GMXS16-75 40 85 94 151 150 162
GMXS12-75 43 85 91.5 149 148 158 i GMXS16-100 55 118 119 199 198 210

GMXS16-125 68 155 144 249 248 260

GMXS12-100 52 130 116.5 203 202 212 :
| c




s

SENBE GMXSZEF Air Slide Table GMXS Series
omMxs 20 gz GMxs 20 sasio ype : GMxs 25 2AE GMXS 25 sasic type

A i} _
S 2-MEX 1HES1R6.5 PO BK145(EiR{THE 2-M8x1.254240R8.5
7 > 3,13 2-M6x1 thread I;::pthes ﬁf}ﬁﬁ})gﬁcﬁp@r)wa BEEE) 2-M8x1.25 thread depth 8.5 BX16.5(FiHTE
A Max. 14.5 (With stroke 4 16 EEOR: 2-Re(PT)1/8 D)
%lzl (%] 6.5 J | 12 adjuster atretraction end) Operating port 2 - Rc (PT)1/8 W g
c lax.16.5 (With stroke
&5 A © o 8 J | 15 adjuster at retraction end)
B - ! I
c + -+
o —d } ! © = N ! ©
4 TIe > = SRR 0 |
! d
LY & aL) r I
T < " Lagn ol -
7_‘[‘ B — 12{\ ,l 4 \—t L‘«_L:G & ‘{\;:itj Qi
= *2-M6x1I25G56.5 =
% K po Qi R D iy
:7.'.%;' BrsTEEEEE) TR0 125, 150mm AL H K < *(FE100, 125, 150mmsd AL )
& Rad TAE H SR
M3 tos _ Snesens 545 _ fnompmsesonn
c 2-M8x1.2582405R15
Y 2-M6x1 $2506R13 2-M8x 1.25thread depth15
gi 13 M ol 15 M
0
o 2 3 | 9 o
= ©
]ma < -
2}
g g Z
2 Y74 zZ
o H
- TR : [N ; -~
St OO BTV N
— Stroke adjuster at extension end Py ErTYT
s s e Bl
. - Y -M5x0.8 thread dept I 7 © Stroke adjusterat retraction end
xS 3 e L S i, : Joe
= = e (= ™ - _
=S 8 *ﬂ,—i 5 i 5 *’H_—‘ 2
a8 =i | [S o ° -+ | 1 i) [2 g = |
< 830 ‘ s @I | 5
= me g5 ) | 8 2 es | e
® oo HO— @B 19 o #s EZS A A i ool o B8
o5t T O ® =0 O =R 0@ 55 T O O 88 B
N i § SEES L FF" | | §
N ® o (o3 © bg N =w s 2
%3 Py Y Py ole
+0.030355, +0.030 = e £
PR F Mo RS TE o F 6H9 "% 6 w2
oM o depths 5H9 *0.030 gooi s ol o D6H9 7" iR6 < |2
% > (ﬂ 1>XF 27 o 7 depths L 06HI ™ e N 6H9 *30%0 geptn 6 :
#lz 2 2 30 (?'DXF N
o3
7% 18 6 (NN-1)xH G 2 7 (NN-1)xH G
- L - H L] e-mexumarFIO H
e | 6-M5x0.8IZELR8 i "] 6-M6x1 thread depth 10 A B
ng_x_;:——f——: 6-M5x0.8 thread depth 8 “ <A W " ;T 7; S-M6x1 thread depth 10 A B
s Tev oo oo
HS o 10 s THr
=0 2| | o
c H
i * | T
g 29 11.5 34 .16, = =
c I H 34 16
N i
[t} ol = H Q| Q| =
| Db -
H ®)
: )
B 2 :
o :
g NN-M6xLi856712 HEAA #mBB | NN-M8x1 25885516 BEAA #EBB
< NN - M6x 1thread depth 12 Section AA SectionBB ! NN-M8x1.25 thread depth 16 Section AA Section BB
9 R~#% Dimensions (mm) i R<% Dimensions (mm)
E FE (Model ) E FF N G H NN [ = (Model) E FF N G H NN
% MXS20-10 50 40 4 45 H MXS25-10 50 40 ; 45
3 GMXS20-20 50 40 4 15 45 2 E GMXS25-20 50 40 4 22 45 2
v GMXS20-30 50 40 4 15 45 2 GMXS25-30 50 40 4 22 45 2
GMXS20-40 60 50 4 15 55 2 GMXS25-40 60 50 4 22 55 2
GMXS20-50 35 35 6 15 35 3 H GMXS25-50 35 35 6 20 35 3
GMXS20-75 60 60 6 19 B85 4 GMXS25-75 60 60 6 26 35 4
GMXS20-100 70 70 6 37 35 5 GMXS25-100 70 70 6 32 35 5
GMXS20-125 70 70 8 41 38 6 GMXS25-125 75 75 8 40 38 6
GMXS20-150 80 80 8 19 44 7 GMXS25-150 80 80 8 30 40 7
2 (Model ) ] J K M z zz B FE (Model ) ] J K M z zz
GMXS20-10 10 44 31 83 81.5 97 GMXS25-10 12 47 35 92 90.5 108
GMXS20-20 10 44 41 83 81.5 97 H GMXS25-20 12 47 45 92 90.5 108
GMXS20-30 10 44 51 83 81.5 97 5 GMXS25-30 12 47 55 92 90.5 108
GMXS20-40 10 54 61 93 91.5 107 GMXS25-40 12 57 65 102 100.5 118
GMXS20-50 10 69 71 108 106.5 122 GMXS25-50 12 70 75 115 113.5 131
GMXS20-75 10 108 96 147 145.5 161 GMXS25-75 33 90 100 156 154.5 172
GMXS20-100 58 113 121 200 198.5 214 GMXS25-100 50 114 125 197 195.5 213
GMXS20-125 70 155 146 254 252.5 268 GMXS25-125 67 155 150 255 253.5 271
GMXS20-150 87 190 171 306 304.5 320 GMXS25-150 82 180 175 295 293.5 311

Ny CRG E



S&1BE GMXSZ% Air Slide Table GMXS Series
INBE AL / Functional option

e \ fii
F- Hs@EEEh M
F-With buffer BEMEFF AT, SIERTIE) 2-F 7

Magnetic switch z\g;ln:sallalzf%?l:n operation.) i@: 8
E 1%]
Hif Magnet =
26 & b b 3
4y i @_e _ _@_ N
EHH' < { 4? 9@
: : & © 4
T o e .
Eﬂ’r |s
I ——| B c =2
g
WA Magnet G 5
w
BEMEFFR (U, ShERTIE) .
Magnetic switch Normally OFF .
(ONis bufferin operation.) a i
R- HURG - o
R-With end lock o
[a)
S % J 1 2K =
— T - =
\ T
AR Fel ]
N2=E s &8
VEES
== He
N © © © ®
B ‘ " 4
& HO— @O @
7 > > 3
5z
| | -i 7] 2
7 1
AT n) M
Locked Unlocked
P- fiEEE ilKa Bs
P-Axial piping type |- @ @ EE%
2P . .r il g
©) <
] 'é @ [ o o o ey )
(oo | & & &
N | & | 1%
= - ik I
) ) & i Q a
VY I 3
A4 T _@_ i -g
® % 2 _KH: ]
| IE 5 @
LN
R~f%& Dimensions (mm)

75 100 125 150

GMXS6 24 10 28 19 0.5 M3x0.5 22 - - - - - - - - - - - - - - - 56 M3x0.5 55 12 32 8 11.5
GMXS8 30 12 28.522.5 0.5 M4x0.7 225 6.5 9 39 44 55 73 91 141 - - - M3x0.5 10 155 3 6.5 M5x0.8 6.5 15 40 12 13.5
GMxs12 38 16 37 30 0.5 M5x0.8 29 9.5 105 59.5 59.5 59.5 71.5 91.5 137.5 191.5 - - M5x0.8 145 20 3 6.5 M5x0.8 9.5 20 50 12 18.7
GMXS16 48 20 41 37.5 0.5 Méx1 30 12 13 62 62 62 72 87 137 185 235 - M5x0.8 18 25 3 6.5 M5x0.8 12 26 62 12 235

GMXS20 58 25 44545505 M6éx1 305 15 155 68.5 68.5 685 78.5 93.5 132.5 185.5 239.5 239.5 Rc1/8 20 30 11.5 Rc1/8 15 32 76 20 29.5
GMXS25 70 31 50 55 0.5 M8x1.25 35 18 18 76 76 76 86 99 140 181 239 239 Rc1/8 255 35 11.5 Rc1/8 18 40 92 20 355

.




B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

119

INBISINEE ( BEZ&SH, ) GMXHZEZ% Miniature Air Slide Table Linear Guide GMXH Series

% FAMSHNE, RSERTTEREE.

TOEBR BN | AR TR TR,

AN ZEEERSIR.

A P E R TR,

TOER R IR B .

*SUF AR AGMXURFIAI /.

*Install linear guide bearing to improve the accuracy of
non-rotative of piston rod

*Standard built-in magnetic ring,can install magnetic switch
of stroke testing

*Can connect to air from three sides

*Can install magnetic switch from two sides

*Standard rubber buffer at both ends

*Allowable torque is 6 times of GMXU series
BSERAE

Model representation methods

#I{2Bore size (mm)

S [R)4H&EE EGuide bearing width

fEFRRAR Fluid
NEA T Action
=EERERD

Minimum operating pressure

REERAEND

Maximum operating pressure

HEFIRANRE

Ambient and fluid temperatures

& 28 & [E Piston speed
FVFTEE J

Allowable kinetic energy (J)
*}878 Lubrication

i

Cushion
TRKERZE(mm)
Stroke length tolerance
WM R ik R

Magnetic switch(Option)

EEEEOR
Piping port size

e | w0 | . [ 20
5 7 9 12
=5 Air
SAEFB Double acting

0.15MPa 0.06MPa 0.05MPa

0.7MPa
FHEHMEFFX : -10~+70°C .
BUHFX : -10~+60c  (EREE)

Without magnetic switch: =10 to 70°
With magnetic switch: =10 to 60°C

50~500mm/s

(0]
(No freezing)

0.0125 0.025

AZEZ Non-lube

it B %2 Rubber bumper on both ends
+1.0
0

HERLD-AI] ESFEFE: D-MI[]
Reed Magnetic switch D-A9[] Solid state Magnetic switch D-M9[]

0.05 0.1

M5 x 0.8

"N iEE EREFISHSOVG32,
*Please use turbine No.1 oil ISOVG32 if need.

AR ERIAE: GMXH

Builtin magnetic ring type GMXH | 10 | ) | 30 | ) | A93 | | |
ke P .
Bore 178 HMEFFEA
Stroke Numberofmagnetic switches
WM RES == 1] o~
Magnetic switch FCS Nil| 24~
g | FEEEFFX I
ZES Nil WL\"thourmagneticswhch —
-
i = S NAR
= ™ * See the right table

RIFB/Application
FEiTH S

Parallel distributor

NN SRR NE
S EMEHAIREE
Miniature linear guide bearing

improve the accuracy of linear
motion of cylinder

17 12/ T FF X i 3%

Stroke/magnetic switch selection

Kz FRE(TRE (mm) BHEREBHMEFX
(mm) Standard stroke (mm) |  Direct mount type of magnetic switch
6 2 £ 2-wire 34 3-wire
10 5,10,15,20,25, | D-M9B | D.MoN  D-M9P
- | D-M9BL D-MONL D-M9PL
16 30,40,50,60 D-M9BV | D-M9NV D-M9PV
20 D-M9BVL | D-MONVL D-M9PVL

i) BT RIS RIS SR RNRS ,
FRESHEE, MEEKEISS : £igS-0.5m,
L-3m,Z-5m, I :A93L ,

Note) The specification and characteristics of magnetic switch
can refer to the series of magnetic switch . At the end of
the model of magnetic switch,the length mark of
conductor is attached:Nomark-0.5m,L-3m,Z-5m

Example: A93L
TNZEEERSIR

# /In Canconnectto air from 3 sides

R EED

Extend nozzle

&+ /0ut

Suitable vacuum cup

o
EEER.
(EMm )
Atbothsides
: /&t %ﬁ?e)s Retract nozzle
THAEX ErFLENIZR
Workpiece transport Pinhole positioner
BaHETRE

C=G




INEIEEEe (BEZ%S4H ) GMXHZEZ Miniature Air Slide Table Linear Guide GMXH Series

GMXH6 i GMXH10 J o
23
LT LT *Z;—D_"
mg
— 1%]
T —y s © & o © o ®@ [ B
2 I - . N7\ =y 2| = - - - - g
—& O | ] s — ®
L o o geel
8 LA LB \J\ M3x0.5
56.5 11 LA LB J-M4 x 0.7
Depth 6.5 w8 F 2
Depth 8 o
: . =
i SRS 7 i S
| Guide bearing width 7 - %
SHMFE 5 2M5x0.8 >
M Guide bearing width 5 © M —
55 @ 7 6
Depth 5.5 ~ Depth 6
| 2-M5 x 0.8 ' A
| 4-M3x0.5 QL@ S5
~ ®4.8 N L MO
% H - IlDepth 4.8 Lﬂ -I - E c
P | [a]
© ol o Ve '(3‘ ' {\ a
ol B 8 L 3 S o
-I b - i N 139 >
=3
2 i E
T : n 4-M4x 0.7 ©
20 R 75 13 ©
9 Depth 7.5 © ;E )
16 10.5 a3
VEES
He
)
3-M5x 0.8 EOgE
s Cylinder port
3-M4 x 0.7 1BFLD 4.3 Yl p
E?Lﬁx 3.3 gﬁif‘%ﬁ Pilot hole dia #4.3 LW"\;hSF;';% f:‘; Eort)
i di ! 6- @ 7.5 FLiE 4.4 - -
Pgm@hoéeﬁ";ﬁiz 3 (With plug for port) 6-07.5 coun’teﬂ? (l)Jr?:ﬁeptMA
6-06 courl\terbo’rzi‘le th3.3 4-M5x0.8x4L - /_=\‘ >
w0 © = z
Py \ ] \ : : J §)z
s
° & . o) uk
2 - - - - [ee]
e $ ) s
© :
E w | [ ©
[t) H
[t} : © <
5.5 10 i 5 i % s
4 NS i 7.5 NS 12.5 T
8.5 31 +1752 Stroke i 11.5 35 +{F42 Stroke % 2
39.5 + {7F& Stroke : 46.5 + {THE Stroke g_
: c
: 0
i 12 5 +47F2 Stroke 4-M4 x 0.7
: R6
: Depth 6 I}ﬁ >
10 5+ {742 Stroke 4-M3x0.5 : o d %3
%4.8 : n @
Depth 4.8 i © _]_ -_@ - - R 3
— : -~ <
T —e ] ¢ | g o © o
— © © : S
: o
: E}
h 13
H =1
i @
R~ % Dimensions (mm) i RYFE Dimensions (mm)
BIE (Model) {7#EStroke J LA LB LT NS [ BIE (Model) {T#EStroke  J LA LB LT NS
GMXH6-5Z 5 4 10 - 42 14 H GMXH10-5Z 5 4 10 - 49 14
GMXH6-10Z 10 4 10 - 42 14 GMXH10-10Z 10 4 10 - 49 14
GMXH6-15Z 15 4 20 - 52 24 : GMXH10-15Z 15 4 20 - 59 24
GMXH6-20Z 20 4 20 - 52 24 H GMXH10-20Z 20 4 20 - 59 24
GMXH6-25Z 25 4 30 - 62 30 GMXH10-25Z 25 4 30 - 69 30
GMXH6-30Z 30 4 30 - 62 30 GMXH10-30Z 30 4 30 - 69 30
GMXH6-40Z 40 6 20 20 72 45 GMXH10-40Z 40 6 20 20 79 45
GMXH6-50Z 50 6 2.5 25 82 55 GMXH10-50Z 50 6 25 25 89 55
GMXH6-60Z 60 6 30 30 92 60 GMXH10-60Z 60 6 30 30 99 60

.




NBIEEBE (BEZ%SH ) GMXHZEZ Miniature Air Slide Table Linear Guide GMXH Series

Ao GMXH16 i GMXH20
3 ;
ZE T LT
e
B2 & © o0 0 0| |
b
c " N4
g & ° o OO [ . [
<| © - - [s2] N
AN| ~ . A
& s } DO [ ok o SRR
J-M4 x 0.7 J-M5x0.8
we 14 LA LB S0 | 1A L8 Foe
2 Depth 9 i Depth 9.5
15 z ;
Hy 4-M5x0.8 SEAE 12
< 4-M4x07 w11 Guide bearing width 12
o fm10 S 9
S;y;toh 10 Guide bearing width 9 Depth11 2-M5x0.8
| /
4-M4x07 M5 X 0.8 © 4-M5x08
0 R 6 I 5 ®8
. I Depth6 Depth 8
] ol o0 ? I D §-O
2 SE N B NG
o) © e | < /\
2 ) 8 N ’ ) @ ]
o
e e T o @%ﬂ@
Y
' | 5 06
0 ! © 20 © \ ~
+ 6 16 ©w 17 d
95 3 32 20
B 25
gz
e ﬂ
B 3-M6x 1.0 éﬁifgﬁ
3-M5x038 fﬁﬁﬂ@% \E}LQ 5'1_ (V)\llith Iup for port)
BAO 43 Cyl'lnderport Pilot hole dia 5.1 4-M5x0.8x4L
Pilot hole dia 54.3 (With plug for port) 6.0,93 il 8 MXBex
6- @ 7.5 MR 4.4 4-M5x0.8x4L 6-09.3 counterbore depth 8
6-@7.5 counterboredepth4.4
: -D.I |
sz o] | L o
wz L
BIT ) S
s - © ® ©
2 % L
_ —_— 0
& Hi N < '_ﬂ - - [
o) 3] 5—( el
—® © o
0 0 © \Z @ ~
w © . =5,
Hs 5 5 6
EEE 10 NS 12,5 1 NS 15
c .
ﬁ 3 14 42 + {3/ Stroke i 15.5 52.5 + {378 Stroke
< i
8_ 56 + {THE Stroke : 68 + {T#E Stroke
c ;
B H
12 10 + {752 Stroke 4-M4 X 0.7 ; 15 10 +/512 stroke 4- 2r;/ls x0.8
B z iR 6 H IIDepth 8
o Depth 6 :
g i o d
§ © {5 ~ a4 D
< :
- e ——— N )
E ® o o o
3 :
o .
E; :
@ i
R~f% Dimensions (mm) i RYFE Dimensions (mm)
BIE (Model) {7#&stroke ) LA LB LT NS BIE (Model) {7FEStroke  J LA LB LT NS
GMXH16-5Z 5 4 10 - 58 20 GMXH20-5Z 5 4 10 - 64 20
GMXH16-10Z 10 4 10 - 58 20 GMXH20-10Z 10 4 10 - 64 20
GMXH16-15Z 15 4 20 - 68 30 GMXH20-15Z 15 4 20 - 74 25
GMXH16-20Z 20 4 20 - 68 30 GMXH20-20Z 20 4 20 - 74 25
GMXH16-25Z 25 4 30 - 78 40 E GMXH20-25Z 25 4 30 - 84 40
GMXH16-30Z 30 4 30 - 78 40 GMXH20-30Z 30 4 30 - 84 40
GMXH16-40Z 40 6 20 20 88 50 GMXH20-40Z 40 6 20 20 94 50
GMXH16-50Z 50 6 25 25 98 60 GMXH20-50Z 50 6 25 25 104 70
GMXH16-60Z 60 6 30 30 108 60 GMXH20-60Z 60 6 30 30 114 70

CRG ?



JKOFE Sprue Gripper
AUKFERBEEM R, EERNIME , FHiE

AL AT I IRIB N LR FICRGE R 4E. %{3’
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. %MZ
Using threaded components or CRG's components when to assemble. €§§
&
KOEGR(S/M/L/X)EF ( TAERER ) ’
Series GR-Sprue Gripper (Without Sensor)
=z
2
Elﬂ
!Jj j
! . -~
* - - - -
E ey o
L 3 - }ﬁr;
P—. - - & 9
Lrgb
@ GRS08 L GRM12A “‘__ ‘GRL12A
*Q
=25
ar w3
KOFKEGR(S/M/L/X)ERF ( HEREE ) he
Series GR -Sprue Gripper (With Sensor) I £ o
j . -
- a]'_z‘
B3
7]e
/ BS
GRM12A-CN(CP) ~ GRL12A-CN(CP) GRX20-CN(CP) f'_ES
‘53
=
Q.
£85(PN) EE(Model) =S FFA(Switch type) BN A (F) &=E(Weight) 5
8.Y00214 GRS08 - 5N 189
8.Y00099 GRS08-C - 5N 249
8.Y00011 GRS08-CN NPN 5N 40g .
8.Y00012 GRS08-CP PNP 5N 40g ?Eg
8.Y00103 GRM12A - 28N 469 g
8.Y00092 GRM12A-C - 28N 45g <
8.Y00009 GRM12A-CN NPN 28N 60g S
8.Y00010 GRM12A-CP PNP 28N 60g 3
8.Y00107 GRM12B - 28N 469 ]
8.Y00106 GRM12B-C - 28N 45g @
8.Y00104 GRM12B-CN NPN 28N 609
8.Y00105 GRM12B-CP PNP 28N 60g
8.Y00108 GRL12A - 45N 94g
8.Y00100 GRL12A-C - 45N 84g
8.Y00001 GRL12A-CN NPN 45N 100g
8.Y00002 GRL12A-CP PNP 45N 100g
8.Y00213 GRX20 - 80N 180g
8.Y00215 GRX20-C - 80N 1779
8.Y00013 GRX20-CN NPN 80N 1929
8.Y00014 GRX20-CP PNP 80N 192g

c=G



MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

Frm

a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

XO3FE Sprue Gripper

izFAsLf / Application example

N
Application 1

12eHe {4 / Accessorier selection

Fx

Sensor
1.PNP
2.NPN

\-‘ )

‘A

GR M| [12] [B] - [C][N]

RY

Size

REBER

Dimension SesL KA
Jaw Types

FFRRE
Switch type
NPNFFx
PNPFFx

C-aI%F xR

Being able to mount a switch
To- A TR

No - Not being able to mount
a switch

=
Application 2
FFRES(PN) S (Model)
7.Y00800 PNP
7.Y00801 NPN

T &KALK
Note: The length is 1 meter

FF X #E45BB/Switch wiring instructions

NPNmLﬂﬂ / NPN output type

PNPmﬁﬂ/ PNP output type

BN, WHaEE SEAE A, WHHESE SLAe
Input and output circruit diagrams Input and output circruit diagrams
] 3 Pl ] WY
* ¢ C Es C
Vv,
23] . B ~7D
D2 EB%%%E%((K/I%r]de 1) +| 24vDC Tr * ‘ 100mA MAX. + | 24V DC
Bl T 0 ‘mm +10, iz O - “mm +10,
= 100mA MAX -1 -15% - D2 (B®)BEH(ED _T Zi5%
2 ,‘L m . 9, (Black) Output (Marked 1)[ 7 2
° A @)V o D1 (TEf)0V Lod)
% | (Blue) g " TM) |
REBER IR ——0— SMEBERETRAI HEBEREE —O— SMEBIERE A

Internal circruit

External connection example

(GEL): BREREErBE, BEREER RIS TR,

(Marked 1)Outputis not equipped with short-circuit protection ¢
Do not connect directly to power or capacitive loads

o

ircuit.

Internal circruit

External connection example

(ELD): R EIEr R, B EREEBRAS TR,
(Marked 1)Outputis not equipped with short-circuit protection circuit.
Do not connect directly to power or capacitive loads



KOFEGRS08Z%! Sprue Gripper GRS08 Series

Eiley
ZE
| me
i g
= - -
e /4 - g
fi / - %g
i *Elﬂ
ghat gg§
( Diamond tooth £
GRSO08 GRS08-CN(CP)
FoIERREE(Without Sensor) THERES(With Sensor)
'H&g
23
2
a
FEantiR Product Description s
GRS08%7%
KAERBEEER  EERRIME  FHK. k2
AR AR YR ENCRGBRLE. Az
Series GRS08 e
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. °
Using threaded components or CRG's components when to assemble.
25 (PN) FIZ(Model) f&Rkz=&(Sensor) #MERSI(F) EE(Weight)
8.Y00214 GRS08 - 5N 189 52
8.Y00099 GRS08-C - 5N 2449 Mz
8.Y00011 GRS08-CN NPN 5N 409 %3
8.Y00012 GRS08-CP PNP 5N 40g 25
21 21 6.60
.2-8.4 4 4
— é Bs
“H3
[ i
A N <
( { N i °
o | o
b |
T 3-M3 " U T 3-M3 ) ,I{}E:Tg
PanY Pan} 3
N ol hd o <
e
o
o o 2
E
Eg M3-Pa :E M3- @4
C 12 | 2 C 12 ] 4
18
FTIERES(Without Sensor) HERES(With Sensor)

.



KOFEGRM12Z% Sprue Gripper GRM12 Series

B3y |, A

aqnL SNS . 3|1404d

HEET S o
3|NPOIA SIUdIS
o
¢

-
—
-~ (“ @
AthAa BRI

ADiamond tooth

BHelical tooth

(PNP)
(NPN)

GRM12A GRM12A-CN(CP)
FAERLEE(Without Sensor) HIEREE(With Sensor)
.|~;&,(E)
e
2
PR Product Description
GRM12&5%|
*xQ AURERBEEYE , EERNME , FhK
%‘; BRI RIRRLENCRGIBRRE.
= [e] .
He Series GRM12
® Main body being made of high-strength Aluminium , light weight, strong rigidity and long life cycle.
Using threaded components or CRG's components when to assemble.
£8S(PN) ES(Model) {&Rk=g(Sensor) HMEXAI(F) EE(Weight)
=x 8.Y00103 GRM12A = 28N 469
éj]‘_% 8.Y00107 GRM12B - 28N 469
53;; 8.Y00092 GRM12A-C = 28N 45g
7% 8.y00009 GRM12A-CN NPN 28N 60g
8.Y00010 GRM12A-CP PNP 28N 60g
8.Y00106 GRM12B-C - 28N 459
8.Y00104 GRM12B-CN NPN 28N 60g
.y 8.Y00105 GRM12B-CP PNP 28N 60g
%&Z 31 31.50
9 658;5’:12 6 0-16 -
a - o s
[o} o
B % 4 K ]
14:2 fo) o) _‘ r 22 /_\
g . — o ol
g - &
) g o 1 N o " 1 N
3 o 9 ol q @ ol
-8 7 9 3-M4 ©) N 3-M4
- .
& o o L =
®'12' M5- P4 Lg @I ! Ms- P4 Lé:
10 =
26 26
FT(EREE(Without Sensor) H1ERLEE(With Sensor)

vy CRG



KOFEGRL12ZK% Sprue Gripper GRL12 Series

AT
ZE
e
= %2
g
(PNP)
(NPN)
— Z 2
~ )
i *Elﬂ
sEH e
Diamond tooth £
GRLI12A GRL12A-CN(CP)
FTiEREE(Without Sensor) HIERES(With Sensor)
'H&g
23
2
F=EaiEiA Product Description E
GRL12Z&7%! °
KEEFRBEEER  ERRNIME , FHK
AR RGN L KA ICRGE M & FQ
Series GRL12 Bz
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. He
Using threaded components or CRG's components when to assemble. ®
£ES(PN) 2 S(Model) {&RE&&(Sensor) BN AI(F) EE(Weight)
8.Y00108 GRL12A - 45N 94g
8.Y00100 GRL12A-C - 45N 849 52
8.Y00001 GRL12A-CN NPN 45N 100g Hz
8.Y00002 GRL12A-CP PNP 45N 100g %%
41 41
0.3-17.50 8 8
— ] Bs
“H3
=] =
p— Q.
A N A N s
4| |° o2
oy o ( oy o (
g 3-M5 ;—: ﬂgﬁ
g v g \—/ 2
9 A 9 © 8
A
© ©f o
3
E I g
! Ms-Pa M5- P4 £
D12 o D12 o o
25 25
39 39
FT(EREE(Without Sensor) H{EREE(With Sensor)

.



B3y |, A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

127

KOFZEGRX20&%! Sprue Gripper GRX20 Series

-
#

GRX20
FERLEE(Without Sensor)

iR Product Description
GRX20&7%!
RMAERBREEME , EERNIMNE , FhiK.
PARAT AT IR R EFNCRGE T
Series GRX20
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.
Using threaded components or CRG's components when to assemble.

Hhah

Diamond tooth

(PNP)
(NPN)

GRX20-CN(CP)
HIEREE(With Sensor)

S(PN) S (Model) fERk&&(Sensor) HMEXA3(F) BHE(Weight)
8.Y00213 GRX20 - 80N 180g
8.Y00215 GRX20-C - 80N 1779
8.Y00013 GRX20-CN NPN 80N 192g
8.Y00014 GRX20-CP PNP 80N 1929
53.5
10
0.7-30 10
M =1=
| M6 A B '—ix 3-M6 A B
O ||
5| 3 1 '
52 . \ I 1 N
S I )
(o} = . —/
@' 0|
T T g
M5-94
©20 @20 il M5- D4 E’
32 @20
42 32
42

C=G

FoAERLEE(Without Sensor)

H{ERKEE(With Sensor)



KOFZEGRO5Z%%!] Sprue Gripper GRO5 Series

18
0-11 3

B3y | FhE

agnL SNS . 3|1401d

53.60
(o]
(OO
o

2-¢2.60

HEE A

S|NPOA SIUBIS

-

37.50

8,950, 6

- 0
HEPs]
Jagged

6

Mg*1 .5 ; | M3 #S0

T M3 Inlet port

GRO5A-10 10
FERLEE(Without Sensor)

S SR

J9bueyd 3oInd

S
a|npo\ diug

55(PN) 2S5 (Model) {&R%&&(Sensor) MENAI(F) EE(Weight)
8.Y00348 GRO5A-10 - 12N 9.69

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

.



KOFEGR12ZE%] Sprue Gripper GR12 Series

By BIBRRAE GRAZ[A]-12 -[C]IN] ...
,ﬂé} Model representation methods Swit;:h type
ga ‘ —( NPNFF3
z REER PNPFFx
& Dimension
C-AI%EFF X
ek A Being able to mount a switch
Jaw Types i RIS IES
gg‘? Bore No-'Nc;]t being able to mount
B AEREEEME ERENNE , 56 aswite
H REERT AR R R ICRGER MRS,
5 Main body being made of high-strength Aluminium , light weight, strong rigidity and long life cycle.
Using threaded components or CRG's components when to assemble.
’ / v
3 < <
b, ¢, 4 ’i
HE
e GR10A-12 GR12B-12 GR12L-12
o GR12A-12 ToAERkER TG RkER
GR12M-12 (5R#I$H Csteel jaws) (Without Sensor) (Without Sensor)
FToAEREE(Without Sensor) . .
EEC/4 / Accessorier selection
=z
Mz
B3 Fx
73 1.PNP
2] 2.NPN
o FREE(PN) #E(Model)
ZE GR10A-12-CP GR12B-12-CN(CP) 1.Y07261 MAP-8S2P1/F(PNP)
g GRI2A-12-CN(CP) R 1.Y07405 MAP-8S2N1/F(NPN)
% GR12M-12-CN(CP)(M#IH Hsteel jaws) (With Sensor) T BEALE
T {ERES(With Sensor) Note‘: Thelengthis 1 meter
£S(PN) ElE(Model) {ER%E&(Sensor) BN A3(F) EE(Weight)
W2 8.Y00348 GRO5A-10 - 12N 9.6g
ﬁ:ﬁ 8.Y00268 GR10A-12 - 28N 449
2 8.Y00267 GR10A-12-CP PNP 28N 70g
< 8.Y00305 GR10A-12-CN NPN 28N 70g
E 8.Y00370 GR10D-12 - 28N 429
3 8.Y00369 GR10D-12-CP PNP 28N 61g
3 8.Y00048 GR12A-12 - 28N 449
’ 8.YO0098 GR12A-12-C - 28N 449
8.Y00050 GR12A-12-CP PNP 28N 709
8.Y00091 GR12A-12-CN NPN 28N 709
8.Y00245 GR12B-12 S 28N 449
8.Y00260 GR12B-12-C - 28N 449
8.Y00261 GR12B-12-CP PNP 28N 709
8.Y00262 GR12B-12-CN NPN 28N 709
8.Y00307 GR10L-12 = 28N 509
8.Y00308 GR12L-12 - 28N 50g
8.Y004 1 9tk steel jaws) GR12M-12 - 28N 6629
8.Y0042 1%k steeljans) GR12M-12-CP PNP 28N 8259
8.Y004 206k steeljans) GR12M-12-CN NPN 28N 82.5g

o



KOFZEGR10Z&%!] Sprue Gripper GR10 Series

30 Fijhs
15
0-16 6 ZE
- 2z
: 0 zZ
£ i & g
~ I H
[} =}
e, _ / | At “l 3 roiz xi
- / Diamond tooth : !Vl gﬂg
-/ ©
) o " it i
0= =} &l }
=< 16 Eg
GR10A-12 B 27 210 2
FoAE R EE(Without Sensor) g 2
Q
%2
E_-E
[z
e
-
I
& 52
#z
Q it
_ AR
MAP-8S2P1/F(PNP) .
MAP-8S2N1/F(NPN) =
HS
0 =g
: i
T L <
i1 5 g 8
= - o c
GR10A-12-CN(CP) & 5 i3 Yn
H{ERLEE(With Sensor) Jﬁl;fg
ey =1 g, = g MT.T?‘?
RE(PN) B E(Model) fERkER(Sensor) HMERAI(F) H&(Weight) GRS
8.Y00268 GR10A-12 - 28N 449 8
8.Y00267 GR10A-12-CP PNP 28N 70g 5
8.Y00305 GR10A-12-CN NPN 28N 70g 3
o

.



MRS . X

aqnL SNS - 3|140.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

131

KOKZEGR10Z%%] Sprue Gripper GR10 Series

| 3455 | 15
0-21 6
. ]
&
LL g
o o
fhs @@
Helical tooth 2-¢4.2 \_/
! L2
0 16
UE,),‘Q s ®10
GR10D-12 ,‘Ex
FofE RS (Without Sensor) #HE
21 15
0-18.5 | 6
%) ]
. 8
i <
- i Q
Q ' S
MAP-8S2P1/F (PNP) 3 2 @
2-04.2 U
(0X X%
©
° 16 m
23 27 ?
GR10D-12-CP anx
THEREE(With Sensor) £
55(PN) BE(Model) f&R4E&(Sensor) HMEN(F) EE(Weight)
8.Y00370 GR10D-12 - 28N 429
8.Y00369 GR10D-12-CP PNP 28N 61g
CG



KOFZEGR12Z%%] Sprue Gripper GR12 Series

30 Fiied
15
0-16 | 6 ZE
= 2z
© =
| & &
[ = © ﬂ: J %%
783
shEth R x7
) 2-¢4.2 ( ) 2
Diamond tooth e A Bt 9 iﬂg
©
P i iy
w = 3 ] I
=g 16 Eg
GR12A-12 R > 212 2
FERLEE(Without Sensor) HE g
«Q
sec
_E_'c
VEES
He
! -
/ .
. & 52
&z
B3
J]2
MAP-8S2P1/F (PNP)
MAP-8S2N1/F (NPN) ©
2l 8
&
BS
o =g
: i
!-'_.'I.' - Z
Log. /'E: t{ §'
Sd s 3
GR12A-12-CN(CP) & s 12575 o12
(G RLEE(With Sensor) 13135-5
[+ >
HS(PN) BI5(Model) fEkas(Sensor) MENAI(F) E&(Weight) ?Eﬁ
8.Y00048 GR12A-12 - 28N 449 §
8.Y00098 GR12A-12-C - 28N 449 i
8.Y00050 GR12A-12-CP PNP 28N 709 S
8.Y00091 GR12A-12-CN NPN 28N 709 §

c=G



KOFXEGR12Z%] Sprue Gripper GR12 Series

0-16 5

B3y |, A
2qn1 SNS . 2|1404d
26.5

a7
|

80.5
39

A 2-94.2
Helical tooth

HEE S A

3|Npo 51U31S

15

SR

J9bueyd }oINd

Intake air 2-M5
N | =2 r
i
ASY
a
N

GR12B-12
FiERLES(Without Sensor)

S 2-M5

3 HE W
a|npo\ diig

26.5

b b2 |

JaddiN 11y

MAP-8S2P1/F (PNP)
MAP-8S2N1/F (NPN)

80.5
39

15

T i H it
3|NPOIN Wnndep

27 ®»12

Intake air 2-M5

#R 2-M5

GR12B-12-CN(CP)
THERES(With Sensor)

-
=
=

£S(PN) ES(Model) {&R&g&(Sensor) HMERFI(F) EE(Weight)
8.Y00245 GR12B-12 - 28N 44g
8.Y00260 GR12B-12-C - 28N 44g

8.Y00261 GR12B-12-CP PNP 28N 709
8.Y00262 GR12B-12-CN NPN 28N 709

sjuauodw o) A10ssa20Y

IkE CXG



KOKXEGR12Z%%] Sprue Gripper GR12 Series

30 24.50 B
0-16 20 M;
2
V
g I El
“l 8 B2
2-¢4.2 (u) iﬂg
© L L
w3 & £ e
GR12L-12 E‘% 16 }ﬁ%
FofERE8(Without Sensor) rs 27 ®12 3
# E g
*Q
HE(PN) A5 (Model) {ERkE8(Sensor) E-‘;
8.Y00307 GR10L-12 - 28N 50g %:H}:g-
8.Y00308 GR12L-12 - 28N 509 5
| 34.50 ]
0-22
!]Bm 5>
#z
o Lk
/' 9 712
/

80.5
39

2-94.30

15
FsHbm
S|NPOIN wWnNNdep

b

T 16 o

GR12N-12 g% 10
FofERE8(Without Sensor) 3z 27 .
re 3
HE 2
Q
£S(PN) S (Model) {&Rk=&(Sensor) HMERFI(F) EE(Weight) §
8.Y01011 GR10ON-12 - 28N 429 32
8.Y01012 GR12N-12 - 28N 429 §

CcG



MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

135

KOFXEGR12Z%%] Sprue Gripper GR12 Series

30 15
0-16 | 6
3 w0 B
=T © U‘* ID
@ - 4 P L
e Steel jaw 2942 ! l
7 m -
S =
o1 T
w = & e
=9 16
GR12M-12 Jil‘jg 27 12
ToAE k88 (Without Sensor) e
6
. ]
&
MAP-852P1/F (PNP) " l 'D
20 MAP-8S2N1/F (NPN) ol
S @ @ ( )
Y ©
o8 i
§t‘ - [
GR12M-12-CN(CP) % 12§ 512
THIEREE(With Sensor) Jagé
£5S(PN) E5(Model) {&Rka&(Sensor) MBI (F) EE(Weight)
8.Y004 19 0steejavs) GR12M-12 = 28N 66.29
8.Y004 215 0steljaws) GR12M-12-CP PNP 28N 82.5g
8.Y00420:Msteeljans) GR12M-12-CN NPN 28N 82.59

CRG




KOFEGR20Z&%! Sprue Gripper GR20 Series
1. AN EREBEEME , ERERIME Bk,

AT
2. AR ISR BT ENCRGIRRE, ZE:
3. GREFIKORTEEFR AR | BESFK MR, g
& n
1. Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. B
o
2.Using threaded components or CRG's components when to assemble. °
3. GR series of sprue gripper can choose different types of jaws to satisfy the clamping of various sprue gate.
%g
2
Elﬂ
| , .k
] _b | b
b -
& 5 & o L
> / ™, — / o
L y P ; }ﬁr;
/ ! ) o}
<
GR20A-20 GR20B-20 GR20D-20 GR20C-20 %o
FAERE FAEREE TAE s TAE s B
(Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor) éﬁ §
e
' =2
' Z;j]%
S
712
B
“H3
=
GR20A-20-CN(CP) GR20B-20-CN(CP) GR20D-20-CN(CP) GR20E-20 e
HIEREE GRS GRS FAEREER o
(With Sensor) (With Sensor) (With Sensor) (Without Sensor)
+ >
HE(PN) W E(Model) fE/E(Senson) R A(F) EE(Weight) e
8.Y00224 GR20A-20 - 80N 112g 2
8.Y00049 GR20A-20-C - 80N 118g <
8.Y00226 GR20A-20-CP PNP 80N 137¢g 3
8.Y00051 GR20A-20-CN NPN 80N 137¢g §
8.Y00234 GR20B-20 - 80N 112g 3
8.Y00231 GR20B-20-C - 80N 1189
8.Y00232 GR20B-20-CP PNP 80N 1379
8.Y00233 GR20B-20-CN NPN 80N 1379
8.Y00342 GR20C-20 - 80N 1409
8.Y00343 GR20D-20 - 80N 1499
25>=8.Y00442 GR20D-20-CP PNP 80N 173.1g
= 8.Y00479 GR20D-20-CN NPN 80N 173.1g
8.Y00344 GR20E-20 - 80N 1299

.



KOFZEGR20Z%%] Sprue Gripper GR20 Series

1. AREREEET R, EBENIME 5o

D
S 2. BERYANIER IR L R FICRGER MR 4.
e 3. GREFIKOXFASHEFRMSLIAMN | HESHKOMIKE,
= n
e 1. Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.
o
° 2. Using threaded components or CRG's components when to assemble.
3. GR series of sprue gripper can choose different types of jaws to satisfy the clamping of various sprue gate.
3z
IS
=2
gﬁg_ f - 1
c - - - .
) - - - - ‘-.‘..
»
" <«
Y
7
& y
o “s /
g {
9
L{gn
%o GR20G-20 GR20H-20 GR201-20 GR20F-20
B3 TAE R TAE RS TAe e P
gﬂ § (Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor)
"
sz
#z
S
713
BS
#H3
=
e GR20G-20-CN(CP) GR20H-20-CN(CP) GR201-20-CN(CP)
® RS GRS GiligRa=d
(With Sensor) (With Sensor) (With Sensor)
4+ >
% EEEEN £12(Model) {8 (Senson) A (F) & (Weight)
i 8.Y00345 GR20F-20 - 80N 1289
S 8.Y00433 GR20G-20 - 80N 131.1g
E 8.Y00472 GR20G-20-CP PNP 80N 153.7g
§ 8.Y00473 GR20G-20-CN NPN 80N 153.79
el 8.Y00422 (insecins)  GR20H-20 - 80N 193.1g
’ 8.Y004 24 (#iliH0seelons)  GR20H-20-CP PNP 80N 220.5g
8.Y00423 (skinseeians)  GR20H-20-CN NPN 80N 220.5g
8.Y00450(mﬂmusleeljaws GRZOI—ZO - 80N 19169
8.Y00470 sk Nsteelians)  GR20I-20-CP PNP 80N 219g
8.Y00471 @ 0steelians)  GR20I-20-CN NPN SON 2199

Cc=G



KOKZEGR20Z%%] Sprue Gripper GR20 Series

37

TR
25 %‘%
12 0-24 %Né
i — &5 A
3 B
P —
.= 4 T
29 / ' I I %8
\ \ Y aloks (—) 17 2 ;é g
Yy \ Diamond tooth b0 iﬂ§
[REBI MR N T SRS =
RS IRERES T i ®
The four screws on the bottom o e}
are loose for ventilate conveniently omo © g
when they leaving the factory [fol= &
. zs
g% G1/ o
GR20A-20 420 B Tﬁ%
T R%E8(Without Sensor) |M17*1| 2
35 t‘.i';
%2
_E_'E
He
49 {CF %
i - 25 0-24
3 2
o BE
MAP-8S2P1/F (PNP) / \ 7]2
MAP-8S2N1/F (NPN)
) .
17
JREBI MR N T SRS
IR ATIRS. il Hs
The four screws on the bottom ey i f"E 5
are loose for ventilate convenient! 4 b c
when they leaving the factory g o™ = o - g éﬁ 3
@ 0= ~ {L.F <
o :
N : %
GR20A-20-CN(CP) e |
Py ) H | [
(& BE8(With Sensor) ®20 -
% 2
2 (PN) A= (Model) {ER4EE(Sensor) 4MEXJ3(F) EE(Weight) ﬁ:%
8.Y00224 GR20A-20 - 80N 1129 i
8.Y00049 GR20A-20-C - 80N 1189 g
8.Y00226 GR20A-20-CP PNP 80N 1379 3
8.Y00051 GR20A-20-CN NPN 80N 1379 ‘3

.



KOFZEGR20Z%] Sprue Gripper GR20 Series

- 37
. Z ; 12 0-24
B j - =
: Lo § i
2 f - {s] 2=\
e = ’ 4
. Yy \/ hel )
22 - '] S5 (L)) o
e € HeIicaII?looth = 17 -
ag y P
o / RESIMBL N TSRS —
: HITRPAMEIIRES. LE{ (=]
The four screws on the bottom = = 7o)
9 are loose for ventilate conveniently ey © o E
when they leaving the factory &
] 23
Hho e 1/
i B HE
X GR20B-20 ®20
g Fo&mEs(Without Sensor) 7
Q
s 3%
%
E_G
g
a
e 49
i - 25 0-24
> o
BE o
k: MAP-8S2P1/F (PNP) =\
MAP-8S2N1/F(NPN)
o .
IR T S 2
ERER I NRLL .
s ST AR, /ﬂﬂ*
=a The four screws on the bottom p =
- é are loose for ventilate conveniently B EZ,’
fgé when they leaving the factory g)) o g
o 0z q
2 ] F “
GR20B-20-CN(CP) gg b
wERER(With S @20 ! I
& RE8(With Sensor) 171
B 2 35
1¢§ 515(PN) ES(Model) f&R4a&(Sensor) MENAI(F) EE(Weight)
i 8.Y00234 GR20B-20 - 80N 1129
S 8.Y00231 GR20B-20-C - 80N 1189
3 8.Y00232 GR20B-20-CP PNP 80N 1379
§ 8.Y00233 GR20B-20-CN NPN 80N 1379

kE CRG



KO3 EGR20%%] Sprue Gripper GR20 Series

25 45.5

i
12 1-22.5 S
CE
- e
P
3 g
r£ N
1) il [ \ xw
< 15 2
— — z
17 Ha
c
Q0 &
R MR AT SRS o
H R AIAERE. =y fus
The four screws on the bottom . E /E: g
are loose for ventilate conveniently N © (] &
when they leaving the factory 0=
— 3 e
N <.
Ir g g
HE G1/ A
®20 M17*1 2
GR20C-20 ; ; é
ToiE=%E8(Without Sensor) 35 8
40
23
1 *xQ
B
20° UERS
ﬁ e
©
~
~
© W ©

e
ham 2 20301

123.80
JaddiN 11y

17.5
"o
e_

of H

c{li EEE

L EE

- L =

G1l/ g_

5S(PN) BE(Model) f&e&(Sensor) BN AI(F) HE(Weight) >
8.Y00342 GR20C-20 = 80N 1409

(o

3

8

A

o

3

el

S

.



B3y |, A

aqnL SNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

141

KO3 EGR20%%] Sprue Gripper GR20 Series

GR20D-20

JEEBIMNMRL N T ERS
HITRAMREIIRES.

The four screws on the bottom
are loose for ventilate conveniently
when they leaving the factory

FAEREE(Without Sensor)

HIT RS RIREIRE.

The four screws on the bo

when they leaving the fac

GR20D-20-CN(CP)

MAP-8S2P1/F (PNP)
MAP-8S2N1/F (NPN)

RERIUANREL N T IR

ttom

are loose for ventilate conveniently

tory

12

25
‘c’
)
0
@20

30

44

0-37

56

J

17

4
=4

)

2-M5

144

Intake air 2-M5

#R 2-M5

G1/
M17*1

T T
35

56

¢

p

|

BEA2xM5 41

2xM5

141.5

&
011 i l
=

e ;
& R88(With Sensor) 20 Y
E(PN) FIE2(Model) {E=%88(Sensor) MBS (F) EE8(Weight)
8.Y00343 GR20D-20 = 80N 1499
8.Y00442 GR20D-20-CP PNP 80N 173.1g
8.Y00479 GR20D-20-CN NPN 8ON 173.1g
CRG




KOKZEGR20Z%%] Sprue Gripper GR20 Series

25 ) 59 %@Z
‘ 12 25-44 ] 5
’ *77‘@ i@g
] ] =9
o S &
) “3 N @
(1 e 2 LS
s N 3
(%]
ESBIUNBL R T IS o =2
B AT, o Hg
The four screws on the bottom 17 - c
| f tilat ientl o
when they leaving the factory oL
LE; /ér g
GR20E-20 2 2 & o
FotERES(Without Sensor) Eg }ﬁ’i
- Ir < o}
HE G1/ ®
* «Q
320 | m17°1] 8
35
&2 (PN) AE(Model) fE/ig8(Sensor) STEH(F) & #f(Weight) e
8.Y00344 GR20E-20 - 80N 129g \E
e
o
Silicone 25 37
12 0-21
| 5z
. o | #z
E:,U'U
® 8 ik
O
1 9 }\ @
i )
(=) 53
© =0
EEIANMBL I T EIES 17 = zs2
TR ARIARAS. o} B3
The four screws on the bottom /o T {L-F Z
are loose for ventilate conveniently o s 9
when they leaving the factory ',_:3 /E: c
wn o
GR20F-20 s
Irs
ToiEREEE(Without Sensor) - HE
[+ >
@20 ?Eﬁ
g
35 3
&
5S(PN) A E(Model) &35 (Sensor) HMELA(F) =R (Weight) g
8.Y00345 GR20F-20 = 80N 128g 3

.



B3y |, A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

143

KOFEEGR20Z%! Sprue Gripper GR20 Series

[REBIU MR N T SRS,

B AAHARIIRTS.

The four screws on the bottom

are loose for ventilate conveniently
when they leaving the factory

GR20G-20
FoiEREEE(Without Sensor)

: MAP-8S2P1/F (PNP)
bl MAP-8S2N1/F (NPN)

FRER MR AT S EES
IR AMREIIRTS.

The four screws on the bottom

are loose for ventilate conveniently
when they leaving the factory

GR20G-20-CN(CP)

33

@20

33

38

0-24

30

H52xM

2xM5

118

30
)
e

118

2xM5

@20
HE RS (With Sensor)
£E(PN) FE2(Model) {ER%88(Sensor) MBS (F) EE(Weight)
8.Y00433 GR20G-20 = 80N 131.1g
8.Y00472 GR20G-20-CP PNP 80N 153.7¢g
8.Y00473 GR20G-20-CN NPN 80N 153.7g
CG



KOFZEGR20Z%%] Sprue Gripper GR20 Series

37

il
25 ZE
- 12 ~ M
- . P — 0-24 i@é
] - o o &z
e’ W :
74 — —
w ) =\
#Aa s
IS O (L)) B E 23
Steel jaw & gﬁ :
R MR R T EES pad g
RS ERES. vy g ®
The four screws on the bottom jor] e
are loose for ventilate conveniently ) g
when they leaving the factory © [te} g. ~
- zs
QT
I G1/ o
HE s
GR20H-20 @20 2
Fot&mEs(Without Sensor) - g
35 LS:
%9
_E_'B
T B
Steel jaw He
49
— S HIHR S 25 0-24
Steel probe
52
° Bz
o o %g'
[Sp)
o e
la) ° 7
AP-8S2P1/F (PNP) E.-@) \
MAP-8S2N1/F (NPN) 2
17 =
A MBLN TS EES ©p =2
HIT B AMREIRES. - . iﬁ%
The four screws on the bottom E‘ é ZL.F z
are loose for ventilate conveniently - b= 0 )
when they leaving the factory 8 2 §. g'
] < - g
Ne
GR20H-20-CN(CP) 3| |5
TH{EREE(With Sensor) »20 |M17*1| .
35 e
o
£S(PN) A S(Model) {ER%EE(Sensor) HMENAI(F) EE(Weight) <
8.Y00422 GR#IHD) GR20H-20 - 80N 193.1¢g E
8.Y00424 ém#lsH)  GR20H-20-CP PNP 80N 220.5g §
8.Y00423 N#lH)  GR20H-20-CN NPN 8ON 220.5g 3

.



MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

145

KOFLEGR20E75!

Sprue Gripper GR20 Series

37
25
- F 12 0-24
- _,". —
= ‘® o o
/t o e — O
= A o [sli %%‘{
& @
xxy y= bl o
| \ O (L) e
2 Steel jaw I
Y FEEBI MR AT S EES ¢/© s
T RPAMEIRES. pamam, s
3 y The four screws on the bottom E ::lf
._ are loose for ventilate conveniently ® - g
— when they leaving the factory el mﬁ_ &
. =5
_ N
Ire G1/
HE
GR201-20 ©20
Foi&RkEs(Without Sensor) VA7
35
HWHIH O
Steel jaw
| 49
l Fou | RHIERIL
' Steel probe 25 0-24
P - S
. '_\ o O
y ™
4 ! © o
N
MAP-8S2P1/F (PNP) ﬁ
MAP-8S2N1/F (NPN) ©
" Il 17I
« PO F
FREBI MR AT 5 EES =y i
- / IR IARRS., o o
%" The four screws on the bottom 8 © g
' b are loose for ventilate convenientl w < T
- when they leaving the factory g - E% N
GR201-20-CN(CP) el |
wIERES(With S ®20 I I
i & Rkag(With Sensor) M17*1
35
£2(PN) 2 (Model) {ER%88(Sensor) MESI(F) HE(Weight)
8.Y00450 ¢msl#HE)  GR20I-20 - 80N 191.69
8.Y00470 ¢msiti)  GR20I-20-CP PNP 80N 219.19g
8.Y00471 ¢m#lsH)  GR20I-20-CN NPN 80N 219.1g

C=G




KOFEGRA20%% Sprue Gripper GRA20 Series

- A EEEETFS (-NO).

1 Fiuld
o
2. FREEMRTHEERBIREA. ms
3. AEAVEENEIT. %@é
2
4. AR RS g
1. Double acting or spring open (-NO).
2. Very high gripping force related to the weight and dimensions.
3. Different options for fastening. %?
4. Optional magnetic sensors. N\ I%%
SMBU9-M10 - g
e
23
2
%2
B3
HE
e
GRA20A GRA20A-CN(CP) GRA20C-CN(CP) ?
FoAE R e RS e Rk
(Without Sensor) (With Sensor) (With Sensor)

s
Jaddin J1y

525(PN) A5 (Model) {&/R%E&(Sensor) HMEXFI(F) E&E(Weight)
8.Y00391 GRA20A = 80N 1109
8.Y00392 GRA20A-CP PNP 80N 115¢g
8.Y00393 GRA20A-CN NPN 80N 1159 Es
8.Y00434 GRA20C-CP PNP 80N 135¢g 5‘*32
8.Y00435 GRA20C-CN NPN 80N 135g 43
{¢§
(o
%3
8
A
o
3
el
S

.



KOFZEGRA20%%I Sprue Gripper GRA20 Series

A 38 25
S 0-30 12
;e
g9
g
3
777& g 8 %:tilation connection
o - M5 (x2)
i I ol 2xms ”
§ o} &
30 s
45
RO 45
Tﬁ% GRA20A
z ToIEREE(Without Sensor) 2]
3 &
A (=]
\ 2xM5
%
E-E
g3
He
° 44.50
31 25
| o027 13
5z X
, I
73 J< % ” 5,4
Mo (NPN |1 %8\
D-M9N (NPN) % G ;%?tiil%}fonconnection
3 2xM5 L MSea)
BHS o o ——
Zs 2 Q &
48 3
= 30 5
% 45
GRA20A-CN(CP) A7.50
HERES(With Sensor)
B & LD =)
5 &
8 )
71 \ 2xM5
o
E
S
Z £2(PN) FE(Model) {EEEE(Sensor) IMBXA(F) =& (Weight)
8.Y00391 GRA20A - 80N 1109
8.Y00392 GRA20A-CP PNP 8ON 115g
8.Y00393 GRA20A-CN NPN 8ON 115g

vy CRG



KOFZEGRA20Z%] Sprue Gripper GRA20 Series

44
0-30

B3y | FhE

d9qnL SNS - 3!404d

D-M9P (PNP)

D-M9N (NPN) P,

Ventilation connection

M5 (x2)

S R

3|NPOA SIUdIS

2xM5

8
44.50
[+]
@ n
o ®

30
45

S SR

J9bueyd 3oInd

GRA20C-CN(CP) 48
HEREE(With Sensor) 1

25

T K
a|npo\ diug

£35S (PN) B S5(Model) fERk25(Sensor) MERAI(F) E&(Weight)
8.Y00434 GRA20C-CP PNP 80N 1359
8.Y00435 GRA20C-CN NPN 80N 1359

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

.



KO EGRT20%&%! Sprue Gripper GRT20 Series

1. AAERBEEEE , ERERIMRE , FHiK.

ity
M2 2 ERNESERARETICRGEREE,
o 3. GRRFIKAKANEEARARAIFMK | BB S K ORISR,
s n
= g_' 1. Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.
N 2.Using threaded components or CRG's components when to assemble.
3. GR series of sprue gripper can choose different types of jaws to satisfy the clamping of various sprue gate.
%z
IS
B ;
Hg i y /\
c d i
RO ﬂ ﬂ ] Nj;
g -'
e y _. |
z F ~ — — -
@ d @ @
;%Q
5% GRT20A GRT20B GRT20C GRT20E
4 gZL T Rkag FAC kR FAC RS T RkaR
ﬁ:% (Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor)
/ :
'
52z L -
=z /
;j 2 II.'.- ,’!
¥ ,a’
= "'\‘\.”';
Eﬁ r 3 4
#H3
fz
g GRT20A-CN(CP) GRT20B-CN(CP) GRT20D GRT20E-CN(CP)
? HIERER HIERER Tl RER BiligRag
(With Sensor) (With Sensor) (Without Sensor) (With Sensor)
Bt 2 2E(PN) BIS(Model) =S FFX(Switch type) HMELAI(F) E&(Weight)
g 8.Y00257 GRT20A - 100N 111g
3 8.Y00252 GRT20A-C - 100N 113g
g 8.Y00258 GRT20A-CN NPN 100N 1309
3 8.Y00259 GRT20A-CP PNP 100N 130g
3 8.Y00279 GRT20B - 100N 162.8g
@ 8.Y00280 GRT20B-C - 100N 141.49
8.Y00281 GRT20B-CN NPN 100N 158.4¢g
8.Y00282 GRT20B-CP PNP 100N 158.4g
8.Y00316 GRT20C - 100N 144¢g
8.Y00317 GRT20D - 100N 160g
8.Y00318 GRT20E - 100N 161g
8.Y00339 GRT20E-CN NPN 100N 165g
8.Y00340 GRT20E-CP PNP 100N 165¢g

CRG



KO EGRT20Z%!I Sprue Gripper GRT20 Series

33 25
failpns

0-22.50 12 o

i i 7=
— .o

e

g9

f=y

o

o

¢}

130
HEE e o
3|NPOA SIUdIS

41

GRT20A 18

:r;&(:)
23
e G1/8 | M17*1.0 T 220 T ?3,'
FoiE =& (Without Sensor) E
%2
E-E
HE
43 %g "
0-22 ®
3 ]
5 —
o o
i 32
MAP-8S2P1/F (PNP) iR
MAP-8S2N1/F (NPN) o (@ 7%
!
- =
< E;_'Eg
H3
. #Fg
o 18
GRT20A-CN(CP) 2 S18_| mir+1.0 " 920
HERLEE(With Sensor)
M %
e
s
55 (PN) 2S5 (Model) {&Rk=&(Sensor) HMER(F) EE(Weight) §
8.Y00257 GRT20A - 100N 111g S
8.Y00252 GRT20A-C - 100N 113g 3
8.Y00258 GRT20A-CN NPN 100N 130g @
8.Y00259 GRT20A-CP PNP 100N 130g

.



KOFEGRT20Z%!I Sprue Gripper GRT20 Series

Tk .
GE T 7
e -
B9
§ ;
e 1 ) s ,I:L
2H§ 7 \—/
g , —.'\
I ? ¥
(o 2
Hag J
o GRT20B 7
E FiER%Es(Without Sensor) G128 |10
o 25
ég 12
\E
He ——
5z l
I
%% MAP-852P1/F (PNP)
k MAP-8S2N1/F (NPN) 3 ;I:L
\
>
Hs
=g
5
< ©
° h G1/8 . h
GRT20B-CN(CP) M17*1.0 120
#E/E2(With Sensor) o
i
e
)
Ew 5S(PN) 2S5 (Model) {&Rk&8(Sensor) HMERAI(F) EE(Weight)
3 8.Y00279 GRT20B - 100N 162.8g
S 8.Y00280 GRT20B-C - 100N 141.4g
2 8.Y00281 GRT20B-CN NPN 100N 158.4g
8.Y00282 GRT20B-CP PNP 100N 158.49

RN CRG



KOFZEGRT20Z%! Sprue Gripper GRT20 Series

BT
ZE
12 . ®
me
El &5
S
©
Elﬂ
i
\ﬁﬁ- ﬂ- 'r*g
S8 | mi7r1.0 020 | }ﬁ%
GRT20C %3;
TotERkE8(Without Sensor) g
25 (PN) #S(Model) f&Rk&&(Sensor) MEXA(F) BHE(Weight)
8.Y00316 GRT20C - 100N 1449

S
a|npo\ diug

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

.



KOFEGRT20%&%! Sprue Gripper GRT20 Series

i
s :
g0 .
fégg Silicone ==
9
& e
) (]
] [S]
© ] d
4
Swe
8 N W -
i ’ [
50 8
Az I
.|~;&,(E)
s i
o
8 GRT20D
ToAERLEE(Without Sensor)
%2
E_G
gE
He
® 485 25
0-235 12
5 O
5z o
ij];, o (]
5 ' q
L
BS b
48 3
fis i
9 (I;?é I1SI
M17X1 ©20
b %
3
o
< HE(PN) B E(Model) & R%88(Sensor) MENSI(F) =8(Weight)
E] 8.Y00317 GRT20D - 100N 1609
3 8.Y01004 GRT20D-CP PNP 100N 145¢
g 8.Y00458 GRT20D-CN NPN 100N 145¢

ILE] CRG



KO EGRT20%&%! Sprue Gripper GRT20 Series

B3y | FhE

agnL SNS . 3|1401d

© 6 of|

42

S o
S|NPOA SIUBIS

41

GRT20E = ]
FotE R85 (Without Sensor) M171.0 20

| 6
I

S

J9bueyd 3oInd

*Q
H3
: ag

o)

- o}

¢ O

-

sz
o df 3%
S ! B3
¥ MAP-852P1/F (PNP) 2 78

MAP-8S2N1/F (NPN) 8 ﬂ;

N
< E§
5 “H3
S G1/8 T 18- g

- BM17*1.0 020

GRT20E-CN(CP)
HE S8 (With Sensor)

S
e
££5(PN) B E(Model) & R%E&(Sensor) MERSI(F) =& (Weight) 3
8.Y00318 GRT20E - 100N 1l6lg 9
8.Y00339 GRT20E-CN NPN 100N 1659 -g
8.Y00340 GRT20E-CP PNP 100N 1659 H

.



MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

155

KOFEGRP32Z7%!

Sprue Gripper GRP32 Series

HETET, WAERTRE.

FTEFBCRGIIEFRICEOAT/SRENR L.

HWE

F20=K,

sk

IfE

(=5
™

C=G

SJE 6 baro
HEFE=ES

GRP32A
FoAG RS
(Without Sensor)

GRP32A-CN(CP)

Standard jaws with teeth, Double action function.

Fully compatible with CRG's modular EOAT/gripper system.

20mm shaft diameter.
Requirements:

Working air pressure 6 bar.
Requires filtered dry air.

GRP32B
FoAG RS
(Without Sensor)

GRP32B-CN(CP)

GRP32A-30
FoAE RS
(Without Sensor)

GRP32A-30CN(CP)

GRP32B-30

TG RER
(Without Sensor)

GRP32B-30CN(CP)

e RkER ERER HERER HIERES

(With Sensor) (With Sensor) (With Sensor) (With Sensor)
H£E(PN) AIE(Model) {&=%E8(Sensor) H&H(F) FE8(Weight)
8.Y00278 GRP32A - 200N 604g
8.Y00462 GRP32A-CP PNP 200N 6589
8.Y00463 GRP32A-CN NPN 200N 6589
8.Y00388 GRP32B - 200N 608g
8.Y00466 GRP32B-CP PNP 200N 662.49
8.Y00467 GRP32B-CN NPN 200N 662.49
8.Y00315 GRP32A-30 - 200N 12769
8.Y00464 GRP32A-30CP PNP 200N 13309
8.Y00465 GRP32A-30CN NPN 200N 1330g
8.Y00387 GRP32B-30 - 200N 1282g
8.Y00399 GRP32B-30CP PNP 200N 13369
8.Y00411 GRP32B-30CN NPN 200N 13369




KOFZEGRP32Z% Sprue Gripper GRP32 Series

T ARET, SERTHEE. Standard jaws with teeth, Double action function.

Th
TERBCRGAYERILEOAT /KRR S, Fully compatible with CRG's modular EOAT/gripper system. S
HER202K, 20mm shaft diameter. %leJ‘;’
gk Requirements: %E
TVYESE 6 baro Working air pressure 6 bar. %
FENETIREES Requires filtered dry air.
=2
2
H2
2
i °
|
[
e=3 R
=l Ha r;
vt 2
L] | ! g
. ’ 3 @
l i % Q
B
a=
GRP32C GRP32A-3020 GRP32B-3020 GRP32C-3020 %CEFS'
Toi& g Foi& g Tolekes Tole ke s
(Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor)
=z
#z
BUT
ﬁg
BS
: =2
il B3
L Ly Lz g
"TF s
L] , )
GRP32C-30 GRP32A-3020CN(CP) GRP32B-3020CN(CP) Mj’ﬁ
T mEE A B e
(Without Sensor) (With Sensor) (With Sensor) 3
S
E
55(PN) F5(Model) & /RkE(Sensor) A& 73(F) EE(Weight) %
8.Y00468 GRP32A-3020 - 200N 16009 2
8.Y00469 GRP32A-3020CP PNP 200N 16549
8.Y00477 GRP32A-3020CN NPN 200N 16549
8.Y00478 GRP32B-3020 - 200N 16049
8.Y00416 GRP32B-3020CP PNP 200N 1658g
8.Y00417 GRP32B-3020CN NPN 200N 1658¢g
8.Y00412 GRP32C - 200N 6149
8.Y00415 GRP32C-30 - 200N 12869
8.Y00418 GRP32C-3020 - 200N 1610g

.



B3y |, A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

157

KOFEEGRP32K7%

Sprue Gripper GRP32 Series

45
19, 34
0.7-145
7T —
T 4xM5 —
3 ||HH 3
i (I
FHE — i |
Helical tooth ® O | 2xC1/8 Il <
™) o §
O
- g
<« JE#EERD25, 030
A E#RES0, 100, 150
Dia can changes to @25, @30
GRP32A Length can changes to 50, 100, 150
FAER%EE(Without Sensor) 25
45
A9
Hh 4xMs =
3 il 3
i ()
X 8 2xG1/8 } 5 .
o
8
° -
<+ FEREER025, 030
AJ @R ES0, 100, 150
Dia can changes to @25, @30
GRP32A-CN(CP) Length can changes to 50, 100, 150 25
HIEREE(With Sensor)
5S(PN) ES(Model) {&Rz&(Sensor) AEF(F) E&E(Weight)
8.Y00278 GRP32A - 200N 6049
8.Y00462 GRP32A-CP PNP 200N 6589
8.Y00463 GRP32A-CN NPN 200N 6589
C=G




KOFZEGRP32Z% Sprue Gripper GRP32 Series

H
34 7=
I, 255 %Ij\ °
0.2-145 M
— _|‘ %2
.“l %
:—-;- axvs _[{ o g
3 ily 3
AN L ] i ;g;
Diamond tooth . o 2xG1/8 ) 5 iﬂg
™) c
@) N &
(e}
L] o
g RO
<+— OEHER025. J30 i 5
B E#EKES0, 100, 150 o
Dia can changes to @25, @30 S
Length can changes to 50, 100, 150 lg
GRP32B 025 )
FiERLEE(Without Sensor)
*xQ
H3
HE
45 34 {L-F g
1 19y 33 ®
0-13.5
MAP-8S2P1/F (PNP) ——-;- ﬁ;
MAP-8S2N1/F (NPN) - = < 9z
©! [ [ ™ ,:,g
|| < 4 v Zh
|~ 2xG1/8 I
3 8 — Jll 3 3
o L
£
S éﬁ 3
) = =
<« JE#EHRO25, 930 2
AIERIES0, 100, 150 ®
Dia can changes to @25, @30
Length can changes to 50, 100, 150
GRP32B-CN(CP) 225 N
HERLEE(With Sensor) ﬂgﬁ
£ 2(PN) A= (Model) {ER%E(Sensor) HE&H(F) =& (Weight) E\
8.Y00388 GRP32B - 200N 608g E
8.Y00466 GRP32B-CP PNP 200N 662.49 %
8.Y00467 GRP32B-CN NPN 200N 622.4g =

.



B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

159

KO3 EGRP32Z%| Sprue Gripper GRP32 Series

44.50
44.50 45
j'zig} 0.7-14.5
;
(el
7 3 0|
b N 6xM5
3
Rl 3
Helical tooth E 4xG18 I b ©
[sp}
4xG1/8 L | 5
[e]
% , 8
«— I ERER025, @30 -
A @S0, 100, 150
Dia can changes to @25, @30
Length can changes to 50, 100, 150 -
GRP32A-30 @25 ®25
FoAERE_(Without Sensor)
~ L 45
(D 33 0-13.5
M [ 0 1 i Wk
il ? T -
ills E ulii
-“-' 1 il 1 ol
S| 'H' I o A 1 exus
B 'F; 3
O
< B &
3 4xG18 < °
)
[ S [19 4xG1/8 S
I !Dn II!:”D::
i 67 67 o
o
. S
«— T E#ER025. 330
A RS0, 100, 150
Dia can changes to @25, @30 =
Length can changes to 50, 100, 150 25 o025
GRP32A-30CN(CP)
F{EREE(With Sensor)
2 (PN) A5 (Model) {&Ekg&(Sensor) HMELAI(F) EE&(Weight)
8.Y00315 GRP32A-30 - 200N 12769
8.Y00464 GRP32A-30CP PNP 200N 13309
8.Y00465 GRP32A-30CN NPN 200N 13309
cRG



KO EGRP32Z%| Sprue Gripper GRP32 Series

44.50 Bz
44.50 45, Mz
Z \ 255 @
| Jjo2-145 R
& n
) < &z
© &
(el
N 0|
1 ° N 6xms
[ _ 3
| | i EEJL 3 £
A < gy
|} Diamondl;‘ooth - 4xG1/8 = i Bz
| ) H g2
| 4xG1/8 5 =
[o)
. 8
<« O E#RERR025. 030 - Eg
ATE#RIKREES0, 100, 150 ~
Dia can changes to @25, @30 L >
Length can changes to 50, 100, 150 @25 é
GRP32B-30 ®25 ®
FE R (Without Sensor)
%2
E-E
VEES
e
45 ®
7 P 33
) 0-135
uifans T T N/
I 0 I E !!i WY 3
HH H 5z
il [l et =
E i b © 6xM5 B3
il E s 712
3 - 4xG1/8 <« b ©
i d |1 =
! [194 4xG1/8 5
. M= HT= Bs
L= 1=} EE E
67 o ZH3
L 67 3 =
= o
«— JE#HED25. 330 g
A E#RIKES0, 100, 150
Dia can changes to @25, @30 -
Length can changes to 50, 100, 150
@25 @25
GRP32B-30CN(CP) B 2
H{EREE(With Sensor) %3
3
HE(PN) FE(Model) fE /g (Sensor) $MENA(F) FE(Weight) 2
8.Y00387 GRP32B-30 - 200N 1282¢g 3
8.Y00399 GRP32B-30CP PNP 200N 13369 %
8.Y00411 GRP32B-30CN NPN 200N 13369 =

.



KO3 EGRP32Z%| Sprue Gripper GRP32 Series

IBJ
%% 44.50
-2 ' 44.50 AS
ﬁgg 25.
= = d 110.7-145
g 1 W\ 3
1H o _ om;
I o I ¢ o “:’1 6xM5
ﬁi;,‘? 1 6xG1/8 g i ]
A S
£2 it — 0 H
iﬂg Helical tooth = i
g % 2 . A
° 3
\ O O -
I | <
L_l -L' I o I 6xG1/8
R il 67 ST ]
< 67
3@: S
5 |<—EI§EF§E@®25‘ @30 =
3 . ATEIRKES0, 100, 150 i
oncih can changas ta 30 100, 150 25 25
GRP32A-3020
ég FTAEREE(Without Sensor)
gE
He
® 44.5(
44.50 X
1 0-135
53 ‘ ik
&z ] j & 3
BUO 1
it I8 N
h 0 ¢ o & 6xms5
O <
| 5 I %
6xG1/8 ©
2 < oS
o
< @ - 6xG1/8
8t “ 3
A3 : > ¢ "
1¢§ iy \ \
° b 67 67 0
<« O ERERRO25, 330 3
ATERIKES0, 100, 150
> Dia can changes to @25, @30
?g[g Length can changes to 50, 100, 150 at
g GRP32A-3020CN(CP) @25 @25
Ew HHEREER(With Sensor)
3
el
% £S(PN) S (Model) {&/2&(Sensor) & 7(F) BHE(Weight)
z 8.Y00468 GRP32A-3020 - 200N 1600g
8.Y00469 GRP32A-3020CP PNP 200N 16549
8.Y00477 GRP32A-3020CN NPN 200N 16549

I CRG



KO3 EGRP32Z%| Sprue Gripper GRP32 Series

T
44.50 M;:
45 M
44.50 o ;e
1 0.2-145 =4
0] rf &
1 ('. .‘\‘ % @
N (YaaY)
1 O] 7 N [%?)
0l L o ) 6xm5
~ O < wn
3 | & I > Xz
EEts 6xG1/8 e < ;52-
p Diamond tooth i © b © «:‘ iﬁg
=< 3 < - o 3
i ) <
T [s2]
ft o B
Adl | exc1s [
Co— uu) m| E?
0 a
«—— I ERERZO25, 030 &7 &7 o 2
AIE#A S0, 100, 150 =] §
Dia can changes to @25, @30 «Q
Length can changes to 50, 100, 150 2
®25 @25 "
GRP32B-3020
FToiEREE(Without Sensor) £
E-E
HE
44.5Q #F%
44.5(Q A5
33
M 0-13.5
o |
I 3 =z
Mz
ALl Qo wE
Ol o © -~ 7] ®
1 R A N
1 o)
6xG1/8 S o g‘
&
' ~ — 6xG1/8
“ S
) 3 BS
1 . =g
I 48 3
A ; - fiz
- o = . g
67 P 67 o
(=]
+—— A ERERZO25, 030 8
ATERICEES0, 100, 150
Dia can changes to @25, @30 |
Length can changes to 50, 100, 150 M;I‘):
GRP32B-3020CN(CP) 925 025 e
HEREE(Without Sensor) 8
[a)
o
£2S(PN) S (Model) fE/RiEE(Sensor) HAHF) &R (Weight) 3
8.Y00478 GRP32B-3020 = 200N 16049 §
8.Y00416 GRP32B-3020CP PNP 200N 1658g @
8.Y00417 GRP32B-3020CN NPN 200N 1658g

.



KO3 EGRP32Z%| Sprue Gripper GRP32 Series

B
M% 19, 34
S 25.5
e [T —lo-14
&7 = Vil
H1A 4xMI5 Z ° S
<t N <
© 11 < ™
Zﬁg N o 2xG1/8 } .
s ° ) 8
O
g . g
5 «—— FAERERD2S5, 030
a A EHRKES0, 100, 150
> Dia can changes to @25, @30
S Length can changes to 50, 100, 150
A GRP32C 25
FTAEREE(Without Sensor)
%9
E-E
ﬁg 44.50
g 44.50 45
25.5
1 b-14
[\ =
52
#hz
%g & exmis
7182 )
< P
X 4xG1/8 «
®
4xG1/8 DS
BS
#H3
14:?_ = = 67 67 (o]
c o
> =
L]
<« TERERE025, 930
A ERICEES0, 100, 150
> Dia can changes to @25, @30
?g[g Length can changes to 50, 100, 150 P25 @25
2 GRP32C-30
< ToiER88(With Sensor)
°)
3
B £5S(PN) #S(Model) {&R&g&(Sensor) A& (F) BE&(Weight)
° 8.Y00412 GRP32C - 200N 6149
- 8.Y00415 GRP32C-30 - 200N 12869

IGE] CRG



KOFEGRP32&% Sprue Gripper GRP32 Series

AJE#{<ES0, 100, 150
Dia can changes to @25, @30
Length can changes to 50, 100, 150

‘ <« T E#ER025, @30

GRP32C-3020
FiERLEE(Without Sensor)

RS (PN) B=(Model) {&=%EE(Sensor)
8.Y00418 GRP32C-3020 -

44.50

431

6xG1/8

67

@25

A&D(F)
200N

44.5Q 45

25.

0-14

381

oMol

54

B3y | FhE

d9qnL SNS - 3!404d

6xM5

34| 34|25

6xG1/8

134

67 0|

@25

E8(Weight)
1610g

100

S R

3|NPOA SIUdIS

S SR

J9bueyd 3oInd

T K
a|npo\ diug

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

.




MRy |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

b b2 |

JaddiN 11y

RS
3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

165

ZiEFTE N Rochu Gripper Introduction

EMFMNZATHEZRE, BHE2RFERBRMYKRHNEE, WHYEHTEEME.

REXREBESEAANMERIR. M. MBREREZSHER, TERMEMMOMENG R, MREBFM, HEEMEER, TBRGBEM
MERNER, BFRERENBENESN, MAERSHERY, —MEE, EEFAMKNYE, BRERMEEBRRKA,

F i F MTUER TV ARG MAM ST ER, RAMAE T TWHBANEATR.

Flexible soft grippers uses the principle of bionics to imitate the action of Octopus tentacle wrapping the captured object, so as to grasp
the objectin a wrapping way.

Traditional fixture often can't provide a successful grasping scheme because of the limitations of object shape, material, grasping
requirements and so on. Flexible soft grippers, made of flexible materials, will not damage the object to be caught. At the same time, due
to its centimeter level adaptive ability, it has high versatility. One claw is omnipotent, suitable for different shapes of objects, and users do
not need to replace the fixture frequently. Flexible soft grippers fills the gap of the End-Of-Arm-Tooling, and greatly expands the

application of industrial robot.

YEIRIE/ Working principle

FEMFMRAS|BEDRA, BIEHETHR, KAREFE/REAKANASEHE, MMEIMREMESIMERE,
ERESETERERREFFMORENERASHE, KUAYFEMHERREME, R EEREY .

Flexible soft grippers adopt pneumatic drive technology, through positive and negative pressure transform to achieve fingers opening
and closing movement. Then realize flexible gripping or outrigger action. The gripper grab strength is adjusted by air pressure. Then

achieve flexible gripping of different objects while avoiding damage objects.

SRR

Rochu Control Unit

B=
vacuum

EE
Positive pressure

= Finger
7))
fF EVN
Release
Beak

& R SKFF
Grab Release Open
f FaERSELATRENER2IEENEER, IHERTRESNTRENTIERNRE,; ERNENER
RITBzhEE, URIEFRERASERSRENE, mREASEBEERT RN 8RR,
The working pressure must be kept within a safe range, overload may cause irreversible damage of the finger. It is

recommended to use our "Rochu control unit" to ensure the life time and stability of the soft finger and beak.Please

refer to the product page or packaging mark for the air pressure of the product.

C=RG



&4, /Application

ZUFEOMBERERETEANMM , SERTNSERIMEWE , ATARUMEBNE N AR A S AN AREE TR,

fir
o
HIOZRATSETHE. 0BT, R, BY. B2 BUSESHEL. REFNTRTER. 55, BMESSHILHS , BT i
\ — . — —_ e N . . S » )
VBTFEHNEZNERTETL. *ette. BN, RRBHEEE , SR THIRMMESREEREHSHTEERNTR. %@&
3
The grasping action of flexible fingers is inspired by the tentacles of octopus, which can wrap the captured object in a soft way, without damaging the E-D—
object or leaving scratches on the surface of the object. And widely used in auto parts, 3C electronics, food, medical, clothing, daily chemical and other
industries. The flexible gripper can be used in assembly, sorting, handling and other industrial occasions, and can also be used in new retail industries
such as vending machines. It has the advantages of high safety, good versatility, simple and convenient installation, and makes up for the vacancy that
the mechanical clamping claw and vacuum cup can not be applied in some occasions. ;JE g
K
(e
Hs
=
o
on £ 5 BF
RmEl 3C
Food 3C-electronics
=P 3| = J|y Al = i v =R=o ’r;&e
BmEiHREeTs B TFDA ERTRERHUENSEER o
BmialingE  JEEEMEY & RS FNFBREME. B s
CE <A = - 3
A5, AHRERTRE. FANE BSiR. BER. BIIESTHNA 3
=2 T 1| 63 7 . N .
e LIS s L % B UH. BEETF.
DHEEE.
+ o
Food safe materials. FDAand EC-1935 Itis used for high-precision plug ég
certification.Used for pick and place of and pull of small electronic parts. ;E‘ §
fruits, dough, candies, pastry and Assembling,sorting, testing and Z’-JF%
vegetables. packaging of ceramic and plastic o

parts in mobile phone, PCBs,
silicon wafers, optic glasses.

SESEMF

Automobile

BAFSEET. SBEMME. 4
MEHSE. WE. ETR, &
HERT/IMLE. SRR

Sk oy
AR+
Clothing fabric
ERITFSHRRIR AR 95 R
= ERASHEL , 55 2HMEE M
BigEEMHNSE—2  tART

P P2 S
Jaddin J1y

'S

. = =55 s}

B H IR RE, EFBK, =t

ZH 3

It's suitable for layer grabbing or Used for sorting, transporting,loading and Lz §

multi-layer grabbing of knitted and unloading of automobile lamps, metal E

woven fabrics at the same time. When special-shaped parts and appearance °
layer grabbing, only the top layer of parts, especially suitable for small batch

stacked materials can be grabbed, and multi batch flexible production.

and itcan also be used for stacking and M 2

[a)

handling of stacked pieces. % g

o

<

S

S HEHMEY =97 Fnn :

=)L 7 Mon i

. o o . o)

Smart picking Medical Supplies Z

BTERE. 18  TBRFE
FTREMRIIMEY , tATHMER R,
KFEAR , SEATET RN
= HEFLR.

BT AT ERERARRIZE EMEL.
AJLUBTEFHESE  ERHRT
BIkH D ESIREE.

Smart picking based on artificial Itis used for grasping medical consu-

intelligence technology. It can be used mables such as infusion tube, test tube

for sorting and logistics packaging == and ampoule bottle, as well as bottled

under disorderly stacking and complex and bagged reagents, including the

scenes. production and disinfection of medical
devices.

c=G !Ha




FIEER Finger Module

V5ZR% FiEELR / Series-GFM-V5

1) ©
#a
N o
B Lm
= Lf
&
@EES-AV5
@1%LPN-166
@ OFMFIF-AST/LS1 Hf
b T @REIRETN-03 Hm
23 wm
+= N
EEZ %S L2 stz | SUEGTR Hmax (mmi| mrrmee | s | S | sce | s | o | s | =2TESE [Kpal |
,Hg_ Series PN Model HR [mm] ssamayzsg [HMin Imm Hm [mm]f Hf fmm] | Lmmm] [ Lf(mm] [ Wm [mm] | WF [mm] [g]
& 4.Y00500 GFM-A3V5 16.5
4.Y00501 GFM-A4V5 27 10 12 17 102 55 83
4.Y00502 GFM-A5V5 43.5 19 16 24.5 116 69 90
58 28 31 24 120 300
4.¥Y10951 GFM-A6V5 72 33 22 39 130 83 97
o 4.¥Y10952 GFM-A7V5 90 39 27 51 144 97 104
}ﬁﬁ' 4.Y10953 GFM-A8V5 109 45 32 64 158 111 111
A 4.Y00503 GFM-B3V5 19 10 6 9 71 31 44
>0
2 4.Y00504 GFM-B4V5 29 13 10 16 82 41.5 48
Q
) 4.Y00505 GFM-B5V5 40 16 14 24 51 21 92 52 25 18 52 126 | 260
4.Y10954 GFM-B6V5 53 23 17 30 103 625 56
4.¥Y10955 GFM-B7V5 75 30 21 45 113 73 60
xQ 4.¥10956 GFM-B8V5 98 37 25 61 124 835 64
©
%g 4.Y00506 GFM-C3V5 10.5 5 1 5.5 53 21 28
ﬁ:é_ 4.Y00507 GFM-C4V5 20 9 3 11 60 28 28
o 4.YO0508 GFM-C5V5 27 12 8 15 o 14 67 35 08 12 29 120 | 220
4.Y10957 GFM-C6V5 42 20 10 22 74 42 30
4.Y10958 GFM-C7V5 63 29 13 34 81 49 31
4.Y10959 GFM-C8V5 80 38 16 42 88 56 32
= . .
s> M FI8 Flexible Finger
Eﬂt—zj BUS¥dLL / Model comparison =
B3 i3]
PARS -
Aw} CE .
Series-A Series-C
BS
- 0
< c
c
283
H=
g
< B
® Series-B
Bt = i
,14:8 Hmax | Hmin
E 20 40 &0 8D 100 léﬂ 140 |6‘0 180 H-XJ 2‘20
i we = " Hmax [mm] Foee EE KEE 185 =k §$Il’ﬁ'—TE [Kpa]
g PN HR[mm] H n[mm] Hf [mm] Lf [mm] mm] Wf [mm] [9]
S 1.Y08421 A3 16.5 8
3 1.Y08422 A4 27 10 12 17 55 83 40
3
& 1.Y0842 A5 4sE5 19 16 24.5 69 97 47
e AR 08423 28 24 120 300
= 1.Y12918 A6 72 33 22 39 83 111 55
1.Y12919 A7 90 39 27 51 97 125 62
1.Y12920 A8 109 45 32 64 111 139 69
1.Y08424 B3 19 10 6 9 31 52 11
1.Y08425 B4 29 13 10 16 42 62 16
B 1.Y08426 B5 40 16 14 24 il 52 73 5 20 126 26
= 1.Y12921 B6 53 23 17 30 63 83 24
1.Y12922 B7 75 30 21 45 73 94 28
1.Y12923 B8 98 37 25 61 84 104 32
1.Y08427 c3 10.5 5 1 5.5 21 34 4
1.Y08428 c4 20 9 3 11 28 41 5
1.Y08429 cs 27 12 8 15 14 35 48 12 6 120 220
1.Y12924 Ccé 42 20 10 22 42 55 7
1.Y12925 c7 63 29 13 34 49 62 7
1.Y12926 c8 80 38 16 42 56 69 8




ZI%EH Roro Beak Suit
GBS-4B-S01 4XE{ GBS-4B-S01 4 pieces Beak Suit

failpns
ZE
KQ2H06-M5A me
&
SROMBIMIIRR Z 2
3 Pieces Application: Gripping 771'% 2
VENT1011-M5 jewelry by external bracing gy
15 =z
. 7 @3
ZRAS 4 e
VFNT1011-M5 \ ®
: Assembling Suit
VFNT1011-M5
() O
23
g VM27-M6 S EmEE 2
3 Pieces Application: Gripping =]
ring by external bracing ‘g
."_"
5 == %8
B-4B — R 27
:  B-4B He
Roro Beak * =
B-4B
RS : MR BERMRBT =6
4 Pieces Application: Gripping
products in Electronic industry
BE BARE BE TR EEE ks
(Model) (Maximum Load) (Maximum Working Frequency) (Precision Range) Ej'l%
BY
4.Y00509 GBS-2B-S01 59 200 times/min 0.1 mm ﬁg
4.Y00510 GBS-3B-S01 59 200 times/min 0.1 mm
4.Y00511 GBS-4B-S01 59 200 times/min 0.1 mm
Z0x Roro Beak
g3
FREFM , ZECBE 1-5mm, ERTFHER. KRG =
2 pieces Roro Beak Gripping Range: 1-5mm, Application: fibrous, 43
striped small objects ﬁ: s
Q.
1% B-2B S 5
Roro Beak B-2B ]
[——Ni:] ﬂ}}l@ls i
25 (PN) 1.Y08430 A a
#=E(Model) B-2B 18 23 [(TES
%3
=R, KEUEE 7-12mm, ERTFIMERMEEFR N4 3
3 pieces Roro Beak Gripping Range: 7-12mm, Application: gripping I
small rings by external bracing 3
o
= % B-3B g
Roro Beak B-3B 7 = e
21198
£S5 (PN) 1.Y08431 i g
#=(Model) B-3B
325

PRz, KBGEE 1-5mm, ERTHEF. TRANNMIYE , BRERE
4 pieces Roro Beak Gripping Range: 1-5mm, Application: spherical,
irregular small objects, the best universality

Z 1% B-4B
Roro Beak B-4B

D = N
T
B 6}10;3 P
55(PN) 1.Y08432 f < Ls)
=5 (Model) B-4B 37

—

.



MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-_T3
e

sjuauodw o) A10ssa20Y

169

B LR %R Slide Mounting Platte

GSMP-Z @ Z&%/GSMP- Multidirection

PR

BRAERED AFRRRR

ATRATFEERIFM]S ZZEEER[FCM] BRI

FEERFMINZZAENVETERET

Features

- Different styles according to shape and slot length

» Can be used for assembly between finger module [FM] and flange connection

module [FCM]

« The installation angle and position of finger module [FM] can be adjusted freely

2x M5

GSMP-2S

32

GSMP-2L

75 3=
NEES PN

7.Y01028
XA

7.Y01029
7.Y01030
7.Y01031
7.Y01032
7.Y01033
7.Y01034

7.Y01035

CRG

L=
Model

GSMP-2S
GSMP-2L
GSMP-3S
GSMP-3L
GSMP-4S
GSMP-4L
GSMP-5S

GSMP-5L

GSMP-3S

GSMP-3L

0N rEiE1EE & EE
A [mm] B [mm] E [mm] [mm]
20 10 4.2 8

45

15

50

22

67

23

78

10

10

10

10

10

10

10

4.2

4.2

4.2

4.2

4.2

4.2

4.2

GSMP-4L

8

10

10

10

10

10

10

GSMP-5S

GSMP-5L

EEHSREE Dn[mm]
Dnmin~Dnmax

V2 VAFIERR | V3 VSFEER

40~69

40~119

58~82

58~152

72~104

72~194

91'~112

91~222

10~37

10~87

28~50

28~120

41~72

41~162

53~80

53~109

BE
[9]
18.9
25.4

42.4



iPCU 2 =5 IK#N28/ Integrated Passive Control Unit
o FEMZMRMEERHE, KR, B8R, TEHE,

s BENAATHHSEEE , £EFARIEEIE B FIEMIKE. B
o FHIEALBE. CE
o —(AMUEREMRIME SIRIFRE. i@g
- — . . kS iy B
* WMEFH (ixH) MENM/OBFES ) WHEHEN , BESMIME  PLCRIR, g
o BERERRTISHEE , SHRESR. ’
o IPSARESREIFER , Bi7kind: , ERSMES IR  HEERIIREDE , 2, BE  THEAVREF  FREIEECEREIAIL.
e Compact special controller for flexible soft grippers . Small size, light weight, easy installation. % @
o With three adjustable output pressure range, it fully supports the drive from soft beak to enhanced finger. :7&3
e Manual knob pressure regulation. gﬁ%
Q.
e Theintegrated panel integrates digital display and operation button. s
e With manual (button) and automatic (I/ O level signal) two control modes, equipped with a variety of mechanical arm, PLC terminal.
e Equipped with mounting block and industrial rail slot, a variety of installation methods.
e [P54 electrical protection grade, waterproof and dustproof, suitable for all kinds of bad working conditions, with intelligent alarm
function, safe and stable, no need to worry about misoperation, the product has passed the EU CE safety certification. E‘g
a
3
a
o
%2
B
/=
THEE a2
Working positive Pressure %
THEEERT
THTESE 141 Working positive pressure regulation
Real Time Working Pressure
SiEO ®10mm ﬁ z
EEiRO & Air Supply ®10mm @%
Port y %'g
. IfF0 ®10mm
Working bl
Power 24VDC 10W
c € 3]
z=2
83
#Fg
=
o
I{’F%%&/Work Parameter
R e R B i
Parameter Range Parameter Range ﬂFﬁ
SREFE E/Rated Voltage 24 VDC £ 10% NEERA R/ Fuselage Shell ABS 8
e
ZREIIZ/Rated power 12 W R~f/size 207x132x141 mm g
el
EANSIE/InputAirSource  0.45~1.00 Mpa, #i&E>200 L/min /% E/Net Weight 2.0 kg %
-90~60kPa (ffERY ) 8/ life span 5000 53R ’
BWHSE : =
! -90~120kPa (1% ) a. FanizH
Output Air Pressure 24753/ Control mode
-90~300kPa (514 ) b. I/OB¥ES
B3R ZE4%/ Protection Grade Ip54 T {Et&E=z{/Work Mode B (EEIKE
- T e P E P P ppe
Model PN Manual voltage | Electronicvoltage | Wireless remote | Wireless Attitude | Speed adjustment | Safety air pressure " "
regulation regulator feedback [L/m | n] [L/m | n]
ERS  iPCU2-SMN  1.Y12927 ° B 200 40

CRG



#2728 Buffer Support

R~ (mm) / Dimensions (mm)

m
ZE
e <
‘é‘; b
& “: [a) ol D
E T S F
%g ob
< il
Hg B
& m
H
o 8E(PN) #E(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) H(mm) S(mm) ZE&(Weight)
}gri' 8.Y00241 GSR1421-08 8 14 15 12.5 40 36.75 97.75 21 369
Q 8.Y00373 GSR1436-10 10 14 20 15 60 45.5 139 36.5 549
é 8.Y00329 GSR2026-10 10 20 20 15 50 45.5 121.5 26 749
s 8.Y00243 GSR2026-12 12 20 20 15 50 45.5 121.5 26 739
8.Y00330 GSR2051-10 10 20 20 15 84 45.5 180.5 51 1119
Fo 8.Y00331 GSR2051-12 12 20 20 15 84 45.5 180.5 51 1109
BT
\E
He
o c |
L
[ a —
bd
gé 78S F
el
78 %
il g
I
23 ' :
Tc
2 c
ﬁé 8E(PN) #EIS(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) H(mm) I(mm) J(mm) S(mm) EE(Weight)
é’ 8.Y00242 GSRT1421-08 8 M14 15 12.5 40 36.75 97.75 29 2.7 21 439
B 8.Y00332 GSRT2026-10 10 M20 20 15 50 45.5 121.5 39 3.9 26 92¢g
8.Y00244 GSRT2026-12 12 M20 20 15 50 45.5 121.5 39 3.9 26 91g
8.Y00333 GSRT2051-10 10 M20 20 15 84 45.5 180.5 39 3.9 51 129¢g
- 8.Y00334 GSRT2051-12 12 M20 20 15 84 45.5 180.5 39 3.9 51 128g
a3

=Ll / Application

sjuauodw o) A10ssa20Y

GR12-12-CN GRS08-C

L1

GSR2026-12 GSRT1421-08

VAl CRG



gz 28 Buffer Support

R~ (mm) / Dimensions (mm)

| e —

1778S

@D

i=ASLf / Application

GFR14-95G

A
o) |

C=G gynzs

GSP-2014

T

.

@F
?G

525(PN)
8.Y00238
8.Y00239

S (Model)
GSP20-14
GSP20-20

30
30

10
10

13
13

25
25

77.5
77.5

28
28

15
15

14
20

31
33

20
23

20
20

57¢g
659

1718S EE(Weight)

B3y | FhE

3qnL SNS . 3|l404d

HEE A

S|NPOA SIUBIS

S SR

Jebueyd }dInd

a|npo\ diug

il

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

8.Y01032 GSP30-30 30 43 33 30 30 18 22 25 77.5 28 15 1089

syusuodwo?) A10ss8d0y

c=G




EEEIE8 Mould Positioner

R~ (mm) / Dimensions (mm)

il
ZE
e
B9
g
=z
,f%é
=
@5
o 5S(PN) BS(Model) A H BAREN  EE(Weight)
8.Y00408 GMP14A 38 14 M12*1 - 12 5 4 @14 @11 M5 90N 629
8.Y00088 GMP20A 46 25 M17*1 19 18 10 9 @20 @155 G1/8 190N 789
8.Y00089 GMP30A 75 38 M27*1 28 27 11 10 @30 @255 G1/8 280N 303g
o
s >
o _ |
§ '“ : P i 7
° iz | .
S € — -
§§ gmggg GMP14B
iz £E(PN) #S(Model) A B C D) ¥5 = (Precision) EE(Weight)
e 7.Y00968 GMP14B 15 M4(=orM3iisk) - 15.5h7 +0.015 469
® 7.Y00726 GMP20B 33 M6(orM5isk) 10 26h7 +0.015 879
7.Y00789 GMP30B 435 MS8(orM6sk) 11 40h7 +0.015 264g
. —* .
K
52 - L ¢
z?j]% 3 o b %
B N’ Y
75 B J y
f T =1
— 1
£2(PN) EZ(Model) L =& (Weight)
= 7.Y00894 GLU20A 35 26 5 ©19.92 ©20 550 850 21 M8 @12 @820 @11 619
gﬁg DDBZ
1¢§ 0.05 AA
: - =
® b 3 ¢
L A
i s !
% =1 E
PR
3 $5(PN) EE(Model) A B C D E F G H EE(Weight)
§ 7.YO0895  GLU20B 26 5 ©19.92 @20 M8 @11 1550  10.50 429
el
o
3 =LA / Application

GMHS3-25D

GMP20B

GMP20A

SMBY20-100

Vel CRRG



&5 (GNEZF) Pneumatic Needle Gripper(Series GN)

fir
E
L
1%}
30 136.50 ig_;&
25 12, |-
- T g
“ e e s \ ®
o T My . .
( .\\ Zg\ _¢_ '¢_¢_
- 5 &
- <
- - 22 s 3'2 )
8 ° 23
\ N *E 17
= éH§
- c
o
|
GN2010 —] I
4%f Pins oz o
<.
]a
30 (@)
>0
5
S
%2
E-E
a HE
45 140.5 o
o - =~ 8, e i fas %
?, ,.E'n.ﬂl:! ‘;:‘:‘ﬁ: = J,\'\X: stroke s
. NN 8 9
- -
C
52
2 #z
o N ks
b= ke
GN2010-8
8%t Pins
®20
o 2o : S
QO
QH =
= 3= N “H3
H=
33.50 g
=
o
ZATARETUNESMEN  CTRTRE. SREWARNNRHEEN,
WEREREKETRET , BEULREE FEXRES IFRREHKE. W >
Being used for embedding and taking out nonwoven fabric, net cloth and sponge.The length of the steel & §
needle can be not only adjustable, butalso customized according to the requirements of the customer. §
<
RE(PN) 8.Y00025 8.Y00347 S
ES(Model) GN2010 GN2010-8 E
R BiEiE , BB/ KEBEEEES S
Medium Filtered, lubricated / non lubricated compressed air g
= @
EnEHE 3 ~8bar
Pressure range
BESEE 10° ~ 70 °C.
Temperature range
6 barEATHTFELEA 90N
Opening total gripping force at 6 bar
FHIRTTES 0~10mm
Needle stroke s
ERESERER 35 cm?
Cycle air consumption
E=k s
Weight 2749 3179

CRG vz



&5 (GNEZF) Pneumatic Needle Gripper(Series GN)

30
- 25 1124 136.5
23 - ..
7= - o ‘:; "
N o
Bz T ?
=5 s J
3 FLHRE (ML7xD) B
! Detachable (M17x7) teeth
51
@
o &
@
2% B 7
!
1= 2
s
c
® GN2010-S51
4%t Pins = R
<. 30,
s ] "
@) AQfTFES
3 = ] M — 5/
E T ]
2 ( - Zo“% o
b - 0|
4 - ': ~ / ° ° /o
Fo 1 1 YR QN7 9
E_-E Detachable (M17x1) teeth
BE o
s 3
o
GN2010-S21
4%t Pins )
520
52
] z 34
%g- 45 o1 140.5
Jj f_13 n;‘..? u\:’strokes
P ©
L] g ° o
1 AT QL7 D) 22 2,
19 Detachable (M17x1) teeth s
5 . .
e g "
fiz 5 g,
s el
Q.
f=
o
GN2010-8S51
8%t Pins E=
©20 B — o
MT.I‘E gy N a n B 3= E::
3 SAFRETUNESHIEN , BAIBTNG. SREMANMEREA. HIIHQH
% [ oo =1
S WETABRHKETRT , BULRBEE P ERESIFFIREKE. e '
& Being used for embedding and taking out nonwoven fabric, net cloth and sponge.The length of the steel 850
-g needle can be not only adjustable, butalso customized according to the requirements of the customer.
2 8.Y00341 8.Y00440 8.Y00385
a #5(Model) GN2010-S51 GN2010-S21 GN2010-8S51
R BiiE , B8R / KRR EREES
Medium Filtered, lubricated / non lubricated compressed air
EEE S 3bar
Pressure range
N=| k3
REBE -10° ~ 70 °C.
Temperature range
6 barEA FHFF RIS 90N
Opening total gripping force at 6 bar
EHR1TRES 0~10mm
Needle stroke s
?E%?Eﬁﬁ%ﬁi ; 35¢em3
Cycle air consumption
240g 2209 4809

%/ig ht
.




S&15T3E (GNZE%) Pneumatic Needle Gripper(Series GN)

fir
o
Rl 82 7=
33 30 i “0\@5 N
N [%)
4 A I \)5 i@ S
B =
- - C
-_< &
(G ~@y
8
S o =
2 = o= N 25
~ | 1
Pzt
(=3 L1ER ) 7'5‘- ;’
/ g % Mo Zﬁ 2
ZH o
n %
o
24 012 21
@30
GN3003-4
4%t Pins o s o
]a
(@)
3
84.5 2
o
SRTRETIVNETHHREN , BTATRA. SHREYMERNEREEEN. %o
MEEREHKERRET | BULREE P EREFIFRIREHSE. B<
Being used for embedding and taking out nonwoven fabric, net cloth and sponge.The length of the steel H §>
needle can be not only adjustable, butalso customized according to the requirements of the customer. 3 %
£5(PN) 8.Y01005
#E(Model) GN3003-4
NR EdiE , B8R / KREBEEREES
Medium Filtered, lubricated / non lubricated compressed air
Vab = >
injj?ﬁgl 3 ~8bar ﬁ Z
ressure range oz
IRESEE . R B3
Temperature range S UG 712
6 barEA I FFEKE T 90IN
Opening total gripping force at 6 bar
FPR1TEES 0~10mm
Needle stroke s
?Eﬁf"éﬁi%ﬁi ; 3.5cm3 =
Cycle air consumption Z=2
BE ‘535
Weight 1889 =z
[e]
g
o
M2
e
o
<
0
o
3
el
E
2

C=G



5%PK28 Bulging Device
F
7= g! = ] N
N0 SRTAIE
'fé'ﬁé Model representation methods GBD D
2
g
HEFTE
Actuation direction
% D-BF
’7’%2 bgzkﬁj D - Downward
e - - v HiEEDL U-mL
Hy = == EARES =L Middle through hole U -Upward
£ Body Diameter
3 3 ML,
a i & EZ B &89 BT B RE AR R 6l B
Hho FKERTATMI8 & 31 mmALE,
g ’ SRZENE.
[a}
535 ' Downward movement, or Upward movement.
® - The elastic part can bein Silicone or Rubber.
Grip diameters from 18 to 31 mm.
Several mounting accessories.
3
E-E
HE |
e |
=41
2
o 931,
HMH ) HESHE - hRITF. AIREERETS BTSN
52 HH{ A emmmosREmEs,
2z 1%,1
B0 —d s,
ﬁ?‘; - ” Through hole for fastening
) The ...H models have a central through hole. It can be used to blow
compressed air, or to provide vacuum, with the purpose to cool a
GBD...HU part, or to check the leakage.
=
=t EERE Silicone rubber
‘H3
fiz
£ 1R BB > SR PR I B B R S B BB IR R
ERRUTRERSOEETE  MREKNERED.
ERREelERGRRETIFIENE  BRETER,
TERBH B BB R B TR A 2 FB1 0075 K.
B 2
B3 The elastic part can be in blue Silicone, or transparent silicone.
S Silicone can be used over a wider temperature range and assures a longer life time.
P SR ENEE The elastic partin Silicone is available as a spare part and can be replaced,when worn out.
_% Spare elastic part The expected medium life time of the elastic partin Silicone is about 1 million cycles.
o
3 A
@ s1
BRERE & (Spec.) 218 @22
Blue Silicone =
BS(Model) 18-S1 22-S1
N ~ £RE(PN) 4.Y00470 4.Y00471
h 5 (Model) 18-S2 22-S2
EHE;;,{%HQ £E2(PN) 4.Y00472 4.Y00473
. . GBD18U
Transparent 5 K EE(Bul d
silicone SBkEE(Bulging device) GBD18HD GBD22HU
N TR BB A AR IR B (R RS ~60°C)

T - Operating temperature of the elastic part (5~60°C for the gripper body)

Silicone canbeshipped by customers

C=RG



5% Ak88 Bulging Device

®D

el wu M5
- - i
—— — L
= ;“‘-ﬁ’ s
: _
= = [T] ¢+
e @C .‘-. q::_._--d_.‘l
ég = y
& @C S
T o E:
'] B : S
;&t I =
= |~ = IS > - 2B |

@A BA
GBD...HU GBD...U
RE(PN) EE(Model) A @B ©@C @D F G H I J K L M N O S T EE
8.Y00212 GBD18U 18 24 18 14 5.5 M12x1 905 22 85 315 185 215 13 10 16 7 39.7¢9
8.Y00058 GBD22HU 24 31.5 213 14 55 M12x1 92 14 13 348 22 26.7 137 9 19 8 53.8g

G
? (Z)DI ]
\"-L A SI I
'©
- - e
:?'.5 —
BA
GBD...HD
S (PN) BE(Model) OA OB @OC @D @E F (€] H I L M NOP R STV Z E=E

8.Y00057 GBD18HD 19.5 25 18 14 2.5 5.5 M12x1 70.5 14 16.5 19.5 12 9 M5 M3 16 6 5.3 M5 27.4g

iEFSEH / Application

- s
v Y
GBD22HU -

A

PEP2525

GBD22HU

SEA-1414L80

w »
f SMBE2-1450

SCF3-40M12

MRss |, X

2qnL SNS . 3|l40id

HEE A

3|Npo 51U31S

S SE

J9bueyd oD

e il )y
a|npo\ diug

b b2 )

JaddiN 11y

T HHm

3|NPOIN Wnndep

-3
B

syuauodw o) A10ss920Y

C=RG




ERikiE (GFE%Y) One Finger Angular Pneumatic Grippers (Series GF)

1 ©
%g o BA—Zh{E, - Single acting.
) « REWIR, « Built-in magnetic ring.
e
g4
g
GFA...-35
- 8.Y00117 E 8.Y00119
a3 A2 (Model) GFA14-35 GFA20-35 GFA30-35
s PR BiS, 9B/ FEBRERS
~a Medium Filtered,lubricated / non lubricated compressed air
a EAK %I
Gripper body Aluminium
E7IEE 2.5 ~ 8 bar
Pressure range
; RESEE .70 °
}%g ' Temperature range 0= G,
a A WS 1712 -
5 @ Stroke
L'.j‘? Q ) O ﬁ%ﬂ @10 mm @16 mm @25 mm
Piston bore
6 bar[£7) FRIXHIHAE 26 Nem 100 Nem 430 Ncm
£Q Closing torque at 6 bar
= BIRESHER - ; 5
%5 Cycle air consumption R i (o2 ) el e
He 5B
= Weight 25¢g 65¢g 2069
M ERIR
Built-in magnetic ring "y BY "y
e, 35°
7= A
« %~\Q
ZN\
A
%g £35S (PN) 8.Y0011 8.Y00118 8.Y00119 L [
HE RS .Y00117 .Y Y
ZLELE S (Model) GFA14-35 GFA20-35 GFA30-35 ©
EL A 14 20 30
® B 14 20.5 30
C 10.5 9 12
D 49.5 76.5 111 I
W 2 E 5.5 8 11
{¢§ F 13.5 20.2 30.5
g G 4.5 6 8 a
S H 74 106 153
3 | @14 @20 @30 o
S J 12 17 27
2 K M5 M5 G1/8
M M12x1 M17x1 M27 x1 u'—“—r” | |
o
M
\{..
J

el CRG



EARNIRIE (GFEAS) One Finger Angular Pneumatic Grippers (Series GF)

- BB—1E, - Single acting. o
]
* REHIR, « Built-in magnetic ring. =
e
B
#5(Model) GFR14-95G GFR20-95EG GFR30-95G &
GFR...-95G NR iR, HiBE / KSR EFES
Medium Filtered,lubricated / non lubricated compressed air
TTY Rk 25110 i
) Gripper body Aluminium %8
Q © + =]
= EEE @
© Pressure range 2ot B Al ;%g
° RETE 210 ~ 70 °C 2
Temperature range : ®
78 o
Stroke %
EEF, @10 mm @16 mm @25 mm
Piston bore _ Hho
glba.rEjj-FEg*'ﬂ*ﬂﬁ‘- 19 Nem 70 Nem 300 Ncm ;e
osing torque at 6 bar o
BARESHEE ; ; ; e
Cycle air consumption Jeim eI 129 cm ®
BB
Weight 369 879 3009
R ERLIR ko
Built-in magnetic ring BY BY BY gé
S . B
fﬁnark Eft Replace8s Y00083 e
Silicone
#5(Model) SIL-14G SIL-20G SIL-30G
ERR - L
Applicable Products GFRI4-95G  Groog il GrRzo.ossG  OFR30-95G #z
BIS
72
L A
22 (PN) 8.Y00084 8.Y00312 8.Y00096 ©©
ﬂ%(Model) GFR14-95G GFR20-95EG GFR30-95G L Z ll] iy
A 14 20 30 G | | | o S
B 12 17.5 25 J—— =g
C 10.5 9 12 I 1® DB ﬁi
D 49.5 76.5 111 g
E 5.5 8 11 T &
F 14 20 29 &
G 2 2.5 4
H 72 103 148 .
! 014 20 30 e
) 12 17 27 E o == L”lllll 2
K M5 M5 G1/8 — <
M
L 2.5 2.5 3 3
M M12x1 M17x1 M27 x1 §
N 11 15 20 ._.IR Y 2
0o 32 46 63 °
P 19 25 37 OO
e/ o
Q 14 20 30 0@
R 19 27.5 40 i
o

c=G



ERARNiRIE (GFEAS) One Finger Angular Pneumatic Grippers (Series GF)

%@:—; o BA—ZhH{E. + Single acting.
N - NERR, + Built-in magnetic ring.
B =
g
GFR...-95
.
Bag #E(Model) GFR14-95 GFR20-95E GFR30-95
B PR B, RR/ RS
A e Medium Filtered,lubricated / non lubricated compressed air
5 Ed=Li RHIAY
Gripper body Aluminium
' ENBE 2.5 ~ 8 bar
Pressure range
; RESEE O
Eg Temperature range 0= 7T,
2 SAWAS 78 050
5 @ Stroke
E © NRWE ;E%}L @10 mm @16 mm @25 mm
| Piston bore
v :@D 6 barE 7 FRIX AIHIE 19 Ncm 70 Ncm 300 Ncm
£9 ol | ] Closing torque at 6 bar
B3 BAESHER ; ; 5
[HE ,/ Cycle air consumption U S 12.9¢cm
e =8
= Weight 25g 60g 193¢
WE#F BY BY Y
Built-in magnetic ring
- Eeifwark EX Replace8e Y00041
=z
=z
o] A
e
© ©
L @ @ m
52 (PN) 8.Y00042 8.Y00311 8.Y00095 <
#E(Model) GFR14-95 GFR20-95E GFR30-95 (¢« O
s A 14 20 30
=
E“EE B 12 17.5 25 G
23 c 105 9 12
2 D 49.5 76.5 111
& E 5.5 8 11
F 14 20 29 T
G 2 2.5 4 @)
> H 72 103 148
?gﬁ I D14 @20 @30
a J 12 17 27
< K M5 M5 G1/8
A — I —
3 M M12x1 M17x1 M27x1
: PO i A n
S L
g M

K CRG



BEikIE (GFE7Y) One Finger Angular Pneumatic Grippers (Series GF)

i ing
o
- . . =
- BE—Z{E, - Single acting. 1o
- RERIR, + Built-in magnetic ring. e
%m
=
o
o
GFR...-95L
5E(PN) 8.Y00309 H@
o
AE(Model) GFR20-95L %’E;-
NE B, MR/ RERNERSS <
Medium Filtered,lubricated / non lubricated compressed air 5
BTN RHAY °
Gripper body Aluminium
E75eE 2.5 ~ 8 bar
Pressure range
N=| K
iR ESE ~70° [yl
' Temperature range 10~ 70%C. }%%
1752 95° a
ﬂ@g Stroke S
BT ®
ﬁ@% Piston bore 2R
st | | H 6 bar[EA AKX 70 Nem
- L Closing torque at 6 bar *o
= BAESHER — B3
Cycle air consumption : iﬁg
E& 81.4g e
[—/ Weight ’
MEIR aY

Built-in magnetic ring

e
Jaddin 21y

A\ 4

2 (Model) GFR20-95L
20

40

9

76.5

©©
©O

Frif Hhm

3|NPON Wwnnoep

C

42.5
2.5 G
125.5 T
220

17

M5 a
M17x1

-
=
e

IR —|— I mm OO m|>

syuauodwo) A105s320y

oo v

Cre



TS ., X

aqnL SNS . 3|140.d

HEE e o Xt

3|NPOJA SIUBLS

SRS

J9bueyd ydIND

il o
a|npo\ diig

b 2 S0
JaddiN 11y

Frih KL

3|NPOIN WNNdep

-z
=
[

syuauodwo) A10ssaddy

183

Bnfifkig (GFRF)

One Finger Angular Pneumatic Grippers (Series GF)

- B—a{E.
- AEWIR,

«Single acting.
* Built-in magnetic ring.

£5S(PN)
S (Model)

Silicone {l\ﬁ

GFR...-95LG

Gripper body
EHEE

Pressure range
RESEE
Temperature range
1778

Stroke

mEAL

Piston bore

6 bar EHD TRIXAHIE

Closing torque at 6 bar

BIRESEER
HE

Weight

ME IR

Built-in magnetic ring

@

55 (PN)
FIE (Model)

B
Applicable Products

55(PN) 8.Y00310

#5(Model) GFR20-95LG
20

40

9

76.5

8

42.5
2.5
125.5
@20

17

M5
2.5
M17x1
15
68.5
25

20

50

PO OO ZIZE—|R—|—I6GTmMmIN ®|>

CRG

Cycle air consumption

8.Y00310

GFR20-95LG
SR, R/ KEBEEEES
Filtered,lubricated / non lubricated compressed air
£ HIRY

Aluminium

2.5 ~ 8 bar
-10 ~ 70 °C.
95°
@16 mm
70 Ncm
3.52cm’

104.8g

ayY

4.Y00485

SIL-20G

GFR20-95EG GFR20-95LG GFR20-95SG

A N A
OIC
] \Z ® @
L m
T===<
~ A

O
I
|
|
I
Iy
L
®
C

(o

®
=)

D1 Fow] e




BRikis (GF&ES) One Finger Angular Pneumatic Grippers (Series GF)

0
- B—fE, - Single acting. CE
« REWIR, « Built-in magnetic ring. %Ij o
=G
=
o
o
GFR...-95S
SN .
S (Model) GFR20-95S ;J,gg
A5 Bili, BER/ RPBRERES B
Medium Filtered,lubricated / non lubricated compressed air ‘E§
KEH AHIAY a3
Gripper body Aluminium
EN5eH 2.5~ 8 bar
Pressure range
RESEE 0 ,
Temperature range U e }ng
712 95 3
Stroke g’,
EEIL 216 mm E
Piston bore
® 6 bar ENTHIXAHE 20 Nem
@ B ='] Closing torque at 6 bar %o
ol |1 = ERESHRER A g3
j Cycle air consumption : éﬂg
58 e
Weight 899 ®
M EREIR
Built-in magnetic ring "Y
L | .
wz
EE
o
A 7
A A
£55(PN) 8.Y00335 © © o
A2 (Model) GFR20-95S - © ©
A 20 il F =
B 175 | | o =2
A 4 4H3
= 9 2
D 11,5 G 3
. ZLlle s
E 8 B
F 20
G 2.3
H 138
B =
| @20 I a Vi
J 17 3
K M5 A
L 41 ) E
M M17x1 i
1
n s
y

Cos



EATNIRIE (GF &) One Finger Angular Pneumatic Grippers (Series GF)

piciny
HE s s .
L@ B—miE, Single acting.
i@g - RERR, + Built-in magnetic ring.
S
g
GFR..-955 6.Y00336
- iwg(ModeI) GFR20-95SG
%é’ NE B, EEE/ NERRERSS
i 2 L b Medium Filtered,lubricated / non lubricated compressed air
B3 (o ek tRHIA
= Gripper body Aluminium
};T:j]ie,@ 2.5 ~ 8 bar
ressure range
RESEE R
Temperature range -10 ~70°C.
po e 95
s Stroke
;3) e @16 mm
2 Piston bore
g 6 barEATHIXAHE e
Closing torque at 6 bar
A . BRESHER s 52 e
xo @ :I Cycle air consumption :
Bo o - O Eg
=32 Ll =2
ﬁg / Weight 1039
5 M BRI P
Built-in magnetic ring
. L EI5(Model) SIL-20G
g: it GFR20-95EG GFR20-95LG GFR20-955G
-.%‘g-az Applicable Products
Lk
£25(PN) 8.Y00336
BE(Model) GFR20-95SG
Bs A 20
BS B 17.5
= C 9 (o]
o
2 D 111.5
® E 8
F 20
G 2.3 T a
B 2 H 138
53 | @20
8 J 17
5 K M5
3 L 41
s M M17x1
z N 15 o
0 46 y — >
P 25 M
Q 20
R 27.5 7'y
{[COANP Ak
v
4_R,|
< O >

E CRG



BRNiRIE (GFES) One Finger Angular Pneumatic Grippers (Series GF)
h
- EB—ENE. «Single acting. *fo‘,—"‘
« REWIR, « Built-in magnetic ring. R
g7
#l5(Model) GFS14-90G GFS20-90G GFS30-90G -
N IE e, MEEE/ REENERES %é’
Medium Filtered,lubricated / non lubricated compressed air *ﬁg
eI =Ll @g
-2 4 Gripper body Aluminium <
ETIEE 2.5 ~ 8 bar
Pressure range
BESEE 10 ~ 70 °C.
Temperature range
572 oo e
' Stroke B
ﬁ%}t’ F10mm @16 mm @25mm ;Q'
Piston bore 2
6 bar /£ FRIXAHE 19 Nem 70 Nem 300 Ncm 8
Closing torque at 6 bar
ER=SBER : : :
© Cycle air consumption Uerry 3.52cm 12.9.cm o)
B2 34g 83g 2969 QE\‘;
o Weight Z&ﬁrg
M EREIR <
Built-in magnetic ring qY BY BY
sx
wz
s
VAR
5 (PN) 8.Y01001 8.Y01002 8.Y01003 A
S (Model) GFS14-90 GFS20-90 GFS30-90
A 8 11 14 1 @ %gf)
B 6.7 8.7 13.7 v e
C 10.5 15.5 23.5 S 1¢§
D 49.5 76.4 111 . g
E 5.5 8 11 ®
F 6 17.7 29.2 | 1
G 2 2.4 4 - 1 L
H 66.8 100.6 139.2 :H: B 2
I 214 @20 @30 ’: %3
J 9 13.7 23.7 L a S
K 12 26 26 J ' 5
L 22.5 29.5 66 3
M M12x1 M17x1 M27x1 %
N 8.5 12.4 20 N 2
o) 4 5 6 2l \!%
P 10.8 15.2 25.2

Cre



ERRNiRIE (GFEAS) One Finger Angular Pneumatic Grippers (Series GF)

B3
2 - . .
.o « B—ffE. - Single acting.
i@g « WERIR, « Built-in magnetic ring.
= (%]
g PNEW. =
o #E(Model) GFS20-90SG GFS30-90SG
73 g NE B, HBE/ KEBRERTS
= 2 Medium Filtered,lubricated / non lubricated compressed air
A5 SEEK 8%
s LI Gripper body Aluminium
EHEE 3
d Pressure range 25 = BT
f‘“fgm@ -10 ~ 70 °C.
emperature range
%o 712 :
B2 Stroke 95
o) ¥
3 ,ﬁ%}l, @16 mm @25 mm
2 Piston bore
) 6 bar[£7) FRIXIHE 70 Nem 300 Nem
Closing torque at 6 bar
BIRESHER 2 ;
5!5_? Cycle air consumption 2B 22
© =
=z BHE
%8 Weight 99g 312g
& A ERER
Built-in magnetic ring "qY qY
52
#z
B3
Jle
A
RE(PN) 8.Y01030 8.Y01031 = N
#E(Model) GFS20-90SG GFS30-90SG o
23 A 11 14
BS B 8.7 13.7 c
14:5 C 15.5 23.5
g D 112 147 I ]
® E 8 11 x
F 17.7 29.2 H
G 2.4 4
"2 H 136.2 184.2 b e
3 | 220 230 J e
8 J 13.7 23.7
5 K 26 26
3 L 29.5 66
% M M17x1 M27x1
2 N 12.37 20 g
O 5 6
P 15.2 25.2 o
Q 36 49 o ul H%H
M

Iy CRG



RIgi%{E  Finger Gripper Options

Filjed
ZE:
#£2(PN) 7.Y00778 7.Y00779 . ®
#E(Model) GP1-20 GP1-30 = . me
A(mm) 220 230 — = E‘g
B(mm) 30 45 | ) °
C(mm) 37 65 .
D(mm) 21 32 . -®
E(mm) 33 44 8 b
F(mm) 15 20 B3
&8 (Weight) 20g 60g Zﬁi
52 (PN) 7.Y00780 7.Y00781 7.Y00782
A2 (Model) GP2-14 GP2-20 GP2-30 o
A(mm) 214 220 230 o
B(mm) 24 35 45 2
C(mm) 19 25 35 3
D(mm) 12 25 25 =
E(mm) 11 16 21 4
F(mm) 6 13 13 %o
G(mm) 3.5 5 5.5 ZE"T;
FR(Weight) 59 14g 239 a2
L
f A #lz
\ ¥ B3
#£2(PN) 7.Y00783 7.Y00700 7.Y00908 7.Y00785 ( . 718
BE(Model) GP3-14  GP3-20 GP3-20L GP3-30 \&Q <
A(mm) 214 220 220 230
B(mm) 19 25 25 37
C(mm) 19 27.5 50 40 ! 3
D(mm) 32 46 68.5 63 - %5
E(mm) 14 20 20 30 \S
F(mm) 11 15 15 20 =
H(mm) 8.5 11.5 11.5 14.1 2
G(mm) 6 9 9 10 i ®
T8 (Weight) 69 129 19.8¢g 309 -
Silicone  Silicone  Silicone POM 1
B %
—— 3
T <
GP3-20L E g
§
7.Y00786 7.Y00787 7.Y00788 . 2
A2 (Model) GS-14 GS-20 GS-30 o = @
A(mm) 014 220 230 b @7@
B(mm) 18 24 34 F '’
C(mm) 30 37 47 -\ m
D(mm) 8 8 8 BE
E(mm) 2 2 2 f [El
EE(Weight) 149 179 259 A § P ]

G



MRS, X[

aqnL SNS . 3|140.d

HEE S A Xt

3|NPOJA SIUBLS

SRS

19bueyd y21nd

TS
a|npo\ diig

b b2 22 )

saddiN 11y

T Hmt
3|NPOIN WNNdep

-3
=
e

syuauodwo) A10ssa20y

189

R¥8i% 14 Finger Gripper Options

1@_jo] ;
¥ £5(PN) 7.Y00786 7.Y00787 _ 7.Y00788
] BE(Model) GS-14 GS-20 GS-30
= A(mm) 014 220 230
B(mm) 18 24 34
o C(mm) 30 37 47
D(mm) 8 8 8
] E(mm) 2 2 2
| @)} E2(Weight) 149 179 259
O] %I £ Bk 88 Optional Magnetic Sensors
D-M9P - M9PV
I ————1+—1+—Lo b+
| N : %éazkbrown
=@ |
X :
1

. D-M9PV

R ———

55 (PN) A= (Model)
1.Y00296 D-M9PV
1.Y02964 D-M9PVL

|
|
|
|
|
|
: Main
|
|
|
|
|

circuit

sensor
|
1
1
T

ouT
= Black

O DC(-)
1% Blue

L(m)

345 cable 0.5m
345 cable 3.0m

CRG



BRikis (GOZES) One Finger Angular Pneumatic Grippers (Series GO)

Th
ZE
M2
g9
28 s
xZ
EE
P H2
h
o
N~
o o g
N
®e
o= ol e
o =4 ~| (8]
M17°1.0] M5S0 3
®20 Airintake o
GOF20-20-VvMQ GOF20-20-NBR S
40 w7 o
(V) Eé
gz
V7 ©7.80 A3
©) & 2
N o ®
O O
50
s>
5RE(PN) 1= (Model) EE(Weight) fit & iRHeat resistance (in °C) Wz
8.Y00396 GOF20-20-NBR 57.4g -20 to 80 =%
8.Y00395 GOF20-20-vMQ 57.4g -40to 160 °
28
BS
283
- ﬁ=§
(2]
N~
€ B &
& %3
8
2 o
o
M17*1.0 M5S0 E
T T Airintake S
20 @
- >
28
GOP20-20-VvMQ GOP20-20-NBR N
N
32
E(PN) = (Model) EE(Weight) fit & iRHeat resistance (in °C)
8.Y00398 GOP20-20-NBR 509 -20to 80
8.Y00397 GOP20-20-VMQ 50g -40to 160

c=G



B3y | A

aqnL sSNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

J9bueyd }dIND

T HE W
a|npo\ diug

SHimE

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

191

Ak RL(ERLEE Optional Magnetic Sensors

WM EREE (i) BEEE LN M ERENHERENE, B, FEREERSRENTERAKEMIEMHFR2RIAES T
ESIE SR,
B FAROE RkR:

The operating position is detected by magnetic proximity sensors

(optional) through a magnet placed on the piston.

The use of magnetic proximity sensors is to be avoided in the vicinity of large masses of ferromagnetic material
orintense magnetic fields as this may cause detection problems.

The sensors that can be used are:

D-M9N- MONV
:_"l""_%m"":%f“)
| | %X Dark brown
I I
: FEE :
FFR
) out
: glraclgit 1 EBlack
I | sensor 1
. @ .
I I
: — :ODC(—)
——————————————— 1% Blue
4 M\
D-M9P - MOPV
R
| | %X Dark brown
I
: FEEE I
D-M9PV S !
p D-M9B [ Mein I
— o— | |sensor ouT
. : @ : 2 Black
-
: rO DCE)
——————————————— 15 Blue
L J
D-M9B - M9BV
:_______________:OOUT(+)
I | | 2 Dark brown
I
: EqE: 1
% ECIOIN 1.v00293 i i zzgi
w2 (Model) [JJEEYS ! gg;ggr—‘: !
I
i @ i
I
: rO OUT()
_______________ 15 Blue
55(PN) FIE(Model) FrEE L(mm)
1.Y00310 D-M9B NPN E345 cable 0.5m
1.Y00307 D-M9BL 345 cable 3.0m
1.Y02565 D-M9BV NPN 345 cable 0.5m
1.Y03843 D-M9BVL E345 cable 3.0m
1.Y00311 D-M9N NPN E34% cable 0.5m
1.Y00295 D-MI9NL 345 cable 3.0m
1.Y00298 D-M9NV NPN B34 cable 0.5m
1.Y03598 D-M9NVL E345 cable 3.0m
1.Y00309 D-M9P PNP E345 cable 0.5m
1.Y02301 D-M9PL 345 cable 3.0m
1.Y00296 D-M9PV PNP E34% cable 0.5m
1.Y02964 D-M9PVL 345 cable 3.0m

C=G



Min Z#ZE Min Posture Gripper

* 90° fie%%. +90° rotation. -
- B—apfE. +Single-acting. %‘i
BEEFETESFRES MRS, - Lifting by compressed air, spring reset. &
* BOREMEF, « Several mounting accessories. R
« AN AL kRS « Optional magnetic sensors. g9
o
= = o
=
Hs
:H&Q
23
2
2
xQ
E-B
&
= He
BE(Model) GFN20-90 GFN30-90 ®
NR 2R, HBE / KPR EEES
Medium Filtered,lubricated / non lubricated compressed air
J;T:j]‘}E’;l% 2 ~ 8 bar 2 ~8 bar
ressure range — >
ﬁxia@ 10 ~ 70 °C. 10 ~ 70 °C. g;’
emperature range A
ﬁ’.ﬁ*f“‘%g 90° 90° 7%
iltangle
6 barE TR EHE
Lift torque at 6 bar 120 Nem 300 Ncm
=2
Weight 659 210g
=
%H3
R H S (PN) 8.Y00094 8.Y00116 {¢§
_ #l5(Model) GFN20-90 GNF30-90 e
- w Q e A 220 @30 ®
B 20 25
A c 20 25
o " D 35.5 46 .
'q c E 54.6 81.5 3
z F 14 19 g
G 8 11 o
q H 17 M27*1 3
(@) ]
[ ®=oe | 305 37 B
[N o e J 20 30 2
| ® 9 K 28.5 40
| L 4.5 5.5
L. M B M 8 10
P | N 14.74 185
0 83.34 119
Y P 18.5 25
‘ Q 7.6 11
R M5 M5
-
« ® s 3.25 3

.



ZERUE Posture Set Accessories

o+ 90° ket - 90° rotation.
%{Q « B—afE, +Single-acting.
s BEESFETSMEESURES, « Lifting by compressed air, spring reset.
e BNRERMH. « Several mounting accessories.
=R bri: S A R R + Optional magnetic sensors.
g
2XG1/8 #tA 11
17 /ﬁ
[%) £ ©
;JE&' e @;/ ] Y
=z kIR R <
= z 8 /Sensor mounting slot ©
#H3
3 T[] E N
_ V —
—$ °A 9 A,
L F °B A B
. 0P 5 NI TsloRs|e
T%KE) = gi g = Y 00 s N
Tﬁ; ] 8
89 A
o @. 1 N N
@ | 41 8XMS5 A
~ 53.60 8XM6 B
32| 28 66
%
E-E
gE 24.50
g s
) locking devic
o
N
S
52z M5 1)/
Ej] % Airintake
BT
Ec kel
712
301007
5 (Model) GFT60-90
BS NR iR, ERE / REBEEFES
zs § Medium Filtered,lubricated / non lubricated compressed air
EE] ESEE .
2 + 8 bar
{4:% Pressure range
3 REceR > 3.5 bar
o Unlock pressure ’
BESBE 5+ 60 °C.
Temperature range
astaE 90°
s 2 Tiltangle
e KIHTIRIE T e
) End stroke adjustment
2 ERESHRR JR—
3 Cycle air consumption
3 6 bar I FAUEEEHIE(90° - 0°) >78 Nm
s Lift torque at 6 bar (90° — 0°) (Mu)
@ 6 bar EATRIBEZHE(0° — 90°) > 42 Nm
Drop torque at 6 bar (0° — 90°) (Md)
IR
Allowed load (F) 300N
RVFAYSIFE
Allowed moment (Mf) St
HE
Weight .

CRG




Bl O RS
Air Nippers For Resin Gate _

-

E%ﬂ%gﬂm%ﬁﬂﬂ,Eﬁ%EEmW%DWﬂﬁﬁjhﬁf
VESSELRTiRt = BIAIE , LIBESHER, o

These are high-class air nippers that can be
gate cutting equipment and standby jigs for
speedy cutting of resin pLe ts. VESSEL ha

selection of items tomeet ariety of needs
around-the-cloc ,_---*"’ high cutting QIS




B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

Frm

a|npo\ diig

b b2 |

JaddiN 11y

FHEHbm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

195

Solutio

B ERONAE R
Cutting direct gate
molded
components

~&

PEIRES. LiE. SRR,
L. ESFAOFRO.
BIRAERSS.

Cuts large diameter sprues such
as garment cases, helmets, pipe
joint parts, trash cans, planters.
Superb durability in long term use.

BiER | SXIREER™R
Gate cutting for lenses,
LGP, and transparent
products

PIEEEROME , B8, B, X
FINAEIS BT TEEY]. TR
ESERERERS , XESRE
BIER.

Various heated nippers prevent

cracks and whitening, the decisive

factor is the heating temperature of

the blades and cutting speed.

Supports demands for improved
flexibility and high precision cutting.

C=G

) SRR BB

Gate cut for multiple
impression molded
components

SRR BE, TEREEE 2
FREFERENSGIRE L, 8888
BYHY iR P EC A AR (A,

Compact, lightweight body and
with a large selection of blade
items, easy mounting on chuck
board and standby jig. Achieves
efficient cuts matching cycle
time.

BHE , EREETR
Pre-form cutting
for food and drug
cases

ITZRETIRAEN , REEFE
FIBSIIEE | R mEE.

Improved efficiency in pre-forming,
nippers attached to flat finish
pre-form molding machine. Cut
precision is linked to product
quality.

YO, MEY, EHFAFTFL
Cut, grab, crimp and punch.

IR Em
Taking products from
ajewelry tree

RIS, mEERERE. BRI
FMFIRARITI LA KRIRS TR,

Cutting of precious metals for
rings, necklaces etc. Superb
durability and increased
efficiency with powerful nipper
blades.

SITIEE F TR B R
Cutting electronic
components and
around boards

RIETFHEIRERRBIKRGI%
RIEFEFHIRS. BEREETE
B A LBHTES.

Optimal handy nippers for cutting
lead lines after soldering to
significantly reduce wrist strain.
Substrate is attached to the
desktop robot:---.



Eliee2s 1k
Wire cutting with
coil winding machine

SHBE ] RET HEASEIMT BT
£ BRI REHITAIMEL.

Attach to the nipper unit of
automatic coil winding machine
for power transformers, fan
motors and ignition. Cutting thick
diameter wires that cannot be
torn off.

FF4E%) R S SR B9 FF 7L
Die cutter for aluminum
products and plastic
components

%
6_N—

FESREMIISk |, TR TR HIEE
FERAIFF L,
By support for separate blades,

allows punching and form cutting
of aluminum sash and thin plates.

BRI FEH TR
Hand tools for
dismantling in
recycling plants

U7
=a

~

AN AR ABEIRE. IR
. B, KEFZEARIEFEK T
I hipEIRFEL , EEMRNESE.
THAT AT KBRS IKIFANAER.

Cuts a variety of wires, copper tubing
and steel bands in recycling plants
such as PCs and OA equipment,
pachinko machines, TVs, and
refrigerators. washing machines, etc.
Nippers for the purpose of pulling out
the pachinko machine pins.

FIFIREE RSP REOFFAL , L
Punching of blow
molded products,
punching slotted holes

=>

R RTEF TR TiE# T, i
AITFRE=R  ERE~m.

Punching blow molded products,
punching slotted holes, for
containers that cannot be
punched and automobile ducts,
etc.

BTFinFrME  E

Crimping task for
solderless terminals

RBTERR , BFm , RPRES
BB RERLIRFED, FEF
ENFBES.

For crimping terminals with various
wiring harnesses such as for
switchboards, electrical products
and lighting equipment. Less strain
on fingers and wrists.

Increased work efficiency for stop
rings for auto parts.

Efth A
Other applications

%

7S5, AL IR R EIRY
S | BT SRFHERRER
). BFIEGFHE  BEKRERK
B, BERENMISIDEINTILE.
Micro-edge air scissors that can cut
various hard-to-cut fibers, carbon,

aramid fibers, and soft plastic sheets.
Nippers for cutting belt loops of jeans,

peeling recycled golf balls, cutting
edges with textile machinery, etc.

B3y | FhE

d9qnL SNS - 3!404d

S R

S
3|NPOA SIUdIS

J9bueyd 3oInd

T K
a|npo\ diug

SHmE
JaddiN 11y

By

S|NPOIN wWnNNdep

syusuodwo?) A10ss8d0y

c=G




ity PO . . . .
GE SHE)%EsE  Selection method for air nipper
me  HEREL BENYFROHE?
& g_' ChECk By ——F— ML
. materials —— @z
T NEL (RERLE/HV3208L T ) . RESRES
MR R RER (REAKE  BR2IH)
%g ) - IEK (TR , BRBREREE , ABSE )
jE Eiftb Rz BHAMIR | SCRRALFRFRERE
g (TH, WA, L. EHEY) , FHUE)
® What is the "cutting target (workpiece)"?
Metal wire —— Steel wire
——— Copper wire
o —— Piano wire (not heat processed/HV320 or below), precious metals etc.
;gg,i- Molded plastic Soft plastic (PP, PE, PS, PVC, PMMA, AS etc.)
o) i Hard plastic (PPS, PA, PBT, LCP, ABS, POM. PC, GFetc.)
£ Other applications Check materials, applications and work.
? (Bending, caulking, punching, robotic hand, and scissors.)
FQ RI®&E PEIEMER T B2 A? How big is the "size of the cut portion"?
Bz Check . &8 FE (mmxmm ) IRESEREEZRS
¢ dimensions e L @ (omm)
s B AE (mmxmm ) RIEEEREERS]
Hfhr WA IR | SEFRRFRFRIERA.
Metal Angle (mmX mm) [select model by cross-section areal]
[ Round (® mm)
ks Plastic Angle (mmX mm) [select model by cross-section areal]
g’%g Other applications Check materials, applications and work.
Jle
G "THERIRS/ AR BB ?
Usage What |s_thelstate/environment of the work™?
RFahisE]
= FRAFFahsEt]
=g REAREHER  £F
H3 Used mounted on automated machinery and robots.
fiz
9 Used for manual work.
5 Used mounted onajig. And so forth
S it Chaose 3 model suitable for th
B 2 Choose a model suitable for the purpose.
ms  Select model . u -
g BRI t)JRT]J@ER—m)J SN, BRRBEIMER , RY , FIRENEETIL,
< TARERINER , BiRSE | BESEZENERNE]
% BIMAREIETIES %[ﬁﬁénﬁ?ﬂa%l
s RIEET = mR | MROARR |, FRERTRETTET L,
Z Choose based on "usage and cut dimensions" for the main unit, and "material and dimensions/shape" for the blades.

Refer to "product specifications” for the main unit/blade characteristics/usage, respectively. Also when
selecting the machine, refer to "capability selection chart".
The shape/material of the workpiece may not be compatible with standard products.

Iy CRG



B ueeeziss Capability selection chart

e Cutting material IEI# &R i J—
KA _ “ % B : s ERME =5E
Types ccfglé—zr %nﬁzjﬂ_&tﬁ (%Ség\;vﬁm ikt Soft Plastic | #E ﬁﬁe’fgﬁ Application model | Airpressure
Wire 1DIS<:E?}|ee!t\Q{:a|;SdJ (H\llgg()(;r belﬁr) (DiaEm?ier) (Cro;;Section ) PIastic terminals (MPa)
1.0mm 0.5mm 0.2mm 2.0mm 3.1mm NS2,N3,NS3,NR3 0.4~0.5
N 1.0 0.5 0.3 2.0 3.1 N5,NS5,NR5 0.4~0.5
A 1.6 1.0 0.5 3.0 7.0 2.0mm N7,NS7,NR7 0.4~0.5
S 1.8 1.2 0.5 4.0 12.5 2.6 N10,NST0L,NR10L 0.4~0.5
N. 2.3 1.7 0.6 4.5 15.8 4.0 N12 0.4~0.5
NR 2.6 2.0 1.0 7.0 38.4 5.0 N20,NS20,NR2 0 0.5~0.6
3.3 2.8 1.2 10.0 78.5 6.5 1.25/2. 0 N30,NS30,NR3 0 0.5~0.6
5.5 4.5 2.0 12.0 113.0 6.5 N50,NR50 0.5~0.6
1 E 28 2.6 1.6 5.0 19.6 4.0 12.5/2.0 P-10L
With 3.0 2.2 8.0 50.2 6.0 2.0/5.5 P-20
pressure 4.8 4.0 13.0 132.6 7.0 ~0.8 P-30
booster 6.5 5.5 P-50
2.0 3.1 1.3 NYO3 0.4~0.5
1.6 1.0 3.0 7.0 2.0 NFO5,NY0 5 0.4~0.5
NY 3.5 9.6 2.3 NF10,NY10 0.4~0.5
4.0 12.5 2.6 NF15,NY15 0.4~0.5
5.0 19.6 3.4 NY25 0.5~0.6
1.5 1.7 1.0 NTO3 0.4~0.5
2.5 4.9 1.5 NTO5 0.4~0.5
NT 3.5 9. 2.3 NT10 0.4~0.5
5.0 19.6 3.4 NT20 0.4~0.5
AS, HS, BJ type BBB AP, PF, AJ type ACD type

B3y | FhE

d9qnL SNS - 3!404d

S R

3|NPOA SIUdIS

S SR

J9bueyd 3oInd

T K
a|npo\ diug

s
Jaddin J1y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

.




B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

JaddiN 11y

b b2 |

FHEHbm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

199

BRI SEEITINYERS #E R A GT-NY05,/10/15/25 Slide-Off Air Nippers Horizontal-Type

EEEHENFEEEHRFA.

TIKERE, L

Blade thickness L

FNEBAFAH =
Blade opening max H

#AJ BTk

FTILKE K

Blade length K

- lq

L, EERHED J

Piston projection J

e — 0p| | © © o fERAE
NBEE (BER)  FHEREIET. Eﬂ]m EEE”
The horizontal slide enables space to be used effectively. op| | © o o L
The low profile of the main unit allows work to be removed . T 5 | gapd | TRl
without obstructing the operations of the chuck plate. ! clen sz
Capacity ¢ (mm) Size (mm) Air Consumption Weight ~ Slide Direction/ :

SoftPlastic Hard Plastic Copper Steel ModelNo. | » 5 ¢ D EF G H I JK L M N O () (o) Dsamm)| SPec&Sizeoftheose Por

3.0 2.0 1.6 1.0 GT-NY05 48 155 PUE 0~3| W/hose nipple

3.0 2.0 1.6 1.0 GT-NYO5R 48 155 Push 0~3| Hose I.D. ¢2.5mm

3.0 20 16 10 GT-NY05-4 8.6 759 40.9 2515 23 47.6 4 M4 3 22 16 85 625165 48 155  Pull 0~3| Wtube fitting

3.0 2.0 1.6 1.0 GT-NYO5R-4 48 155 Push 0~3| Hose I.D. $2.5X0.D. g4mm

3.5 2.3 GT-NY10 68 210 PuLI 0~3| W/hose nipple

3.5 2.3 GT-NY10R 68 210 Push 0~3| Hose I.D. $2.5mm

35 23 GT-NY10-4 8.8 82.1 42.1 3020 28 51.6 6 M4 524 16 75 625155 68 210  Pull 0~3| Wrtube fitting

3.5 2.3 GT-NY10R-4 68 210 Push 0~3| Hose I.D. 42.5X0.D. g4mm

4.0 2.6 GT-NY15 136 319 PuLI 0~3| W/hose nipple

4.0 2.6 GT-NY15R 136 319 Push 0~3| Hose I.D. ¢2.5mm

40 26 GT-NY15-4 102 93 48 352533 58 8M4527 2 75 625165) 134 319 Pyl 0~3| Witube fitting

4.0 2.6 GT-NY15R-4 136 319  Push 0~3| Hose I.D. $2.5X0.D. g4mm

5.0 3.4 GT-NY25 184 580 PUE 0~5| W/hose nipple

5.0 3.4 GT-NY25R 184 580 Push 0~5|Hose I.D. g4mm

50 34 GT-NY25-6 12.5108.5 54.5 40 30 42 69 9 M52 3125105 7 20.5 184 580 Pull 0~5| Witube fitting

5.0 3.4 GT-NY25R-6 184 580 Push 0~5] Hose I.D. $4X0.D. ¢6mm

*¢Blade length (K) and opening max. (H) is the dimension adjusted for standard blade (AJ type). *¢Air Pressure::0.4~0.5 MPa (NY25 type: 0.5~0.6)
3B refers to the distance from the cut position for PUSH style models, and the distance from the start position for PULL style models.

B SEIEITINYZRS #m B GT-NY03G/106 Slide-Off Air Nippers Horizontal-Type Patented
L  TILBAFO H
sL Blade opening max H
NE:ES
aomm,
B o> e
0
V BB
V-groove slide !
= .
GT-NY03G o RERLEL
& at Hose nipple
pring plate
B ° o =] o
Slide plate \ Tube fitting
BN REE c D LR |
Slide base Screw size |
VEUEB SR RS, GTNY106 _
AAEREZMB GG , LUESHEST. o ” Eﬂ] u
VESSEL's patented, V-groove slide base ensures constant, &
stable positioning. The unit is not subject to inclined loads, S 5 B R |
and has achieved high precision gate cutting performance. ' Screw size |
Capacity ¢ (mm) Size (mm) Air Consumption Weight  Slide Direction/
S et o Mt ModelNo. | A B ¢ D EF G H I JK L M N O] cm¥t) (g Dsmemm) Spec. & Size of theHose Port
SN 7168 93 Wrosonpl Hoso 0. s25mm
2'0 ]'3 GT-NY03G-4 86 745 295 30 - 19 465 3 M4 0 21 16 75 525145 37 160 Pull0~3 o
20 13 GT-NYO3GR-4 37 160 Push0~3| Wtube fitting Hose.D. §2.5X0.D. g4mm
3 572 i whoss ooe reso 10 25
35 53 GINY10G-4 |88 826 29.6 3520 28 54 6 M4 524 16 75 625155 4o 572 pllo~3 .
35 23 _GFNYIOGR-4 68 275 push 0~3 | W/tube fitting Hose ID. 25X0.D. gémm

*Blade length (K) and opening max. (H) is the dimension adjusted for standard blade (AJ type). *¢Air Pressure---0.4~0.5 MPa

Blade is optional. Note that forward and backward-facing blades are available

C=G



BN SshE JINYES B S50z GT-NY105/255 Double Action Sliding Air Nippers

LJIKERAFOH
A JEEE L *Blade opening max H Fiied
— #* 1) 713 o
*rf BEAH A BT o
Sliding direction N
- B |5
lq Forward < > Reverse iﬂé
B0 A = B3
T o
} o
Lf SEERHE) |
~——tPiston projection J E
&= @ € 8 .
‘ B | F % g
' =G g7
an an 15 z
m @ & Hg
| . 5
= © Y o RE@OEL
B = o + Hose nipple
B ENEREE c | 7o | 1By R 1
Slide base y 1 Screw size |
e — o= = —o o ixEpEsL
FHRT LR E B N ERIREFRED. WARNING Tubo fitihg o
ovd | SEL ZAMH 4B Y RO [ N Injecting air into slide port A slides the nippers in reverse. H:I:I] =%
mﬁﬁvy%’% = L#1T'E—‘*EJ§1E{M° / / Injecting air into slide port B slides the nippers forward. }ﬁ jak
(@)
The springless slide construction §
of the main unit ensures smooth movement, S
and a V-groove slide base has been employed
for high precision positioning. Sl plate
hotan S
lSIide sheet é-ﬁ
HE
Capacity ¢ (mm) Size (mm) Air Consumption Weight  Slide Direction/ ! o
Soft Plastic Hard Plsic~ M°98'NO- | A B ¢ D E F GH I JK L M N O mit) (g Dsacz(mm) Spec. & Size of the Hose Port i £

.5 2.3 GI-NY10S | 88 845 38 30 20 32 55 6 M4 5 24 1.6 7.5 625 155/ 68 300 0~3.5 | Witube fitting Hose I.D. $2.5X0.D. g4mm
5.0 3.4 GT-NY25S | 12.5 106.5 47 40 30 47 72 9 M5 2 31 25 105 7 205 184 695 0~5.0 | Witube fitting Hose I.D. $4XO.D. ¢6mm

*Blade length (K) and opening max. (H) is the dimension adjusted for standard blade (AJ type). *¢Air Pressure--*NY10S : 0.4~0.5 MPa / NY25S : 0.5~0.6 MPa

s
Jaddin J1y

ElEXSshEIJINFE S GT-NFO5/10/15 Type-F Air Nippers

A TKEE, L

A Blade thickness L %giizxgﬁx}-’: %?
b YEEA <] T
o3 #H3
= ; g (G2
1 z il g2
o = %
© o [0
(O]
L] ERRE J
Piston projection J E MT_T ‘):
— 3
\ B \ o
I 1 o
<
) = )
9 BT S
| 1 g
' >
@ & E Eﬂ%w 2
KIRZIHNERE  FFRERPRARELREFEA. } c } D } Screw size |
These compact, lightweight nippers have been designed
or easy mounting inside equipment and to enable secure mounting
under high-density mounting conditions.
Capacity ¢ (mm) Size (mm) Air Consumption  Weight

Model No. Spec. & Size of the Hose Port

A B C D E K L M N O (cm¥%tr) (g
3.0 2.0 1.6 1.0 GT-NFO5 (8.6 59.9 219 17 18 23 395 4 M3 3 22 1.6 84 625 164 43 101 WheEs fiEsE
3.5 2.3 1.7 1.1 GT-NF10 (88 651 231 20 22 28 435 6 M355 24 1.6 74 625 154 63 143 pp

1
1
40 26 18 12 _GILNFI5 10273 25 25 26 33 485 8 M4 5 27 2 74 625 164] 128 219 | "oseD- #2.5mmX g4mm
*Blade opening max. (K) is the dimension adjusted for standard blade (AJ type). Mounting screw for NF10 (M3.5) is regarded as spare part. % Air Pressure::-0.4~0.5 MPa

Soft Plastic Hard Plastic Copper  Steel

‘n
o)
T
o

CRRG plilu;



B S51EI ] #E A £ K71k Slide-off air nipper horizontal-type blades

RIAIEEAEJ] Straightblades for plastic Plastic
wo  WAWAMAVN AVTITVKE | it | BIEER. RAJ/AMIRITIL. AJB/A)
e ROINEETDSk , AT EStIRR R s S B IRIBA LY | IREm Ak,
NG AJ/ This is a vertical set of blades with an unbeveled cutting edge. You can apply it
5 « at aright angle to the gate. RAJ/ This is a reverse bevel of AJ type. AJB/ This has a
= § brazed carbide tip, suitable for cutting hard plastic or plastic containing glass fiber.
g
%y e
1= 2
63
Model No. a b c Size (mm) e L W?; ht Material Application model
NYO3A)J 21 7 45 10.5 3 48 17 Special alloy steel | GT-NY03G(-4)
NYO3RAJ 21 7 4.5 10.5 3 48 17 Special alloy steel GT-NYO3GR(-4)
o NYO5A)J 22 7 5 10.5 4 53 22 Special alloy steel | GT-NY05(-4) / NFO5
i =S NYO5RAJ 22 7 5 10.5 4 53 22 Special alloy steel GT-NYO5R(-4) / NFO5
X NYO5AJB 22 7 5 10.5 4 53 22 Sintered Alloy GT-NYO05(-4) / NFO5
= NY10AJ 24 7.2 5 12 6 57 28 Special alloy steel GT-NY10(-4) / NY10G(-4)/ NF10/ NY10S
2 NY10RA)J 24 7.2 5 12 6 57 28 Special alloysteel | GT-NY10R(<4) / NY 10GR(4) / NF10/ NY10S
[ NY10AJB 24 7.2 5 12 6 57 28 Sintered Alloy GT-NY10(-4) / NY 10GR(-4) / NF10/ NY10S
NY15A) 27 8.2 55 13 8 65 41 Special alloy steel GT-NY15(-4) / NF15
NY15RAJ 27 8.2 5.5 13 8 65 41 Special alloy steel | GT-NY15R(-4) / NF15
£O NY15AJB 27 8.2 5.5 13 8 65 41 Sintered Alloy GT-NY15(-4) / NF15
Eg NY25A) 31 10 6 16 9 77 65 Special alloy steel | GT-NY25(-6) / NY 255
§E z NY25RA)J 31 10 6 16 9 77 65 Special alloysteel | GT-NY25R(-6) / NY 255
ﬁ: §_ NY25AJB 31 10 6 16 9 77 65 Sintered Alloy GT-NY25(-6) / NY 25S
’ BIEENNECEJ] Straightlong blades for plastic|piastic
AJLZZR—MIMRBIETIL. BRTFIILSROZAESRIT.
AJL/ Thisis along type set of straight blades. This is useful when
e there is distance between the nippers and the gate cut portion
= of the workpiece.
s
Je
<
= 3 =
7z ol > O—-— b
g . | : ]
g Model No. a b c Size (mm) d e L W?‘_'; ht Material Application model
® NYO3AJL 27 7 45 10.5 4 54 21 Special alloy steel GT-NY03G(4)
NYO5AJL 31 7 5 10.5 5.5 62 29 Special alloy steel | GT-NYO05(-4) / NFO5
NY10AJL 33 7.2 5 12 8 66 37 Special alloy steel GT-NY10(-4) / NY10G(-4) / NF10/ NY10S
NY15AJL 38 8.2 5.5 13 11 76 50 Special alloy steel GT-NY15(-4) / NF15
Btz NY25AJL 46 10 6 16 13 92 88 Special alloy steel GT-NY25(-6) / NY 255
#% BIRE & I & J] Thin, straight blades for plastic Plastic
< AT/ X2—HEEBYHTINETIL, ETLURT#EEEEE |
3 RETRRY.
3 AJT/This is a set of straight blades with a thin cutting edge. It can
§ cleanly trim cross sections without remnants.
” a
d -
C Y l—‘ I
=S L
\
Model No. a b ¢ Size (mm) e L W?; ht Material Application model
NYO3AJT 21 7 2.5 10.5 3 48 17 Special alloysteel | GT-NYO03G(-4)
NYO5AJT 22 7 3 10.5 4 53 21 Special alloy steel GT-NYO05(-4) / NFO5
NY10AJT 24 7.2 3 12 6 57 26 Special alloy steel GT-NY10(-4) / NY10G(-4)/ NF10/ NY10S
NY15AJT 27 8.2 3.5 13 8 65 38 Special alloy steel GT-NY15(-4) / NF15

cn



B S51sI] #E A #£E 71k Slide-off air nipper horizontal-type blades

IRE A E s 7] JJ3k Lift blades for plastic |Ppiastic

AD/ WHZEEROAIZET,

AD/ This is used for batch processing of the three-dimensional

gate such as ride gate.

L
a
di 9
(e o) e
e D) Ho
d2
T
T T

Model No. a Size (an) fxg d1 (mm)dz (n?m) (mm) W?é ht Material Application model
NY10AD 26.5 7.2 6X13 | 2. 4.2 6 59.5 31 Special alloysteel | GT-NY10(-4) / NY10G(-4)/ NF10/ NY10S
NY15AD 30 8.2 7X14 | 3 4.7 8 68 45 | Specialalloysteel | GT-NY15(-4)/ NF15
NY25AD 35 10 8x17 | 4 6 9 81 75 Special alloysteel | GT-NY25(-6) / NY 255

MBER L BYJJsL Crank blades for plastic Plastic

A H AH/ J13kBuiRAL L B | BIERSIER O RERES.
A Ran) ARBIR I

AH/ This is a set of blades with a clamped cutting edge for plastic.

Itis effective when there are obstructions or the gate is narrow.

RAH/ This is a reverse bevel of AH type used when installing the NP

main units face-to-face. . W

a L j
d
<—»‘ -
| J@ :
—t
b
a C

Model No. a b c Size (mm) e L W?é ht Material Application model
NYO5AH 31 19 5 10.5 5.5 62 37 Special alloy steel GT-NYO05(-4) / NFO5
NYO5RAH 30 12 5 10.5 5 61 31 Special alloy steel GT-NYO5R(-4) / NFO5
NY10AH 33 20 5 12 8 66 43 Special alloysteel | GT-NY10(-4) / NY10G(-4) / NF10/ NY10S
NY15AH 38 21.5 5.5 13 11 76 63 Special alloy steel GT-NY15(-4) / NF15
NY15RAH 35 13.2 5.5 13 9 73 52 Special alloysteel | GT-NY15R(-4)/ NF15
NY25AH 46 24 6 17 13 92 110 Special alloy steel GT-NY25(-6) / NY 25S
NY25RAH 42 16 6 16 12 88 89 Special alloy steel GT-NY25R(-6) / NY 25S

BJ/

RBJ

£ RBAEJIL Straight thin blades for metal

Metal

BJ/D7IKF , Zififs , EEHEY]. RBJ/BJAIRTITIL.

BJ/ This is a set of vertical blades with an unbeveled cutting edge for |

metal. RBJ/ This is a reverse bevel of BJ type.

e] —=
Model No. a b Material Application model
NYO5B)J 22 ‘ 7 ‘ Special alloy steel GT-NYO05(-4) / NFO5
NYO5RBJ 22 7 Special alloy steel GT-NYO5R(4) / NFO5

.

B3y | FhE

agnL SNS . 3|1401d

A M

S|NPOA SIUBIS

S SR

J9bueyd 3oInd

il

a|npo\ diug

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y




B S TINTRS @B GT-NT03/05/10/20 Slide-Off Air Nippers Vertical-type

B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

Frm

a|npo\ diig

b b2 |

JaddiN 11y

FHEHbm

3|NPOIN Wnndep

sjuauodw o) A10ssa20Y

MBS, K

TKEE,J

Blade thickness J

* Ik 8 BR

adjustment limit H

BEEEH o |

Blade opening X i

O

. ©
LOCK @
&
e o
RETILEE 1
Adjustment nut | B | | F |
. for blade opening I 1 I |
NNFOANTEE , BEEIER=ERE. © A4
TIAARSETIRT , TR A Rl B RO E R Ak, 71| CRepe—
Blade gape is adjustable, © 4}\ ” Hose nipple  Tube fittng
and fine adjustments are easy to make after mounting the nippers, ‘C ) &5 i
ensuring clean, unblemished cut surfaces.
Capacity ¢ (mm) Size (mm) Air Consumption ~ Weight  Slide Direction/ )
Soft Plstic Hard Plsic~~ MO9!NO- \ 4 B ¢ D E F G H 1 J K| (mist) (o) Diace(mm) Spec. & Size of theHose Port
1.5 1.0 GT-NTO3 27 178 Pull0~3 Wihose nipple Hose I.D. $2.5mm
1.5 1.0 GT-NTO3R 9O 62 7 43 14 19 681 153 M3 2 5 27 178 Push 0~3
15 1.0 GFNT03-4 o 27178 PulO~3 |\ e fiting Hose D, 2.5X0.D. gdmm
1.5 1.0  GI-NTO3R-4 27 178 Push0~3 9 L pe0nBY
25 15 GT-NTO5 47325 PlO~3| i 0o nipple Hose I.D. $2.5mm
2.5 1.5 GT-NTO5R 9 64 7 45 20 32 711 36 M4 2 5 47 325 Push 0~3
25 15 GINI05-4 o 47325 PullO~3 |y 6 fitting Hose 1.0, 42.5X0.0. gbmm
2.5 1.5 GT-NTO5R-4 47 325 Push 0~3 e
35 23 GFNTIO 82 515 PullO~3[ oot Hose 1D, 2.5mm
3.5 2.3 GT-NT10R 11 73 8 53 24 38 881 47 M4 2 5 82 515 Push 0~3
35 23 GINro-6 o 82 515 PullO~3 |\ e fitting Hose .D. #4X0.D. g6mm
3.5 23 GINTIOR-6 82 515 Push 0~3 9 22700,
5.0 34 GT-NT20 203 930 Pull0~8 Wrhose nipple Hose 1.D. g4mm
5.0 3.4 GT-NT20R 203 930 Push 0~8
5.0 34 GT-NT20-6 14 103 10 80 28 44 102.1 45~9 M5 2 6 203 930 Pull 0~8 .
50 34 GT-NT20R-6 203 930 Push 0~8 W/tube fitting Hose I.D. $4X0.D. ¢6mm
*Blade opening adjustment limit (H) is the dimension adjusted for standard blade (AJ type). ¢Air Pressure*+-0.4~0.5 MPa

B EEET] MR #BE 71k Slide-off air nipper vertical-type blades

BBE L JJ3L Straight blades for plastic
A /TITIKF |, Zifftf  TEEEY]. AJH/AJBIINETISL (FEfR
A% ) REMAL. AJB/ARIEIL (BEHA)  AFUDE

NT 2
NT type

B B
SORE

Plastic

BRESBIIBTENER | RS Akt.

AJ/ This is a set of vertical blades with an unbeveled cutting edge.
You can apply it at a right angle to the gate. AJH/ This has a brazed
high-speed steel tip suitable for cutting hard plastic. AJB/ This has
a brazed carbide tip used for cutting hard plastic or plastic containing

glass fiber. Improved durability.

Model No.

NTO3AJ
NTO5A)
NTO5AJH
NTO5AJB
NE5AJ
NT10AJ
NT10AJH
NT10AJB
NE10AJ
NT20A)
NT20AJH
NT20AJB

—_—
NNNOOVOONNNNNT

oo krooowuiuninbh |

Size (mm)

(0,
—
N

(9, ]
=
N

WVWOONNNNOOOOODOVWo

Material

Special alloy steel
Special alloy steel
High Speed Steel
Sintered Alloy

Special alloy steel
Special alloy steel
High Speed Steel
Sintered Alloy

Special alloy steel
Special alloy steel
High Speed Steel
Sintered Alloy

Application model

GT-NTO3 type

GT-NTO5 type

GT-NT10 type

GT-NT20 type

o



BN SmET] mE BE 71k Slide-off air nipper vertical-type blades

B3B8 FAINEEE 7] Straight long blades for plastic Plastic m
AJL/AJTITINNKEL |, T ERABBERITE. =
AJL/ Thisis along type set of straight blades. This is useful when M
there is distance between the nippers and the gate cut portion i@g
of the workpiece. S
g
| % -
©
(e
. H5
Model No. a b c Size (mm) d e L W?é ht Material Application model
NTO5AJL 36 7 5 15 7 72 39 Special alloysteel | GT-NTO5 type RO
NT10AJL 47 9 6 17 9 94 62 | Specialalloysteel | GT-NT10 type ;e
NT20AJL 57 12 6 20 12 114 156 | Specialalloysteel | GT-NT20 type al
B
B3R B ) & J] Thin, straight blades for plastic Plastic )
AIT/ARSETNET]  BRESEY , ABERY. o
AJT/ Thisis a set of straight blades with a thin cutting edge. It can ég
cleanly finish cross sections without remnants. [E
e
L o
L a
‘ |
— { - - > I
@ = sz
; #z
BUT
! | =3
(R T=— S . -
1
Model No. a b c Size (mm) d e L W?& ht Material Application model
NTO3AJT 24 7 23 11 3 59 19 Special alloy steel | GT-NTO3 type
NTO5AJT 29 7 3 15 6 65 29 Special alloy steel | GT-NTO5 type =
NT10AJT 35 9 4 17 7 82 65 Special alloy steel | GT-NT10 type Zs 5
83
S — : fiz
B RE FE B B J]@imsn) Thin, straight blades for plastic | piastic e
AJY/ BEMIRAZENEEREHF BT LR AENEEREHA °
B, XEBHH.
AJY/ This is effective when the width between the opposing gates is -—>~="—
too short and the thickness of the blades will not go in. Bz
GRS
S
d A
o
3
el
% g
4 Pl
1
Model No. a b c Size (mm) d e L W?é ht Material Application model
NTO3AJY 24 7 2.5 11 5 59 19 | Special alloy steel GT-NTO3 type
NTO5AJY 29 7 5 15 6 65 29 | Special alloy steel GT-NTO5 type
NT10AJY 35 9 4 17 7 72 82 | Special alloy steel GT-NT10 type

.




B3y |, A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

B S ET] MmE BE 71k Slide-off air nipper vertical-type blades

AD

Mg AR mE | 7] JJ3L  Lift blades for plastic

Plastic

AD/ SIEEEROER.
AD/ This is used for batch processing of the three-dimensional
gate such as ride gate.

Model No.
NTO5AD
NT10AD
NT20AD

Size (mm) di1 d2 e

a b fxg (mm) (m
31.5 7 6X18 25 45 6
39 9 8X215 | 4 5 7
46 12 9%X24.5 | 6 7 9

(mm)
67.5
86
103

Material
Special alloy steel

Special alloy steel
Special alloy steel

Application model

GT-NTO5 type
GT-NT10 type
GT-NT20 type

AJV

RIAERR V TJE&J] V shaped straight blades for plastic

Plastic

AJV/4b IR B ENR O 8BS ) R A H BB R B .

curved or the cut end must not be left.

AJV/This is suitable for gate processing when the cross section is M
5

S —— o
Model No. a b c Size (mm) e L W?& ht Material Application model
NTO5AJV 29 ‘ 7 ‘ 5 ‘ 15 ‘ 6 ‘ 65 29 Specialalloysteel | GT-NTO5 type
NT10AJV 35 9 6 17 7 82 63 Special alloy steel | GT-NT10 type

AE

RREFBEI$H JJ3L Nipping blades for plastic

Plastic

AE/AMEEEROMBRRANER.

AE/ Used for processing plastic gates such as ride gates and discard
gates.

d
e
Model No. a b fngize (mm) d e L W?é ht Material Application model
NTO5AE 29 ‘ 7 ‘ 6X18 7 ‘ 6 ‘ 65 36 Specialalloy steel | GT-NTO5 type
NT10AE 35 9 8X21.5 9 7 82 75 Special alloysteel | GT-NT10 type

o



Thrust-Cut Air Nipper
#EJI S 505877 GT-NK10 Thrust-Cut Air Nipper

)
228 (AT S
20} 40 } 22 Bracket( (DOptiorZ) *7‘!:7
X 1%}
8 © s
@ & &
2 @ @
A,
ade opening Max
T [} = ¢
RSBAI LR A MBI XS L ) B | ' B ‘ e
NEIRTIE] , B LD ELA S R BRI RAE. ‘ ‘ Ha
These nippers are equipped with a foot switch and are linked to high precision drivers, =
enabling the cutting of film-shaped gates from the thin end,
preventing wrinkles around the cut.
Ca:ggtglis({ig m) Model No. Airg:ﬂg/usrtr:[-a)tion Air(F’\’;;s;)ure W?;g);ht App\ietz’\F;;essure Spec. & Size of the Hose Port
5 GT-NK10 110 0.4~0.5 800 735 Hose I.D. $2.5X0.D. g4mm a7 Rre
+Hose Coupling: I.D. ¢4 X O.D. $6 mm - Piston stroke'--Max.12 mm }ﬁ jak
(@)
a
o
#EDNXNS N 7)E A1k Thrust-Cut Air Nipper blades
3z O
%<
IIRS szEJﬂ"%FH]];kThrust Cut Air Nipper blades| Plastic %%
N K1 0 A J XE—HEERGT-NKL0 71k, E&&ELEMENSAF LAGERR "
This is a dedicated set of blades for GT-NK10. Suitable for processmg K °
of film gates attached to robot hands
-
92 /_=\‘ :__?
2 . 8| oz
15 _15 = 5%
2 & o= uE
- =
fu\} I.f]
=
12 80  M5P=0.8
5 :
g y |1 Hs
#Fg
Model No. Size (mm) Shape (()n‘?nli) W?!i; ht Material Application model %
NK10AJ As above For metal cutting (Knife type) 95 96 Special alloy steel | GT-NK10
. + >
ix== Related items it
3
o =a ° o 2
TERT =588 GT-TC-02 Timing Controller <
o
-+ 3
o ® O E
(0.5¥bE1.58) ) 285 ¢ 3
Adjusting Screw B 30 \ @
~ ( TIKFTFF/XA)
(0.5~1.5sec.) T rr—— B port
M4 Depth 6mm o (Blade open/close)
BEESIRENSENE ) Z AREIEH S | i > AR w02
B LABE AR BN ) LB RT (], S §LN,[ ouT-2
(K90 5EEIL5H) ) d— 1
_— 40 N
Connected between the compressor and the air nippers, 80 S
the timing controller enables adjustments to the slide and cutting timing. IHom osps s () ’ E
(Approximately 0.5 seconds to 1.5 seconds) 2@3&1-W§§¢4 HEEPE L (mns)
Connectable nippers (Reference) g:;kﬁgHaei:ng:;u;L"e.ngﬂgzax thickness 34 (mm) ?M[;?r:tbody slide)

Weight --- 275 g With tube joint: I.D. ¢4 X O.D. $6 mm

-

No. GT- | NYO5 NY10 NY15 NY25 NT03 NTO5 NTIO NT20 NB20 NB30 NB20IW  NB3OLW -
Three-port solenoid valve

Connectable unit| 4 3 1 1 6 4 2 1 2 1 2 1 (compressor side)
(pcs)

Timing controller

»| Slide air nipper

.



SENInAHET]
Heat Air Nippers

SaINAHET] | TIEIEA RS, TLABRAIIN SRS, ELIEIEmENn

These air nippers are connected to a heater to suppress cra
and whitening of clear materials such as acrylic
The gate is slowly melted as it's cut, resulting.in a clean, un surface.




SHEEAESE15 7] (#E7J=) GT-NKH20XL-25/NKH20XR-25 Heat Air Nippers (Air Hydro Type)

TISKERHEANIE | BALERMEANASHTE.

e NKH20XL-25
BHINT | RS 7)Lm A, . e
JILBT—  SRARSHLESZER, 45 BERE 12
Highly durable PTFE Plating blades; melted resin does not adhere to them. M5 Tap depth: 12 J <y
Improved durability of blades with High-Speed chip brazed. 1 _ﬁf
Easier blade replacement than conventional models; take out the blade unit [ 1 ‘? o1 - -
and exchange with the new one. \ 40
2M5x0.8 MAE B BRIk 23
AN 62“ @fg‘
: — \ R mpg -t
NKH20XL-25 L] {§f Q}f S | &7
4 p— 4 « 1
§ - -—"; FH ‘ §
tems | [T
- T i Sensor
173.5 =
NKH20XR-25 "
BEBINITRELHES. NKH20XR-25
AIEHTISRERS AN, 178 _
* Requires separately sold Hydro Controller. fem
- Custom-made blade lengths and cylinder capacities available. t i e eIy
Cutting Capacity ~ Blade Edge r ) _ ‘ ﬂ:f*
Model No. é (mm) Temp. Consumption Piston Stroke  Weight § B g | §
Acril (MAX C) (cm?str.) (mm) © 1 -—1@ + @Ol 18 J —
GT-NKH20X1-25/NKH20XR-25 10x1.5 180 10 690 | | = h N == Cuting bads
«Air Pressure: 0.6MPa +Working air hose inner diameter: 4mm f f —F 2 __.8_1'8. 8
3 The above weight is only a product, excluding the weight of heater and sensor. 2-M5x0.8 i’i?f‘%g y U 23 ||
%200V AC/220V AC/240V AC heaters are also available to order. Bams| BRI a0
+Included heater: HTL-28.5-6.25-300L 80W1H (80W/100V) Cord length300mm Recommended temp. 140C Weight:13g /
*Included temperature sensor: SNO-300L-H Thermal couple type K 7
Recommended temp. 140C Cord length 300mm Weight:7g Q 7¢_¢ J [ -
Blades Specifications 4 ¥
. Blade Opening Cutting blade effective ~ Weight pav] %i‘éii'%‘nvii h
Material Blade Shape (mm) (mm) © ° 8:3 0 |175| 38
Special Alloy Steel Knife type (resin) 10 20 125
-Hydrc_>-conv_erter (F{ecommended_: KO_GANEI AHC 32X50)
Working fluid: Petroleum hydraulic fluid or turbine
oil with antifoaming agent additive (VG22~100)
*Temperature controller (DTC-001)
N N — —] e N . . .
RSB B SEhEE ] (#EJJZ) GT-NKH20A/20AR Heat Air Nippers (Air Hydro Type)
S+ HERSIRRB AN, GTNKH20A-25 (E7D)
ERTFEREE P RS Y], GT-NKH20A-25 (Forward-facing blades)
4-M5 LLIRE:12
Air-hydro cylinders produce high power from air and oil. 4MS5 Tap depth: 12
These units are ideal for high precision cuts required 86 ‘ 2 s 3
for products such as optical resin lenses. oo
R = — =2
[
2-M5X0.8
IR 40
Heater installation hole > 23
N7k
Cutting blade
—= T / 0 i N
%ﬁag%%ﬂ@%:ﬁﬁﬁﬂg‘%o (;wg;;g;mw o 1735 BHDX 50 S@tgien*ary blade
A EH 7] EMSEL KN, - %g
. BORZERE
* Requires separately sold Hydro Controller.
+ Custom-made blade lengths and cylinder capacities available. GT-NKH20AR-25 (RR7])
Cutting Capacity ~ Blade Edge Air ) ] GT-NKH20AR-25 (Backward-facing blades)
Model No. ¢ (mm) Temp. Consumption Piston Stroke  Weight
Acril (MAX C) (cm¥str.) @) ——
GI-NKH20A-25/20AR-25 10x1.5 180 60 10 720 ; T
-Included heater +Included temperature sensor 7$7$’77777 E =
+Air Pressure: 0.6MPa +Working air hose inner diameter: 4mm ‘ Enpemn)
$%200V/240V heaters are also available to order.
Blades Specifications Heater nealation hole .
Material Blade Shape BIadT rrS)rﬁ)enmg Cutting b(lric:r?)effectlve W(eglg);ht
Special Alloy Steel Knife type (resin) 10 19 125
*Hydro-converter (Recommended: KOGANEI AHC 32XX50)
Working fluid: Petroleum hydraulic fluid or turbine
oil with antifoaming agent additive (VG22~100)
+Temperature controller (DTC-001)
Cylinder protective cover
SRR CRG

B3y | FhE

d9qnL SNS - 3!404d

S R

3|NPOA SIUdIS

S SR

J9bueyd 3oInd

T K
a|npo\ diug

P P2 S
Jaddin J1y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

208




pn#4557] GT-NKH10 Heat Air Nippers
1) © ﬁgiifi?ristallation hole
= 505 89.5 65
7= TkEAFOIZ)
N Blades
N 5 e ~ N S = e Y —_ opening
ilﬁ & BEEINRENERE  XESEEZTER  WTFEHEEE max. 12
g% =, o
c 0|
& Speed control of cut speed and heater temperature allows $ 3 8%
for variable cutting surface solutions | | ——
for extremely high precision cutting demands. 3 Eﬂ[y é @ Sensor installtion hole
- 8.5 435 |15]22 | 40 |20 %ﬁc@ﬁ(cﬁpnon)
ﬁ ) s
777& g i 214 Heater installation hole
B2 ‘
E |
2H§ E%Wffw@f fffff e
o b
; : : . Blades Specifications
Cutting Capacity ~ Blade Edge  Cutting Air ! Piston Stroke Weight : :
o Model No. ¢ /ﬁ’;ﬁ‘) (,\;2”)2‘36) (Sgg/colﬁt) C(‘;':f]lé',"s‘ﬂ(;n mm (9 Model No. Material  Blade Shape B'a?;c’ﬁf;'”g C“m”g(ﬂidﬁ“m W(eg'g)m
% ) GI-NKH10 7x1.5 200 4~5 73 12 715 NKH10AJ/NKH10RAJ  Special Alloy Steel _Knife type (resin) 12 10 137
9 +Included heater: 80W/120V  Cord length: 300mm
E +Included temperature sensor: Thermal couple type K (Nickel-Chromium/Nickel-Aluminum)
Q Cord length: 1,000mm
= *Air Pressure: 0.5~0.6MPa
+Temperature controller (DTC-001)
%2
E-E
HY o e . . .
#2 BEh=neg7l/70sk Heat Air Nippers
o
GT-NTHO5/10 Heat Air Nippers (Vertical sliding type)
%’ ? F Blades op:nin max. |
iij] % J— TskEAFO
MZ Heat
% % inztaaﬁaruion hole
= |
BANNEE+ARBE , RIENDS®RO ~H 4
BRI ; SEa
One blade is fixed in position, B ‘ @7
facilitating easy gate alignment.
BS In addition, a slide function presses = Lock T
=g the product into position. R | =R -
a3 = |
8' € EQR?P K
c ) Screw size P
® o o
I N R I 33 o
s ¢
L M N
B %
%3
o Cutting Capacity Blade Edge  Cutting Air Slide . . .
5 Model No. 4 (mm) Temp. Cycle Consumption Distance Weight Dimensions (mm)
o Acril (MAXC) (secicut) (cmstr.)  (mm) A B C D E F G H | J K L M N O P
E GT-NTHO5 2.5 200 4~5 47 0~3 325 | 66.1 36 64 251 15 31.5 8 565 3.5 1021 32 7 45 12 20 M4
S GI-NTH10 3.5 200 4~5 82 0~3 515 | 83 47 73 29 162 375 8 63 45 130 38 8 53 12 24 M4
% *Included heater: 80W/120V Cord length: 300mm

-

*Included temperature sensor : Thermal couple type K (Nickel-Chromium/Nickel-Aluminum) Cord length: 1,000mm

+Air Pressure: 0.4~0.5MPa

Blades Specifications

Model No. Material (m?n) (mm) (mm) () (m?n)
NTHO5AJ | Special Alloy Steel 36 7 3.5 15 3.5
NTH10AJ | Special Alloy Steel 47 9 4.7 17 4.5
Model No. (ml;n) Wa? ht C;“(”;?mc)a/gzﬁ'l‘y Se(t’t\;lr}\g))(t%r)np. Application model
NTHO5AJ 72 40 2.5 200 GT-NT05(-4)/GT-NT05R(-4)
NTH10AJ 94 88 3.5 300 GT-NT10(-6)/GT-NT10R(-6)

HTH type blade weight does not include heater and sensor.

+Temperature controller (DTC-001)
=G

IAE R
Hoater i



HEARVSE Thrust Cut Nippers

- WEH{EREESET, - Double-acting operation with tandem cylinders.
- ANERYRE(E RS - Optional magnetic sensars . pi g
- TIETINRELS, - blade heating system. 2
© BNARR (L /TR ) UNFERBEEMG, * Optional (upper/lower blade) and spare parts such as thermal pads are available. %N\ Z
&= G
ENEL "2
g
' HS(PN o
. .
fl Upper blads B2 (Model) GT-N50H-40 ;é z
-~ — NE Biig, RR/ RERRERSS 4
Lower blade Medium Filtered,lubricated / non lubricated compressed air g
~ = ENBE 2~ 6 bar ’
S Pressure range
- ¥ Insulation pads =] R‘/"ﬁl’f‘ 5~ 60 °C.
Temperature range
EEFL o
s Piston bore @40 mm s
Heati’ng pipe 6 barENTRIXAHE 1470 N Q
. cm o
Closing torque at 6 bar E
ERES AR 25 em? s
Cycle air consumption cm
BE
Weight ey o)
E-E
[z
"
AR5
Magnetic sensor option
s - 5z
REEH RS VR L-. &z
Temperature control box Power cable v E:,Ug
L o
123 HEFASE * d .
L n. . ‘_ .e L] oy L at
- -~ B R _
,}‘;&EE,{E DD?&% Ermocouple option % a
Ermocouple Heating pipe g
p g pip e
=
e
¥
S (PN) IS (Model) iR (Describe) _
7R ; - ; B &
Spper blade 7.Y00441 N54-T ¢ i
A 7.Y00442  N54-D - ' B
lower blade :
s 2¥05202  L54-5 - E
Insulation pads SCE-NR30 S
(B 1.Y20002 - 220V/100W £+ cableL 1.5m GT-N50H-40 2
ermocouple - é
I#E 1.Y20003  D6-L55 220V/100W, £ cablel1.5m
Heating pipe 3 .
B ETEE ) i . ———=——SMBE-2040
%n?)erature range 0-200°C Y -
Power 100w =
i B2 8.Y01026  GTC-001 - \
ater control box
BIEBE i} : 100~240Vac
Operating voltage 50/60Hz

CRXG Ak



HEANTLSBEE Thrust Cut Nippers

D
ZE
l;i 5 4 7"'1\.l= = 1
%”E@E @iﬁ%?ﬁf P Eimﬁ;ress_e\’d%ilﬂff-%ﬂlss
& ) |
A =1 |
%g {fens(fitf I
4Ho o=
2 23 95
® N = el
16 oz % %%
=1 54.50 Os
<§ s
= -t h = £3
tho K5 = 5|
S = 7
o a9 AR
E © i - e 220V/3) £100W o
2 © | & : - @) CSSSSSS’&%?ﬁgmow ?ﬁ%ﬁ%i{%ﬁng
- 2 &
$Q — EREZESTH-G1/8|| |@ D4 = 7o
%g Compresse_t‘ilAir Open-G1/8 E_j ), Eﬁ;:‘c‘iﬂrﬁ);ﬁ 1G/‘|?8
prgd ® @1:23) = 5 =
"’ - 8
[ce]
A, Easac,
52
7 64
Jle
IS ! 5. ©
Hs
=t
ZH 3 P — 1\ . N . .
fz P EF=SZE: X7 (P)Compressed air connection: CLOSING
s RES=SEE: 7TH (R)Compressed air connection: OPENING
Ol (S)Sensor slot
wr  (DEEEBLIL (T Threaded hole for fastening
o . .
:  E)INMEL SpED=6.1 ED Heating system housing 6.1
¢ (OMEBBRERS @O Thermocouple temperature sensing system

ANl CRG



IREZHIZ8 Temperature Regulator

- AR EEE AN, - Process temperature monitoring and control is possible.
- IREREREREEE, - Switching configuration and programming is easy. it
 BEBSIREILA BRITERMNINRE, - Capable of controlling several heating tubes connected in series. =
- SIERRR TR, EEER. * Easy to carry and change the workplace, easy to connect. %N\ >
c
i
169 - 120 J
o (-]
3z
B ~ B2
IR = | == B
g
J ° d <
o o _A_\_I [ ®
L 180 o
:H&Q
| o
o o :,3}
ol oAl ~ ‘ 8
I, B | |Sm| == ]
o [
el = B i | - *Q
| AL
HE
"
HS(PN)
E5(Model) GTC-001 GTC-002
Power cable SRS - HE K . o0ne
Temperature rangesThermocouple K 0% ~200°C.
==
FRiR AC100-240V g;
Power supply 55
FE/AFERE 0-50°C/10-65°C ( BERAEKTLEE ) e
Ambient/Storage temperature (Avoid icing or condensation)
{RIPIRR 2L HELSA—
(@ 7][],?&\'%‘ Pr;tection fuse One built-in 15A
Switch Frmocouple Heating pipe \;i;,fght 1268¢ 1820g
/ E s
i
‘= - <
In#E /(8 Heating Tube/Thermocouple 5
© MMAENEI0E. - Heating tube power is 100W. o
- INAREER 6. - Heating tube ¢ 6.
- B\ (TCEKE, - Thermocouple (TC): K type.
- DIEEHRR TG, ERER. * Easy to carry and change the workplace, easy to connect. i 2
%3
s
AR} <
A .~ TC+ + Rod o
N &A'fa.l'.' L TC- - B g
. Blue ]
S 5
IS § e —— ST EH ~ Beige
e EH - X8
Beige
ke REEB
Heating pipe Ermocouple
BS(PN) #IE(Model) HHiR(Describe)
ks s
R e 1.Y20002 - 220V / 100W £ cable L 1.5m
e <
Heatingg pipe 1.Y20003 D6-L55 220V /100W #i cableL1.5m

c=G



/_=\‘
STa\[TaYaY=
ISECLIpAR =)

BEER23mmE7SmmR TR N EE = &R
..... R EEYIEIFEEZS iZER

:-::: A tough body for hard jobs.
With a frame diameter range of 23mm to 75mm, this product line was developed by piston size.
These models are ideal for a broad spectrum of cutting and crimping work.

k] CRG



Air Nippers

HES e TI(BahitBEt ) GT-NS3/5/7/10L/20/30 Square Air Nippers

ping
A | ;FZ"%
L c H s
Mo e | e
AN [ §5
GTNS B‘%B > &
—— ) vk of o |
TSEEEE | AR RS RIS R O] T o, .
BalbIEER &M EENAZELIDE. T )
_ . — L] )
VESSEL provides a generous selection of blades = 8 | JT- ! D [] 4 H@
for all wire cutting needs, including resin product gate cuts o] ‘o I—l_ E&\V ;:'gg
and automatic welding equipment. T =2
Customization o
GT-NS20H-1 (7137 073) (Blade apening adjustable) g
- | -
R o P E = | LA C __H
e - e, ? i1 gl =t T ﬁ’ho VAN
- e - i ] <
| Ll it ] == ﬂ@ D Q =0 RO
ful s of | §\ s
% g ¢ e 2
- B O ER LAE%180. 768 5
- REFANHSO , BT LRIEREUEHTERE. 5 ¢:L_ |_,1 ?
+ The main body end is 180° rotatable. B| K [—% D
* Two suction (intake) ports are provided, and so the suction position B ¢ Lll
can be optionally changed depending on the mounting place. ég
By
Capacity 4 (mm) Size (mm) Air Consumption Air Pressure Weight - 2
Soft Plastc Hard Plasic. )(/)gpper Steel Model No. A B COD e F G Ho1oJ K L ”(cmalustf.; " MPa) (5 Hose coupling ﬁ:%
2.0 1.0 0.5 GT-NS3 110 23 40 19 M3Depth8 17 M3 Depth3.5 19 24 7 23 7 45 0.4~0.5 95
2.0 1.0 0.5 GT-NS5 94 30 30 24 M4Depthl0 20 M3Depth5 14 19 7 23 7 64 0.4~0.5 135
3.0 2.0 1.6 1.0 GT-NS7 113 36 30 28 M4Depth10 24 M4 Depth5.5 18 23 9 23 7 116 0.4~0.5 215 Rcl/8
4.0 2.6 1.8 1.2 GT-NS10L 113 36 30 28 M4 Depth10 24 M4 Depth5.5 18 2312 26 7 116 0.4~0.6 215
7.0 5.0 2.6 2.0 GT-NS20 129 45 40 36 M5Depth12 30 M4Depth7 19 2412 26 9 230 0.5~0.6 370
10.0 6.5 3.3 2.8 GT-NS30 170 56 60 46 M6 Depth12 40 M5Depth10 20 3017 36 15 584  0.5~0.6 685
7.0 o 2.6 2.0 GT-NS20H-1 | 129 45 40 36 M5Depth12 30 M4Depth7 19 2412 26 9 230 0.5~0.6 455

«Air hose inner dia. :

FRHASa057] (Fa5ET0A ) 61-N3/5/7/10/12/20/30/50 Hand Held Air Nippers

5mm -Overall length/Weight: Accessories not included.

(Frame O.D., screw dia. (screw to screw) dimensions, etc.)
% Model GT-NS50 is a special order item. Please contact VESSEL for details.

*¢Before mounting of exclusive/automatic machines, check the following product dimensions.

s
Jaddin J1y

NBREFTIFRHSHERXR , ASEREMIIL
REEFME , BEILARERES.
VESSEL's special order blades provide solutions for a virtually
unlimited range of needs, leading to safer,
and more efficient work with less fatigue.

|

>

REHF (BHILIRIEME)

" CE compliant model with
safty lever throttle is also available.

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

o
- N20,N30 FINSOB =S HEE,
+ N20, N30 and N50 have the air cock.
Capacit! mm Size (mm Air Consumption  Air Pressure Weight :

Soft Plastic Hard P\gshc égp(per) Steel Model No. A B( ) c D (cmﬂ/stf.) (MPa) (gg)’ Body Hose coupling

2.0 1.0 0.5 GT-N3 112 23 7 14 45 0.4~0.5 95 Rc1/8

2.0 1.0 0.5 GT-N5 103 30 7 17 64 0.4~0.5 135 Rc1/8

3.0 2.0 1.6 1.0 GT-N7 123 34 9 17 116 0.4~0.5 180 Rcl/4

4.0 2.6 1.8 1.2 GT-N10 132 34 9 17 116 0.4~0.5 185 Rc1/4 R1/4

4.5 4.0 2.3 1.7 GT-N12 142 36 12 20 116 0.5~0.6 210 Rcl/4

7.0 5.0 2.6 2.0 GT-N20 156 45 12 23 230 0.5~0.6 375 Rc1/4
10.0 6.5 3.3 2.8 GT-N30 193 56 17 30 584 0.5~0.6 625 Rc1/4

5.5 4.5 GT-N50 237 75 252 43 1,170 0.5~0.6 1,220 Rcl/4

*Hose coupling: R 1/4 +Air hose inner dia. : 5mm +Overall length: Accessories, Hunger not included. *+Weight: Accessories not included.

Blade is ¢ Blade is optional.

.




Air nippers

RESEh58T](B shit551] A3) 6T-NR3/5/7/10L/20/30/50 Air Nipper Round-Type without Lever

A ®
T
N o
me A
% 0
z . .
s NR2OAGFHHEENERELER.
The Nr20 body contains the installation scale of two sides. @D Eg
g
2 —
1= 2
2H§ FIE] ©
o S OMETLANERE180E. —
RRHFAANHSO , BT LIRIERE I EHITIIR.
- The main body end is 180° rotatable.
- Two suction (intake) ports are provided, the suction position can be optionally changed depending on the mounting plate.
.mg
£ Size (mm) Air Consumption  Air Pressure ~ Weight ;
}ﬁ ~ Soft Plastic Hard Plastic Copper  Steel Mods! No. A B C D E F G (cm¥/str.) (MPa) (9) Hose coupling
9 2.0 1.0 0.5 GT-NR3 110 23 17 M3 Dep'rh8 7 14 7 45 0.4~0.5 70
3 2.0 1.0 0.5 GT-NR5 94 30 20 M4 Depth] 0 7 17 7 64 0.4~0.5 110
E 3.0 2.0 1.6 1.0 GT-NR7 113 34 22 M4 Depthl0 9 17 7 116 0.4~0.5 150
4.0 2.6 1.8 1.2 GT-NR1OL | 113 36 24 M4 Dep'rh] 0 12 20 7 116 0.4~0.6 215 Rc1/8
7.0 5.0 2.6 2.0 GT-NR20 129 45 30 M5 Dep'rhl 2 12 23 95 230 0.5~0.6 280
10.0 6.5 3.3 2.8 GT-NR30 165 56 40 Mé Depth] 2 17 30 105 584 0.5~0.6 505
x9 120 6. 55 45 GT-NR50 | 222 75 50 M8Depthl2 252 43 15 1,170 0.5~0.6 1,190
E; +Air hose inner dia. : 5mm  Overall length/Weight: Accessories not included. »¢Before mounting of exclusive/automatic machines, check the following product dimensions.
H3 (Frame O.D., screw dia. (screw to screw) dimensions, etc.)
"
&
—_—
GT-NR FAE 242 GT-NR10LST/205T/30ST/50ST Stand
REARRESENN ENEESEE. RIS
> E.IL\/UE%;%%E ( 0 ~ GOE ) Mounting example.
g; Stands for installing air nippers. v
B3 The angle is easily adjustable.
Jle
% § Hex Hollow Bolt
=2 M5x0.8x20
U Ditoirms (/O
= M5x08x10__ [/}
5
@ N .
Model No. . Sl_lze (mm()3 y Wz(—:;g);ht ]
NR10OLST 102 52 36 84 885) @ o1
NR20ST 110 60 45 92 385 S
Bz NR30ST 130 80 56 112 085) <EN
1 § NR50ST 150 100 75 132 835 T _[P_ O HIEL AT NRSOST K
2 Figures in () are for the
3 NR50ST
o
3 offe £
3 MBEES P-10L/20/30/50 Powerful Intensifiers (With Extra pressure Booster)
=3
2 ZREUERTARE=SENZREAZEBEDFER.
This unit is to be used in case the originally required pressure is not obtainable
by the limit of space and air pressure.
— ol o
I [} Q|
s
Capacity ¢ (mm) — Size (mm) Air Consumption . Weight
Soft Plastic Hard Plastic Copper ~ Steel Application model Model No. A B (cm?¥/str.) Air Pressure (9)
5.0 4.0 2.6 1.6 NS10L, NR10L, N12 P-10L 71 36 223 Up to 0.5MPa 115
8.0 6.0 3.0 2.2 N20, NS20, NR20 P-20 87 45 508 Up to 0.5MPa 215
13.0 7.0 4.8 4.0 N30, NS30, NR30 P-30 92 56 956 Up to 0.5MPa 330
6.5 5.5 N50, NR50 P-50 133 75 2,670 Up to 0.5MPa 840

+Above figures of overall length and the weight are defined for the extra booster specs only. And these figures in the installation.

o

Blade is optional.



Air nippers

S5 zn8177 GT-NWR10/20/30 GT-NWS1,/10/20/30 Double Action Air Nippers Patented
B2
o
GT-NWR =
X l;\
<) IE. -
N NN - ‘ o
TN ERESEERE, ‘ A ‘ ®
KEARAEFREMEE | EBTHEP.
Blade opening and closing is air piston driven. GT-NWS
Having no spring mechanism in the main unit facilitates 5 T% ¥
maintenance operations. © [E[ ;’Eg.
o o [ *E Z
i 4H3
A e
oy
= [T Py T ol Il
- Double Action Air Scissors (Round Type without Lever)
GT-NWR10 | 1.8 1.2 40 116 588 0.4~0.5|146 ¢36 |280
GT-NWR20 | 26 2.0 6.5 230 1372 0.5~0.6| 165 ¢45 |523 RO
. GI-NWR30 | 3.3 28 9.5 584 2744 0.5~0.6| 2305 ¢56 | 980 ¥ x
Double Action Air Scissors (Square Type) al
GT-NWSI1 1.0 05 20 45 294 0.4~0.5| 95 23X20 [ 116 2
GT-NWS10 | 1.8 1.2 40 116 588 0.4~0.5 | 146 36X36 | 356 @
GT-NWS20 | 2.6 2.0 6.5 230 1372 0.5~0.6| 165 45X45| 610 =
GI-NWS30 | 3.3 28 95 584 2,744 0.5~0.6 (2305 56X56 1115
%
B
- —y e . o Ape S
BN SEhEE J]7 297 GT-NB20/30/20LW /30LW Slide-Off Air Nipper Bracket-Type = 2
o

OSHI 2 (¥l )  HIKU 2 (#7[E] )

59 A 65(81.5) A
C C
KEUIEF= BBt OREMER 4 VESSEL has achieved smooth, || 8] |[e .
BARhE , AMA T LLTERERE continuous slide movement even fﬁi ﬁﬁ Zheor N
T, KB EEBER, for large diameter gate cuts, | = Eﬁ%
which produce a large shock | g *i%i% LIS e
at each cut. 2 %E | j&gﬁf
T wsxos B
;g Rc 1/8 1: Rc 1/8 A A

M B
] el a1
[ — a3 ; e
| pIE N Pl g
S 5 ] IR NB30. z
L A i & 464 O sraggss R nezo (a3 5
40 40 Figuresin () are for the NB30. c
(49) Unit - mm °
SM AU ™ B
98.5(114) 98.5(114) Bt &
c C 45(56) 53
176 e I 1 e B o
1% 2r] —~ |1 i ‘ 3
ot | g i g
. IS4 g ®
GT-NB20LW-10TM GT-NB20 A G T o | 6 z
Accurate slide function Hl | ko PN
with slide stroke Liﬁj r— WZQ;( =
T e =t %ﬁﬁ °
Rc1/8| M5x0.8 Rc 1/8| M5x0.8
oo Size (mm) Slide Direction/  Weight 65(65) 6565
odet o A B c Distance (mm) (9) - %066 T & 1300)
GT-NB20 (5-OSHI) 22 12 26 Push O~ 5 755 3l olal | a2 38 3l | o2
GT-NB20 (5-HIKU) 22 12 26 Pull O~ 5 755 88 4 ]2 8B |
GT-NB20 (10-OSHI) 27 12 26 Push 0~10 755 |05 | ~| o]~ |
GT-NB20 (10-HIKU) 27 12 26 Pull 0~10 755
GT-NB30 (10-HIKU) 28.5 17 36 Pull 0~10 1,420 () HRHIH 2 NB3OLW.
GT-NB20LW-10TM 28.5 12 26 Pull 0~10 795 . O %1% N:Bmm
GT-NB30LW-10TM 29.5 17 36 Pull 0~10 1,315 R o
GT-NB20LW-10SM 28.5 12 26 Push 0~10 795
GT-NB30LW-10SM 29.5 17 36 Push 0~10 1,325

Blade is optional CRG



triETISk ®4BEH Air Nipper Standard Blades For Plastic

WS AAFRAETI L For plastic Plastic
%-_Ez A P AP/RBESEYIRTRETIk, TN EB/MMBE , HIREUIEITIKE.
# = AP/ This is a standard set of blades used to cut plastic. A broad, gentle 7?
M curve is provided in the cross section for gate processing where the cut
N b end must not be left. (The cutting edge is curved.)
g4
g
1= 2
Hs
&
Model No. a b <« Size ém) e ¢ L W?; ht Material Application model
N3AP 24 7 15 11.5 4 10.5 64 35 Special alloy steel | GT-N3 /NS3 / NR3
RO N5AP 24 7 15 11.5 4 10.5 64 40 Special alloy steel | GT-N5/ NS5/ NR5
e N7AP 27 9 30 11.5 4 14.5 81 80 Special alloy steel | GT-N7 /NS7 /NR7
a N10AP 27 9 30 11.5 5 14.5 91 85 Special alloy steel | GT-N10
3 N10LAP 35 12 15 16 5 15 89 120 Specialalloy steel | GT-NS10L/NR10L
a N12AP 35 12 15 16 5 15 | 105 135 | Specialalloysteel | GT-N12
g N20AP 35 12 15 16 11 15 95 125 Special alloy steel | GT-NS20 / NR20 /N20 / NB20
N30AP 66 17 15 38 16 24 150 380 Special alloy steel | GT-NS30/NR30 /N30 / NB30
%2
%‘; B3B8 FHEI$H JJ L Nipping blades for plastic Plastic
fH o
e A E AE/ EBEEROMBIERONBI.
® AE/ Used for processing plastic gates such as ride gates and discard
gates.
d
5z
#z
ms
7]z
e
< " .
% § Model No. a b fng|ze (mm) d e L Weé ht Material Application model
53 N3AE 20 7 | 6x1 7 35 60 35 | Specialalloysteel | GT-N3/NS3/NR3
= N5AE 20 7 6X 6.6 7 3.5 60 40 | Specialalloysteel | GT-N5/NS5/NR5
8 N7AE 26 9 8X14.8 9 4 80 85 | Specialalloysteel | GT-N7/NS7/NR7
% N20AE 28 12 10X15.5 12 8 88 135 Special alloy steel | GT-NS20/NR20/N20/NB20
N30AE 45 17 13%X28 17 12 129 395 Special alloy steel | GT-NS30/NR30/N30/NB30
B3B8 FBE JJ L Thin, straight blades for plastic Plastic
t > _
e IND | A WERED DTSR  TEE.
2 AJ/ Thisis a set of vertical blades with an unbeveled cutting edge for
i plastic. You can apply itat aright angle to the gate.
o
3 L
s a )
o
N Y — »°
_@Q///
1
i eeeana
d
Model No. a b c d e L Wfé?ht Material Application model
NW10AJ 30 9 6 14 5 85 76 | Specialalloysteel | GT-NWR10 /NWS10
N20A)J 35 12 8 18 1 95 125 | Specialalloysteel | GT-NS20/NR20/N20/NB20
N20AJB 35 12 8 18 11 95 125 Sintered Alloy GT-NS20/NR20 / N20/NB20
NW20AJ 40 12 6 21.5 8 100 142 Special alloy steel | GT-NWR20 /NWS20
N30A)J 52 17 8 28 11 136 370 Special alloysteel | GT-NS30/NR30 /N30 /NB30
NW30AJ 55 17 8 29.5 11 140 368 | Specialalloysteel | GT-NWR30/ NWS30

vl CRG



trAETISk #iBgA Air Nipper Standard Blades For Plastic

AJL/ FREF- & BIBS B E J] Straight long blades for plastic | Plastic e
AJL/AJBITITINNEEY |, TD5k 5RO IR B RImAt A 2. i
Quasi- N30AJL163 AFEIZEEAZEO. -
AJL/ Thisis along type set of straight blades. This is suitable when Me
standard Nt : . =G
products there is distance between the nippers and the gate cut portion of the =2
workpiece. N30AJL163 is useful for wide gate processing 3
1% 2
Hs
&
Model No. a b c Size (mm) d Material Application model .r;&(:_)
N10LAJ141 61 12 7 34 10 115 165 | Specialalloysteel | GT-NSTOL/NR10L il )
N20AJL 65 12 7 20 16 125 230 | Specialalloysteel | GT-NS20/NR20/N20/NB20 o}
N20AB39 61 12 7 36 14 121 185 | Specialalloysteel | GT-NS20/NR20/N20/NB20 2
N30AJ163 65 17 7 41 17.5 149 355 Special alloy steel | GT-NS30/NR30 /N30 /NB30 Q
N30AJL 75 17 8 25 19 159 470 | Specialalloysteel | GT-NS30/NR30/N30/NB30 =
N . 3z O
B3 Rg BB JJ 3L Flat blades for plastic Plastic X<
PF /BRI )BT O FIBA BRI AL, o BN MEmeS MR \E
P F KEIRELYI A, "e
PF/ This is a set of blades for cutting the cut end fiat for plastic. A large 7? %

Ris provided in the cross section for gate processing where the cut end

must not be left.
=2
#z
S
712
ge ~L

BS
Model No. a b «9) Slzed(mm) e f L Wfé ht Material Application model EE g
N7PF 27 9 40 10.5 4 17 81 80 | Specialalloysteel | GT-N7/NS7/NR7 ﬁ 2
N10LPF 35 12 40 135 5 21 89 120 | Specialalloysteel | GT-NST0L/NR1OL g
N20PF 35 12 40 135 11 21 95 130 | Specialalloysteel | GT-NS20/NR20/N20 /NB20 c
N30PF 58 17 30 25 15 33 142 390 Special alloy steel | GT-NS30/NR30/N30/NB30 ®
T 5 SBEHE L BYJJSL Crank blades for plastic | Plastic oz
AH LRRES Al itr al s 3
AH/ This is a set of blades with a crank cutting edge for plastic. It is 7i g
efiective when there are obstructions or the gate is narrow. o
2
L o
2
— g

=

Vo~

b
(e [
d
Model No. a b ¢ Size (mm) d e L W?é?ht Material Application model
N20AH 60 | 31 | 7 | 23 | 16 | 120 240 | Specialalloysteel | GT-NS20/NR20/N20/NB20

.




trfETIk /AEH  Air Nipper Standard Blades For Plastic

WO R RS FRREMIRR DL Laterally facing blades for plastics

Plastic

it
o
ZE: AMR/ R L Ly
; AMR/AML This i f blades f | i h he ML i
ﬁﬁg A M L edge/is bent 9ISOI(§§gSr%Eeg. It ii uessef.\o,lll' \?vlfé;c‘ll?g;treicrfetd ?o coﬁ?itnt:en
= = spaces hard for the nipper to getinto. AML AMR
g L
a
- -
— 1 -
@
B3 b
1= 2
2H§ d f
&
N I D,
RO Model No. a b c Sizz(mm) e § L W?Bht Material Application model
s N20AML1498 | 55 55 8 26 9.5 41 115 270 | Specialalloysteel | GT-NS20/ NR20 /N20 / NB20
o} N20AMR1499 | 55 55 8 26 9.5 41 115 270 | Specialalloysteel | GT-NS20/ NR20/N20 / NB20
2 N30AML1435| 55 68 10 35 13 39 139 520 | Specialalloysteel | GT-NS30/ NR30/N30 /NB30
Q N30AMR1395 55 68 10 35 13 39 139 520 | Special alloy steel GT-NS30/ NR30 /N30 /NB30
%o e i WASA R RITDSLOIIBIRMA)R blades for plastic|Plastic
BT ShIRERTENR OB B YIS AR BRI B . T &BMEE |, TiRIEAMA
\E standard EFTISEST CubS I—
e Alarge Ris provided in the cross section for gate processing where the
o prOdUCtS cut end must not be left. An angled blades can be selected in accordance
with the installation angle of the main unit.
L
a /
5z / i .
#z
73
Jle
N30AAT14 o~ >
L)
< " -
% § Model No. a b o o)SIZe (mm) d e L W‘aﬁht Material Application model
= N10LAB152 61 12 15 35 10 115 165 | Specialalloysteel | GT-NS10 /NR10L
#= N20AA27 45 12 23 25 12 105 145 | Specialalloysteel | GT-NS20 /NR20/N20/NB20
2 N20AA239 523 12 40 27 14 1123 195 Special alloy steel GT-NS20 /NR20/N20/NB20
s N20AB360 61 12 15 35 16 121 185 | Specialalloysteel | GT-NS20/NR20/N20/ NB20
N30AA114 76.3 17 30 50 20 160.3 385 | Specialalloysteel | GT-NS30/NR30/N30/NB30
e e tRAEF R RBE B A L BUJJSL L blades for sprue cut |Plastic
ug TR e 90 ERMMKEATIL, REATIESED.
3 d Thisis an angled long type straight set of blades with a 90-degree angle.
A 0](0) ucts .
8 Idealfordlrgctgate cut.
3 \
S L
> a
‘g) [l
d
b (-
N | s
e
I
Model No. a b c Size (mm) d e L W?giﬁht Material Application model
N30AL525 60 | 62 | 8 | 36 | 16 | 144 520 | Specialalloysteel | GT-N30/NS30/NR30/NB30

o



trET]Sk MBS Air Nipper Standard Blades For Plastic

Quasi- FROERT S ISR SENEH nipping blades for plastic Plastic
SENlC o AEALEERROMBERONEH.

pTOdUCtS AE/ Used for processing plastic gates such as ride gates, discard gates.

-

—
Heeo—

7

o] | = >

M Size (mm) Weight . I
odel No. a b fxg d e L (g%’ Material Application model
N20AE1205 62 | 12 [ 14x45] 12 | 165 | 122 202 | Specialalloysteel | GT-NS20/NR20/N20/NB20
SN JIREEREER  Air Nipper Troubleshooting
FRISREP A ESHERIREDTE Inspection items when a malfunction occurs during use
I 5Symptoms J&[& Causes A IRIE B Treatment

SiEFHRITFF Airis not being supplied

BMZ=5 supply air

T8 RTTEESTIE WEFTEE The hose is twisted BFFEE  Extend the hose
1. Blades or slide not working SE{E Low air pressure JHEESE  Air pressure adjustment
properly. TR , B BARY Corrosion, wear, or contamination of sliding part of the blades iBi8/fFENEE  Lubrication/disassembly adjustment

TILeanimiel (Mn#EET] ) Sliding parts burned by heat (heat nipper)
JJ3L38EEHRER Broken blade spring
SHRBSTSRBRIA Broken retumn spring
JJ7J3RIR Broken blades
J)SLZ23EER (v T8 Wear of the cutting unit/rivet

BHREBE  Component replacement
FIREBE  Component replacement
BEHEERH  Component replacement
E#8J]F  Replace blades
BEi#aJ) 5 Replace blades

EEMR Wi OINEER R/BIR |, IR (OfZ3K |, BRIFSE )
2. Air leakage SNEBRE

Valve malfunction/wear, damage (O-rings, ball valves, etc.)
Packing is broken

EHRERMG
EIRER

Component replacement
Component replacement

C=RG

B3y | FhE

d9qnL SNS - 3!404d

S R

3|NPOA SIUdIS

S SR

J9bueyd 3oInd

T K
a|npo\ diug

s
Jaddin J1y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

220




B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

JaddiN 11y

b b2 |

RS
3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

221

Air nippers
SN5E7IA4K NR20-P/NR30-P Air Nipper Round-Type without Lever

o ‘ A

il

- SO ERLAE 180,

REFEDSHSO |, JLURIBEREMSHITE BT, —
- The main body end is 180° rotatable.
+ Two suction (intake) ports are provided: the suction position can be optionally changed depending on the mounting plate-
Size (mm) Air Consumption  Air Pressure Weight .
Soft Plastic Hard Plastic Copper ~ Steel PN Model No. A B [¢] D (cm3/str.) (MPa) (@ Hose coupling
70 50 26 20 8Y00113 NR20-P | 129 45 30  M5Depthl2 230 0.5~0.6 280 /
Re1/8
10.0 6.5 Sl 2.8 8.Y00237 NR30-P 165 56 40 Mé De th12 584 0.5~0.6 505
«Air hose inner dia. : 5mm  -Overall length/Weight: Accessories not included. % Before mounting of exclusive/automatic machines, check the following product dimensions.
(Frame O.D., screw dia. (screw to screw) dimensions, etc.)
A
=\
® [ F—-
E
E
| —
nmﬁ\ i
| o=
HS OIS LAER180E, — H

REFmANHSO , TLUREREUEHTEHTIR,
- The main body end is 180° rotatable.
- Two suction (intake) ports are provided, the suction position can be optionally changed depending on the mounting plate-

PN Model No Size (mm) Air Consumption ~ Air Pressure  Weight
Soft Plastic Hard Plastic Copper Steel . A B C D E F G H (cm¥/str.) (MPa) (9)

70 50 26 20 syoot13D1 NR20-P-D1 [129 45 30 M5Depth12 46 17 15 175220mm 230 0.5~0.6 508

Hose coupling

Re1/8

10.0 65 33 2.8 8Y00237-D1 NR30-P-D1 165 56 40 MéDe th12 51 17 16 4T#E20mm 584 0.5~0.6 533

+Air hose inner dia. : 5mm  -Overall length/Weight: Accessories not included. *Before mounting of exclusive/automatic machines, check the following product dimensions.
(Frame O.D., screw dia. (screw to screw) dimensions, etc.)

SEIFETIAR NS20-P/NS30-P Square Air Nippers

JILFRES , ISR ERROEY], VESSEL provides a generous selection of blades

BB R &S BETIE, for all wire cutting needs, including resin product gate cuts
and automatic welding equipment.
A |
C H

I | ‘

L ) ® Lle

s gt

£ 3 ¢ of |

.‘ @j G o] I « E
- SO0 BT LUE 1808, ST F <\
CREFENESO , ALIREREM BT E B, ol 1N =N
* The main body end is 180° rotatable. L \gﬁ}
* Two suction (intake) ports are provided, and so the suction position 4 & [_ \-{/

can be optionally changed depending on the mounting place-
Ci ity ¢ (mm) Size (mm) Air Consumption Air Pressure  Weight .
Soft Plastic Hard Plasc )(I)gpper Steel PN ModelNo. | g ¢ p E F G H oo | (mostr)  (MPa) (g | osecoupling
7.0 5.0 2.6 2.0 8.Y00079 NS20-P (129 45 40 36 M5Depth12 30 M4Depth7 19 24 230 0.5~0.6 370 /
Rc1/8

10.0 6.5 3.3 2.8 8.Y00080 NS30-P |170 56 60 46 M6Depth12 40 M5Depth10 20 30 584 0.5~0.6 685
+Air hose inner dia. : 5mm -Overall length/Weight: Accessories not included. *¢Before mounting of exclusive/automatic machines, check the following product dimensions.

CRG (Frame O.D., screw dia. (screw to screw) dimensions, etc.)

*Model GT-NS50 is a special order item. Please contact VESSEL for details.



SEIBITIZAYPK NY10-P/NY15-P Slide-Off Air Nippers Horizontal-Type

HEBHENTEEEHFA.

-

T

TS K

Blade length K

0-3

=

NBRE (BER) , FHBRRET. [OD) iy
The horizontal slide enables space to be used effectively. Hlw ey
The low profile of the main unit allows work to be removed ™ A Tube fitting
without obstructing the operations of the chuck plate. c D
Capacity ¢ (mm) Size (mm) Air Consumption: Weight ~ Slide Direction/ )
SoftPlstic Hard Plastc Copper Steel T\ ModelNo.| g ¢ D E F G H I |(omisn) (g) Ddens(mm) | SPeC & Sizeolthetose Port
35 23 8.Y00270 NY10-P | 124 878 438 30 20 28 532 4 M4 | 48 155 Pull 0~3| Witube fitting
4.0 2.6 8.Y00249 NY15-P 132 965 455 35 25 33 58 6 M4 48 155  Pull 0~3| Hosel.D. $2.5X0.D. g4mm
*Blade length (K) and opening max. (H) is the dimension adjusted for standard blade (AJ type). *¢Air Pressure---0.4~0.5 MPa
B refers to the distance from the cut position for PUSH style models, and the distance from the start position for PULL style models.
3| & Slide-Off Air Nipper Bracket-Type
FREYEORBEER A  Ithas achieved smooth, FRwn 56
gmE , MRt TLLERRRE  continuous slide movement even T s © gg
), KB EEEE. for large diameter gate cuts, ,JI - 4-¢5.50
which produce a large shock Iy
| -9 20
at each cut. ! ¢¥/,ﬁL/
® |: 3 9 Q/
| -
| : A¢ _¢‘_ 4-94.50
| 3 ® LN
:p:i o o o
| | =
IC, E Io 2 T
[P
I I
104.50 E— 42
84
28 16, 31 2950
HS(PN) 8.Y00006 8.Y00003 S _J.' NT-2010SM-P-M5350
EIS(Model) NT-2010TM-P NT-2010SM-P e o |
BSHLE BSEH 3 9
pull by compressed air push by compressed air ® o
EE&(Weight) 6129 617.3g L S
3
©
CcRG

B3y | FhE

d9qnL SNS - 3!404d

S R

3|NPOA SIUdIS

S SR

J9bueyd 3oInd

T K
a|npo\ diug

s
Jaddin J1y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

222




fn#EI7] Heating Cutter

AT
Mz AIbRELL |, KERFEL.,
’%Ii ® Remove sprue, deburr and trim.
N e _ S 25.40 |

3 NEW oy b S

§_ ;..
%g F Sna® ).."'\.w' \!% g g
B2 ‘ 4 3 &
éﬂg L | -

o) - ) ,/
®me £3S(PN) 2S(Model) F=E2(Weight) -
ma 8.Y00346 GT-BH2060 1864 220

e, e
%2 e
= %
B3 "
palas S
14:% Spare blade S
INFAE + REBE
Heating pipe+Ermocouple ,
s
Hz (
s
Jl2
=
Pelik eIkt
Temperature control box Power cable

BS
283
1¢§

” (S g

Ermocouple Heating pipe

i %
2

3 #E2(PN) 2 (Model) ik (Describe)

g ERTIA (104/8) )

-g Spare blade (10 pieces package) 7.Y02019 1A

S HRERIE 1.Y20002 _ 220V /100W £ cable L 1.5m

=l ermocouple

“ e

. L2 D6-L55 D6-L55 220V /100W, £ cable L1.5m
REETIES 8.Y01026 GTC-001

ater control box -

el CRG



BHZSMR#AE: Vacuum Cups

AT
ZE
_ g
l = M Highlights I L ¥ Advantage = g
- RFH# R % M AL AS T ik EBERBERTHMERN I
- EHNERNEEHE STHEMAEENTHERENEN M
- IRETRERE M5 AR LA -BEEHE, BERENEKTHERMEA -
RN IT R RAK ggg
- REPSZIE L WEEETH R EXKATR 2
g
*Various sizesand materials are available -Suitable for workpieces of different sizes and shapes %
-Softand tapered sealing lip - Strong adaptability to curved surfaces and uneven workpieces
-Rib structure on the top of the suction cup -Strong horizontal and lateral grabbing force when moving at
+Optimum structural design high speed
- Bottom support structure -Smallsize and high suction
+Handling thin-walled workpieces without permanent deformation o
23
2
BSRRNE %2
Model representation methods [E
e
BRI LED i
NBR-55 T BE#& A& 7%
£l SI-55 FEIRAR
Series . HT1-60 TRIZR
mEER o
Suction cup diameter NBR-55 nitrile rubber
P SI-55 silicone rubber BS
HT1-60 tracelessrubber Tt
#H3
fiz

ey EL])

Application example

syusuodwo?) A10ss8d0y

BETI BFITI AT
packagingindustry Electronicsindustry Injection molding industry

CRG



R #F2BPFGEF ( @I ) Vacuum Cups PFG Series

BT PFG-2...PFG-10 PFG-15...PFG-50 PFG-60...PFG-95 PFYN-120...PFYN-200
$Z:% Dk Dk
g o Dk
% § H H H
|
‘ Dmax I Dmax |
e o e
b z PFYN-200 E#5IR28 B
fgi B, HT1-60 )
Vel (N) (I588) (Weight)
= PFG-2-... 0.12 2 - 4.2 3.0 4.0 1.Y12953 1.Y12972 1.Y12991 0.02g
PFG-3.5-... 0.42 2 - 4.2 4.0 4.0 1.Y12954 1.Y12973 1.Y12992 0.03g
PFG-5-... 0.75 2 - 1.7 5.5 6.5 1.Y12955 1.Y12974 1.Y12993 0.15g
PFG-6-... 1.2 2 - 7.7 6.5 6.5 1.Y12956 1.Y12975 1.Y12994 0.17g
Eg PFG-8-... 2.3 2 - 8.2 9.0 7.0 1.Y12957 1.Y12976 1.Y12995 0.23g
al PFG-10-... 4.0 2 - 8.7 115 7.5 1.Y12958 1.Y12977 1.Y12996 0.30g
§ PFG-15-... 9.0 4 - 12.2 17.5 8.0 1.Y12959 1.Y12978 1.Y12997 1g
. PFG-20-... 15.5 4 - 15.2 23.0 10.0 1.Y12960 1.Y12979 1.Y12998 1g
PFG-25-... 26.5 4 - 16.2 27.5 14.0 1.Y12961 1.Y12980 1.Y12999 39
§ g PFG-30-..  34.0 4 - 15.1 315 12.0 1.Y12962 1.Y12981 1.Y13000 3g
:E § PFG-35-... 44.0 4 - 20.5 38.0 14.0 1.Y12963 1.Y12982 1.Y13001 69
e PFG-40-..  57.7 4 - 24.3 43.0 14.0 1.Y12964 1.Y12983 1.Y13002 79
PFG-50-... 91.0 4 - 29.1 53.5 15.0 1.Y12965 1.Y12984 1.Y13003 11g
PFG-60-... 125 6 - 38.7 64.0 18.0 1.Y12966 1.Y12985 1.Y13004 25¢g
PFG-80-... 260 6 - 52.3 86.0 20.5 1.Y12967 1.Y12986 1.Y13005 52g
5z PFG-95-... 350 6 - 68.2 102.0 19.0 1.Y12968 1.Y12987 1.Y13006 93g
g_g PFYN-120-... 540 9 G1/2-F 89.5 124 36.5 1.Y12969 1.Y12988 - 2239
ﬁg PFYN-150-... 842 9 G1/2-F  104.5 158 45.5 1.Y12970 1.Y12989 1.Y13008 391g
PFYN-200-... 1498 9 G1/2-F 1425 222 50.5 1.Y12971 1.Y12990 - 5559
(1) ERMER D AEETER-0.6barBtHIRICE, MNFRENB. TENIHEMS, REERTE2RH.
(1) The suction specified aboveis the theoretical value when the vacuum degree is -0.6bar. For smooth and dry workpieces,
the safety factoris notincluded. ZEFH
%g Types of assembly @:F+ # <
e BiE
#H=z Factory-crimped fitting:
g B @F ; F c<
o Hollow shaft fitting:
s
1sc;%rf:]cﬂ)e\k;gk;RIEfitting: = F-F F < # + # =l
e (adapter and hollow screw)
Hﬁé W Vacuum Cup Fitting E 3 l\%%uum Cups
3 VM14-M5 PFG-2~PFG-3.5
§ VM29-M5, VM30-G18 PFG-5~PFG-10
'§ VM31-M5, VM32-G18 PFG-15
2 VM33-M5, VM34-G18 PFG-20
VM35-M5, VM36-G18 PFG-25~PFG-40
VM37-M5, VM38-G18 PFG-50
VM-G14M-M10M PFG-60~PFG-95

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance  Heat

HE B Tt resistance resistance imistE resistance (in °C)
B m&oE Hia

SI-55: Translucent Translucent

Silicone  EBBER >0 A . ’ ; -40t0 220 im0

HT1-60: Siton® . Blue
BHSAHHER 60 * " ” 250170 Ee

NBR-55: Nitrile _ Black
T 60 + + ++ -30t0 120 =

e CRG



IREBFGAZRS (ENER/2E ) Vacuum Cups FGA Series

FGA-6...FGA-25 FGA-33...FGA-78

T
Dk o %‘%
— ’ SRR | g
Dmax Dmax 2
2
Bs gy akyh  #EESE Dk Dmax(S)  Ds >
(Model) N (N pRmm)  (mm)  (mm)
FGA-6-... 0.4 1.4 4 7 8.0 5.7 9 1.Y12937  1.Y12949  1.Y12951 1g
FGA-11-... 0.95 3.8 4 10 13.0 10.4 16.0 1.Y12938  1.Y12288  1.Y12298 1g
FGA-14-... 1.2 5.0 4 10 14.5 12.5 15.5 1.Y12939 1.Y12289  1.Y12299 1g Eg
FGA-16-... 2.3 6.7 4 10 18.5 15.6 19.2 1.Y12940 1.Y12290  1.Y12300 1g :’:
FGA-20-... 4.7 10.7 4 10 21.0 18.1 15.2 1.Y12941 1.¥Y12291 1.Y12301 29 :;j’
FGA-22-... 5.7 15.2 4 10 25.0 21.5 19.0 1.Y12942  1.Y12292  1.Y12302 29 =
FGA-25-... 5.3 17.3 4 10 26.5 22.5 23.0 1.Y12943  1.Y12293  1.Y12303 39
FGA-33-... 13.6 39.6 6 18 38.0 30.0 27.0 1.Y12944  1.Y12294  1.Y12304 79 *Q
FGA-43-...  22.8 64.5 6 18 47.5 38.0 27.6 112945 1.Y12295  1.Y12305 119 %%
FGA-53-... 51.3 95 6 18 60.0 50.0 34.0 1.Y12946  1.Y12296  1.Y12306 199 He
FGA-63-..  85.0 135 6 18 68.0 60.0 340  1.Y12947  1.¥Y12297  1.Y12307 249 °
FGA-78-... 1374 218 6 25 84.5 74.0 47.0 1.Y12948  1.Y12950  1.Y12952 569
(1) ERMERANEAEZTER-0.6barBRIEIRE, WFREXE. TRNIGMS, REER2REH
(1) The suction specified aboveis the theoretical value when the vacuum degree is -0.6bar. For smooth and dry workpieces, 52z
the safety factoris notincluded. g]jt—z,
Q)R ARG BRI E, Hiubi /129 {E40%. e
(2) The pull-offforce of the vacuum cup made of natural rubberis reduced by about 40%.
REAN
Types of assembly @:n#+ F F\A Bs
B ?ﬁ%
Factory-crimped fitting: =z
= @F+ F < g
Hollow shaft fitting: 3
i
I:::]D:V'lzfi fitting: = F-l_ # < F + F =l
(adapter and hollow screw) .
i E%fu&um Cup Fitting * \%%uum Cups #Fg
VM21-M5 FGA-6 S
VM18-M5, VM02-G18 FGA-11~FGA-25 g
VM24-G18 FGA-33~FGA-63 3
VM41-G14 FGA-78 2

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance Heat
& BE -7l resistance resistance ks
T s
HT1-60: Siton® : Blue
BHEAHGER O : o o 2210170 )
SI-55: Translucent R R Translucent
Silicone  YEWREE e e 4010220 S5
NBR-55: Nitrile _ Black
TH&E 60 + + ++ -30t0 120 @

CRG



REFBFGEFY (GENET/3E ) Vacuum Cups FG Series

o FG-3...FG-9 FG-12...FG-25 FG-32...FG-88
o % Dk Dk Dk
5 ©
% H H
-3 — e -
Zas Dmax Dmax
iﬁ% Dmax
= H WS Rh fupth  EEESE Dk Dmax(S)  Ds SI-55
o (Model) (N)® (N P12 (mm) (mm) (mm) (&EHR)
FG-3-... 0.2 0.4 2 4 4.0 3.0 6.7 1.Y12929 1.Y12931 1.Y12934 1g
FG-4-... 0.3 0.6 2 7 7.0 3.8 14 1.Y12930 1.Y12932 1.Y12935 1g
o FG-5-... 0.2 0.8 2 T 7.0 5.0 14 1.Y12308 1.Y12319 1.Y12331 1g
}ﬁi FG-7-... 0.1 0.9 4 9 9.0 5.9 14 1.Y12309 1.Y12320 1.Y12332 1g
Q FG-9-... 0.7 2.3 4 9 9.5 9.0 15 1.Y12310 1.Y12321 1.Y12333 1g
é FG-12-... 0.9 3.5 4 10 13.0 12.0 21.0 1.Y12311 1.Y12322 1.Y12334 1g
® FG-14-... 1.2 5.7 4 10 155 145 22.8 1.Y12312 1.Y12323 1.Y12335 29
FG-18-... 2.3 8.5 4 10 19.0 17.2 22.6 1.Y12313 1.Y12324 1.Y12336 29
X2 Fe20-. 38 12.1 4 10 21.0 200 221 1Y12314 1Y12325  1Y12337 29
:E § FG-25-... 4.5 19.0 4 10 26.0 23.0 34.0 1.Y12315 1.Y12326 1.Y12338 49
2 Fe32-.. 120 369 6 18 335 32 375  1v12284 1Y12327  1.Y11797 10g
FG-42-... 13.6 44 6 18 45 42.6 46 1.Y12316 1.Y12328 1.Y12340 18g
FG-52-... 27.0 96 6 18 55 52.5 48.7 1.Y12317 1.Y12329 1.Y12341 249
FG-62-... 39.6 137 6 18 65 62.2 54 1.Y12318 1.Y12330 1.Y12342 399
52 FG-88-... 45.2 286 9 25 95.5 89 86.5 1.Y12928  1.Y12933 - 1669
4
%é (1) ERMER D AEETEN-0.6barBINIEICE, WFREANLE. TENIHMS, REERE2RH
715 (1) The suction specified aboveisthe theoretical value when the vacuum degreeis-0.6bar. For smooth and dry workpieces,
the safety factoris notincluded.
(2)RAGRMBEBIRE, HiiL9EE40%.,
(2) The pull-off force of the vacuum cup made of natural rubberis reduced by about 40%.
o 2R
S Types of assembly @:n#+ F <
L g B
o Factory-crimped fitting:
= mEt @F + # c(
Hollow shaft fitting:
A
B = 1;:er?c:)e\;lz;gk;‘ﬁlt:fitting: = F*’ F < F + # =l
1 § (adapter and hollow screw)
é 'il Eﬁ?ﬂ%m Cup Fitting * l\%%uum Cups
§ VM14-M5 FG-3
3 VM21-M5 FG-4~FG-5
: VM39-M5, VM40-G18 FG-7~FG-25
’ VM24-G18 FG-32~FG-62
VM41-G14 FG-88
Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance Heat
& #E T resistance resistance fidis it resistance (in °C)
Ml EtE mENE =i
e ' o ] o ol 5o
NB';;;%%”"‘* 60 + + - ++ -30t0120 %a@fk

CRG



RFESGONZERF (m¥FiHE ) Vacuum Cups SGON Series

D
G1 7@*%
e
g4
%
H
3z
Zms
e
T . A
5 1 : |> g
& <| ‘ ' |}
I I
f
Lmax T?&@
e
2
3
RS WO WEATEREZE Gl H NBR-60  SI-60 HT1-60 58 B
(Model) (N)™ (mm) (mm) (Be’) (:EHR) (Ee) (Weight)
SGON-4x2-... 0.42 2 M3-M 2.5 4.5 8 1.Y13068 1.Y13079 1.Y13090 2g FQ
SGON-7x3.5-... 1.0 2 M3-M 4.5 7.5 8 1.Y13069 1.Y13080 1.Y13091 29 %;
SGON-12x4-... 1.8 2 M5-M 5.0 13.0 18 1.Y13070 1.Y13081  1.Y13092 39 Z¢§
SGON-15x5-... 3.1 2 M5-M 5.5 15.5 17 1.Y13071 1.Y13082 1.Y13093 39 °
SGON-18x6-... 4.5 2 M5-M 7.0 18.5 17 1.Y13072 1.Y13083  1.Y13094 39
SGON-24x8-... 8.0 4 G1/8-M 9.0 24.5 17 1.Y13073 1.Y13084 1.Y13095 79
SGON-30x10-... 12.2 4 G1/8-M 11.5 30.5 17 1.Y13074 1.Y13085  1.Y13096 79 s>
SGON-45x15-... 28.2 6 G1/4-M 16.5 46.0 26 1.Y13075 1.Y13086 1.Y13097 15g = 2
SGON-60x20-... 50.1 6 G1/4-M 22.0 61.0 26 1.Y13076  1.Y13087 1.Y13098 199 %§
SGON-75x25-... 78.3 6 G1/4-M 27.5 77.0 26 1.Y13077 1.Y13088 1.Y13099 279 h
SGON-90x30-... 112.6 6 G1/4-M 33.0 92.5 26 1.Y13078  1.Y13089 - 35¢g
(1) ERMER D NEEZER-0.6barBrVEILEH, WFRENXB. TRHUIHGMNS, REERE2RK
(1) The suction specified aboveisthe theoretical value when the vacuum degreeis -0.6bar. For smooth and dry workpieces, =
the safety factorisnotincluded. ggg
* SGON-24x8 REAM BRI REE T AEEF. ﬁi
* SGON-24x8 and larger replacement vacuum cup pads are equipped with special fixing clips. S
Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance  Heat
& & it resistance resistance st resistance (in °C)
WE Yl fi=iE .
HT1-60: Sitor® ) Blue Vi
HHEAMRGER O ) o o 23telr0 B g
SI-60: Translucent R R Translucent =
Silicone EBER 0 e e 4010220 A58 g
NBR-60: Nitrile i Black 3
TSR 60 + + ++ -30t0 120 vy g

CRG



k2 VSHZE ( ¥ ) Vacuum Cups VSH Series

B2 VSH-S2...VSH-S10 VSH-S12...VSH-S30 VSH-M4...VSH-M10 VSH-M12...VSH-M50
7=
d o o o o
me oF
i .
g ! f
- T T
]
%z
fgé oA ‘ oA ! oA !
@5
® H(mm) @D(mm) @F(mm) SI(HFERR) SP(iE4)
VSH-S2 0.5 0.1 2 13 11 7 1.Y07282 -
VSH-S4 0.7 0.2 4 15 11 7 1.Y07283 -
o VSH-S6 0.9 0.3 6 11 11 7 1.Y07284 -
}ﬁ% VSH-S8 11 0.5 8 11 11 7 1.Y07285 -
5 VSH-S10 1.6 0.8 10 11 11 7 1.Y07286 -
? VSH-S12 2.0 1.5 12 11 11 7 1.Y07287 -
VSH-S15 3.7 1.8 15 13 11 7 1.Y07288 -
%0 VSH-S20 6.1 3.0 20 13 12 7 1.Y07289 -
Eg VSH-S25 9.4 4.7 25 13 11 7 1.Y07290 -
]t%é— VSH-S30 15.9 7.9 30 12 13 7 1.Y07291 -
® VSH-M4 0.7 0.2 4 14 15 11 1.Y07292 -
VSH-M6 0.9 0.3 6 15 15 11 1.Y07293 -
VSH-M8 11 0.5 8 15 15 11 1.Y07294 -
VSH-M10 1.6 0.8 10 15 15 11 1.Y07295 1.Y12885
>
%; VSH-M12 2.0 1.5 12 15 15 11 1.Y07296 1.Y12886
ik VSH-M15 3.7 1.8 15 15.5 16 11 1.Y07297 1.Y12887
Zh VSH-M20 6.1 3.0 20 15.5 16 11 1.Y07298 1.Y07530
VSH-M25 9.4 4.7 25 15 15 11 1.Y07299 1.Y12888
VSH-M30 15.9 7.9 30 15 16 11 1.Y07300 1.Y07758
VSH-M40 26.7 13.4 40 16 17 11 1.Y07301 1.Y07894
BS VSH-M50 38.3 19.1 50 15 20 11 1.Y07302 1.Y07895
B5 (DEBENCSURIRRIERRM D , BIUKFTIFRZSREN2 , BETIFHRRRHNA,
g (1) Actual force of the suction cup in use with 65% vacuum and including a safety factor of 2 for horizontal handling
B and a factor of 4 for vertical handling.
REFN
Types of assembly @3#+ F <
B
Bﬁ; Factory-crimped fitting:
i i @} # c
5 Hollow shaft fitting:
o DR
AL
'§ Removable fitting: = F-’- F < # + # =
2 (adapter and hollow screw)
@ |i| l\%l%l%m Cup Fitting t E?a?uum Cups
VM11-M5, VM11-G18
VFS RFIEE (VFS Series Stem) VSH-S2~VSH-S30
VFST Z5& 8 (VFST Series Stem)
VM10-G 1/8, VM27-M5
VFM RFIEE (VFM Series Stem) VSH-M4~VSH-M50
VEMT ZFI&E (VFMT Series Stem)

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance  Heat
R BE FH resistance resistance s
RS &
SI: Translucent 50 et R R R 4010 220 Translucent

Silicone  FERAEERL

CRG

FEH




REBVSH2ZE% (iENER/2E ) Vacuum Cups VSH2 Series

VSH2-S4...VSH2-S20 VSH2-S25...VSH2-S30 VSH2-M6...VSH2-M25 VSH2-M30...VSH2-M50 %g
oo | o o %IE?(?‘
D OF oD &2
25 —‘ 2e
| oF —_ oF =]
q T
T g T
1 4 %§
0A 0A El
Y | | o] %
ZHo
e
H(mm) @D(mm) @F(mm) SI(FERR) ®
VSH2-S4 0.3 0.1 4 15 12 7 1.Y07303 -
VSH2-S6 0.5 0.2 6 15 12 7 1.Y07304 -
VSH2-S8 1.2 0.7 8 15 12 7 1.Y07305 - RO
VSH2-S10 1.7 0.9 10 15 12 7 1.Y07306 - }ﬁ%
VSH2-S12 2.5 1.3 12 15 12 7 1.Y07307 - 5
VSH2-S15 2.7 1.3 15 18 15 7 1.Y07308 - 3
VSH2-S20 5.6 2.8 20 18 15 7 1.Y07309 -
VSH2-S25 7.9 4.0 25 17.5 15 7 1.Y07310 - %o
VSH2-S30 12 6 30 17.5 15 7 1.Y07311 - EZ
VSH2-M6 0.5 0.2 6 18 15 11 1.Y07312 - %L.HFS_
VSH2-M8 1.2 0.7 8 17 15 11 1.Y07313 - o
VSH2-M10 1.7 0.9 10 17 15 11 1.Y07314 1.Y08294
VSH2-M12 2.5 1.3 12 17 15 11 1.Y07315 1.Y08295
VSH2-M15 2.7 1.3 15 18 15 11 1.Y07316 1.Y08296
VSH2-M20 5.6 2.8 20 18 15 11 1.Y07317 1.Y07929 g?
z
VSH2-M25 7.9 4.0 25 18 15 11 1.Y07318 1.Y08349 Einch
VSH2-M30 12 6 30 19 18 11 1.Y07319 1.Y08056 R
VSH2-M35 13.9 6.9 35 19 18 11 1.Y07320 -
VSH2-M40 20.2 10.1 40 22 23 11 1.Y07321 1.Y08104
VSH2-M50 40 20 50 24 24 11 1.Y07322 1.Y08105
(LYEZEH65%IRERITFRR N , UK FIER T2 R EH2 , EEHTIERNTERE4. g2
(1) Actual force of the suction cup in use with 65% vacuum and including a safety factor of 2 for horizontal handling fﬁg
and a factor of 4 for vertical handling. Fz
o]
TEAR 8
Types of assembly @:F.,. F Eﬂ >
B
Factory-crimped fitting:
e @F+ #c(]
Hollow shaft fitting: Bt %
Esou e
LAz a
Removable fitting: = | F"’ F ‘<| F + F = S
(adapter and hollow screw) ;
i ORGREE e El
Ml Vacuum Cup Fitting Vacuum Cups ]
VM11-M5, VM11-G18 S
VFS Z&%&E (VFS Series Stem) VSH2-S4~VSH2-S30 £
VFST Z5J&E (VFST Series Stem) @
VM10-G 1/8, VM27-M5
VFM RFI&E (VFM Series Stem) VSH2-M6~VSH2-M50
VEMT Z&%IE R (VFMT Series Stem)

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance  Heat
W& BE F resistance resistance nidis resistance (in °C)
TR &M% =i
SI: Translucent 50 et R R R 4010 220 Translucent

Silicone  FERER FiEH

CRG



REVSH3ZES (iENXNER/3E ) Vacuum Cups VSH3 Series

VSH3-56...VSH3-S8 VSH3-510...VSH3-S15 VSH3-M8...VSH3-M30 VSH3-M40...VSH3-M50

@D @D @D
@D Q
OF
o | o
I‘—’Ii | —
|

. K

MRSy
aqn1 SNS . 3|old

2 > - ; — < — )
e — <
Hg S | '
5 i | i
oA oA oA oA
Tﬁé% A (N @A(mm) H(mm) @D(mm) @F(mm) SI(FERA) SP(iE43)
g VSH3-S6 0.5 6 15 10 7 1.Y07323 -
s VSH3-S8 1.0 8 15 10 7 1.Y07324 -
VSH3-S10 1.5 10 15 10 7 1.Y07325 -
*Q VSH3-S12 2.8 12 15 10 7 1.Y07326 -
%2 VSH3-S15 3.0 15 16 10 7 1.Y07327 -
o
e VSH3-M8 1.0 8 20 15 11 1.Y07328 -
° VSH3-M10 1.5 10 24 15 11 1.Y07329 1.Y09163
VSH3-M12 2.8 12 24 15 11 1.Y07330 1.Y09162
VSH3-M15 3.0 15 24 15 11 1.Y07331 1.Y09161
s> VSH3-M20 4.6 20 25 15 11 1.Y07332 1.Y08134
Hz VSH3-M25 6.5 25 29 17 11 1.Y07333 1.Y09065
%% VSH3-M30 12.1 30 35 17 11 1.Y07334 1.Y08167
VSH3-M40 20.5 40 45 20 11 1.Y07335 1.Y08168
VSH3-M50 25 50 43 20 11 1.Y07336 1.Y08234
B (LEZEH65%ITIREZRISTRRRM A , EBOKFELERRE R 82, EHETIERNRERE4.
%5 (1) Actual force of the suction cup in use with 65% vacuum and including a safety factor of 2 for horizontal handling
= and a factor of 4 for vertical handling.
frg REH
< Types of assembly @3#+ F [<
B
Factory-crimped fitting:
e =" <
> Hollow shaft fitting:
#3 0
2 SR
] Removable fitting: @ #WL # < # + F =
5 (adapter and hollow screw)
o
3
-§ |i| %%%m Cup Fitting * \%%uum Cups
% VM11-M5, VM11-G18
@ VFS Z%5I& B (VFS Series Stem) VSH3-S6~VSH3-S15
VFST ZFI& & (VFST Series Stem)
VM10-G 1/8, VM27-M5
VEM RF& & (VFM Series Stem) VSH3-M8~VSH3-M50

VFMT &FIE&E (VFMT Series Stem)

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance  Heat
HE BE Eik7 [ [HHEN resistance s resistance (in °C)
T &N BT
SI: Translucent 50 et R R R 400 220 Translucent

Silicone  HERARER

CRG

FiEH




IREZSAFRF (B¥=) Vacuum Cups SAF Series
TN&E : A8, BEH. BOK ( SRATEERS  WIBSRK )

Functions: anti-skid, oil-proof and water-proof (mostly used for adsorption of automobile sheet metal, glass, etc.) %@E
G1 G1 N
X
o
 I— " J g H °
2
| 2
| Dmax(S) | Dmax(S) BAS
SAF..-AG(SMNF R3£) SAF..-IG(RF R B
Q.
S Ao fEy REAS Dmax(S) Gl H LG1 3
(Model) (N) (N) EWRE(mm) (mm) (mm) (mm) (mm)
1.Y13010 SAF-30-G3/8AG 38 30 4 34 G3/8-M 20 10 179
1.Y13011 SAF-30-G3/8IG 38 30 4 34 G3/8-F 36 9 43¢
1.Y13012 SAF-40-G3/8AG 69 52 4 46 G3/8-M 22 10 199 Eg
1.Y13013 SAF-40-G3/8IG 69 52 4 46 G3/8-F 38 9 45¢g :’:
1.Y13014 SAF-50-G3/8AG 100 80 4 56 G3/8-M 28 10 409 g
1.Y13015 SAF-50-G3/8IG 100 80 4 56 G3/8-F 28 15 31g =
1.Y13016 SAF-60-G3/8AG 150 105 6 67 G3/8-M 31 10 469
1.Y13017 SAF-60-G3/8IG 150 105 6 67 G3/8-F 31 15 379 *Q
1.Y13018 SAF-80-G3/8AG 272 205 6 89 G3/8-M 35 10 659 %%
1.Y13019 SAF-80-G3/8IG 272 205 6 89 G3/8-F 35 15 569 He
1.Y13020 SAF-100-G3/8AG 430 310 6 110 G3/8-M 36 10 769 °
1.Y13021 SAF-100-G3/8IG 430 310 6 110 G3/8-F 36 15 679
1.Y13023 SAF-125-G3/8IG 660 475 9 135 G3/8-F 43 15 1469
5z
oz
IRFZSAOFZ&F (BI¥F) Vacuum Cups SAOF Series %%
TRE < BIB. B BOK ( SRTRERS  RHSHRN)
Functions: anti-skid, oil-proof and water-proof (mostly used for adsorption of automobile sheet metal, glass, etc.)
; |E. LG o1 LG %g
. 2 H3
= - "
. SAOF...-AG(9hF &%) SAOF...-IG(REF &%)
wH WA Mz
(N)” (N)” 2
1.Y13024 SAOF-50x16-G3/8AG 31 24 4 18 G3/8-M 26 8 52 249 ‘<i
1.Y13025 SAOF-50x16-G3/8IG 31 24 4 18 G3/8-F 34 9 52 45¢g E
1.Y13026 SAOF-60x23-G3/8AG 57 37 4 25 G3/8-M 18 8 64 21g §
1.Y13027 SAOF-60x23-G3/8IG 57 37 4 25 G3/8-F 26 9 64 429 g
1.Y13028 SAOF-90x30-G3/8AG 122 96 4 34 G3/8-M 19 8 94 399
1.Y13029 SAOF-90x30-G3/8IG 122 96 4 34 G3/8-F 27 9 94 60g
1.Y13030 SAOF-80x40-G3/8AG 140 110 4 43 G3/8-M 20 8 85 349
1.Y13031 SAOF-80x40-G3/8IG 140 110 4 43 G3/8-F 28 9 85 55¢g
1.Y13032 SAOF-100x50-G3/8AG 217 181 6 54 G3/8-M 22 8 106 639
1.Y13033 SAOF-100x50-G3/8IG 217 181 6 54 G3/8-F 31 9 106 85¢g
1.Y13034 SAOF-120x60-G3/8AG 312 254 6 65 G3/8-M 24 8 128 779
1.Y13035 SAOF-120x60-G3/8IG 312 254 6 65 G3/8-F 33 9 128 99¢g
1.Y13037 SAOF-140x70-G3/8IG 425 344 6 76 G3/8-F 34 9 149 1079



IREZZSABZRF (ENEZ/2E) Vacuum Cups SAB Series

TheE : Boig. oA, BOK ( SRTFRERE  KIBZRM )
%’%E Functions: anti-skid, oil-proof and water-proof (mostly used for adsorption of automobile sheet metal, glass, etc.)
2 D1 D1
M G1 G1
e [ LG l‘—’l
‘%; ! :ﬂ | LG
g Q{ "
_I’
— H
3z
IS v
Zﬁg Bmax(s) | f Dmax(S)
< SAB...-AG(9hoF R4%) SAB...-IG(AFRE)
A ity MAn BEAET Dmax(S) Gl D1 H LG1 i
N ()Y (N? BRZE(mm)  (mm) (mm)  (mm) (mm) (mm) (Weight)
1.Y13038 SAB-22-G3/8AG 16 24 18 4 24 G3/8-M 22 25 10 15¢g
Eg 1.Y13039 SAB-22-G3/8IG 16 24 18 4 24 G3/8-F 22 41 9.5 41g
5 1.Y13040 SAB-30-G3/8AG 22 33 30 4 34 G3/8-M 32 28 10 19¢g
§ 1.Y13041 SAB-30-G3/8IG 22 33 30 4 34 G3/8-F 32 44 9.5 459
2 1.Y13042 SAB-40-G3/8AG 38 59 36 4 45 G3/8-M 32 28.8 10 20g
1.Y13043 SAB-40-G3/8I1G 38 59 36 4 45 G3/8-F 32 44.8 9.5 459
é g 1.Y13044  SAB-50-G3/8AG 53 87 55 4 56 G3/8-M 40 36.9 10 41g
" g 1.Y13045 SAB-50-G3/8IG 53 87 55 4 56 G3/8-F 40 36.9 15 32¢g
1¢§ 1.Y13046 SAB-60-G3/8AG 82 130 82 6 67 G3/8-M 48 41.3 10 49g
1.Y13047 SAB-60-G3/8IG 82 130 82 6 67 G3/8-F 48 41.3 15 40g
1.Y13048 SAB-80-G3/8AG 135 221 145 6 89 G3/8-M 64 49.9 10 729
1.Y13049 SAB-80-G3/8IG 135 221 145 6 89 G3/8-F 64 49.9 15 639
=x 1.Y13050 SAB-100-G3/8AG 190 357 220 6 110 G3/8-M 7 56.6 10 97g
éﬂ.__;z‘ 1.Y13051 SAB-100-G3/8IG 190 357 220 6 110 G3/8-F 7 56.6 15 88g
8y
ﬁ?’j 1.Y13052 SAB-125-G3/8AG 250 558 352 9 135 G3/8-M 94 67.8 10 179¢g
1.Y13053 SAB-125-G3/8IG 250 558 352 9 135 G3/8-F 94 67.8 15 170g
IREFZSAOBEY (RNEXKFEY/2E) Vacuum Cups SAOB Series
ms DR DO WL BK (SETRERS  RBERN)
;E < Functions: anti-skid, oil-proof and water-proof (mostly used for adsorption of automobile sheet metal, glass, etc.)
“H3
1¢§
J— |'ﬂ,| LG1 G LG1
Bt 2 £ .
14:% EEEEA |
o SAOB...-AG(4NF &) SAOB...-IG(RF &)
3
o
o

WA hBi7 @A HEEEST Bmax(S) Lmax(S) Gl H LG1 =
(Model) N ()Y (NP BRZEmm) (mm) (mm) (mm) (mm) (mm) (Weight)

1.Y13054 SAOB-60x30-G3/8AG 38 70 73 4 33 63 G3/8-M  27.0 8 499
1.Y13055 SAOB-60x30-G3/8IG 38 70 73 4 33 63 G3/8-F  35.0 9 709
1.Y13056 SAOB-80x40-G3/8AG 65 132 153 6 43 83 G3/8-M  29.7 8 679
1.Y13057 SAOB-80x40-G3/8IG 65 132 153 6 43 83 G3/8-F 37.7 9 88g
1.Y13058 SAOB-110x55-G3/8AG 110 234 299 6 59 114 G3/8-M  35.5 8 879
1.Y13059 SAOB-110x55-G3/8IG 110 234 299 6 59 114 G3/8-F 43.5 9 109¢g
1.Y13061 SAOB-140x70-G3/8IG 165 355 473 6 75 146 G3/8-F 47.5 9 142g

o



R#2FE Vacuum Cup Fitting

BISKRRAE

. H
Model representation methods VM - [G14 *Zfif
—_ —— Bz
B 5
g
EY ] ¥BF R~ Thread dimension
Series B2 NO M5 M8 G1/8 G1/4
=z
2
Elﬂ
-
R 53 2
Vacuum Cup
Fitting
'H&Q
iy
©13.50 a)
R ] 2[ %o
Dimension — A 5350 L Eg
A 7 G1/4 Q
) gm Zgg_
N\ =
. 7
55 (PN) 7.Y00703 7.Y00709 7.Y00768
5z
B 5 (Model) VMO02-G18 VM04-G14 VMO06-G14 oz
BY O
72T
& 8 (Weight) 3.59 7.0g 9.7g Zh
BS
IR a3
Vacuum Cup g
Fitting >
@10 A ’—> '
ST i
$6.80 : Mtjﬁ
v e
~ " A
N R_-r' | ©4.20 A ] S
Dimension TR i 3
&)-
BS(PN) 7.YO0767 1.Y05275 1.Y05274
B4-5(Model) VMO07-G18 VMO08-M8 VMO09-M5
E & (Weight) 3.3¢g 8.3g l.4g

C=G




MRS . X

aqnL SNS - 3|140.d

HEE S A

9|NPOIA SIUd1S

SR

Jabueyd }dIND

Frm

a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

k& FE Vacuum Cup Fitting

=] 1BF R~ Thread dimension
Series B2 NO M5 M8 G1/8 G1/4
liis] .
R AR (
Vacuum Cup .
Fitting ( ,
A |—> o7 4
R
Dimension W L o270
HE(PN) 7.Y00902 1.Y05327 1.Y12762
E5(Model) VM10-G18 VM11-M5 VM11-G18
B E(Weight) 3.79 2.0g 2.59
W, 52 FE
Vacuum Cup
Fitting
A ’—> ﬁo N ’—>
7 ? . 4
RY ;
Dimension | ‘% A le 20
A Lo 02 ‘ M5
Al
7 E} .
N~ 7 L
5S(PN) 7.Y00762 7.Y00761 7.Y00760
E5(Model) VM12-M5 VM13-M5 VM14-M5
B E(Weight) 1.29 0.79g 0.5¢g

o




R#2EE Vacuum Cup Fitting

VM

7z _ | ¥BF R~ Thread dimension
Series HE NO. M5 M8 G1/8 G1/4
I £2
Vacuum Cup
Fitting
m ®7.5§
©9.60 L] ®6
RY % °°Q
i i ‘ 4 ‘ ‘ ®3.50|
Dimension GQ)”# ] -~
BE(PN) 7.Y00759 7.Y00758 7.Y00757
ES(Model) VM15-G18 VM16-G18 VM17-G18
B8 (Weight) 17.8g 3.89 2.99
p
R f( 8
Vacuum Cup A/@
Fitting oy
A 6.7 -
— | 1 o7.50
$4.50
R [RE |
Dimension A 0280 [ 11| cua
M5
HS(PN) 1.YO5314 4.Y00058 1.Y01986
E45(Model) VM18-M5 VM20-G14 VM21-M5
EE(Weight) 4.69 9.5g 1.8g

C=RG

B3y | FhE

agnL SNS . 3|1401d

A M

S|NPOA SIUBIS

S SR

J9bueyd 3oInd

T K
a|npo\ diug

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

236




R#FE Vacuum Cup Fitting

MRS . X

2qnL SNS . 3|!40id

HEE S A

9|NPOIA SIUd1S

SR

Jabueyd }dIND

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

VM

E ]

Series

¥EF R~ Thread dimension
M5 M8 G1/8 Gl/4

R 52 2
Vacuum Cup
Fitting
A M5,
A !_> ¥ "r;« v pa |
g e R
R< = A Ams $2.10 § o @
Dimension Mo 1 Jm_g -
3 A G1/8 ‘
RS (PN) 1.Y05790 7.Y00900 7.Y00898
B 5 (Model) VM22-M5 VM23-G18 VM24-G18
E & (Weight) 2.99 8.99 5.59
R 2% B 2N %
Vacuum Cup . & .
Fitting i %
[ oy
A= °‘izo — 211.00 A
% %2 ) u%u
RTJ' - ¢4
Dimension | | P
Lo | Jot]_]| M5
— {buircad!
<‘ -
N~ 7 L
5S(PN) 7.Y00928 1.Y01097 7.Y00475
B S (Model) VM25-M3 VM27-M5 VM28-M8
E&(Weight) 0.29 6.29 1.99

CRG




k&2 FE Vacuum Cup Fitting

g5 _ | ¥R~ Thread dimension
Series B2 NO. M5 M8 G1/8 G1/4
Ny £2 EE
Vacuum Cup
Fitting
RY
Dimension 1
A
5S(PN) 7.Y01036 7.Y01037 7.Y01038
£S5 (Model) VM29-M5 VM30-G18 VM31-M5
E & (Weight) 1.1g 1.3g 3.89
O £ @ ol
Vacuum Cup 4 : <
Fitting & k
A-A
o 310
R~ B ) %
Dimension 1 L
- A G1/8
: @ :% @2
S (PN) 7.Y01039 7.Y01040 7.Y01041
E5(Model) VM32-G18 VM33-M5 VM34-G18
E#(Weight) 4.1g 4.0g )

C=RG

B3y | FhE

d9qnL SNS - 3!404d

S R

3|NPOA SIUdIS

S SR

J9bueyd 3oInd

T K
a|npo\ diug

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

238




k#2FE Vacuum Cup Fitting

i)
T
- VM -
ok — —
=2
o
" 5 _ | ¥EF R~ Thread dimension
Series B2 NO M5 M8 G1/8 G1/4
] .
=2
231
1H2
Hs
5 R, £ KB
Vacuum Cup
Fitting
.|~;&,(E)
e
9
% ~
%2 R
=k Dimension .
gE .
e
) . 1 o | :
S (PN) 7.Y01042 7.Y01043 7.Y01044
5% =
IE £S5 (Model) VM35-M5 VM36-G18 VM37-M5
BUYO
Ec kel
7]8 B &(Weight) 3.4g 3.79 4.39
=
z=2
s ma (
= Vacuum Cup ! .
g Fitting (o 6
5 ’ e
AA
By % . FYEn :
e = — )
: - Nk
o ] o g o)
3 R< ¢ % ‘
g Dimension - ” 3 % é E‘
3 A $2.80
" '
4.50 -
S (PN) 7.Y01045 7.Y01046 7.Y01047
E5(Model) VM38-G18 VM39-M5 VM40-G18
EE 8 (Weight) 4.7g 2.6g 4.0g

CRG




k&2 FE Vacuum Cup Fitting

E ]

Series

¥R~ Thread dimension
M5 M8 G1/8 G1l/4

B3y | FhE

d9qnL SNS - 3!404d

R £ R
Vacuum Cup
Fitting

e NEX o

S R

3|NPOA SIUdIS

RY

Dimension

G1/4,

G1/8

S SR

Jebueyd }dInd

T
a|npo\ diug

BS(PN)

A5 (Model)

=& (Weight)

7.Y01048
VM41-G14

149

7.Y02013

VM10-G18-F

5.79

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

c=G




ke Bk Vacuum Cup Connector

0 o — e
wy BISREDE
M3 Model representation methods
B J—
B HNZF F-Female
Series ShNF M-Male
77,%? QG?F?EE -Elhr&—an dimension IBF R Thread dimension
a2 /8 Gl/ W F-Female M5 M8 M10
e HNF M-Male
REEE
foo sl
Hag Vacuum Cup
S Connector
&
M10*1.25
Sy i M5
F9 A ——
53 I
/s E
He
° R _
Dimension wg:/z
sz ( )IE
wz
73 :
Zh E2=1GIN) 7.Y00808 7.Y00756 7.Y00755
B S (Model) VM-G18M-M10M VM-G14M-M10M VM-G18M-MS5F
B8 (Weight) 4.5g 4.7g 2.99
Hs
48 3
1¢§
g BiEsa «
sk . :
Vacuum Cup ’/"//{“’ % }
By & Connector & ey .
2
3 A . M8 o M8 G1/8
) — A A
-§ = =
S - o e
R ﬁﬁ - I -
Dimension A ea | 1 ) A 2.5 N v25q1 ]
) G1/8 <% - M L, , M5
| ' 7 L ' 7 L
S (PN) 7.Y00754 7.Y00473 7.Y00474
ES(Model) VM-G18M-M8F VM-M5M-M8F VM-M5M-G18F
B &(Weight) 6.29 5.69 4.99

CRG




k#E e BiEiEsL Vacuum Cup Connector
BSERTRHIE

s
Model representation methods m3
VM - - g
75 | NF F-Female
Series SheF M-Male
¥BFR~ Thread dimension ¥BF R~ Thread dimension ,%?
G1/8 G1/4 M5 K F-Female M5 M8 M10 %az'
SNF M-Male 83
kEEE
ek e
Vacuum Cup ‘ #ag
Connector . '.1.,/ ;r,
» = - %9
E_'c
e HE
: e e
R ? é ?
Dimension A eso | |
AT | ™
@O a2
N/ oz
B2
BEE(PN) 7.Y00476 733
BI-S(Model) VM-G14M-M8F
E=(Weight) 6.79
B
H3
ﬁ=§
S
e
3
o
3

CRG Ly



BEFREEH Vacuum Cup Suspensions

y ISERAE
Fasl BSERRAi
#Z  Model representation methods VFE [1011] - [Mm5]
5 ©
2¢ =51 AL
= Sori Vacuum Cup Fitting hole for fastening
g eres M5 G1/8
7 B L 2EFRTE
Non Cylindrical type Installation+stroke
T $RFE
T Thread type
3.2%1 yp
=
63
®me
#®a
o VFR VFN
e
%
E-E
HE
"
VFET VFRT VFNT
sz
%g SN FRET |, XESHTTARFERFRENUE.
712 CRG AR ARMET IZRRFRIT.
Blil—RBIEEXRREERREL.
The suspensions (or buffers, or level compensators) are used to keep the suction cups in position as the robot approaches.
CRG offers a range specifically designed for Plastics applications.
Bs They are typically mounted on EAOTs (End Of Arm Toolings)with Mounting brackets.
EEg b N e
E B ERNEMG IR E RIS
1¢§ Suspensions with smooth body Suspensions with threaded body
g ] VFRT
? VFN = VFNT
VFE > D VFET
B %
H2
o
B &
3 EAJ e S BT e B
g Non-rotative suspensions Rotative suspensions
’ !
VENT VFRT
VFET
3, =

Rl CRG



EeJiEsE 214 Non-rotative Suspensions

AR PR R Body and rod in anodized aluminum. it
BEBREENNIETTIEET. Non-rotative rod with high load capability. *Ze:?h
E£/58E : -1~ 8bar, . Pressure range: -1 ~ 8 bar. -
me
S
g
H
_+ _ _ - — + @
2
o 1% 2
F E 17128 D éH§
Stroke S c
N | T
= (
N T b
w > Bre
e
2
55(PN) EE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g) E
8.Y00064 VFN1011-M5 M5 M5 @10 10 22 17 8 60 11 79
8.Y00321 VFN1021-M5 M5 M5 210 10 41 17 8 89 21 11g %o
8.Y00065 VFN1421-G18 G1/8 G1/8 @14 12 40 20 12 93 21 249 E%
8.Y00322 VFN1436-G18 G1/8 G1/8 214 12 60 20 12 128 36 449 ZE§
8.Y00066 VFN2026-G18 G1/8 G1/8 @20 15 50 21 16 112 26 54g {q:%
8.Y00067 VFN2051-G18 G1/8 G1/8 @20 15 84 21 16 171 51 80g
H 52
> > g
ks
712
78S | D
Stroke S
'S
| ( ﬁé
N N —— n 2
w - oy
BRE(PN) #EES(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g) I}ﬁﬁ
8.Y00068 VFNT1011-M5 M5 M5 M10*1 10 22 17 8 60 11 129 L
8.Y00323 VFNT1021-M5 M5 M5 M10*1 10 41 17 8 89 21 39g 3
8.Y00204 VFNT1421-G18 G1/8 G1/8 M14*1 12 40 20 12 93 21 51g g
8.Y00383 VFNT1621-G18 G1/8 G1/8 M16*1 12 40 20 12 93 21 649 3
8.Y00324 VFNT1436-G18 G1/8 G1/8 M14*1 12 60 20 12 128 36 729 ]
8.Y00384 VFNT1636-G18 G1/8 G1/8 M16*1 12 60 20 12 128 36 769 @
8.Y00205 VFNT2026-G18 G1/8 G1/8 M20*1 15 50 21 16 112 26 82g
8.Y00206 VFNT2051-G18 G1/8 G1/8 M20*1 15 84 21 16 171 51 120g

CRRG ¥



B3y |, A

aqnL SNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

245

oJhEsk 214 Rotative Suspensions

FEURFOFF AR B HI AL . Body and rod in anodized aluminum.
A hERtT. Rotative rod.
EJ358E : -1 ~ 8 bar, Pressure range: -1 ~8 bar.
H
I\ - {O _* >
F E TS
{Sjl-rfis D’
S ~3 ' :
I 1
v < ===
M5RTER Gl/81EE
M5 is blue G1/8 is black w >
5H5(PN) BF(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)
8.Y00060 VFR1011-M5 M5 M5 @10 3 22 17 8 53 11 11g
8.Y00325 VFR1021-M5 M5 M5 @10 3 41 17 8 82 21 17g
8.Y00061 VFR1421-G18 G1/8 G1/8 @14 12 40 20 12 93 21 23g
8.Y00326 VFR1436-G18 G1/8 G1/8 @14 12 60 20 12 128 36 409
8.Y00062 VFR2026-G18 G1/8 G1/8 220 15 50 21 16 112 26 50g
8.Y00063 VFR2051-G18 G1/8 G1/8 220 15 84 21 16 171 51 779

,

(7

M5RIEE
M5 is blue

Gl/8HEE
G1/8is black

3\\

Il
]

|

i

I

I
_

HHH\

il

I

1718S

Stroke S

74—

a=1GA\)) Bl 5 (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)
8.Y00074 VFRT1011-M5 M5 M5 M10*1 3 22 17 8 53 11 149
8.Y00327 VFRT1021-M5 M5 M5 M10*1 3 41 17 8 82 21 269
8.Y00075 VFRT1421-G18 G1/8 G1/8 M14*1 12 40 20 12 93 21 32g
8.Y00381 VFRT1621-G18 G1/8 G1/8 M16*1 12 40 20 12 93 21 369
8.Y00328 VFRT1436-G18 G1/8 G1/8 M14*1 12 60 20 12 128 36 60g
8.Y00382 VFRT1636-G18 G1/8 G1/8 M16*1 12 60 20 12 128 36 659
8.Y00076 VFRT2026-G18 G1/8 G1/8 M20*1 15 50 21 16 112 26 709
8.Y00077 VFRT2051-G18 G1/8 G1/8 M20*1 15 84 21 16 171 51 1049
Cc=G



NS ENIET 21 Non-rotative Suspensions With Integral Elbow Arms

BJ7E 0° F1 +/-90°Z AARHTIS B AE. Itis possible to set continuously the angle between 0° and +/-90°. it
SNBSS, External air feeding. =
RO PRR B R. Body and rod in anodized aluminum. %N\ »
BEEREENIYIERTERIT. Non-rotative rod with high load capability. gég
ESERE : -1 ~ 8 bar, Pressure range: -1 ~ 8 bar. <
H
> N >
G I ;}%‘, oA
N + gz
W =
Ly RIS &3
SN—” _I_I‘ %
‘ F 1718S D
O Stroke S
=i
e >
D e
] 0

J9bueyd 3oInd

£E(PN) B8 (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)

8.Y00070 VFE1011-M5 M5 M5 @10 20 8 22 8 53 11 12g £
8.Y00371 VFE1021-M5 M5 M5 @10 20 8 41 8 81 21 l6g %;
8.Y00071 VFE1421-G18 G1/8 G1/8 a14 32 14 40 14 93 21 45g Z¢§
8.Y00372 VFE1436-G18 G1/8 G1/8 214 32 14 60 14 128 36 48g o
8.Y00072 VFE2026-G18 G1/8 G1/8 @20 35 14 50 14 111 26 70g
8.Y00073 VFE2051-G18 G1/8 G1/8 @20 35 14 84 14 169.5 51 105¢g
=z
=z
BUT
) H Ej:’?;
G r~—a-$.
> | S
T
7 sEa), =iec
N - _I'_-
o E fasl o us
£
283
[aN Nl = _ﬁj) {¢§_
==
B
B &
2
RE(PN) IS (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g) 8
8.Y00069 VFET1011-M5 M5 M5 M10*1 20 8 22 8 53 11 15g 701
8.Y00374 VFET1021-M5 M5 M5 M10*1 20 8 41 8 81 21 249 3
8.Y00228 VFET1421-G18 G1/8 G1l/8 M14*1 32 14 40 14 93 21 57¢g g
8.Y00379 VFET1621-G18 G1/8 G1l/8 Ml6*1 32 14 40 14 93 21 649 =
8.Y00375 VFET1436-G18 G1/8 G1l/8 M14*1 32 14 60 14 128 36 80g
8.Y00380 VFET1636-G18 G1/8 G1l/8 Ml6*1 32 14 60 14 128 36 859
8.Y00229 VFET2026-G18 G1/8 G1l/8 M20*1 35 14 50 14 111 26 88g
8.Y00230 VFET2051-G18 G1/8 G1l/8 M20*1 35 14 84 14 169.5 51 1259

CRRG P



e EERIETIEESEH Non-rotating suspension for fixed piping

MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

247

7= >R FAPRR SR I Al
NEREEREE,
RERFEINEERESN |,
ERE=HSEENRIT.

The product is made of anodic aluminium.
Built-in anti-rotation plastic piston.
Built-in telescopic function of spring reset,
tail vacuum intake fixed design.

1118S
|[ Stroke S B
\ - _
-
’G —
h T ik
-
.‘~\ E G
\\\
o) Ol
= — 7]
| | |
LA 2777
H
555 (PN) #S(Model) A B C D F G H I J S Weight(g)
8.Y00313 VFC2030-G18 G1l/8 G1/8 13 ®20 8 85 40 133 18 12 30 60
1718S
Stroke S B
i —+ A
G
: o
rz9)
|
7 7
S (PN) #E(Model) A B @ D E F G H I J S Weight(g)
8.Y00277 VFCT1620-M5 M5 M5 ®8 MI16X1.0 5 69 26 100 @145 7 20 42.7
8.Y00314 VFCT2030-G18 G1/8 G1/8 ®13 M20X1.0 8 85 40 133 @18 12 30 80

C=G



SRMIE£E The Adsorption Of Pneumatic Fittings

E f——
Fid ]
ZE
Y Fempmes e
Pneumatic Cylinder Motion Air Inlet % ‘f'
D S
11%2S
Stroke S
%g
2
Elﬂ
H Zﬂi
| IRFEHS
sorption Air Inlet 'H& ?
23
A RERERSE o
Suction Cup Fitting Assembly o
g
#HE(PN) EE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) H(mm) I(mm) S(mm) Weight
8.Y00207 VFG20-10 M5 ©20 P12 19 18 M5 50 M5 10 359 9
8.Y00337 VFG20-20 M5 20 ®12 19 18 M5 65 M5 20 459 252
8.Y00338  VFG30-20 G1/8 ®30 20 27 27 G1/8 72 G1/8 20 709 ﬁ:g_
Wk Mf& B Double action adsorption fittings
5z
iz
L]
712
) AERk
ensors can be installed
’ _ - f\\/:
Absorption Air Inlet
L G P
: 78 g3
S| . Tc
o #H3
o #Fg
o [ o
l‘_ ']
r ¢ =N ™~ AR - o o &
. I I
4 N o [ N\« e
LI I g
25 <
S
36 g
B 3
-
& o @
h A WL P 22 A
Suction Cup Fitting Assembly
tR5(PN) BlZ(Model) A B @ D E F G H I J K ) Weight

8.Y00451 VFGD30-20 G1/8 @20 27 27 G1/8 32 ®30 95 M5 40 M4 20 198.2¢g

CcG



kE£E Suction Stems

BSRFHZE

iTh
#Z  Model representation methods
2
o - |20 M10| - [M5]
VFRS - [20]  [MI0]
TR ERE R 4T
51 Vacuum Cup Fitting hole for fastening
Series M5 G1/8
b ;
231 1772 Stroke RERY
*E% Installation size
Hs M10 M17
” G F 1712S E
Stroke S >
] E‘HHIH — +
o gls)| =
e
e)
& -
? [ =~ >
{
;%0 [N} (AN}
g3 H
BE
He £E(PN) = (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)
® 4.Y00026 VFRS-20M10-M5 M5 M10*1 M5 14 7 36 10 73.5 20 279
4Y00023 VFRS-20M16-G18 G1/8 M16*1 G1/8 21 4 36 15 77 20 769
s>
3z ;
B3 G F
713 £
(0]
® o Lol gme |\
Eg roke
283
=
ﬁ:g R8E(PN) #E(Model) A(mm) B(mm) C(mm)D(mm) E(mm) F(mm) G(mm) H(mm) I(mm) S(mm) Weight(g)
& 1.Y01452 VFM-4014-G18 @14 G1/8 G1/8 25 14 20 16 100 220 40 489
1.Y01451 VFM-2020-G14 @20 G1l/4 G1/8 48 15 26 22 113 @27 20 1369
B
a3

sjuauodw o) A10ssa20Y

|
==

£55(PN) #S(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm)  G(mm) Weight(g)

1.Y01453  VFL-20M17-G18 20 M17*1 G1/8 27 64 20 G1/8 119¢g

Cc=G



kE£E Suction Stems

E %ﬂg
L7 @) o isnn: | 3 CRE 2z
% ~ F i _* B
o
~{{€r‘b¢f F s D ®
'{ kh&-‘t;\ A Stroke S A
% ! |
R, N < A
> N & .42 ot # § g =T g o
X p o ¥ZJ T3
e o T =
\j s zam gy vy Mé_%n Zﬂg_
B 5
S (PN) #S(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) I(mm) S(mm) Weight(g)
8.Y00319 VFMT-20M14-G18 G1/8 G1/8 M14X1.0 40 22 49 14 109 38 20 979
8.Y00320 VFMT-40M14-G18 G1/8 G1/8 M14X1.0 40 22 64 14 144 50 40 123¢g o
e
2
G., F L 1TE8S | E _, Y
Stroke S ‘g
%2
B
REEEES S mE
Removable spring 7 g_
A #Fg
. Q2 Q 12 0 8 R 4N e
| l
R L
o WV > e
5z
. &z
S
£5S(PN) #IE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) I(mm) S(mm) Weight(g) 738
8.Y00409 VFHT-30M20-G38F-G18M G1/8 M20*1 G1/8 27 20 65 15 130 G3/8 30 2609
*REE B MERR, FTAEASZHIE I NTN-18N, REWHER, Frac A= MEIH60N-150N
*When installing asingle spring, the pressureitcan bearis 7N-18N. When installing the double spring, the pressure that can bearis 60N-150N.
<
G F _ 78S E %5
Stroke S QH:
ZH3
#Fg
% Removable spring }
A
) B &
* : 8RB RL ! {¢§
iy / ’ 5555 B C ~<9‘
© > | &
H 2
S
=G\ S (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) I(mm) S(mm) Weight(g) “

8.Y00410 VFH-30M20-G38F-G18M G1/8 @20 G1/8 22 20 65 15 130 G3/8 30 235¢g

*RIL P MER, FTAEASZHIEIATN-18N, REGHE, FraE A HEIH60N-150N
*Wheninstallingasingle spring, the pressure it can bearis 7N-18N. When installing the double spring, the pressure that can bear is 60N-150N.

.



kE£E Suction Stems

%g BSRRFE
= Modelrepresentation methods
mea VES |T| - |30 M10
=Y -
d I M 82F R
2 __ M Thread type
Series . ‘
" 7 El#E2 Non Cylindrical type 17#2 Stroke
7%,;,; T #EFEIT Thread type
<2
1= 2
Hs
H
D=2
. ARAAARRNR
e 3 “I@ﬁ\ i WY, jI?
5 If eQ C Sf_I'OuesS L
% % i H
ARAAAMAR
%2 s H—
H VFST VFs XS o
e - B —E—
5 c
> £35S (PN) #I5(Model) B(mm) C(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)
g:- 8.Y00283  VFST-5M10 M10*1 18 5.5 a7 @3.4 49 5 l4g
%5 8.Y00284  VFST-10M10 M10*1 18 5.5 o7 @3.4 54 10 159
e 8.Y00285  VFST-20M10 M10*1 18 5.5 @7 @3.4 64 20 159
8.Y00286  VFST-30M10 M10*1 18 5.5 o7 @3.4 74 30 169
8.Y00287  VFS-0508 @8 18 5.5 27 @3.4 49 5 9g
8.Y00288  VFS-0512 @12 18 5.5 o7 @3.4 49 5 139
8.Y00289  VFS-1008 28 18 5.5 o7 @3.4 54 10 9g
Hs 8.Y00007  VFS-1012 @12 18 5.5 o7 @3.4 54 10 l4g
=f 8.Y00290  VFS-2008 28 18 5.5 o7 @3.4 64 20 10g
ﬁg 8.Y00008  VFS-2012 @12 18 5.5 a7 @3.4 64 20 l4g
g 8.Y00291  VFS-3008 28 18 5.5 @7 @3.4 74 30 119
5 8.¥00292  VFS-3012 @12 18 5.5 a7 @3.4 74 30 159
8.Y00293  VFMT-5M12 M12*1 18 9 211 @4.6 52.5 5 20g
8.Y00294  VFMT-10M12 M12*1 18 9 211 4.6 57.5 10 21g
N 8.Y00295  VFMT-20M12 M12*1 18 9 @11 @4.6 67.5 20 22g
5‘1’15 8.Y00296  VFMT-30M12 M12*1 18 9 211 @4.6 77.5 30 24g
g 8.Y00297  VFM-0512 @12 18 9 211 24.6 52.5 5 159
2 8.Y00298  VFM-0520 @20 18 9 211 @4.6 52.5 5 29g
o 8.Y00299  VFM-1012 @12 18 9 211 4.6 57.5 10 169
3 8.Y00300  VFM-1020 @20 18 9 211 @4.6 57.5 10 29g
z 8.Y00301  VFM-2012 @12 18 9 211 @4.6 67.5 20 189
g 8.Y00302  VFM-2020 @20 18 9 211 @4.6 67.5 20 31g
8.Y00303  VFM-3012 @12 18 9 211 4.6 77.5 30 199
8.Y00304  VFM-3020 @20 18 9 211 4.6 77.5 30 32g

el CRG



B4R VUVG-LK &= & Solenoid Valve VUVG-LK
EAETLIE VUVG-LK,24VDC, S iEmaH2 ‘ 50, 5KERHS

Fidjed
Single pipe valve VUVG-LK,24VDC, Inner leader H2 Junction box W|thO 5m cable S
14 2 - »
= T %@ Bt
2
SN WA %) g
s5M] 13
M52, BAIE , Bt
el |, S8R TR (—8101)
M52 Two-position five-way accessory @
single electronic control air reset seal a pack of ten P2 :f,
L13 Zﬁ s
L14 L4 §
] {
Q E[ 1 @ < -
L9 X L10 |
e :I«*g
LS D2 L3 — o
L8 |- L12 KO FRa 2
horizontal electrical inferface manual buttorn Q
£2(PN) #AE(Model) Bl D2 H1 H3 L8 L9 L10 L11 L12 L13 L14 W®&ESH
1Y06040  VUVG-LK14-M52-AT-G18-1H2L-S 14.4 3.3 34.8 3.2 401 37 665 184 149 17 248 956 944 177 660 %o
14 4 2| 12 i’% [z
va AN | AR A= 33
sl1l I3 ®
B52, PRI , SNz B4
B52 Two-position double EHE (—8101)
electronic contral accessory
seal a pack of ten = >
L2 32
, #z
LS L4 %§
= "
F =
] ks L10
D Dz ———
L1 B
KPEEED (3] Fasmd g
horizontal electrical inferface E manual buttorn %Ez
£RES(PN) 2 (Model) Bl D2 H1 H3 L1 ) L9 L10 L11 #ESH 2
1Y06288  VUVG-LK14-B52-T-G18-1H2L-W1-S 144 33 348 3.2 1189 1164 40.1 37 39.7 66.5 184 149 17 248 660 oy
6-G1/4 . 17 16:0.2{1
4 - 4-24 58 [ &
- ° ™) 4-24.5 through
S e ® - @ Bz
. e DU N =
N/ ; - | >p-o-17 3 & g
- o - iz, @D b b 8 9
'a- e -. . 4 4-M2.5X0.453%6 ® & -g
e ® 4-M2.5X0.45Depth6 >
e ' \‘e ® 3
! L+0.02
. P
HEPN) 1.Y06289 1.Y06290 1.Y06291 1.Y06292 1.Y06293 1.Y06294 1.Y06042 1.Y07453 1.Y06295
HE(Mode) VUVGL/B-LK-2F  VUVGL/8LK-3F  VUVGL/8-LK-4F  VUVGL/8-LK-5F  VUVGL/8-LK-6F  VUVGL/8-LK-7F  VUVGL/8-LK-8F  VUVGL/8-LK-9F  VUVGI/8-LK-10F
EH(Row) 2 3 4 5 6 7 8 9 10
L 40 56 72 88 104 120 136 152 168
P 50 66 82 98 114 130 146 162 178

1.Y09872 1.Y09873 1Y09874  1.Y09875 1.Y09876 1.Y09877 1.Y09878 1.Y09879 1.Y09880 1.Y09881

B 5 (Model) VUVGL/B-LK-11F VUVGL/8-LK-12F VUVG1/8-LK-13F VUVGL/B-LK-14F VUVGL/8-LK-15F VUVG1/8-LK-16F VUVGL/8-LK-17F VUVGI/8-LK-18F VUVGL/B-LK-19F VUVGI/8-LK-20F

BEE(Row) 11 12 13 14 15 16 17 18 19 20

L 184 200 216 232 248 264 280 296 312 328

P 194 210 226 242 258 274 290 306 322 338 .
252

C=RG



Compact 20CE EEF A48 Compact 20CE Vacuum Generator

B2 BT K428 Vacuum Generator &) valve
7= e . N
R o FREPiab SRE KSR o HTRFINSME o RSREF TR
ﬁﬁg Configure Piab multistage Integrated electric Blowing flow
= = vacuum generator vacuum and blow-off control valve
2 valve
HEZ{EREE Vacuum sensor
" o AR AP RIFERAENETERSE | iEEEmBEETNRA,
;JE § Vacuum sensor with user-friendly interface or reserved vacuum detection
;g a port is optional.
Z
Hg . B
£ BRI IKZIT Modular design TR¥EIESL Quick connector
o ZRETKERAIRENER o AJECESmmEE 10mmATRIEREL,
TN , HIEHERREEINEIAR,
The multistage vacuum generator 8mm or 10mm quick connector
'H&KE). can be disassembled, cleaned and can be configured.
i % replaced, and the troubleshooting
3 is simpler.
Q
FEBRLEMERNTAK The wire's length is 2 meters
X2 REPN) B E(Model) HH(Type)
%&g 1.Y13062 |COMPACT 20CE PNP PNP
o 1.Y13063 |COMPACT 20CENPN| NPN
5>
#z
S
Jle
Com pa ct20CE ;ﬁ*%ﬁ/Compact 20CE technical parameter
BS
?E% E =K Vacuum technology SR EZT KRS Multistage vacuum generator
frz .
g TESIRES (Mpa) Working air pressure 0.38~0.6
BAETHRE (NL/S) Maximum Vacuum flow 2.4
5z EEESTE (-Kpa) Maximum Vacuum level 84
ﬁ:% #£SE (NL/s) Air comsuption 1.5~2.2
§ T{ERE (°C) Working temperature -5~50
o
o
3 R~ (mm) Size 94x78x30
122 (dBA) Noise level 57-68
EZ[OR~ Vacuum port size G3/8"
/#E (g) Net Weight 370
EZS{E/R488 Vacuum Sensor PNP/NPN
EB#4i® Solenoid Valve NC/NO
THFEINER Power consumption 24V+10% VDC,2W

253

C=G




Compact 20CE Ex k488 Compact 20CE Vacuum Generator

Compact 20CE EZ= R4 REMERSERITE

i
Dimensional drawing of Compact 20CE Vacuum Generator and Sensor S
HEh AN 3
Release Valve 5-$ 45 ia] oA
= w Pressure Sensor
S THe 0
o| y / SIZFD'
L 7 £z
I et
7 I 4 3
mzxcmmum |, 24 |11 59 °
Supgly Vale
2-P53REHE
PEEIL = 1 ==
Supply Port -IJ]— VRO 'U&g
PT1/8 = Vacuum Port s
p=m PT 3/8
/ I I 1 = [ ;3,_
2 Py g R ¥ :
W @ ’ [ |
= L EH
=S | —— T~ "-=== {L.F%
WA S >
e 455 25 235 Flow Control Knob 2.2
30 94
52
Hz
B3
712
30
| N
Pressure Unit M
Display Section 5 4 B B
i rown (+ =
Lock Indicator 2 Color Main Display EZ;Wh't {(0311'2] % 3
: ite z
Qutput 1 Indicator | Selhng Mode ) g
L - Sub-display Section (3)Blue (-) =
/ | \ \, Output 2 Indicator 1 3 (4)Black (OUTT)
A Button Setting W Button
Button \ J iz
e
3
o
3
30 20 2
5 » DC (+) (Brown)
elx | %
- S|l ee | & [UTMBck | e
3 7 =
Sl ouTaqtite) LT 7o sy
s : : - DC (-) (Blue}

CRG pir



B3y |, A

aqnL SNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

255

Compact 10CE £ ET= A4 28 Compact 10CE Integrated vacuum generator

C=G

FEBRLLEME TR The wire's length is 2 meters

5SS (PN) BIS(Model) 2KE(Type)

1.Y13064 COMPACT10E PNP PNP

1.Y13279 COMPACT10E NPN NPN
;ﬁ*%ﬁ/Technical data

W¢BH Description

HEFFHSES] Recommended feed pressure
B S ES] Feed pressure, max.
IRESTEE Temperature range

EE* Weight*

¥

Material

18 NETBERE THIRSELSEE

Noise level range of 1-8 vacuum channels
EE |, E48ZES, Connection, compressed air

i%E#E , EHZ Connection, vacuum

SRR SR T INR
e =R (200C [680°F] + 3°C [5.59F]).

o FRAEKSIE (101.3[29.9inHg] + 1.0 Kpa [0.3 inHg]).
o HEXHEE : 35-85%, TidiEt.
o E4EZESJEE , DINISO 8573-1 class 4 FrifE,

Values specified in the data sheet are tested at:
o Room temperature (20°C [68°F] + 3°C [5.59F])

e Standard atmosphere (101.3 [29.9 inHg] + 1.0 kPa [0.3 inHg])

o Relative humidity: 35-85%, non condensation

e Compressed air quality DINISO 8573-1 class 4 standard

BA(Y Unit

Mpa
Mpa
°C

9

{& Value
0.5

0.7
0-50
74

PA, AL, CuZn, PE, NBR, PC, SS, TPV,
FKM,Steel, Glass epoxy

46-60

@6 HENTVIEREES 96 push-in connector
@6 HENTVIEREES 96 push-in connector

)/IE" EEfGEEHPESHNBL, )Note!Theweightdoes notinclude the cablesthatareincludedin the shipping.

Hﬂ| j*it*/Valve module

EBS1Z&E$ Electrical connection

15888 Description EA{S] Unit {B Value
#EII JLIEE Valve function } ucc v%fﬁ?r:alll\ﬁlgj :I%‘l\'ll‘Cﬂblowing normally closed
FERFEE Supply voltage VDC 24 (21.6 - 26.4)
TR Power w 3.5
N MZA 18] Response time ms <3
BB S1Z&E$E Electrical connection - Supplied cable, Red (+) Black (-)
E?E{g@%ﬁ/Vacuum sensor
15888 Description EB{S] Unit {& Value
FBIREBIE Supply voltage vbC 24 230% Plogueation PP 10% or o
BRI (FSHRER) Current consumption (withnoload) | mMA <40
P Switch output - NPN
Mg RZAT (8] Response time ms <25
I Analog output VDC 1-5+2.5%FS.

JST PAP-05V




Compact 10CE &£t BT A 428 Compact 10CE Integrated vacuum generator

E?Eiizlfa%/Vacuum flow

AL e ARMEE (-kPa) FHIMZSTER (NUs ) BAREE

YT pF:Jmp/nozzIe pump /n%'z(;reper Vacuum flow (NI/s) under different vacuum degrees (-kPa) Max vacuum
Mpa NlI/s 0 10 | 20 30 | 40 50 60 70 -kpa
0.50/0.40 0.23 0.26 | 0.24 | 0.19 | 0.14 |0.088|0.063 [0.045 |0.023 84

;mgﬁﬂgl‘m/Vacuum time

HSENEZR/BRE S0 F/HENSSHER ; s =pet e
vacuum pump/nozzle pump /nozzle umping time to different vacuum (- kPa) Max vacuum
Mpa NI/s 10 20 30 40 50 60 70 80 -kpa
0.50/0.40 0.23 0.40 | 0.87 | 1.49 | 238 | 3.71 | 5.57 | 8.52 |15.44 84

9I‘H§Rq/Dimensions

WtBA Description ER{Y] Unit {& Value
i A mm 1136
1
O; L; : \_@_r__&_ . oD mm P6
I | OE mm »6
I L-M FCE& Configuration {& Value
Q 3 06 NSRS
- @6 push-in connector
I
2
2x @ Ia_“i' 1

1
faTw]
U00U—
3
_ / 0 gﬂ
13.3 oS
[052"] 01331 | =

i:rm@‘%,%/omering information

1tBH Description 7= ER{XHS Product code

B3y | FhE

agnL SNS . 3|1401d

HEE A

S|NPOA SIUBIS

S SR

J9bueyd 3oInd

il oy
a|npo\ diug

ham 2 20301

JaddiN 11y

FrisHHmt

S|NPOIN wWnNNdep

=

syusuodwo?) A10ss8d0y

COMPACTI0E, BEE=RE (micro), Bk , BEIFIHFHEE | NPN, 06 AT,

1iBE, oo IERERS ERNIEER NCEZER + NCIRSER

COMPACTIOE, ultra high vacuum flow (micro), display screen, analog and digital output, NPN, @6 push C10E.T.BB.6.1.6.E).CC
in connector, 1 channel, @6 push in connector, integrated muffler, NC vacuum normally closed + NC

blowing normally closed

CRG




MRS . X

2qnL SNS . 3|!40id

HEE S A

SESE
3|NPOIA SIUdIS

J9bueyd }oINd

3 HE W
a|npo\ diig

JaddiN 11y

b b2 |

FrisHHm

3|NPOIN Wnndep

sjuauodw o) A10ssa20Y

257

VLCLASSIC XI x 2 EzS%&458 VLCLASSIC XI x 2 Vacuum Generator

o B TRERERRA.

e B RAEAERIX 95 -kPa WEZE MEHERE.

o BERTHREETENTSENA.

o KEESEE , JiEft 1 E6 NETREEWEFTE , VLCLASSIC
ALABRR/ N EREMHNARAERSE.

o 215, AIECERIFIRRIGIZIT.

o ST IRENHER.,

e High efficiency and energy saving generator technology.

© The vacuum generating tube can provide high flow rate under the vacuum
degree up to 95 - kPa.

o Suitable for non permeable applications requiring high vacuum.

e Large capacity range, 1 to 6 vacuum tubes can be provided. If necessary,

viclassic can be easily upgraded from smaller capacity to larger capacity.

£2S(PN) #IE(Model) o Lightweight, configurable and modular design.
1.Y13065 |VLCLASSIC XIx 2 o Easy to disassemble and maintain.
*E%i&k/Summary 'IEﬁE/Performance

RAHSED

Feed pressure, max.

YI#l Materiel CuZn, NBR (FKM), PA, SS, Al

0.7 MPa

IE2E5 Noise level 64 — 69 dBA ?gl%?;js%z,joptimum 0.45 MPa
BB Temperature | -10— 80 °C D% S 95 kPa
B8 Weight 5509 S EhE X/ Aerodynamic parameters
TSR EE Mufflerweight| 1209 AIZRZSFH Internal volume 140 cm3

EH % E/vacuum flow (NI/s)

HSED SR E=mE (NI/s) @ 2= E (-kPa) BAETE
Feed pressure  Gas consumption Vacuum flow(NI/s) @ vacuum (- kPa) Max vacuum
Mpa NI/s 0 10 20 30 40 50 60 70 80 | 90 -kPa
0.45 3.66 118 | 6 4 26 [ 146|116 | 0.86 | 0.64 | 0.36 | 0.06 95

HESBY[B)/Exhaust time (s/1)

HSED HEE HESESE) (s/1) E=RE (-kPa) BAETE
Feed pressure  Gas consumption Exhaust time (s / L) Vacuum (- kPa) Max vacuum
Mpa NI/s 10 20 30 40 50 60 70 80 90 -kPa
0.45 3.66 0.011(0.031| 0.06 | 0.11 | 0.19 | 0.29 | 042 | 0.6 11 95

UERATISBARYEE AT T -

Thevaluesindicated in the data sheet can be tested:

C=G

Z Room temperature (200 C[68°F] +3°C[5.50F])
FREASE Standard atmosphere (101.3 [29.9 inHg] + 1.0 kPa [0.3 inHg])
HERTIREE Relative humidity 0-100%

[E4EZSRE Compressed air quality DIN ISO 8573-1 class 4




piINLINE® vacuum generator MINI Si , EZ &4 28 Vacuum Generator

o SKISEFINCOAX®ET LA, %{ 3
° SHEHEXMNBESRE. ﬂjj
c
o (REEBRENRT , FERTESHEETSHEARE M. ‘"é‘.‘c‘:’,
o
o HEARE FRESENRE, ®
o ATFEUNE=RAISIERT.
o FFAERHMEN TS IERERIPIERE ¥ g
2
o BEERRARESH NI, B
ZHo
o Patented COAX® cartridge technology. §
o High vacuum flow capacity in relation to energy consumption.
o Low weight inline design with push-in fittings for vacuum and compressed air.
o Quick and easy installation directly on the hose. o
o Si cartridge for extra vacuum flow. i %
o Pi cartridge for high performance at low feed pressures. §
Q
o Xi cartridge when high flow and deep vacuum is needed. s
’ %2
9|‘H;RT_I'/Dimensions %‘2
‘Ho
A e
% o
@4@3 ; [3.78"] :
— |
1 o . 2
i
: EaAL:ED: - 33
| pE
| E:'-;%
C — 2
#HS0 3’/ HEO 7
6 18 o6
] @ [0.591"] .
®8[5/16"] ®8[5/16"]
B
“H3
= PiINLINE® vacuum generator PiINLINE® vacuum generator H=z
&55 (Model) MINI Si, 6-6 mm MINI Si, 8-8 mm g
55 (PN) 1.Y13066 1.Y13067
E1& Diameter 19 mm (B) 19 mm (B)
By 2
HS OB Air inlet diameter 6 mm (C) 8 mm (C) #ﬁ
o
HEMOER Air outlet diameter 6 mm (D) 8 mm (D) o
3
el
K Length 96 mm (A) 96 mm (A) s
mﬁ/Summary 'Eﬁg/Performance

RS (8B ) £12842188

#E5E Gas consumption 25.7 I/m (.9 scfm) Nl/s

Product number (optional)

1Kl Materiel CuZn, PA, SS, TE#&EK BAHSEN

Feed pressure, max.

0.7 MPa
EH= Weight 2189

.



piINLINE® vacuum generator MINI Si , EZ &4 28 Vacuum Generator

BT E?iﬁ%/Vacuum flow(Nl/s)
7=
%MZ HSED HSE ETRE (NI/s) @2ZE (-kPa) RAETE
= S Feed pressure  Gas consumption Vacuum flow(NI/s) @ vacuum (- kPa) Max vacuum
g Mpa NI/s o | 10| 20| 30 | 4 | 50 | 60 | 70 kPa
0.6 0.44 0.69 | 055 | 042 | 0.28 | 0.23 0.16 | 0.12 | 0.08 75
=7
g§§ ﬂfqﬂ‘jl‘ﬁ]/Exhaust time (s/l)
HSED HRE HESETIE) (s/1) E=E (-kPa) BARETE
Feed pressure  Gas consumption Exhaust time (s / L) Vacuum (- kPa) Max vacuum
tho Mpa NI/s 10 20 30 40 50 60 70 -kPa
23
o) 0.6 0.44 0.16 0.37 0.66 11 14 2.1 31 75
wo  DURRATIEBARIEUERTAITIUA |
Ei Thevaluesindicated in the data sheet can be tested:
HS
fre s o TS (200C[68°F] +30°C[5.5°F])
RS E Standard atmosphere (101.3[29.9inHg] + 1.0 kPa [0.3 inHg])
FEXH B Relative humidity 0-100%
=z
%gz [E45ZSlaE Compressed air quality DIN ISO 8573-1 class 4
e
=
283
=
By &
e
3

syl CRG



BZTfEYH SCPSbZE?%!I Vacuum Module SCPSb Series
FERITHERRETAEBRASMeconozzle R, EAFZRF/ETHI N,

The compact and lightweightintegrated vacuum generator adopts high-efficiency eco nozzle technology, which is suitable for working conditions i} %’
under limited space. 7=
N o
e
P
&
l = MHighlights I LB Advantage
-EXMeconozzlel R ERERERERD, MREEXEES
AFUNIG, MBRARETANER  -EEBNIOTA, TERTEERERS L %8
RERAEN, UBHREEES -EERE ARG, S 2
R - FEBTIME L s
- AIMEDINAR S HIE R EE D CREBR;, WA EETETEREBEL g
AR EE = (IREEME, “IPBYEIEIFRLC, PSR °
-Efficient eco nozzle technology - The compressed air consumption is very small, and the suction rate
-Small size, made of extremely durable plastic is higher
- Optimal fluid structure for efficient vacuum - The deviceis small and durable; it can be directly installed on the
generation handling system O
-Quick-pluginterface “The action cycle is extremely short, the frequency is high FS c
«Connecting port for DIN standard rail connection - Noextra screws required i o
-Opensilencer -Simple installation; can also be installed directly on the distribution box Q
‘Low noise, long maintenance interval, low maintenance frequency 2
Q
o
PEBREEMEK AR The wire's length is 5 meters
+ 0
=+ % =
454 Structure a3
HE
Q.
SEhRSiE 1 =
Pneumatic suction valve o)
HZEFX (SCPSb-VDE!S) TR
vacuum switch (SCPSb-VDmodel) Pneumatic blow valve
52
&z
S
EE=SED J]e
Compressed air connection
FHEE R
Opensilencer
RSB T IRET DINtR SN EREO -
Blow adjusting screw DIN standard rail connector g “'. - E 5
[ - =0
N = o S N Tc
EMRNET X ESCPSh-VDR AR LT BEEMNET R ERSCPShaFRAMLET e
Theintegrated vacuum generator SCPSb-VD adopts a systematic Vacuum can be supplied centrally through the integrated vacuum H=z
design. generator SCPSh. §.
)
FARSE Technical Parameter Wz
= ™ oS %3
2 T w0 EsE miummEs SO REsR Recommende 2 8
Sae : % ' o iy i = IR AR ba = By ZS e . ] a
Blo ad state Absorptio e S
1.Y13276 [ SCPSb-07-S04-NC-VD 0.7 85 16 22 116 61 58 2.6 4 4 0...50 '8
1.Y13277 [SCPSb-10-S04-NC-VD 1.0 85 34 46 116 73 60 2..6 4 4 0..50 §
1.Y13278 [SCPSb-15-5S04-NC-VD 1.5 85 64 59 116 76 65 2..6 4 6 0..50 @

A RESBIYIEN R EASE(ANR)AL01.3kPa, BEMIEESFIA20°CHI65%% 4 TS,
*All flow parameters refer to the parameters under the conditions of ambient atmospheric pressure (ANR) of 101.3kPa,
temperature and humidity of 20°C and 65% respectively

*EHEES[HRE: ARIS08573-1, 3-3-3%, TIEFR(40 um)ETHHAE o
*Compressed air quality: up to 1ISO 8573-1, level 3-3-3, filter grade (40 um) with or without oil.

(1)THEE f4barkl Fo
(1) Working pressure below 4 bar.

.



BETfEYH SCPSbZE?%!I Vacuum Module SCPSb Series

B2
o
*Z% Fim
® o |
e =1
E.; | |
g s B
I | ™ o
o~ ;
7 -
(%) .
=i ® A
?j_;; o
] - £
H g
e i =
£ 8]
— —a —_
ul
=
[Si¥e) =
Be SESE RIE
x Gas circuit diagram Dimensions
>
Q
=]
E
£E¥JS#4  Structural parameters
%9
g3 pre= =
= = =
gﬁi (PN) (Model) B BL d dl d2 d3 H HL H2 H3 H4 H5 L L1 L2 L3 L4 X1 X2 YI V2
ﬁ:% 1.Y13276|SCPSb-07-S04-NC-VD | 18 | 18.6 | 4.4 6 6 2.6 | 77.5| 147 | 40.8 | 47.5| 16.5| 5.5 | 86.2(102.5| 81.4| 22 | 29.5(36.9| 16 | 12 | 12
1.Y13277 [SCPSb-10-S04-NC-VD | 18 | 18.6 | 4.4 6 6 26 (77.5| 147 [ 40.8 | 47.5| 16.5| 5.5 | 86.2|102.5| 81.4| 22 [ 295|369 16 | 12 | 12
1.Y13278|SCPSb-15-S04-NC-VD | 18 |186| 44 | 6 | 8 | 2.6 | 77.5| 147 | 40.8 | 47.5| 16.5| 5.5 | 86.2|102.5 81.4| 22 | 295|369 16 | 12 | 12
=x
oz
BUT
Ec kel
712
BS
z=2
f=
#H3
=
Q.
j=
a
I %
e
8
<
0
o
3
o
=3
o
=

gl CRG



I/0#&4H I/O Module Signal Boxes

>,
51315 B8 By
. L. 7=
Structure description %~“2
M
SMNBEENES 1-8, £ 84H, 24VX1,0V g9
Outside input signal 1-8,A total of 8 sets, 24V, X1,0V g.
o
T |E FBREEA DC24V SE—{ESh "
| IR SIS X1-X8 oA
. O% Power input DC24V/ gir’rjgle signal output, za %
n Correspond to X1-X8 e
8 (A ERELR T respectively /g §
YPN:OV #iH YNP:24V i o
NO: EFiadi COM o
- NC: B
[ ] ) : [ ] 8 sets of tandem output types
e . YPN:0V output YNP:24V output
£ T b = NO: normally open output, COM
IS | £ NC: normally closed output
o~ 3 _,l' <t :I* e
< SR, ) c
: ¢ e
sammESERT 00 o
82mm 8 sets of corresponding signal indicator light 2
4-05.2 \ 2
| 124mm =
EBIRETT *o
Power light E.%
Co(GOURY  8.Y00087 7E
S (Model) T MAMESZEUTISR e
Input signal type change ®
Eois-al
52
iz
PHIETRIT ik
Output light 712
= >
IRAF 08
Operation description Electrical parameters s
QO
PNP f {5 E NP 2L (R B | EE BX £8fi =2
o o minimum | Recommend Maximum Unit Qﬁ 3
24V 24V BEEE ZL'F z
SENSOR TWO WIRE TS o
Ol |O BANIHA R RE
COM @) _NPN_ @) COM DlMI Value of ef‘fectivell':‘urrent atinput 5 7 10 mA %
SAERMERARE 100 mA
24v | O PNP O 24V By pASS Transistor Output Maximum Load
x2 | o ol lo]| o X8 :I %gﬁ%‘ﬁﬂjﬁﬁﬁﬁgﬁ(“ﬁﬁ 0.5A@125VAC
cOM e) i i o) COM Relay Output Load Capability (Resistive Load) 1A@24VDC l}ﬁ ‘J:
NPN )t e —BARIE BAFF IR TBD Hz %3
— — Maximum switching frequency ©
NPN o
<
ab s o
I}J EB‘H Hﬂ S
el
Function description s
3

1BERENMERR BN —RERIRINEABRIDE , BUBMBERESR , ATANER. KRSIEHRSE  FESEFTERIE.
2 mHEBATEE , BRTANPN,PNPNC, NOMFhig H A=,
3BT LARIBIMENES | IMENAYS S KB N R 2 AISEIRREY,
A MREBNMEMRJORBECRT  LIRBHARE,
5N S RBAFRS |, R ABEHEREE | BEERRMFRNTIE.
1. To solve the problem that the power supply of multiple sensors is not connected as one line, the problem of space
occupation is cancelled. The maximum 8 groups can be used, and less than 8 groups need to be shorted.
2. Output types can be changed at present for NPN, PNP, NC, NO, and four output forms.
3. You can also crawl the signal individually, and grab the signal type for the actual type of sensor.
4. Observe the induction state of each inductor and the status of the output.
5. Types of sensors and output is not available, skipping type conversion, minus the replacement work of the sensor.

.




DEE Junction box

S MR B, B Housing material:Nylon/Black
) ©
%% BRI HRIER Coupling nut:Brass/Nicket
~ % FHETPUMER 26 Contact carrier: TPU/Black
X 1%}
B wammss Pin:Brass/Gold
4
s B 1P67 IP degree:|P67
fh#k:10~30VDC,6 AR EE R E,2A%S 8RB, LED 10mA Load:10~30VDC,2 A/port, 6 Atotal,LED 10mA
{FERTNEIRRE:-30...+80°C Temperature range:-30...+80°C
H @ EAjEiE PNP NPN Single channel PNP or NPN
152
63
&
HRe
]
2
2
o

BESRTHIE

Model representation methods

il
a|npo\ diig
IS
—
|
—[E]

EDHE

ImO%E ETRER —‘7
Port number Number of pins

Standard Junction box TS
D2 HEH2mEs 4
> o M12 EE=
s SO P PNP M16 SEx
S Portlink type N NPN Connection Type
ﬁ-’?’ D2 Cable connection 2m
- M12 M12 vertical connection
M16 M16 vertical connection
55 (PN) #E(Model) %7 (Type) F&(Weight)
4.Y00487 AJB4M8-3P-M12 PNP 1109
Hs 4.Y00488 AJB4M8-3N-M12 NPN 1109
5‘55 4.Y00491 AJB8M8-3P-M16 PNP 1209
=E 4.Y00492 AJB8M8-3N-M16 NPN 120g
= 4.Y00495 AJB8M8-3P-D2 PNP 3009
g 4.Y00496 AJB8M8-3N-D2 NPN 3009
iZREEHI / Application example
1. BAjBi& PNP NPN
B2 2. MEMARRER , Mt—AES , STH " SR8 © SHTNEE (48 )
a3 g 1. Single channel PNP or NPN
3 2. The four way input is effective at the same time, and outputs a set of signals to realize the output function of "and circuit".
3
3 =
H GR12-12CN(CP) AJBAMS-3P-M12A
3 AJBAMS-3P-M12 GBD22HU

(H)

M8-M03T
GMHZ2-10D

GFR20-95G

k] CRG



M8PU4 O 4s&E M8 4 ports Junction box

SNEMR B, 26 Housing material:Nylon/Black
SIEERT R Coupling nut:Brass/Nicket %g
FHETPUMER 2& Contact carrier: TPU/Black N
fib B E S Pin:Brass/Gold igé
BHIPEELR:IP67 IP degree:IP67 g
o
fhEk:10~30VDC, 6 AR EETRARE 2A (IR EE LED 10mA  Load:10~30VDC,2 A/port, 6 Atotal,LED 10mA
{FEFIFR SR E:-30...+80°C Temperature range:-30...+80°C
8 % = ﬁ%
3 @ Hg
—q5:
o
23
o
a
®
-
E_'c
i
5
[®3.5]
MOUNTING HOLE
M3 SOCKET HEAD
v5 ovie ;igl_rg MINIMUM LENGTH
5o 5o 5 6 PNP PKIA % 52z
7 7 8 NPN RDA 3 2 Zgjjg
4 =T
g% ¥ > ik
- -7 BUE® Mi2 4 1
WH B BN f GN & YE &8 5 8 3 1 M8
7
AJB4M8-3P-M12 6
+5 GYR® &k /Joint -
6 PNP PKE I 5 % g
£
8 NPN RDL& 283
frz
I H - 7BUE® g
WH A& BN 7 & GN & YE &6 %
AJB4M8-3N-M12 BHM 12T Al iR RE SETMBIIA T ek iR
8 pins M12 Field wirable connector 3 pins M8 Field wirable connector
. HE(PN) 1.Y07461 $HE(PN) 1.Y06722 S
RiEE PNE_NPN STV ELK8112-0/9 F=(Model) |IYEEYIEL #g
BoOMRES 8
5 LED BT &
EEMI 2 * £ RIHEBIE) Pinout £
Single channel PNP or NPN U 2
1 signal per port re FLEE/Female g
LED N 2
' SETMBIIA AT RE R IEREEE  SETM12FNE5ER4R 3
M12 vertical connector 3 pins M8 Field wirable connector 8 pins M12 pre-moulding Cable 1 1.WHe®& 5.GY e
g+=0 4 2BN #e 6.PKmaa
HE(PN) 1.Y13391 HE(PN) 1.Y07462 3.GN g& 7.BU &
FE(Model) M8-MO3L FS(Model) NIV 7 6 D 4YE ®me 8RDue
* £ 2 K The wire length is 2 meters
5S(PN) ES(Model) 27 (Type) E&(Weight)
4.Y00487 AJB4M8-3P-M12 PNP 1109
4.Y00488 AJB4AM8-3N-M12 NPN 110g

c=G



B3y |, A

aqnL SNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

J9bueyd }oINd

Frm

a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

cr

M8/\5 O 4&E M8 8 ports Junction box

iR el B
PRIRE E IR
FHETPUMR.EE
b EEES
PP IP67

th#Ek:10~30VDC,6A FEFARE, 2A AR, LED 10mA

{ERIERE:-30...+80°C

Housing material:Nylon/Black
Coupling nut:Brass/Nicket
Contact carrier:TPU/Black
Pin:Brass/Gold

IP degree:IP67
Load:10~30VDC,2 A/port, 6 Atotal,LED 10mA
Temperature range:-30...+80°C

iy

w
o
3
o

GL'0X9LN —>I

43

| (@)X |

——l I<—|
» MOUNTING HOLE
o o M3 SOCKET HEAD
I 12mm MINIMUM LENGTH
2 PLS
+A/M BN/OR
Heke
I+ A CPNP RD/BU
1 3 1(o 3 1(0 3 1(0 3 1@3 1@3 1@3 1@3 D AdEER
Q O/ O/ O/
N NPN GY/BN
4 4 4 4 4.—§ 4.—1 4.—§ 4.—§ 7’7(@/*«1:‘@
24GN 2,GN 24GN 2,GN 2,GN 24GN 24GN 2,GN
l I - L/U BU/TN
P J T s G R E o EesE
WH At GN &8 YE #&5 GY k& PK 48 RD4®& BK £ VT &6
AJB8M8B-3P-M16
+A/M BN/OR
ReRke
L - = " CPNP RD/BU
1 1Q WQ 1Q 1@3 1@[ 1@ o O/B:L o de/ES
¥ 26N ¥ 26N ¥ 5 GN ¥ 56N \QA ¥ 56N N oN N\ % K D
4 > 4 K4 4 & a4 K 41 0 K py TR B= 4 4
N NPN GY/BN
RBARE
i ! - L/U BU/TN
P J T s G R E o Eege
WH B GN & YE #& GY Ik PK B4 RD 4 BK B VT %8

ERj@iE PNP NPN
FHOMKES
#LED BT
FETM161EH2EE

=3l /Joint

145tM 1674

&S(PN)

14 pins M16 pre-moulding Cable
1.Y07463
i =IOV N DNLK14-14-2M/P0O0

AJB8M8-3N-M16

Single channel PNP or NPN

1 signal per port
LED

M16 vertical connector

3EtMBHLIZA AT

£S(PN)

A5 (Model)

* BT 2 K The wire length is 2 meters

£S5 (PN)
4.Y00491
4.Y00492

A5 (Model)
AJB8M8-3P-M16
AJB8M8-3N-M16

3 pins M8 Field wirable connector

°@: 3 i M8
5+ HIHESIE/Pinout
FLEE/Female

A.BN iz N.GY/BN m&/ize
. . C.RD/BUz&/EE OVT %&
5L SEtMBHLI7 P ek Rz as E.BK 2& P.WH a&

3 pins M8 Field wirable connector G.PK #ue R.RD #®&

J.GN g& S.GY &
1.Y06722 5S(PN) 1.Y13391 L.BU E& T.YE &&
M8-MO03T A5 (Model) M8-MO03L MOR #& U.TN #&

KA (Type) BEE(Weight)
PNP 1209
NPN 120g




M8/\5 O 4&E M8 8 ports Junction box

SNEAR: et R Housing material:Nylon/Black
1 ©
PUEIRE - E R Coupling nut:Brass/Nicket %g
FHETPUMER BE Contact carrier:TPU/Black %Ij ®
X 1%)]
fib e B Pin:Brass/Gold =G
it
BHPEELR:1P67 IP degree:IP67 s
thEk:10~30VDC, 6AREE R E 2A EEii38/E LED 10mA  Load:10~30VDC,2 A/port, 6 Atotal,LED 10mA
{FFITRE R RE-30...+80°C Temperature range:-30...+80°C .
- i
H2
5 iﬁ§
2 &
3 RO
. 5
9
; 2
)
%2
E-E
HE
e
o
+BN
we = >
q q PNP RD/BU g-‘z‘
1 3 1(o 3 1(o 3 1(0 3 1@3 1@3 1@3 1@3 qa/Ee E::ﬁg
o
12 NPN GY/BN 73
4 4 4 4 44 44 44 4 KB E
a a ,}'GN ,}'GN
ﬁGN 7 r}GN | ﬁGN L /}GN @/}GN E E 10 - BU
1 2 3 4 5 6 7 =)
WH B S GN &8 YE %6 GY R PK 4 RD 4% BK 26
AJB8M8-3P-D2 Bs
+ BN #H3
e =
Q.
o o o PNP RD/BU c
1 3 1Q 3 1( 1Q 1@3 1@3 1@3 qaER o
S o ¥ GN o E]
Il,}'GN EZ,!'GN Il;)y'GN IZ,}GN ﬁ,}GN [.]/} T
i t 12 NPN GY/BN
4 4 4 4. 4»——1 4.——1 4.——1 7»\—,@1/5—;\@
10 - BU B =
1 2 3 4 5 6 7 8 E® %3
WH B S GN &8 YE %6 GY K& PK M RD 4 BK B VT %6 a
AJB8MS8-3N-D2 701
3
£43%3& PNP NPN 231 /Joint EELEE==E TN E
BOMMKES Singal Wire Cross-sectional M8 2
i LED BT * Sketch Map 3 Z
2mEE 1078 PVC £ e > PPV
Single channel PNP or NPN 3EtM ST AT ek G i AR SEtM ST AT ek ik i AR O, ® ;\éV’:' ?@ 7.BK %@
. 3 pins M8 Field wirable connector 3 pins M8 Field wirable connector @ @ CNB& 8 VT %8
1 signal per port 90 0 3.YE #& 9BNfz&
LED HE(PN) 1.Y06722 $S(PN) 1Y13391 | R#E O 4GY ®& 10.BU K&
5.PK ¥4 11.RD/BU L&/Ek
Black PVC wire with 10 cores in 2m A S(Model) M8-M03T A S(Model) M8-MO3L 6.RD 4  12.GY/BN R&s/iz
5S(PN) EIS(Model) XA (Type) EE(Weight)
4.Y00495 AJB8M8-3P-D2 PNP 3009
4.Y00496 AJB8MS8-3N-D2 NPN 3009

* IRERER2 K ANTHENRE
* The standard length is 2 meters, which can be customized.



B3y |, A

aqnL SNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

267

MAURER Miniature Regulator

ARJ210&7%!

Kkt ERAE , BE(60g)
INfU B &2 A1/ 8 (SMELY)
M5 (P ERE) 27 3R B,

The body is made of aluminum, lightweight (60g)
IN side pipe connections are made with 1/8 (external thread)

M5 (internal thread) 2 types

ARJ210 series

_;I?j
N\
®/

wyl
o
2 E
o &
gg 18.3
H
:3-

4)

2u@5.5
(37)

7R E Hex Nut

U

5 N

/

80
38.5
30
/
Fi

MAX, 4t

=]

NHER(ETRIR)

Bracket (oplional)

1 ouT

@26

11

2xM5x0.8

FEE(E I
Pressure gauge (optional)

BS(PN) 1.Y05877

S (Model) ARJ210-M5
R INfU 1/8 (F-4MBE)KEM5x0.8(M-PIRLS)
Pipe Siz ouTH M5x0.8(F-PIsBE24k)
fERRIR Fluid 2345 Air
{RIEMI[EA Proof pressure 1.2MPa
B FEHAES MaximumOperating pressure 0.8MPa
REETEE 0.2~0.7MPa

Set pressure range

0.2MPa: 0.05~0.2MPa

JEFIERE R Pressure gauge connecting caliber

M5x0.8(M-PI24Y)

MEEERERARKEE

2

ME=0.8

Environment and fluid temperature ~>~60°C
&E=2(kg) Weight 0.06
MR EIZE Tube Cutter

BFIEREE. 88, TBNE

C=G

EREREGEIENIR  ETERRBIRGEEERNIH

RS, EHSE, EE(2489)
Special tool for cutting copper tube
Ease to use

Improve work efficiency
Durable,high-quality,weight (2489)

£S(PN) 1.Y02592



£=E#EL Connector

BT
ZE:
N [}
B . C, D e
s
o
o
%
(%]
R
1% 2
e
%E2(PN)  HE(Model) A B . T g
RS eSS Weight o
1¥03145 | APB-M3-@4 M3 4 2 55 35 45 0.6
1¥05008 | APB-M5- 04 M5 5 2 65 35 7 14g
1¥01986 | APB-M5-06 M5 45 25 7 48 7 17g
o
23
[a)
>0
Q
a
B C o
3z O
o &3
. HE
it
o
RS (PN) S (Model) A B C ) B2
Lk == Weight
1¥06794 APF-M3 M3 2 3 49 0.59 52
1.¥02510 APF-M5 M5 25 45 7 14g =
BU O
b
C
— |
P
{ _ _ =a
= & 2t
> ZH3
| frz
2
o
=2
HE(PN) BE(Model) A B c Weight
1.Y00462 APF-G18 G1/8 8 5 3.0g B 2
1.Y00463 APF-G14 1/4 9 6 6.29 L
o
2
0
o
D 3
‘ ‘ 3
T 2
<+> W | ] m
‘ 7 Zﬂﬁj
LIl
A B
HE(PN) BE(Model) A B c D H e
Weight
1Y13282 | APBL-M3- @4 M3 95 45 5 95 0.8g
1Y13283 | APBL-M5-04 M5 155 85 7 15 459
1Y13284 | APBL-M5-06 M5 175 95 8 16 6.6
1Y13285 | APBL-G18-06 G1/8 20 9 10 215 13g

CRG




3L Connector

KQ2%&%!I KQ2series

OB HiBELKQH(BHBZREH)
*’T; Straight connector:KQ2H(gasket seal)
Me
g’
w
e
ag Sas) B e
’ 02 1.Y13101 KQ2H02-M3G | M3x05 7 55 156 13 11.9 - 0.9 12 1.5g
1.Y13102 KQ2HO2-M5A | M5x038 7 55 138 10.8 11.9 - 0.9 L4 29
3.2 1.Y13103 KQ2H23-M36 | M3x05 7 67 17 14.4 133 0.9 0.9 12 249
1.Y13104 | KQ2H23-M5A | M5x08 7 67 173 143 133 3 25 25 279
RO 1.Y13105 KQ2H04-M3G | M3x05 8 77 171 145 133 0.9 0.9 12 299
e o4 1.Y04451 KQ2H04-M5A | M5x08 8 77 177 14.7 13.3 4 4 25 339
Q 1.Y13106 KQ2H04-M6A | M6x10 8 77 187 14.7 133 4 4 3 3.69
E o6 1.Y04452 | KQ2HOG-M5A | M5x08 10 97 177 14.7 133 4 4 25 419
e 1.Y13107 | KQ2HO6-M6A | M6xL0 10 97 188 14.8 133 4 4 3 449
£Q KQ2%&%I KQ2series
%‘; BB L KQ2H (B 7)
s .
#2  Straightconnector:KQ2H(sealant)
o
@D EEET
— e
e l u
5z -~ <2 [T
=z = H
ikl S—— =t
(FEEEIH)
o o BAEER ~
B8 meeN) mSMode) HEESL L mm BMUE ot
Bl Rak
Bs 232 1.Y13108 KQ2H23-01AS 1/8 10 6.7 14 10.9 13.3 3.4 2.9 2.5 6g
=3 1.Y13109 KQ2H23-02AS 1/4 14 6.7 16.7 12 13.3 3.4 2.9 25 15.3g
e s 1.Y03599 KQ2H04-01AS 1/8 10 7.1 143 112 133 5.6 4 3 5.68
#= 1.Y05147 KQ2H04-02AS 1/4 14 1.7 16.7 12 13.3 5.6 4 3 14.6g
g 1.Y13110 KQ2H06-01AS 1/8 10 9.7 18.4 15.3 13.3 13.1 10.4 45 5.8g
B 26 1.Y07090 KQ2H06-02AS 1/4 14 9.7 16.7 12 133 13.1 10.4 45 12.5g
1.Y05164 KQ2H06-03AS 3/8 17 9.7 18.1 13 13.3 13.1 10.4 45 24.5g
1.Y07162 KQ2H08-01AS 1/8 14 12.2 25 19.4 14.2 26.1 18 6 11.9g
28 1.Y05101 KQ2H08-02AS 1/4 14 122 22 173 14.2 26.1 18 6 13.9g
B = 1.Y02228 KQ2H08-03AS 3/8 17 12.2 18.1 13 14.2 26.1 18 6 21g
Vi 1.Y13111 KQ2H10-01AS 1/8 17 14.6 238 20.7 15.6 26.1 26.1 6 16.9g
8 510 1.Y07142 KQ2H10-02AS 1/4 17 14.6 21.3 226 15.6 415 29.5 75 2.1g
p 1.Y07632 KQ2H10-03AS 3/8 17 14.6 235 18.4 15.6 415 29.5 75 22.5g
e 1.Y13112 KQ2H10-04AS 12 22 14.6 23 15.9 15.6 415 29.5 75 44.7g
3 1.Y13113 KQ2H12-02AS 1/4 19 17 28.7 24 17 58.3 46.1 9 24.3g
3 712 1.Y13114 KQ2H12-03AS 3/8 19 17 25.9 20.8 17 58.3 46.1 9 25.2g
@ 1.Y13115 KQ2HI2-04AS 12 22 17 23 15.9 17 58.3 46.1 9 37.7g
1.Y13116 KQ2H16-02AS 1/4 24 21.8 325 21.8 20.6 58.3 46.1 9 37.4g
16 1.Y13117 KQ2H16-03AS 3/8 2 218 33.1 28 20.6 81 67 11 42.4g
1.Y13118 KQ2H16-04AS 12 24 218 321 25.7 20.6 113 67 13 44.6g

* RIBZUT NEMESE R
% Rreference dimension of R thread after screwing in

CRG



# 3L Connector

KQ2#&%| KQ2series

HiBEE: KQ2H %{ 7
Straightjoint: KQ2H o .o
2X @ﬁ”ﬁ? %M %)
/ = G
o -] § =)
a1 A i B g
& SN . i 10 = 3
- I T
L
X8
7 > 0 =]
EaET ﬁxﬁrznéjzmﬁ A ;ﬁé 2
5M& mm — ok
BSE A3
22 1.Y13119 KQ2H02-00A 5.8 24.8 11.9 - 0.9 1.4 0.89 s
23.2 1.Y13120 KQ2H23-00A 7.1 27.6 13.3 3.4 2.9 2.5 1.4g
o4 1.Y13121 KQ2H04-00A 8.2 27.6 13.3 5.6 4 3 1.69
26 1.Y13122 KQ2H06-00A 10.4 27.6 13.3 13.1 10.4 4.5 2.1g
28 1.Y13123 KQ2H08-00A 13.2 29.4 14.2 26.1 18 6 3.7g
210 1.Y13124 KQ2H10-00A 15.9 32.2 15.6 415 29.5 75 5.59 ®re
212 1.Y13125 KQ2H12-00A 18.5 35 17 58.3 46.1 9 8.29 e :’::
216 1.Y13126 KQ2H16-00A 23.8 42.2 20.6 113 67 13 15.29 z
* oD REAER. 2
* gD are maximum diameters. °
xa
KQ2%&7%!I KQ2series Z%;
BEHEBEE: KQ2H ﬁg
Special type through connection: KQ2H >
EEETE EEETO
= e
| Q | I
e A EEEEE S ! 5z
8 =z
M M2 o
L e
EEET BRHEER =8
4ME mm mm BMfLEE Wei;t
@ ® Ex 2ok
22 23.2 1.Y13127 KQ2H02-23A 5.8 71 26.2 11.9 13.3 - 0.9 1.4 1.1g
22 24 1.Y13128 KQ2H02-04A 5.8 8.2 26.2 11.9 13.3 - 0.9 1.4 1.2g BS
23.2 o4 1.Y13129 KQ2H23-04A 7.1 8.2 27.6 13.3 13.3 3.4 2.9 2.5 1.59 Z=2
3.2 26 1.Y13130 KQ2H23-06A 7.1 10.4 27.6 13.3 13.3 3.4 2.9 2.5 1.8g B3
o4 26 1.Y13131 KQ2H04-06A 8.2 10.4 27.6 13.3 13.3 5.6 5.6 3 29 i §
26 28 1.Y13132 KQ2H06-08A 10.4 13.2 28.5 13.3 14.2 13.1 10.4 4.5 2.99 <
28 210 1.Y13133 KQ2HO08-10A 13.2 15.9 30.8 14.2 15.6 26.1 18 6 4.99 ®
210 212 1.Y13134 KQ2H10-12A 15.9 18.5 33.6 15.6 17 41.5 29.5 7.5 7.29
212 216 1.Y13135 KQ2H12-16A 18.5 23.8 38.6 17 20.6 58.3 46.1 9 12.4g
*oD:. oD ERAHR. B &
*@Di. oD are maximum diameters. 53
3
<
0
o
3
el
o
>
13
3

CRG




3L Connector

KQ2%&7%! KQ2series

B2 T3k KQ2L(BHBZEH)
Mz
NG Elbow : KQ2L(gasket seal)
a2 EAET
B
= L:
d M
h —
£~ i I
r g
i |
S
]
15 2
w3
c
By BRE@R
1) = )t H
§-£=5(Model) FHRIRAL (ﬁﬁiﬁlﬂ) mm
B EEE
2 1.Y13136 KQ2L02-M3G M3X0.5 55 5.8 55 12.6 12.5 12.8 11.9 - 0.8 1.2 1.69
o 1.Y13137 KQ2L02-M5A M5X0.8 7 5.8 55 12.6 13 12.9 11.9 - 0.8 1.4 2.7g
E % 232 1.Y13138 KQ2L23-M3G M3X0.5 7 7.1 7 15.3 13.8 14.8 13.3 13.3 0.8 1.2 2.79
=~ : 1.Y13139 KQ2L23-M5A M5X0.8 7 7.1 7 15.3 14.3 14.9 13.3 133 2.2 2.5 3.1
X g
> 1.Y13140 KQ2L04-M3G M3X0.5 7 8.2 7 15.4 14.3 15.8 13.3 13.3 0.8 1.2 2.7g
Lrgn o4 1.Y02599 KQ2L04-M5A M5X0.8 7 8.2 7 15.4 14.8 15.9 13.3 13.3 3.5 2.5 3.1g
- 1.Y13141 KQ2L04-M6A M6X1.0 8 8.2 7 15.4 15.8 15.9 13.3 133 3.5 2.5 4.29
26 1.Y02345 KQ2L06-M5A M5X0.8 7 10.4 7 14.5 16.5 18.7 13.3 13.3 3.5 2.5 3.29
;% o 1.Y13142 KQ2L06-M6A M6X1.0 8 10.4 7 14.5 17.5 18.7 13.3 13.3 3.5 2.5 4.39
E-g * oD, BEEAELR.
A g * @D. are maximum diameters.
Hz
(o]
KQ2%&7%!I KQ2series
T3k KQ2L(BEH )
Elbow:KQ2L(sealant)
sz
Mz
BUT
72T
e
2z
fﬁ c
4H3
= EEET i= EEEy H
g 9 mm ES(Model) =TT comn)
o

KQ2L23-01AS
3.2 1.Y13143 Q 1/8 ] ] ] 4.69

1.Y13144 KQ2L23-02AS 1/4 14 7.1 10 14.5 21.2 20.1 133 3 2.5 2.5 14.1g

o4 1.Y05151 KQ2L04-01AS 1/8 10 8.2 10 14.8 16.2 17.2 133 4.2 4.2 3 4.8

> 1.Y05751 KQ2L04-02AS 1/4 14 8.2 10 14.8 21.7 211 133 4.2 4.2 3 14.3g
5 1.Y02343 KQ2L06-01AS 1/8 10 10.4 10 15.5 173 194 133 114 9 4.5 5.2g
E 26 1.Y11935 KQ2L06-02AS 1/4 14 10.4 10 15.5 22.8 233 133 114 9 4.5 14.7g
3 1.Y10180 KQ2L06-03AS 3/8 17 10.4 10 15.5 24.1 24.2 13.3 114 9 4.5 26.59
g 1.Y07560 KQ2L08-01AS 1/8 10 13.2 10 16.4 18.7 22.2 14.2 114 11.4 4.5 6.1g
.g 28 1.Y04922 KQ2L08-02AS 1/4 14 13.2 12 17.2 25.4 27.3 14.2 216 14.9 6 17.7g
% 1.Y05070 KQ2L08-03AS 3/8 17 13.2 12 17.2 25,3 27.0 14.2 216 14.9 6 24.7g
z 1.Y13145 KQ2L10-01AS 1/8 12 15.9 12 18.6 23.6 28.4 15.6 216 14.9 6 11.1g
210 1.Y06994 KQ2L10-02AS 1/4 17 15.9 17 19.3 28.7 319 15.6 352 25 7.5 21.79

1.Y08074 KQ2L10-03AS 3/8 17 15.9 17 193 29.6 32.4 15.6 352 25 7.5 22.29

1.Y13146 KQ2L10-04AS 1/2 22 15.9 17 19.3 33.6 35.1 15.6 352 25 7.5 44.69

1.Y13147 KQ2L12-02AS 1/4 17 18.5 17 215 30.0 34.5 17 502 39.7 9 23.59

212 1.Y13148 KQ2L12-03AS 3/8 17 18.5 17 21.5 30.9 35.0 17 50.2 SN 9 24.1g

1.Y13149 KQ2L12-04AS 1/2 22 18.5 17 215 34.9 31.7 17 50.2 39.7 9 46.5g

1.Y13150 KQ2L16-02AS 1/4 17 23.8 17 25.1 326 39.8 20.6 502 50.2 9 27.89

216 1.Y13151 KQ2L16-03AS 3/8 22 23.8 21 27.1 35.4 42.2 20.6 71 58.9 11 40.8g

1.Y13152 KQ2L16-04AS 1/2 22 23.8 21 27.1 34.1 39.6 20.6 100 58.9 13 44.5g

¥ RIBEUT NEMSERYT
% Rreference dimension of R thread after screwing in

* oD RRAER,
* gD. are maximum diameters.

CRG



# 3L Connector

KQ2&%!I KQ2series

T 3k KQ2V (B £ R B 1) %{3’
Universal elbow :KQ2V(gasketseal) N3
1%)]
= ie.@ e
L1 =
H M d
[ /| T
r == e
5 D N I I B A - N )
’tr. o | -3 o
: Bisgsas 2
Ph| ey Bme
oD> L2 2
=
o
BREER = =
e mgEy  H . , i B ®E
BS(Model) =5 (hEH) oD oD: FLE  Weight
24 1.Y13153 | KQ2V04-M5A | M5X08 8 8.2 9.8 175 | 109 | 184 | 149 | 133 | 29 29 25 | 549
26 1.Y13154 | KQ2V06-M5A | M5x08 | 8 104 | 938 183 | 109 | 184 | 149 | 133 | 38 3.8 25 | 519 E“E’
[a}
* oD. ERAER, o
* gD, are maximum diameters. o
3
KQ2&%!I KQ2series ég
B35 KQ2V (% 7)) B\
. Q.
Universalelbow:KQ2V(sealant) EEEF #5
H Ll
M
1 011
! H- - - - n
U s Fr =3
- - - - i =z
_— - o - BT
) [a) ﬁ'g
- CLON mmes © )
RRNCEED)
2 > 0
Eéﬁ% A2 (Model) 2 SO Ex%ﬂ'gxmﬁ*“ L i%
2 L fr o Z  Weight
fzmm M (AT Bh B55E L=F 1g % §
24 1.Y13155 | KQV04-01AS | 1/8 EE 2
o6 1.Y13156 | KQ2V06-01AS | 1/8 8 104 | 134 | 205 | 137 | 256 | 225 | 133 | 75 59 45 | 1359 2¢§
1.Y13157 KQ2V06-02AS 1/4 10 10.4 15.3 19.9 17.9 30.5 25.8 13.3 7.5 5.9 4.5 24.99 g
1.Y13158 | KQ2V08-01AS | 1/8 12 132 | 176 | 235 | 151 | 276 | 245 | 142 16 112 6 | 22.69 £
28 1.Y13159 | KQ2V08-02AS | 1/4 12 132 | 176 | 235 | 185 31 263 | 142 16 112 6 | 29.19
1.Y13160 KQ2V08-03AS 3/8 14 13.2 20.6 23.1 19.5 353 30.2 14.2 16 11.2 6 44.49
10 1.Y13161 KQ2V10-02AS 1/4 14 15.9 20.6 25.9 19.9 34.9 30.2 15.6 27 20.3 7.5 38.1g
e 1.Y13162 | KQ2V10-03AS | 3/8 14 159 | 206 | 259 | 203 | 353 | 302 | 156 27 203 | 75 | 4579 W >
1 1.Y13163 KQ2V12-03AS 3/8 17 18.5 25.2 28.5 214 37.6 325 17 39 30.8 9 59.69 it §
e 1.Y13164 | KQVI2-04AS | 172 17 185 | 252 | 285 | 246 | 408 | 344 17 39 30.8 9 | 7829 g
16 |_LY13165 [ KQVI&03AS | 3/8 21 238 | 323 [ 342 [ 251 | 454 | 403 | 206 55 46 11 | 99.59 <
e 1.Y13166 | KQ2V16-04AS | 1/2 21 238 | 323 | 342 | 283 | 486 | 422 | 206 78 46 13 |107.99 9
el
¥ RIBSUT NEMNESZ R S
% Rreference dimension of R thread after screwing in g

* oD %%kgfé,

* gD are maximum diameters.

CRG




# 3L Connector

KQ2%&7%!I KQ2series

%'_—g; WETR SR KQ2T (B 1)
N3 DoubletubeT-joint:KQ2T(gasketseal)
fﬁ b KEREF
) ; L1 L1
8 M M
| | < |1
i ot - - -
[ | I | 7 ) N i)
%4 ﬁé‘ )
23
B2
H g
* H PUBER g =8
5ME mm () Bp  Esm TR Weight
o2 1Y13167 | KQ2TO-M3G | M3X05 | 5.5 5.8 5.5 126 | 125 | 128 | 119 - 0.9 12 | 199
1.¥13168 | KQ2TOZMSA | Msx08 | 7 5.8 55 12.6 13 129 | 119 - 0.9 1.4 3g
®re - 1¥13169 | KQ2T23M3G | M3x05 | 7 7.1 7 153 | 138 | 147 | 133 0.9 0.9 12 | 31g
] 22 1Y13170 | KQ2T23M5A | wsx08 | 7 7.1 7 153 | 143 | 148 | 133 3.2 2.7 25 | 359
o 1Y13171 | KQ2TOAM3G | M3x05 | 7 8.2 7 154 | 143 | 158 | 133 0.9 0.9 12 | 34g
2 o4 1Y01536 | KQ2TOAMSA | wsx08 | 7 8.2 7 154 | 148 | 159 | 133 45 4.5 25 | 399
3 1¥13172 | KQ2TOAM6A | Mex10 | 8 8.2 7 154 | 158 | 159 | 133 4.5 4.5 25 | 499
o6 1Y03052 | KQ2TO6-MSA | Msx08 | 7 10.4 7 145 | 165 | 187 | 133 4.5 4.5 25 | 44g
o 1¥13173 | KQ2TO6-M6A | Mex10 | 8 10.4 7 145 | 175 | 187 | 133 45 45 25 | 549
éé * oD, BRAER.
" S * gD: are maximum diameters.
He
o
KQ2%&%I KQ2series
IETHAE L KQ2T (B &)
.. EEEF
5z DoubletubeT-joint:KQ2T(sealant) L L
ij] > 1 1
B M M
7 <
i T .
] I N 1)
- ) o 'IL. —+ oD A
— H O
—
23
A5
E< . BREER
" S (Model) FEEL it .
By B0k
932 1.Y13174 | KQ2T23-01AS | 1/8 10 7.1 10 145 | 166 | 171 | 133 34 29 25 | 5.2g
1.Y13175 | KQ2T23-02AS | 1/4 14 7.1 10 145 | 211 20 13.3 34 29 25 | 14.7g
ot 1.Y13176 | KQ2T0401AS | 1/8 10 8.2 10 148 | 162 | 172 | 133 6 4.1 3 5.59
Bt = 1.Y13177 | KQ2T04-02AS | 1/4 14 8.2 10 148 | 217 | 211 | 133 6 4.1 3 159
%3 1.Y05154 | KQ2T06-01AS | 1/8 10 10.4 10 155 | 173 | 194 [ 133 [ 139 11 45 | 6.1g
2 26 1.Y13178 | KQ2T06-02AS | 1/4 14 104 10 155 | 228 | 233 [ 133 | 139 11 45 | 1569
< 1.Y13179 | KQ2T06-03AS | 3/8 17 10.4 10 155 | 241 | 242 [ 133 [ 139 1 45 | 27.4g
S 1.Y13180 | KQ2T08-01AS | 1/8 10 132 10 164 | 187 | 222 | 142 14 14 45 | 799
S o8 1.Y13181 | KQ2T08-02AS | 1/4 14 132 12 172 | 254 | 213 | 142 | 263 | 182 6 19.49
3 1.Y13182 | KQ2T08-03AS | 3/8 17 13.2 12 172 | 255 27 142 | 263 | 182 6 26.59
@ 1.Y13183 | KQ2T10-01AS | 1/8 12 15.9 12 186 | 235 | 284 | 156 | 216 | 149 6 13.99
510 1.Y13184 | KQ2T10-02AS | 1/4 17 15.9 17 193 | 286 | 319 | 156 | 352 25 75 | 24.3g
1.Y13185 | KQ2T10-03AS | 3/8 17 15.9 17 193 | 295 | 324 [ 156 | 352 25 7.5 | 24.8g
1.Y13186 | KQ2T10-04AS | 1/2 22 15.9 17 193 | 335 [ 351 [ 156 | 352 25 75 | 47.3g
1.Y13187 | KQ2T12-02AS | 1/4 17 18.5 17 215 | 299 | 345 17 572 | 452 9 27.39
212 1.Y13188 | KQ2TI203AS | 3/8 17 18.5 17 215 | 308 35 17 572 | 452 9 289
1.Y13189 | KQ2TI204AS | 1/2 22 185 17 215 | 348 | 317 17 572 | 452 9 50.49
1.Y13190 | KQ2T16-02AS | 1/4 17 23.8 17 251 | 326 | 398 | 206 | 572 | 572 9 35.5g
216 1.Y13191 | KQ2TI6-03AS | 3/8 2 23.8 21 271 | 354 | 422 | 206 71 58.9 11 | 4779
1.Y13192 | KQ2TI6-04AS | 12 22 23.8 21 271 | 341 | 396 | 206 | 100 | 589 13 | 5149
¥ RIBEUT NGNS ERT

% Rreference dimension of R thread after screwing in
* oD REAER.
* gD, are maximum diameters.

CRG




¥ 3L Connector

KQ2&%| KQ2series

TRAZE:KQ2T INEEEF
T-shaped connection :KQ2T Q =22~ @
O,
Q
X
- I 1 r\/'r]@\{
. - = AR\ 1/ o/
d d 0] T
LN 0 - 2o
i .- - \ of Ufy--JIt--41~
9
M M
L1 L1
E2E FHEER @) =8
9z mm i E  Weight
Bk 2ok
22 1.Y13193 | KQ2T02-00A | 5.8 12.9 15.8 11.9 45 6 32 - 0.9 14 149
23.2 1.Y13194 | KQ2T23-00A | 7.1 14.9 18.5 13.3 54 6 32 34 2.9 2.5 2.3g
o4 1.Y03077 KQ2T04-00A 8.2 15.3 19.4 13.3 5.7 6 3.2 6.4 4.4 3 2.89
26 1.Y03076 | KQ2T06-00A | 10.4 16.3 215 13.3 6.8 6 32 134 10.6 45 3.89
28 1.YO0761 | KQ2T08-00A | 13.2 18.2 24.8 14.2 8.4 8 4.2 256 17.7 6 79
210 1.Y13195 | KQ2T10-00A | 159 206 286 15.6 96 3 4.2 40 284 75 11g
212 1Y13196 | KQ2T12-00A | 185 23 323 17 10.7 8 42 574 454 9 15.7g
216 1.Y13197 | KQ2T16-00A | 23.8 28.6 40.5 20.6 134 8 4.2 100 58.9 13 29.89
KQ2&%] KQ2series
43z s,
THAZE . KQ2T WEABFO
T-shaped connection :KQ2T 02 2% g
EEEFO H e
<X A
— ol 3 = Q/V N 6
. ST 3
_1 — 1
-t N S TN
| | 2xe0 /[ & g;
M2 M2
L2 L2
BAET BRBER
SMEmm mm
@ o B Rak
23.2 | o4 | 1Y¥13198 | KQ2T23-04A| 82 | 71 | 149 | 153 | 185 | 133 | 133 | 54 | 58 6 32 | 38 35 | 25 | 2.69
24 | @6 | 1.Y04160 | KQ2T04-06A| 104 | 82 | 153 | 163 | 194 | 133 | 133 | 57 | 68 6 32 1l 66 | 3 339
26 | @8 | 1.Y04159 | KQ2T06-08A| 132 | 104 | 172 | 173 | 24 | 142 | B33 | 713 | 84 8 42 | 164 | 164 | 45 | 53¢
28 | 910 | 1.YO7561 | KQ2TO8-10A| 159 | 132 | 196 | 192 | 262 | 156 | 142 | 84 9.6 8 42 | % 212 | 6 8.39
210 | @12 | 1.¥13199 |KQ2T10-12A| 185 | 159 | 2 | 216 | 30 17 | 156 | 96 | 107 8 42 | % 45 | 75 | 1229
212 | ©16 | 1.¥13200 | KQ2T12-16A| 238 | 185 | 266 | 25 | 359 | 206 | 17 | 107 | 134 8 42 |85 | 9 20.1g
KQ2%&%I KQ2series
TRAERE:KQ2T o0
. pEY=) ?
T-shaped connection :KQ2T
=
2 B~
] i) A ~
J 6 u Y- Rl AT Yy __)
. o o
| I 2x20 A A
Q) Q
M2 M2
Lo Lo

ERET
SME mm

@ ®

BREER
mm

B REE

=)\ EE

FLE Weight

o6 | o4 1.Y13201 | KQ2T06-04A . X 6 . . 2.59
o8 | o6 1.Y13202 | KQ2T08-06A | 104 13.2 113 112 239 133 14.2 8.4 IS 8 4.2 134 10.6 4.5 69
210 | 28 1.Y13203 | KQ2T10-08A | 132 15.9 19.2 196 21.2 142 15.6 9.6 8.4 8 4.2 25.6 17 6 9.59
212 | 10 | 1.Y13204 | KQ2TI12-10A | 159 18.5 216 2 30.9 156 17 10.7 9.6 8 4.2 40 284 75 | 1349

* oD BRAERR,
* gD1 are maximum diameters.

c

B3y | FhE

agnL SNS . 3|1401d

HEE A

S|NPOA SIUBIS

S SR

J9bueyd 3oInd

Frm

) B
el a|npo\ diug

FrisHHmt

S|NPOIN wWnNNdep

=

syusuodwo?) A10ss8d0y

JaddiN 11y




MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

saddiN 1y

I
=
H
#

3|NPOIN Wnndep

sjuauodw o) A10ssa20Y

275

# 3L Connector

KQ2%&7%| KQ2series
YRAZE:KQ2U

. Eﬁ
Y-shaped connection :KQ2U MEHET
P
1 F
—e I
l . = 1 | |
— oy I
b 4 N ]
- ) I 2xeN ; \:\‘
J
Q
EaE . AREER
4ME mm > mm .
Ex Bak
22 1.Y13205 KQ2U02-00A 5.8 25.8 16.1 58 11.9 45 6 3.2 - 09 12 l.4g
23.2 1.Y13206 KQ2U23-00A 7.1 289 18 7.1 133 52 6 32 34 29 25 2.39
o4 1.Y02601 | KQ2U04-00A | 8.2 29 18.2 8.2 133 5.1 6 3.2 42 42 3 2.8g9
26 1.Y02600 | KQ2U06-00A | 10.4 30.1 19.4 104 133 6.8 6 32 134 10.6 45 3.89
28 1.Y03078 KQ2U08-00A | 13.2 332 223 13.2 14.2 8.7 8 42 25.6 17.7 6 79
210 1.Y13207 | KQ2U10-00A | 159 37.1 25 15.9 15.6 10.1 8 4.2 40 284 75 119
012 1.Y13208 KQ2U12-00A | 185 41.1 27.8 18.5 17 114 8 42 574 45.4 9 15.79
216 1.Y13209 KQ2U16-00A | 23.8 515 35 23.8 206 14 8 42 113 60 13 29.89
* oD BRAER.
* @D are maximum diameters.
Kg2#&%l KQ2series
R REMEYRAEE:KQ2UD o
A A . AXEEE
Reducing fourpipeY-shaped connection:KQ2UD oD
wadh
— e Al
" IHHIEE
. FEa=s
= N| T
2x20 -,q:)': )N
: § 2xeN 2 g =
oD
EAEFO

ﬁ:‘é"‘é . ﬁ%{ﬁﬁ*ﬂ =710 52
4ME mm S (Model) @D oD2 L1 mm Eﬁ/z 25
. _., FLIE Weight

@ O E. L
26 1.Y06909 | KQ2UD04-06A . . . . . . 549
06 | o8 1.Y08529 |KQ2UDO06-08A | 104 132 32 205 10.4 21 133 142 8.2 6 3.2 134 10.6 45 8.1g
* oD, oD BREAER.
@D1 . @D2 are maximum diameters.

=G




¥ 3L Connector

ASZE%| ASseries

TAW S Y
Elbow type throttle valve ZE:
oDs .
w BREFSMEd me
E 1%]
ks ’ g
' = Nl e | @
J i g Hrese]
(%]
H(Z fxti8) M e
L ] #H9
Lo g
o
mm
od E S (Model) H Wei?ht
@2 | As12[]1F-M5-02A |M5x0.8| 8 5.8 9.4 158 | 20.3 | 16.9 | 26.5 | 254 | 235 | 224 | 119 1.Y13218 1.Y13222 59
©3.2 | As12[J1F-M5-23A |M5x0.8| 8 7.2 9.4 17.2 | 21.7 | 169 | 265 | 254 | 235 | 224 | 133 1.Y13219 1.Y13223 59 'H&K:J
o4 | As12[J1F-M5-04A [M5x0.8| 8 8.2 9.4 172 | 21.7 | 169 | 26,5 | 254 | 23,5 | 224 | 133 1.Y13220 1.Y13224 59 }ﬁf;
06 |Asl2[J1F-M5-06A [M5x0.8| 8 10.4 9.4 186 | 23.1 | 16,5 | 26,5 | 254 | 23,5 | 224 | 133 1.Y13221 1.Y03830 69 Q
(2S5 /0HS TR, LI#ESTM  Symbol/0 exhaust throttling, 1 intake throttling é
(1)2%2 R~ Reference Size 2
(2) BEIT NGB ERT  Reference dimension of R thread after screwing in
%9
87
i
ASZ% ASseries 2
& LA () .
Elbow type throttle valve(sealant) e
SR F i
15 U < ] E&' Hw ) 2
1 )y #2
i ik
Il It [ 7=
— 1 | M | KT
— Hosmsgin)| —L—
od S (Mode) AR
(PN) =
©3.2 | AS22[J1F-01-23SA | 1/8 13 7.2 12 19.1 | 26.2 | 19.1 | 30.6 | 29.2 | 27.5 | 26.1 | 133 1.Y13225 1.Y13246 99 f"ES
o4 | AS22[11F-01-04SA | 1/8 13 8.2 12 19.1 | 26.2 | 19.1 | 306 | 29.2 | 27.5 | 26.1 | 133 1.Y13226 1.Y13247 99 éﬁg
26 | AS22[J1F-01-06SA | 1/8 13 10.4 12 19.1 | 26.2 | 19.1 | 30.6 | 29.2 | 27.5 | 26.1 | 133 1.Y13227 1.Y05040 10g % §
28 | AS22[]1F-01-08SA | 1/8 13 13.2 12 224 | 29.5 | 19.1 | 30.6 | 29.2 | 27.5 | 26.1 | 14.2 1.Y13228 1.Y13248 11g E
210 | AS22(J1F-01-10SA | 1/8 13 15.9 12 253 | 324 | 19.1 | 30.6 | 29.2 | 275 | 26.1 | 15.6 1.Y13229 1.Y13249 12¢g ®
©3.2 | AS22[1F-02-23SA | 1/4 17 7.2 13 209 | 30.2 | 22.6 | 36.6 35 31.1 | 29.5 | 133 1.Y13230 1.Y13250 18g
o4 | AS22[11F-02-04SA | 1/4 17 8.2 13 209 | 30.2 | 22.6 | 36.6 35 31.1 | 295 | 133 1.Y13231 1.Y13251 18g
26 | AS22[J1F-02-06SA | 1/4 17 10.4 13 23.4 | 32.7 | 22.6 | 36.6 35 31.1 | 29.5 | 133 1.Y13232 1.Y06906 189 T
@8 | AS22[J1F-02-08SA | 1/4 17 13.2 13 239 | 332 | 22.6 | 36.6 35 31.1 | 295 | 14.2 1.Y13233 1.Y08260 199 ﬂ.‘rﬁ
210 | AS22(J1F-02-10SA | 1/4 17 15.9 13 269 | 36.2 | 22.6 | 36.6 35 31.1 | 295 | 156 1.Y13234 1.Y13252 209 §
26 | AS32[J1F-02-06SA | 1/4 19 104 | 16.6 | 21.8 | 32.1 | 36.4 50 48.4 | 445 | 429 | 133 1.Y13235 1.Y13253 40g <
28 | AS32[11F-02-08SA | 1/4 19 13.2 | 16.6 | 22.7 33 36.4 50 48.4 | 445 | 429 | 14.2 1.Y13236 1.Y13254 419 g
210 | AS32(J1F-02-10SA | 1/4 19 159 | 16.6 | 26.7 37 35.7 50 48.4 | 445 | 429 | 156 1.Y13237 1.Y13255 429 'g
212 | AS32[11F-02-12SA | 1/4 19 18.5 | 16.6 | 29.7 40 34.5 50 48.4 | 445 | 429 17 1.Y13238 1.Y13256 439 2
26 | AS32(]1F-03-06SA | 3/8 19 104 | 16.6 | 21.8 | 32.1 | 28.7 | 423 | 40.7 | 37.1 | 35,5 | 13.3 1.Y13239 1.Y13257 31g 3
@8 | AS32[J1F-03-08SA | 3/8 19 13.2 | 16.6 | 22.7 33 28.7 | 423 | 40.7 | 37.1 | 355 | 14.2 1.Y13240 1.Y13258 31g
210 | AS32(J1F-03-10SA | 3/8 19 159 | 16.6 | 26.7 37 28 423 | 40.7 | 37.1 | 35,5 | 15.6 1.Y13241 1.Y13259 329
@12 | AS32[J1F-03-12SA | 3/8 19 18.5 | 16.6 | 29.7 40 26.8 | 423 | 40.7 | 37.1 | 355 17 1.Y13242 1.Y13260 349
210 | AS42[11F-04-10SA | 1/2 24 159 | 188 | 27.4 | 40.3 | 36.2 | 50.8 | 49.2 | 43.7 | 42.1 | 156 1.Y13243 1.Y13261 54g
212 | AS4201F-04-12SA | 1/2 24 185 | 18.8 | 30.8 | 43.7 | 35.1 | 50.8 | 49.2 | 43.7 | 421 17 1.Y13244 1.Y13262 569
216 | AS42(J1F-04-16SA | 1/2 24 238 | 188 | 34.8 | 47.7 | 32.7 | 50.8 | 49.2 | 43.7 | 42.1 | 20.6 1.Y13245 1.Y13263 60g

[HES/0HS TR, 1S Symbol/0 exhaust throttling, 1 intake throttling
(1)2F R~ Reference Size
(2) BT NGNS ERT  Reference dimension of R thread after screwing in

.



B3y |, A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

277

3L Connector

ASZ% ASseries

HBREBRE
Straight-through throttle valve

o,
N

‘) 4

Le P g
L oD N
ERETIMEed [ > DB

S 5

D"‘ o

s { / _,~¢-'

M1 M1
L1

ZRS(PN) #1 = (Model)
22 1.Y13264 AS1002F-02 6 3.2 5 6 25.4 3.4 7.9 20.9 18.4 11 9.8 5 6.7 8.8 39
3.2 1.Y13265 AS1002F-23 8.4 33 5.5 9.1 36 4.4 11.1 23.8 21 11 15.4 8.8 9.8 12.7 59
o4 1.Y04457 AS1002F-04 9.3 3.3 5.5 9.1 37 5.1 11.8 | 245 | 21.7 11 15.4 8.8 10.1 12.7 5.5g
26 1.YO4T777 AS1002F-06 11.6 3.3 5.5 9.1 39.5 6.1 12.8 | 25,5 | 22.7 11 15.4 8.8 12.3 13.5 6.5g
o4 1.Y13266 AS2002F-04 9.3 3.3 5.5 10 40.7 5.2 123 | 289 | 254 12.6 17 10.5 11.5 12.7 8.5g
26 1.Y13267 AS2002F-06 11.6 3.3 5.5 10 42.5 6.3 13.4 30 26.5 12.6 17 10.5 12.3 13.5 9.5g
26 1.Y13268 AS2052F-06 12.8 4.3 7.8 14 53.2 6.7 163 | 345 | 295 17 22.8 12 15.7 17 19g
28 1.Y13269 AS2052F-08 15.2 4.3 7.8 14 57.2 8 17.6 | 35.8 | 30.8 17 22.8 12 16.1 18 22g
26 1.Y13270 AS3002F-06 13.2 4.3 8 19.3 59 7.4 19.3 | 38.6 | 33.6 22 25 12 20.5 17 369
28 1.Y13271 AS3002F-08 15.2 4.3 8 19.3 65 8.2 20.1 | 394 | 344 22 25 12 20.5 18 38g
210 1.Y13272 AS3002F-10 18.5 4.3 8 19.3 | 70.8 9.8 217 41 36 22 25 12 20.5 21 429
212 1.Y13273 AS3002F-12 20.9 4.3 8 19.3 76 109 | 228 | 42.1 | 37.1 22 25 12 22.1 22 449
210 1.Y13274 AS4002F-10 18.5 43 8 25 76.9 10.3 | 22.7 | 51.6 | 44.1 28 33 14 26.2 21 769
212 1.Y13275 AS4002F-12 21.7 4.3 8 25 81.3 113 | 23.7 | 52.6 | 45.1 28 33 14 26.2 22 829

CHES /0TI, 1t

C=G

=g

[T Symbol/0 exhaust throttling, 1 intake throttling
(1)52EFR~T  Reference Size
(2) BOITNGHIBERT  Reference dimension of R thread after screwing in




3L Connector

KC#&%| KCseries

Eiﬁg% KCH gg g
Straightjoint:KCH *\m\
22
A 1%]
Hie) EEET = 2
3
i .'_
- =
) . <
] : £, N —~
i H
H REANDE % ]
L= T ) Zﬁ <
e
<M58y7 &> <RHYIZ &> <M58937 &> <RHYIZH &> o
BREER
*ﬁl-;ﬁ) mm
i B# 258 o
o4 1.Y03525 KCH04-M5 M5X0.8 9.8 30.8 27.3 18 2.1 2.1 89 i E
1.Y13286 KCH04-01S 1/8 10 26.1 22.1 18 2.6 2.6 89 :
26 1.Y03524 KCH06-M5 M5X0.8 11.8 32.4 28.9 19.5 2.4 2.4 10g nza_
1.Y13287 KCHO06-01S 1/8 12 37.5 33.4 19 6.8 6.8 169 Q
28 1.Y13288 KCH08-01S 1/8 14 42.4 38.4 21.5 16.2 13.1 20g °
* RBSUT NGNS E R
% Rreference dimension of R thread after screwing in £9
E%
[z
He
o
KQ2%&7%! KQ2series
#3k:KQ2P
Plug :KQ2P
L = >
i =z
: a gjjé
e ! i
e N E B
X U =
/EEBKIRT
od
<
B3
22 1.Y13210 KJP-02 3 17 10.4 0.1g EE s
3.2 1.Y13211 KQ2P-23 5 31.5 18.2 1g ﬁ: 2
o4 1.Y13212 KQ2P-04 6 32 18.7 1g g2
26 1.Y13213 KQ2P-06 8 35 21.7 1g %
28 1.Y13214 KQ2P-08 10 39 24.8 29
210 1.Y13215 KQ2P-10 12 43 27.4 3.59
212 1.Y13216 KQ2P-12 14 45.5 28.5 5g
216 1.Y13217 KQ2P-16 20.9 47 26.4 89 Mz
%3
3
<
0
o
3
3
>
13
3

CRG



& Hoses

REREBd REE L EERETS.

Polyurethane hose for compressed air suitable for use with push-in fittings.

MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig
OA
-
|
L
|
L
|
L
|
L
| |
_,/\.if\_<
|
|
@B

A
Technical characteristics
s> T=-15 ~ +60°C .
52 P=0.8MPa * BEKEH 100 K
E;J-g * Each box is 100 meters in length.
J]e
S (PN) BES(Model) giEa(Colour)
1.Y00824 AH4B = / Black 4 2.5 100 9g
1.Y03687 AH4BU 58 /Blue 4 2.5 100 99
= 1.Y00823 AH4G % / Green 4 2.5 100 9g
Zg 1.Y03686 AHAT EBE/Transparent 4 2.5 100 9g
#H3 1.Y00821 AH4Y #eE / Yellow 4 2.5 100 9g
#i 1.Y00822 AH4R 41 /Red 4 2.5 100 9g
s 1.Y05661 AH40 & /Orange 4 2.5 100 99
1.Y00830 AH6B 2 / Black 6 4 100 199
1.Y00829 AH6BU % /Blue 6 4 100 199
1.Y00825 AH6G &1 / Green 6 4 100 199
By & 1.Y00827 AH6T BB/ Transparent 6 4 100 19g
1¢%’ 1.Y00828 AH6Y #E / Yellow 6 4 100 199
> 1.Y00826 AH6R 41 / Red 6 4 100 199
§ 1.Y04640 AH60 # /Orange 6 4 100 19g
3 1.Y04478 AH8B 2 / Black 8 5 100 369
3 1.Y00831 AH8BU 8 /Blue 8 5 100 369
@ 1.Y04476 AH10B = / Black 10 6.5 100 549
1.Y05660 AH10BU &/ Blue 10 6.5 100 549

[5MZ - Outer diameter]

[A%2 - Inner diameter]

K[ - Lenght]

Lm [£&E - Linear mass]

[$2{EEH5ERE - Operating pressure range]

T [#2(EIRESBHE - Operating temperature range]

- W >

o

wEl CRG



%ﬁ 25| Index

HE(Model) HSPN) __ RiB(Page) EE(Model) /E(PN)  TIE3(Page) AE(Model) RE(PN)  T#B(Page)
PTC-M4L14 1.Y02752 4 SMBB-2525 7.Y00012 10
PST8-1500 4.Y00040 1 PTC-MA4L16 1.Y04073 4 SMBB-5025 7.Y00339 10
PST12-1500 4.Y00021 1 PTC-MA4L18 1.Y05846 4 SMBB-2550 7.Y00340 10
PST20-1500 4.Y00022 1 PTC-MA4L20 1.Y04000 4 SMBB-3030 7.Y00163 10
PAT20-1000 4.Y00468 1 PTC-M4L22 1.Y06307 4 SMBC-1025 7.Y00296 11
PAT20-2000 4.Y10972 1 PTC-MA4L25 1.Y05319 4 SMBC-1432 7.¥00297 11
PAT30-1000 4.Y00469 1 PTC-M5L10 1.Y04294 4 SMBC-2038 7.Y00013 11
PAT30-2000 4.Y10973 1 PTC-M5L12 1.Y03850 4 SMBC-3050 7.¥00226 11
PAT25-1000 4.Y10950 1 PTC-M5L14 1.Y04528 4 SMBC-5070 7.Y00225 11
PAT25-2000 4.Y10974 1 PTC-M5L16 1.Y03849 4 SMBD-2550 7.¥00227 12
PAT40-1000 4.Y10538 1 PTC-M5L18 1.Y05925 4 SMBD-5070 7.¥00228 12
PAT40-2000 4.Y10975 1 PTC-M5L20 1.Y03909 4 SMBD2-7625 7.Y00426 13
PCT8-1000 4.Y10960 1 PTC-M5L22 1.Y06257 4 SMBD2-12025 7.Y00427 13
PCT8-2000 4.Y10961 1 PTC-M5L25 1.Y03851 4 SMBD2-13025 7.Y00428 13
PCT12-1000 4.Y10962 1 PTC-M5L30 1.Y04469 4 SMBD2-7650 7.Y00429 13
PCT12-2000 4.Y10963 1 PTC-M5L35 1.Y04580 4 SMBD2-12050 7.Y00430 13
PCT20-1000 4.Y10964 1 PTC-M5L40 1.Y04898 4 SMBD2-13050 7.Y00431 13
PCT20-2000 4.Y10965 1 PTC-MS5L50 1.Y04968 4 SMBD3-2525 7.Y00812 13
PCT25-1000 4.Y10966 1 PTC-M5L60 1.Y05391 4 SMBD3-2550 7.Y00813 13
PCT25-2000 4.Y10967 1 PTC-M6L10 1.Y04288 4 SMBD3-4040 7.Y00814 13
PCT30-1000 4.Y10968 1 PTC-M6L12 1.Y03910 4 SMBD3-4080 7.Y00815 13
PCT40-2000 4.Y10969 1 PTC-M6L14 1.Y04153 4 SMBE-1010 7.Y00300 14
PCT40-1000 4.Y10970 1 PTC-M6L16 1.Y02753 4 SMBE-1014 7.Y00301 14
PCT40-2000 4.¥10971 1 PTC-M6L18 1.Y07729 4 SMBE-1210 7.Y00775 14
POSRD 1.Y03375 1 PTC-M6L20 1.Y04076 4 SMBE-1214 7.Y00864 14
P12GY 1.Y03636 1 PTC-M6L25 1.Y06227 4 SMBE-1414 7.Y00302 14
P12BU 1.Y03638 1 PTC-M6L30 1.Y04001 4 SMBE-2014 7.Y00014 14
P12BK 1.Y03640 1 PTC-M6L35 1.Y03911 4 SMBE-2022 7.Y00304 14
P20GY 1.Y03637 1 PTS-M4 1.Y03853 5 SMBE1-0840 7.Y00694 15
P20BU 1.Y03639 1 PTS-M5 1.Y03852 5 SMBE1-1040 7.Y00201 15
P20BK 1.Y03641 1 PTS-M6 1.Y03854 5 SMBE1-1240 7.Y00695 15
P30BK 1.Y20001 1 PTD-M4P8 4.Y00522 5 SMBE1-1440 7.Y00200 15
P25BK 1.Y10988 1 PTD-M5P10 4.Y00523 5 SMBE1-1450 7.Y00199 15
P40BK 1.Y10987 1 PTD-M5P15 4.Y00524 5 SMBE1-2060 7.Y00015 15
PEP1818-1000  4.Y00075 2 PTD-M5P17 4.Y00525 5 SMBE1-3060 7.Y00724 15
PEP2510-1000  4.Y00076 2 PTD-M5P22 4.Y00526 5 SMBE2-1040 7.Y00725 16
PEP2518-1000  4.Y00455 2 PTD-M5P25 4.Y00527 5 SMBE2-1240 7.Y00777 16
PEP2525-1000 4.Y00050 2 SMBE2-1450 7.Y00307 16
PEP2525-2000  4.Y00051 2 SFP-52550 7.Y00641 6 SMBE2-2060 7.Y00308 16
PEP5025-1000  4.Y00056 2 SFP-525100 7.Y00642 6 SMBE2-3060 7.Y00309 16
PEP5025-2000  4.Y00057 2 SFP-540160 7.Y00643 6 SMBE8-1040 7.¥02014 17
PEP4040-1000  4.Y00052 2 SFP-L2550 7.Y00647 6 SMBE8-1450 7.Y02015 17
PEP4040-2000  4.Y00053 2 SFP-L2575 7.Y00648 6 SMBE8-2060 7.¥02012 17
PEP3030-1000  4.Y00540 2 SFP-140120 7.Y00649 6 SMBE3-1020 7.Y00341 18
PEP3030-2000  4.Y00541 2 SFP-T2550 7.Y00644 7 SMBE3-1220 7.Y00795 18
PEP-3636-1000  4.Y00054 2 SFP-T25100 7.Y00645 7 SMBE3-1430 7.Y00342 18
PEP-3636-1500  4.Y00484 2 SFP-T40120 7.Y00646 7 SMBE3-2040 7.Y00343 18
PEP-3636-2000  4.Y00055 2 SFP-50 7.Y00636 7 SMBE3-3050 7.Y00344 18
PTN-M4 7.Y00651 3 SFP-A60 7.Y00637 8 SMBE4-1412 7.¥00224 19
PTN-M5 7.Y00425 3 SFP-A90 7.Y00638 8 SMBE4-2012 7.¥00223 19
PTN-M6 7.Y00652 3 SFP-A70 7.Y00639 8 SMBE4-2020 7.Y00181 19
PTN-M4P8 7.Y00653 3 SFP-AS50 7.Y00640 8 SMBE4-3012 7.¥00222 19
PTN-M5P10 7.Y00654 3 SMBA-1818 7.Y00290 9 SMBE4-3020 7.¥00221 19
PTN-M5P15 7.Y00655 3 SMBA-1825 7.Y00291 9 SMBE5-G1840 7.Y00310 20
PTN-M5P17 7.Y00656 3 SMBA-2020 7.Y00245 9 SMBE5-G1860 7.Y00311 20
PTN-M5P22 7.Y00657 3 SMBA-2525 7.Y00194 9 SMBE5-M1040  7.Y00312 20
PTN-M5P25 7.Y00658 3 SMBA-3030 7.Y00193 9 SMBE5-M1060  7.Y00313 20
PTN-M5P28 7.Y00659 3 SMBA-5050 7.Y00011 9 SMBE5-M1240  7.Y00314 20
PTN-M5P30 7.Y00660 3 SMBA-2550 7.Y00292 9 SMBE5-M1260  7.Y00315 20
PTN-M5P35 7.Y00661 3 SMBA-4040 7.Y00246 9 SMBE5-M1440  7.Y00316 20
PTN-M5P40 7.Y00662 3 SMBA-8080 7.Y00355 9 SMBE5-M1460  7.Y00317 20
PTN-M5P50 7.Y00663 3 SMBA-4080 7.¥00293 9 SMBE5-M1640  7.Y00320 20
PTN-M5P60 7.Y00664 3 SMBA-2580 7.¥00294 9 SMBE5-M1660  7.Y00321 20
PTN-M5P90 7.Y00665 3 SMBA-2540 7.Y00356 9 SMBE5-M2040  7.Y00322 20
PTN-M5R 7.Y00805 3 SMBA-3025 7.Y00690 9 SMBE5-M2060  7.Y00323 20
PTC-M4L10 1.Y03908 4 SMBB-1818 7.Y00295 10 SMBE6-1040 7.Y00357 21
PTC-MA4L12 1.¥03848 4 SMBB-1825 7.Y00817 10 SMBE6-1240 7.Y00358 21



e 25| Index

FS(Model) 55 (PN) E8(Page) S (Model) 55 (PN) f3(Page) AE(Model) £E(PN) mf5(Page)
SMBEG6-1440 7.Y00359 21 SCD-2020 7.Y00233 29 SCF3-70M12 7.Y00134 37
SMBE6-1640 7.Y00360 21 SCD-3030 7.Y01050 29 SCF3-70M17 7.Y00135 37
SMBEG6-2040 7.Y00361 21 SMBT3-2020 7.Y00047 30 SCF4-0840W12 7.Y00122 37
SMBEG6-2240 7.Y00362 21 SMBF-0808 7.Y00029 30 SCF4-0840W16 7.Y00123 37
SMBE6-2540 7.Y00363 21 SMBF-0812 7.Y00030 30 SCF4-1240W16 7.Y00004 37
SMBEG6-1028 7.Y00364 21 SMBF-1208 7.Y00031 30 SCF4-2040W25 7.Y00124 37
SMBEG6-1228 7.Y00365 21 SMBF-1212 7.Y00032 30 SCF4-0870W12 7.Y00136 37
SMBE6-1428 7.Y00366 21 SMBF-1220 7.Y00033 30 SCF4-0870W16 7.Y00137 37
SMBEG6-1628 7.Y00367 21 SMBF-2012 7.Y00034 30 SCF4-1270W16 7.Y00138 37
SMBEG6-2028 7.Y00368 21 SMBF-2020 7.Y00035 30 SCF4-2070W25 7.Y00139 37
SMBE6-2228 7.Y00369 21 SMBF1-0808 7.Y00036 30 SCF5-0840W16 7.Y00125 37
SMBEG6-2528 7.Y00370 21 SMBF1-0812 7.Y00037 30 SCF5-0840W12 7.Y00126 37
SMBE7-0856 7.Y00062 22 SMBF1-1208 7.Y00038 30 SCF5-1240W16 7.Y00127 37
SMBE7-1256 7.Y00021 22 SMBF1-1212 7.Y00003 30 SCF5-2040W25 7.Y00128 37
SMBE7-2056 7.Y00006 22 SMBF1-1220 7.Y00039 30 SCF5-0870W16 7.Y00140 37
SMB-10M5-02G18 7.Y00153 22 SMBF1-2012 7.Y00040 30 SCF5-0870W12 7.Y00141 37
SMB-08M5-02G18 7.Y00154 22 SMBF1-2020 7.Y00041 30 SCF5-1270W16 7.Y00142 37
SMB-10M5 7.Y00155 22 SMBJ1-5 7.Y00070 31 SCF5-2070W25 7.Y00143 37
SMB-08M5 7.Y00156 22 SMBJ2-6 7.Y00071 31 SMBR2-M10 7.Y00099 38
SMB-06M5 7.Y00157 22 SMBT5-8 7.Y00072 31 SMBR2-M12 7.Y00100 38
SMB-14M5 7.Y00167 22 SMBT5-12 7.Y00073 31 SMBR4-0808M4 7.Y00103 38
SMB-5G18 7.Y00229 23 SMBT6-12 7.Y00074 32 SMBR4-1208M4 7.Y00110 38
SMB1-5G18 7.Y01020 23 SMBG1-8M5 7.Y00057 32 SMBR4-1212M4 7.Y00019 38
SMB2-5G18 7.Y01022 23 SMBG1-8M6 7.Y00058 32 SMBR4-1212M4L  7.Y00268 38
SMB-9G18 7.Y00231 24 SMBG1-12M5 7.Y00059 32 SMBR4-1420M6 7.Y00461 38
SMB1-9G18 7.Y01021 24 SMBG1-12M6 7.Y00060 32 SMBR4-2020M6 7.Y00007 38
SMB2-9G18 7.Y01023 24 SMBG1-12G18 7.Y00061 32 SMBR4-2020M6L  7.Y00206 38
SMB-D5G18 7.Y00230 25 SCF1-40M3 7.Y00115 32 SMBR5-1208 7.Y00111 38
SMB1-D5G18 7.Y01024 25 SCF1-40G18 7.Y00118 32 SMBR5-0808 7.Y00104 38
SMB2-D5G18 7.Y01025 25 SCF1-70M3 7.Y00129 32 SMBR5-1212 7.Y00112 38
SMB-A5G18 7.Y00240 26 SCF1-70G18 7.Y00132 32 SMBR7-0808 7.Y00113 39
SMB-A5G14 7.Y00241 26 SCF2-40M5 7.Y00173 32 SMBR7-1212 7.Y00114 39
SMBY12-50 7.Y00736 26 SCF2-40M6 7.Y00117 32 SMBR-46 7.Y00063 39
SMBY12-100 7.Y00735 26 SCF2-70M5 7.Y00130 32 SMBR1-12 7.Y00098 39
SMBY14-50 7.Y00733 26 SCF2-70M6 7.Y00131 32 SVA-G18 7.Y00235 40
SMBY14-100 7.Y00734 26 SMBM-10 7.Y00740 33 SVA-G14 7.Y00237 40
SMBY20-50 7.Y00732 26 SMBM-16 7.YO0741 33 SVB-M5 7.Y00242 41
SMBY20-100 7.Y00731 26 SMBM-20 7.Y00728 33 SVB-G18 7.Y00244 41
SMBY20-150 7.Y00462 26 SMBM-25 7.Y00739 33 SVB-G14 7.Y00243 41
SMBY25-100 7.Y01027 26 SMBM-32 7.YO0738 33 SVC-M5 7.Y00328 42
SMBY30-50 7.Y00729 26 SMBM-40 7.YO0737 33 SVC-G18 7.Y00238 42
SMBY30-100 7.Y00730 26 SMBT9-12 7.Y00081 33 SVC-G14 7.Y00239 42
SMBY30-150 7.Y00463 26 SMBU-12 7.Y00082 33 SVD-M5 7.Y00416 43
SMBT4-G1820 7.Y00048 27 SMBU2-20 7.Y00255 34 SVD-G18 7.Y00417 43
SMBT1-M1412 7.Y00028 27 SMBU3-8 7.Y00085 34 SVD-G14 7.Y00418 43
SMBP-0808 7.Y00042 27 SMBU4-12 7.Y00086 34 SVE-M51030 7.Y00410 44
SMBP-0812 7.Y00043 27 SMBU5-20 7.Y00087 35 SVE-M51060 7.Y00411 44
SMBP-1212 7.Y00044 27 SMBUG6-8 7.Y00088 35 SVE-M51090 7.Y00412 44
SMBP-2012 7.Y00045 27 SMBU7-12 7.Y00089 35 SVE-M51230 7.YO0772 44
SMBP-2020 7.Y00046 27 SMBU8-20 7.Y00090 35 SVE-M51260 7.YO0773 44
SMBT-0808 7.Y00025 28 SMBU9-M10 7.Y01051 36 SVE-M51290 7.YOO774 44
SMBT-1208 7.Y00026 28 SMBK1-8T10 7.Y00091 36 SVE-G181440 7.Y00413 44
SMBT-1212 7.Y00020 28 SMBK1-12T10 7.Y00092 36 SVE-G181480 7.Y00414 44
SMBT-1214 7.Y00794 28 SMBK1-20T10 7.Y00093 36 SVE-G1814120 7.Y00415 44
SMBT-2012 7.Y00027 28 SMBK1-8T16 7.Y00094 36 SVE-G142050 7.Y00008 44
SMBT-2020 7.Y00005 28 SMBK1-12T16 7.Y00095 36 SVE-G1420100 7.Y00009 44
SMBT-1414 7.Y01002 28 SMBK1-20T16 7.Y00096 36 SVE-G1420150 7.Y00010 44
SMBT-2520 7.Y00998 28 SMBS-8T10 7.Y00064 36 SCA1-1010L30 7.Y00398 45
SMBT-2525 7.Y00999 28 SMBS-12T10 7.Y00065 36 SCA1-1010L60 7.Y00399 45
SMBT-4020 7.Y01059 28 SMBS-20T10 7.Y00066 36 SCA1-1010L90 7.Y00400 45
SMBT-4025 7.Y01004 28 SMBS-8T16 7.Y00067 36 SCA1-1212L30 7.YO0769 45
SMBT-4040 7.Y01003 28 SMBS-12T16 7.Y00001 36 SCA1-1212L60 7.YO0770 45
SMBT2-1212 7.Y00192 29 SMBS-20T16 7.Y00068 36 SCA1-1212L90 7.YO0771 45
SMBT2-2020 7.Y00185 29 SCF3-40M10 7.Y00119 37 SCA1-1414L40 7.Y00401 45
SCD-2010 7.Y00329 29 SCF3-40M12 7.Y00120 37 SCA1-1414L80 7.Y00402 45
SCD-2014 7.Y00330 29 SCF3-40M17 7.Y00121 37 SCA1-1414L120 7.Y00403 45
SCD-3020 7.Y01049 29 SCF3-70M10 7.Y00133 37 SCA1-2020L50 7.Y00404 45

C=G



¢ &
4

@_x
“f\: ?gl Index

#S(Model) £S5 (PN) Taf3(Page) #E(Model) £S(PN) Tf8(Page) #E(Model) HE(PN) a3 (Page)
SCA1-2020L100  7.Y00405 45 SEAV-G1420L150  7.Y00437 53 D-Sub15G2-1000 1.Y10081 82
SCA1-2020L150  7.Y00406 45 SBNA-8M5 7.¥00271 54 QCAM-06G18R  7.Y01015 83
SCA1-3030L80  7.Y00407 45 SBNA-8M6 7.¥00272 54 QCAM-06G18G  7.Y01016 83
SCA1-3030L140  7.Y00408 45 SBNA-12M5 7.Y00273 54 QCAM-06G18R-E  7.Y01018 83
SCA1-3030L200  7.Y00409 45 SBNA-12M10 7.¥00274 54 QCAM-06G18G-E  7.Y01019 83
SCA2-2020L50  7.Y00996 45 SBNA-20M12 7.¥00276 54 QCAM-10M5R  7.Y01053 84
SCA2-2020L100  7.Y01000 45 SBNA-20M17 7.Y00277 54 QCAM-10M5G  7.Y01054 84
SCA2-2020L150  7.Y00997 45 SBNB-12PT18 7.¥00275 54 QCAM-14M5R  7.Y01055 84
SCA2-3030L80  7.Y01006 45 SBNB-20PT18 7.¥00278 54 QCAM-14M5G  7.Y01056 84
SCA2-3030L140  7.Y01005 45 SBND-1208 7.Y00280 54 QCAM-06G18R-F  7.Y02005 85
SCA2-3030L200  7.Y01001 45 SBND-2012 7.¥00281 54 QCAM-06G18G-F  7.Y02006 85
SCC-20G18 7.¥00236 46 SBND-2008 7.¥00282 54 QCWM-02R 7.¥02013 86
SCC-20M16 7.Y00234 46 QCWM-02G 7.Y02014 86
SCE-NR20 7.Y00331 47 QCA-05R 8.Y00355 61 QCSM-M9K 7.¥00922 88
SCE-NR30 7.¥00261 47 QCA-05G 8.Y00356 61 QCSM-9R2 7.Y00862 88
SCE-NR50 7.¥00742 47 QCA-05R-SP 8.Y00355-SP 61 QCSM-9G2 7.Y00863 88
SCEL-NS20 7.Y00692 47 QCA-05R-SN 8.¥00355-SN 61 R9-1000 1.Y06423 88
SCE1-NS30 7.Y00693 47 QCA-15R 8.Y00353 63 G9-1000 1.Y06424 88
SCE2-05 7.Y00796 47 QCA-15G 8.Y00354 63 QC-R50K 8.Y00402 89
SCE2-1015 1.Y00094 48 QCA-15R-SP 8.Y00353-SP 63 QC-G50 8.Y00055 90
SCE2-25 7.Y00633 48 QCA-15R-SN 8.Y00353-SN 63 SIP-50B 7.Y00650 90
SCE3-N10 7.¥00075 48 QCA-25R 8.Y00460 65 QC-R90K 8.Y00359 91
SCE3-N20 7.Y00076 48 QCA-25G 8.Y00461 65 QC-G90 8.Y00033 92
SCE3-N30 7.Y00077 48 QCA-25R-SP 8.Y00460-SP 65 SIP-90B 7.Y00634 92
SCE4-NR(L.R) 7.¥00868 49 QCA-25R-SN 8.Y00460-SN 65 QC-R150K 8.Y00376 93
SCE4-NR30 7.Y00146 49 QCA-35R 8.Y00351 67 QC-G150 8.¥00377 94
SCE4-NR20 7.Y00147 49 QCA-35G 8.Y00352 67 SIP-1608B 7.Y00635 94
SCE4-NR10 7.¥00148 49 QCA-35R-SP 8.Y00351-SP 67 QC-R160K 8.Y00360 95
SCE-NR20-D10  7.Y00946 49 QCA-35R-SN 8.Y00351-SN 67 QC-G160 8.Y00053 9%
SCE-NR20-D12  7.Y00947 49 QCA-50R 8.Y00349 69 SIP-1608B 7.Y00635 96
SCE-NR30-D10  7.Y00948 49 QCA-50G 8.Y00350 69 QC-R200K 8.Y00209 97
SCE-NR30-D12  7.Y00949 49 QCA-50R-SP 8.Y00349-SP 69 QC-G200 8.¥00208 98
SMBH1-8M5 7.Y00051 50 QCA-50R-SN 8.Y00349-SN 69 SIP-200B 7.Y00865 98
SMBH1-8M6 7.¥00052 50 QCA-100R-SP 8.Y00362-SP 71 QCS-R60 8.Y00081 99
SMBH1-12M5 7.¥00053 50 QCA-100R-SN 8.¥00362-SN 71 QCS-G60 8.Y00082 99
SMBH1-12M6 7.Y00002 50 QCA-100G 8.¥00363 71 KCHO04-M5 1.Y03525 99
SMBH1-12M8 7.¥00054 50 QCA-200R-SP 8.Y00272-SP 73 KCHO06-M5 1.Y03524 99
SMBH1-20M6 7.Y00055 50 QCA-200R-SN 8.¥00272-SN 73 QCS-R100 7.¥00332 99
SMBH1-20M8 7.Y00056 50 QCA-2006G 8.Y00357 73 QCS-G100 7.¥00175 99
SMBE7-18M5 7.Y00869 50 QCA-200R-SP-D1  8.Y00272-SP-D1 75 QCS-R160 7.Y00160 99
SMBE7-18M6 7.Y00870 50 QCA-200R-SN-D1  8.Y00272-SN-D1 75 QCS-G160 7.¥00161 99
SMBE7-25M5 7.Y00871 50 QCA-200G-D1 8.Y00357-D1 75 KCH104-M5*5 7.¥02016 99
SMBE7-25M6 7.Y00872 50 QCSM-15R1 7.Y00965 77 KCH106-M5*5 7.¥02017 99
SEA-1010L60 7.¥00388 51 QCSM-15G1 7.Y00966 77 MS-10SF*5 7.¥02018 99
SEA-1212L60 7.Y00776 51 QCSM-15R2 7.Y00468 77 MS-10PF 1.Y20004 99
SEA-1414L40 7.¥00389 51 QCSM-15G2 7.Y00469 77 QCL15R-Y 1.Y01275 100
SEA-1414L80 7.¥00390 51 QCSM-08R 8.Y00477 78 QCL15G-Y 1.Y01276 100
SEA-1414L120  7.Y00391 51 QCSM-08G 7.¥00478 78 QCL15R-S 8.Y00236 101
SEA-2020L50 7.¥00392 51 QCSM-19R 7.Y00954 78 QCL15G-S 8.Y00235 101
SEA-2020L100  7.Y00393 51 QCSM-19G 7.¥00955 78 QCL35R-S 8.¥00101 102
SEA-2020L150  7.Y00394 51 QCSM-26R 7.Y00464 79 QCL35G-S 8.Y00102 102
SEA-3030L80 7.¥00395 51 QCSM-26G 7.Y00465 79 BP90O 4.Y00480 103
SEA-3030L140  7.Y00396 51 QCHFM-E14-C1R  7.Y02003 79 BP135 4.¥00497 103
SEA-3030L200  7.Y00397 51 QCHFM-E14-C1G  7.Y02004 79 QCA-S10R 8.Y00037 104
SEAH-2020L50  7.Y00350 52 MS3116F14-19S  1.Y11420 80 QCA-S10G 8.Y00038 104
SEAH-2020L100  7.Y00351 52 MS3116F14-19P  1.Y11419 80
SEAH-2020L150  7.Y00166 52 MS3116F16-26S  1.Y11867 80 GMHZ2-10S 1.Y00258 105
SEAH-3030L80  7.Y00352 52 MS3116F16-26P  1.Y11369 80 GMHZ2-10D 1.Y00252 105
SEAH-3030L140  7.Y00353 52 3108A22-23S 1.Y10710 80 GMHZ2-16S 1.Y00257 105
SEAH-3030L200  7.Y00354 52 3108A22-23P 1.Y10711 80 GMHZ2-16D 1.Y00256 105
SEAV-M510L45  7.Y00432 53 CMBO8E-14-195(072)R-B 1.Y00863 81 GMHZ2-20S 1.Y03080 105
SEAV-M510L90  7.Y00433 53 CMBOSE-14-19P(072)5R-B 1.Y00864 81 GMHZ2-20D 1.Y02703 105
SEAV-G1814L60  7.Y00258 53 CMB08E-16-265(072)SR-B 1.Y00865 81 GMHZ2-255 1.Y09884 105
SEAV-G1814L120  7.Y00434 53 CMBOSE-16-26P(072)SR-B 1.Y00866 81 GMHZ2-25D 1.Y09338 105
SEAV-G1820L78  7.Y00435 53 DB15R1-1000 1.Y10163 82 GMHZ2-325 1.Y09885 105
SEAV-G1820L153  7.Y00247 53 DB15G1-1000 1.Y10437 82 GMHZ2-32D 1.Y09886 105
SEAV-G1420L75  7.Y00436 53 D-Sub15R2-1000  1.Y10080 82 GMHZ2-40S 1.Y09887 105

c=G



e 25| Index

FS(Model) 55 (PN) E8(Page) S (Model) 55 (PN) f3(Page) AE(Model) £E(PN) mf5(Page)
GMHZ2-40D 1.Y09888 105 FCT-40A-1-TEM 1.Y13340 111 GMXS12-75 - 116
GMHZL2-10S 1.Y09405 106 FCT-50A-1 1.Y13341 111 GMXS12-100 - 116
GMHZL2-10D 1.Y07974 106 FCT-50A-1-SD 1.Y13342 111 GMXS16-10 - 116
GMHZL2-16S 1.Y08175 106 FCT-50A-1-TEM 1.Y13343 111 GMXS16-20 - 116
GMHZL2-16D 1.Y08146 106 FCT-64A-1 1.Y13344 111 GMXS16-30 - 116
GMHZL2-20S 1.Y09882 106 FCT-64A-1-SD 1.Y13345 111 GMXS16-40 - 116
GMHZL2-20D 1.Y07975 106 FCT-64A-1-TEM 1.Y13346 111 GMXS16-50 = 116
GMHZL2-25S 1.Y09883 106 FCT-80A-1 1.Y13347 111 GMXS16-75 - 116
GMHZL2-25D 1.Y08802 106 FCT-80A-1-SD 1.Y13348 111 GMXS16-100 - 116
GMHC2-16S 1.Y02014 107 FCT-80A-1-TEM 1.Y13349 111 GMXS16-125 - 116
GMHC2-16D 1.Y05738 107 FCT-100A-1 1.Y13350 111 GMXS20-10 = 117
GMHC2-20S 1.Y02730 107 FCT-100A-1-SD 1.Y13351 111 GMXS20-20 - 117
GMHC2-20D 1.Y04328 107 FCT-100A-1-TEM  1.Y13352 111 GMXS20-30 = 117
GMHS3-16D 1.Y04529 108 FCT-125A-1 1.Y13353 111 GMXS20-40 - 117
GMHS3-20D 1.Y04764 108 FCT-125A-1-SD 1.Y13354 111 GMXS20-50 - 117
GMHS3-25D 1.Y05750 108 FCT-125A-1-TEM  1.Y13355 111 GMXS20-75 - 117
FPT-40A-1 1.Y13289 109 FCT-160A-1 1.Y13356 111 GMXS20-100 - 117
FPT-40A-1-SD 1.Y13290 109 FCT-160A-1-SD 1.Y13357 111 GMXS20-125 - 117
FPT-40A-1-TEM 1.Y13291 109 FCT-160A-1-TEM  1.Y13358 111 GMXS20-150 = 117
FPT-50A-1 1.Y13292 109 FCT-200A-1 1.Y13359 111 GMXA25-10 - 117
FPT-50A-2 1.Y13293 109 FCT-200A-1-SD 1.Y13360 111 GMXA25-20 - 117
FPT-50A-1-SD 1.Y13294 109 FCT-200A-1-TEM  1.Y13361 111 GMXA25-30 - 117
FPT-50A-2-SD 1.Y13295 109 FCT-240A-1 1.Y13362 111 GMXA25-40 - 117
FPT-50A-1-TEM 1.Y13296 109 FCT-240A-1-SD 1.Y13363 111 GMXA25-50 - 117
FPT-50A-2-TEM 1.Y13297 109 FCT-240A-1-TEM  1.Y13364 111 GMXA25-75 = 117
FPT-64A-1 1.Y13298 109 FCT-300A-1 1.Y13365 111 GMXA25-100 - 117
FPT-64A-2 1.Y13299 109 FCT-300A-1-SD 1.Y13366 111 GMXA25-125 - 117
FPT-64A-1-SD 1.Y13300 109 FCT-300A-1-TEM  1.Y13367 111 GMXA25-150 - 117
FPT-64A-2-SD 1.Y13301 109 IPS-030-M8 1.Y13368 112 GMXS6 - 117
FPT-64A-1-TEM 1.Y13302 109 IPS-030-OW 1.Y13369 112 GMXS8 - 118
FPT-64A-2-TEM 1.Y13303 109 IPS-RA-030-M8 1.Y13370 112 GMXS12 - 118
FPT-80A-1 1.Y13304 109 IPS-RA-030-OW 1.Y13371 112 GMXS16 - 118
FPT-80A-2 1.Y13305 109 EMS-030-M8-PNP 1.Y13372 112 GMXS20 - 118
FPT-80A-1-SD 1.Y13306 109 EMS-030-PNP-OW 1.Y13373 112 GMXS25 - 118
FPT-80A-2-SD 1.Y13307 109 EMS-RA-030-M8-PNR.Y13374 112 GMXH6-5Z - 120
FPT-80A-1-TEM 1.Y13308 109 EMS-RA-030-OW  1.Y13375 112 GMXH6-10Z - 120
FPT-80A-2-TEM 1.Y13309 109 EC-M8-0200-OW  1.Y13376 112 GMXH6-15Z - 120
FPT-100A-1 1.Y13310 109 EC-M8-0500-OW  1.Y13377 112 GMXH6-20Z - 120
FPT-100A-2 1.Y13311 109 SC-RA-G1/8-6 1.Y13378 112 GMXH6-25Z - 120
FPT-100A-1-SD 1.Y13312 109 SC-RA-G1/8-8 1.Y13379 112 GMXH6-30Z - 120
FPT-100A-2-SD 1.Y13313 109 SC-RA-G1/4-6 1.Y13380 112 GMXH6-40Z - 120
FPT-100A-1-TEM 1.Y13314 109 SL-040 1.Y13381 112 GMXH6-50Z - 120
FPT-100A-2-TEM  1.Y13315 109 SL-050 1.Y13382 112 GMXH6-60Z = 120
FPT-110A-1 1.Y13316 109 SL-064 1.Y13383 112 GMXH10-5Z - 120
FPT-125A-1 1.Y13317 109 SL-080 1.Y13384 112 GMXH10-10Z - 120
FPT-125A-2 1.Y13318 109 SL-100 1.Y13385 112 GMXH10-15Z - 120
FPT-125A-1-SD 1.Y13319 109 SL-120 1.Y13386 112 GMXH10-20Z - 120
FPT-125A-2-SD 1.Y13320 109 SL-160 1.Y13387 112 GMXH10-25Z - 120
FPT-125A-1-TEM  1.Y13321 109 SL-200 1.Y13388 112 GMXH10-30Z = 120
FPT-125A-2-TEM  1.Y13322 109 SL-240 1.Y13389 112 GMXH10-40Z - 120
FPT-160A-1 1.Y13323 109 SL-300 1.Y13390 112 GMXH10-50Z - 120
FPT-160A-2 1.Y13324 109 GMXS6-10 - 115 GMXH10-60Z - 120
FPT-160A-1-SD 1.Y13325 109 GMXS6-20 : 115 GMXH16-5Z = 121
FPT-160A-2-SD 1.Y13326 109 GMXS6-30 - 115 GMXH16-10Z - 121
FPT-160A-1-TEM  1.Y13327 110 GMXS6-40 : 115 GMXH16-15Z = 121
FPT-160A-2-TEM  1.Y13328 110 GMXS6-50 - 115 GMXH16-20Z - 121
FPT-200A-1 1.Y13329 110 GMXS8-10 : 115 GMXH16-25Z = 121
FPT-200A-1-SD 1.Y13330 110 GMXS8-20 - 115 GMXH16-30Z - 121
FPT-200A-1-TEM  1.Y13331 110 GMXS8-30 : 115 GMXH16-40Z = 121
FPT-240A-1 1.Y13332 110 GMXS8-40 - 115 GMXH16-50Z - 121
FPT-240A-1-SD 1.Y13333 110 GMXS8-50 : 115 GMXH16-60Z - 121
FPT-240A-1-TEM 1.Y13334 110 GMXS8-75 - 115 GMXH20-5Z - 121
FPT-300A-1 1.Y13335 110 GMXS12-10 - 116 GMXH20-10Z = 121
FPT-300A-1-SD 1.Y13336 110 GMXS12-20 - 116 GMXH20-15Z - 121
FPT-300A-1-TEM  1.Y13337 110 GMXS12-30 - 116 GMXH20-20Z = 121
FCT-40A-1 1.Y13338 111 GMXS12-40 - 116 GMXH20-25Z - 121
FCT-40A-1-SD 1.Y13339 111 GMXS12-50 : 116 GMXH20-30Z - 121

C=G



s i
=

&'}
e 25| Index

FS(Model) 55 (PN) 5 (Page) S (Model) 55 (PN) f3(Page) AE(Model) £E(PN) mf5(Page)
GMXH20-40Z = 121 GR201-20-CN 8.Y00471 145 B6 1.Y12921 167
GMXH20-50Z - 121 GRA20A 8.Y00391 147 B7 1.Y12922 167
GMXH20-60Z = 121 GRA20A-CP 8.Y00392 147 B8 1.Y12923 167
PNP 7.Y00800 123 GRA20A-CN 8.Y00393 147 Cc3 1.Y08427 167
NPN 7.Y00801 123 GRC20A-CP 8.Y00434 148 c4 1.Y08428 167
GRS08 8.Y00214 124 GRC20A-CN 8.Y00435 148 Cc5 1.Y08429 167
GRS08-C 8.Y00099 124 GRT20A 8.Y00257 150 Cé 1.Y12924 167
GRS08-CN 8.Y00011 124 GRT20A-CN 8.Y00258 150 Cc7 1.Y12925 167
GRS08-CP 8.Y00012 124 GRT20A-CP 8.Y00259 150 c8 1.Y12926 167
GRM12A 8.Y00103 125 GRT20B 8.Y00279 151 GBS-2B-S01 4.Y00509 168
GRM12A-C 8.Y00092 125 GRT20B-CN 8.Y00281 151 GBS-3B-S01 4.Y00510 168
GRM12A-CN 8.Y00009 125 GRT20B-CP 8.Y00282 151 GBS-4B-S01 4.Y00511 168
GRM12A-CP 8.Y00010 125 GRT20C 8.Y00316 152 B-2B 1.Y08430 168
GRM12B 8.Y00107 125 GRT20D 8.Y00317 153 B-3B 1.Y08431 168
GRM12B-C 8.Y00106 125 GRT20D-CP 8.Y01004 153 B-4B 1.Y08432 168
GRM12B-CN 8.Y00104 125 GRT20D-CN 8.Y00458 153 GSMP-2S 7.Y01028 169
GRM12B-CP 8.Y00105 125 GRT20E 8.Y00318 154 GSMP-2L 7.Y01029 169
GRL12A 8.Y00108 126 GRT20E-CN 8.Y00339 154 GSMP-3S 7.Y01030 169
GRL12A-C 8.Y00100 126 GRT20E-CP 8.Y00340 154 GSMP-3L 7.Y01031 169
GRL12A-CN 8.Y00001 126 GRP32A 8.Y00278 157 GSMP-4S 7.Y01032 169
GRL12A-CP 8.Y00002 126 GRP32A-CP 8.Y00462 157 GSMP-4L 7.Y01033 169
GRX20 8.Y00213 127 GRP32A-CN 8.Y00463 157 GSMP-5S 7.Y01034 169
GRX20-C 8.Y00215 127 GRP32B 8.Y00388 158 GSMP-5L 7.Y01035 169
GRX20-CN 8.Y00013 127 GRP32B-CP 8.Y00466 158 iPCU 2-SMN 1.Y12927 170
GRX20-CP 8.Y00014 127 GRP32B-CN 8.Y00467 158 GSR1421-08 8.Y00241 171
GRO5A-10 8.Y00348 129 GRP32A-30 8.Y00315 159 GSR2026-10 8.Y00329 171
GR10A-12 8.Y00268 130 GRP32A-30CP 8.Y00464 159 GSR2026-12 8.Y00243 171
GR10A-12-CP 8.Y00267 130 GRP32A-30CN 8.Y00465 159 GSR2051-10 8.Y00330 171
GR10D-12 8.Y00370 131 GRP32B-30 8.Y00387 160 GSR2051-12 8.Y00331 171
GR10D-12-CP 8.Y00369 131 GRP32B-30CP 8.Y00399 160 GSRT1421-08 8.Y00242 171
GR12A-12 8.Y00048 132 GRP32B-30CN 8.Y00411 160 GSRT2026-10 8.Y00332 171
GR12A-12-C 8.Y00098 132 GRP32A-3020 8.Y00468 161 GSRT2026-12 8.Y00244 171
GR12A-12-CP 8.Y00050 132 GRP32A-3020CP  8.Y00469 161 GSRT2051-10 8.Y00333 171
GR12A-12-CN 8.Y00091 132 GRP32A-3020CN  8.Y00477 161 GSRT2051-12 8.Y00334 171
GR12B-12 8.Y00245 133 GRP32B-3020 8.Y00478 162 GSP20-14 8.Y00238 172
GR12B-12-C 8.Y00260 133 GRP32B-3020CP 8.Y00416 162 GSP20-20 8.Y00239 172
GR12B-12-CP 8.Y00261 133 GRP32B-3020CN  8.Y00417 162 GMP14A 8.Y00408 173
GR12B-12-CN 8.Y00262 133 GRP32C 8.Y00412 163 GMP20A 8.Y00088 173
GR10L-12 8.Y00307 134 GRP32C-30 8.Y00415 163 GMP30A 8.Y00089 173
GR12L-12 8.Y00308 134 GRP32C-320 8.Y00418 164 GMP14B 8.Y00968 173
GR10N-12 8.Y01011 134 GFM-A3V5 4.Y00500 167 GMP20B 7.Y00726 173
GR12N-12 8.Y01012 134 GFM-A4V5 4.Y00501 167 GMP30B 7.Y00789 173
GR12M-12 8.Y00419 135 GFM-A5V5 4.Y00502 167 GLU20A 7.Y00894 173
GR12M-12-CP 8.Y00421 135 GFM-A6V5 4.Y10951 167 GLU20B 7.Y00895 173
GR12M-12-CN 8.Y00420 135 GFM-A7V5 4.Y10952 167 GN2010 8.Y00025 175
GR20A-20 8.Y00224 138 GFM-A8V5 4.Y10953 167 GN2010-8 8.Y00347 175
GR20A-20-C 8.Y00049 138 GFM-B3V5 4.Y00503 167 GN2010-S51 8.Y00341 176
GR20A-20-CP 8.Y00226 138 GFM-B4V5 4.Y00504 167 GN2010-S21 8.Y00440 176
GR20A-20-CN 8.Y00051 138 GFM-B5V5 4.Y00505 167 18-S1 4.Y00470 178
GR20B-20 8.Y00234 139 GFM-B6V5 4.Y10954 167 18-S2 4.Y00472 178
GR20B-20-C 8.Y00231 139 GFM-B7V5 4.Y10955 167 22-S1 4.Y00471 178
GR20B-20-CP 8.Y00232 139 GFM-B8V5 4.Y10956 167 22-S2 4.Y00473 178
GR20B-20-CN 8.Y00233 139 GFM-C3V5 4.Y00506 167 GBD18U 8.Y00212 179
GR20C-20 8.Y00342 140 GFM-C4V5 4.Y00507 167 GBD22HU 8.Y00058 179
GR20D-20 8.Y00343 141 GFM-C5V5 4.Y00508 167 GBD18HD 8.Y00057 179
GR20D-20-CP 8.Y00442 141 GFM-C6V5 4.Y10957 167 GFA14-35 8.Y00117 180
GR20D-20-CN 8.Y00479 141 GFM-C7V5 4.Y10958 167 GFA20-35 8.Y00118 180
GR20E-20 8.Y00344 142 GFM-C8V5 4.Y10959 167 GFA30-35 8.Y00119 180
GR20F-20 8.Y00345 142 A3 1.Y08421 167 GFR14-95 8.Y00042 181
GR20G-20 8.Y00433 143 A4 1.Y08422 167 GFR20-95 8.Y00041 181
GR20G-20-CP 8.Y00472 143 A5 1.Y08423 167 GFR20-95E 8.Y00311 E{{8.Y00041
GR20G-20-CN 8.Y00473 143 A6 1.Y12918 167 GFR30-95 8.Y00095 181
GR20H-20 8.Y00422 144 A7 1.Y12919 167 GFR14-95G 8.Y00084 182
GR20H-20-CP 8.Y00424 144 A8 1.Y12920 167 GFR20-95G 8.Y00083 182
GR20H-20-CN 8.Y00423 144 B3 1.Y08424 167 GFR20-95EG 8.Y00312 E{£8.Y00083
GR201-20 8.Y00450 145 B4 1.Y08425 167 GFR30-95G 8.Y00096 182
GR201-20-CP 8.Y00470 145 B5 1.Y08426 167 GFR20-95L 8.Y00309 183

C=RG



@_
xﬁ: %gl Index

#E(Model) £5(PN) 5 (Page) #E(Model) £E(PN) f3(Page) HE(Model) £E(PN) t9(Page)
GFR20-95LG 8.Y00310 184 GT-NF05 1.Y01316 200 NT10AJL 1.Y00034 204
GFR20-95S 8.Y00335 185 GT-NF10 1.Y01532 200 NT20AJL 1.Y01649 204
GFR20-95SG 8.Y00336 186 GT-NF15 1.Y01350 200 NTO3AJT 1.Y06123 204
GFS14-90G 8.Y01001 187 NYO03A) 1.Y00044 201 NTO5AJT 1.Y04955 204
GFS20-90G 8.Y01002 187 NYO3RA)J 1.Y01116 201 NT10AJT 1.Y01318 204
GFS30-90G 8.Y01003 187 NYO5A) 1.Y00018 201 NTO3AJY 1.Y06124 204
GFS20-90SG 8.Y01030 188 NYOS5RAJ 1.Y03613 201 NTO5AJY 1.Y06125 204
GFS30-90SG 8.Y01031 188 NYO5AJB 1.Y06103 201 NT10AJY 1.Y06126 204
GP1-20 7.YO0778 189 NY10AJ 1.Y00020 201 NTO5AD 1.Y06127 205
GP1-30 7.YO0779 189 NY10RAJ 1.Y00019 201 NT10AD 1.Y02608 205
GP2-14 7.Y00780 189 NY10AJB 1.Y00026 201 NT20AD 1.Y06128 205
GP2-20 7.Y00781 189 NY15A) 1.Y00016 201 NTO5AJV 1.Y06129 205
GP2-30 7.Y00782 189 NY15RA)J 1.Y00017 201 NT10AJV 1.Y06130 205
GP3-14 7.Y00783 189 NY15AJB 1.Y00043 201 NTO5AE 1.Y01169 205
GP3-20 7.Y00700 189 NY25A) 1.Y00037 201 NT10AE 1.Y00022 205
GP3-20L 7.Y00908 189 NY25RA) 1.Y00039 201 GT-NK10 1.Y02665 206
GP3-30 7.YO0785 189 NY25AJB 1.Y00041 201 NK10A)J 1.Y02666 206
GS-14 7.Y00786 189 NYO3AJL 1.Y03558 201 GT-TC-02 1.Y03833 206
GS-20 7.YO0787 189 NYOS5AJL 1.Y00023 201 GT-NKH20XL-25 = 208
GS-30 7.YO0788 189 NY10AJL 1.Y00021 201 GT-NKH20XR-25 - 208
GOF20-20-NBR 8.Y00396 190 NY15AJL 1.Y00025 201 GT-NKH20A-25 1.Y00087 208
GOF20-20-VMQ 8.Y00395 190 NY25AJL 1.Y00036 201 GT-NKH20AR-25 1.Y00086 208
GOP20-20-NBR 8.Y00398 190 NYO3AJT 1.Y03208 201 GT-NKH10 1.Y04612 209
GOP20-20-VMQ 8.Y00397 190 NYOS5AJT 1.Y06104 201 NKH10A) 1.Y01474 209
D-M9B 1.Y00310 191 NYL0AJT 1.Y02234 201 NKH10RAJ 1.Y06241 209
D-M9BL 1.Y00307 191 NY15AJT 1.Y00024 201 GT-NTHO5 1.Y02235 209
D-M9BV 1.Y02565 191 NY10AD 1.Y05999 202 GT-NTH10 1.Y01471 209
D-M9BVL 1.Y03843 191 NY15AD 1.Y01089 202 NTHO5AJ 1.Y02236 209
D-M9N 1.Y00311 191 NY25AD 1.Y03989 202 NTH10AJ 1.Y01472 209
D-MIONL 1.Y00295 191 NYO5AH 1.YO4614 202 GT-N50H-40 8.Y00367 210
D-M9NV 1.Y00298 191 NYO5RAH 1.Y06052 202 N54-T 7.Y00441 210
D-M9NVL 1.Y03598 191 NY10AH 1.Y00027 202 N54-D 7.Y00442 210
D-M9P 1.Y00309 191 NY15AH 1.Y00858 202 L54-5 2.Y05202 210
D-M9PL 1.Y02301 191 NY15RAH 1.Y01466 202 GTC-001 8.Y01026 212
D-M9PV 1.Y00296 191 NY25AH 1.Y00038 202 GTC-002 8.Y 1027 212
D-M9PVL 1.Y02964 191 NY25RAH 1.Y00076 202 - 1.Y20002 212
D-MQ 1.Y00293 191 NYO5BJ 1.Y03784 202 D6-L55 1.Y20003 212
GFN20-90 8.Y00094 192 NYO5RB)J 1.Y03114 202 GT-NS3 1.Y01269 214
GFN30-90 8.Y00116 192 GT-NTO03 1.Y03933 203 GT-NS5 1.Y01036 214
GFT60-90 8.Y01007 193 GT-NTO3R 1.Y06105 203 GT-NS7 1.Y01037 214
SEhE87] Air  ipper GT-NTO03-4 1.Y06106 203 GT-NS10L 1.Y01214 214
GT-NYO05 1.Y00008 199 GT-NTO3R-4 1.Y06107 203 GT-NS20 1.Y00009 214
GT-NYO5R 1.Y03612 199 GT-NTO5 1.Y01168 203 GT-NS30 1.Y00002 214
GT-NY05-4 1.Y01317 199 GT-NTO5R 1.Y06108 203 GT-NS20H-1 1.Y06133 214
GT-NYO5R-4 1.Y06093 199 GT-NTO05-4 1.Y04956 203 GT-N3 1.Y05900 214
GT-NY10 1.Y00012 199 GT-NTO5R-4 1.Y06109 203 GT-N5 1.Y06134 214
GT-NY10R 1.Y00010 199 GT-NT10 1.Y01098 203 GT-N7 1.Y02077 214
GT-NY10-4 1.Y02532 199 GT-NT10R 1.Y06110 203 GT-N10 1.Y06135 214
GT-NY10R-4 1.Y06098 199 GT-NT10-6 1.Y06111 203 GT-N12 1.Y01531 214
GT-NY15 1.Y00006 199 GT-NT10R-6 1.Y06112 203 GT-N20 1.Y01436 214
GT-NY15R 1.Y00007 199 GT-NT20 1.Y01648 203 GT-N30 1.Y00003 214
GT-NY15-4 1.Y06099 199 GT-NT20R 1.Y06113 203 GT-N50 1.Y06136 214
GT-NY15R-4 1.Y06100 199 GT-NT20-6 1.Y06114 203 GT-NR3 1.Y03036 215
GT-NY25 1.Y00004 199 GT-NT20R-6 1.Y06115 203 GT-NR5 1.Y02105 215
GT-NY25R 1.Y00005 199 NTO3AJ 1.Y06116 203 GT-NR7 1.Y03324 215
GT-NY25-6 1.Y06101 199 NTO5AJ 1.Y03935 203 GT-NR1OL 1.Y00015 215
GT-NY25R-6 1.Y06102 199 NTO5AJH 1.Y06117 203 GT-NR20 1.Y00222 215
GT-NY03G 1.Y00013 199 NTO5AJB 1.Y06118 203 GT-NR30 1.Y00001 215
GT-NYO3GR 1.Y01115 199 NES5AJ 1.Y06119 203 GT-NR50 1.Y01349 215
GT-NY03G-4 1.Y06091 199 NT10AJ 1.Y00040 203 NR1OLST 1.Y06137 215
GT-NYO3GR-4 1.Y06092 199 NT10AJH 1.Y06120 203 NR20ST 1.Y02115 215
GT-NY10G 1.Y03559 199 NT10AJB 1.Y01099 203 NR30ST 1.Y03140 215
GT-NY10GR 1.Y06094 199 NE10AJ 1.Y00064 203 NR50ST 1.Y03141 215
GT-NY10G-4 1.Y06095 199 NT20AJ 1.Y03936 203 P-10L 1.Y06200 215
GT-NY10GR-4 1.Y04500 199 NT20AJH 1.Y06121 203 P-20 1.Y04318 215
GT-NY10S 1.Y06096 200 NT20AJB 1.Y06122 203 P-30 1.Y04310 215
GT-NY25S 1.Y06097 200 NTO5AJL 1.Y04056 204 P-50 1.Y06201 215

o



g '\

¢ &
4

3
e

A= (Model)
N30AL525
N20AE1205

NR20-P(NR20-P-D1)

£2S(PN)

1.Y00050

8.Y00113(8.Y00113-D1) 206

- 25| Index

Taf3(Page)
204
205

NR30-P(NR30-P-D1) 8.¥00237(8.Y00237-D1) 206

NS20-P

NS30-P

NT-2010TM-P

NT-2010SM-P

NY10-P

NY15-P

GT-BH2060

GT-NWR1

GT-NWR10

GT-NWR20

GT-NWR30

GT-NWS1

GT-NWS10

GT-NWS20

GT-NB20LW-10TM

GT-NB30LW-10TM

GT-NB20LW-10SM

GT-NB30LW-10SM

N3AP

N5AP

N7AP

N10AP

N1OLAP

N12AP

N20AP

N30AP

N3AE

N5SAE

N7AE

N20AE

N30AE

NW10AJ

N20A)J

N20AJB

NW20A)

N30AJ

NW30A)J

N10LAJ141

N20AJL

N20AB39

N30AJ163

N30AJL

N7PF

N1OLPF

N20PF

N30PF

N20AH

N20AML1498

N20AMR1499

N10LAB152

N20AA27

N20AA239

N20AB360

N30AA114

HE=AM
NBR-55(% )
1.Y12953
1.Y12954
1.Y12955
1.Y12956
1.Y12957
1.Y12958
1.Y12959

A5 (Model)
PFG-2-...
PFG-3.5-...
PFG-5-...
PFG-6-...
PFG-8-...
PFG-10-...
PFG-15-...

8.Y00079
8.Y00080
8.Y00006
8.Y00003
8.Y00270
8.Y00249
8.Y00346
1.Y06202
1.Y06143
1.Y06144
1.Y06145
1.Y06146
1.Y02979
1.Y06147
1.Y06148
1.Y04593
1.Y06149
1.Y06150
1.Y05931
1.Y00077
1.Y00955
1.Y01444
1.Y00956
1.Y06167
1.Y00060
1.Y00062
1.Y03037
1.Y02106
1.Y03325
1.Y00057
1.Y00061
1.Y06168
1.Y00056
1.Y00033
1.Y06169
1.Y00059
1.Y06170
1.Y01176
1.Y00035
1.Y00028
1.Y04313
1.Y00067
1.Y06171
1.Y06172
1.Y00065
1.Y00058
1.Y00032
1.Y00047
1.Y00046
1.Y06173
1.Y00030
1.Y00045
1.Y00042
1.Y00052

206
206
207
207
207
207
207
216
216
216
216
216
216
216
216
216
216
216
217
217
217
217
217
217
217
217
217
217
217
217
217
217
217
217
217
217
217
218
218
218
218
218
218
218
218
218
218
219
219
219
219
219
219
219

acuum Module

SI-55(EH)
1.Y12972
1.Y12973
1.Y12974
1.Y12975
1.Y12976
1.Y12977
1.Y12978

HT1-60(EE) R (Page)
1.¥12991 225
1.Y12992 225
1.¥12993 225
112994 225
1.Y12995 225
1.Y12996 225
1.Y12997 225

#E(Model) NBR-55(Bf) SI-55(EE)  HTL-60(%EE) WFE(Page)
PFG-20-.. 1.Y12960 1.Y12979 1.Y12998 225
PFG-25-..  1Y12961 1Y12980 1Y12999 225
PFG-30-.. 1.Y12962 1.Y12981 1.Y13000 225
PFG-35-.. 1.Y12963 1.Y12982 1.Y13001 225
PFG-40-..  1.Y12964 1.Y12983 1Y13002 225
PFG-50-..  1.Y12965 1.Y12984 1Y13003 225
PFG-60-..  1.Y12966 1.Y12985 1.Y13004 225
PFG-80-..  1.Y12967 1Y12986 1Y13005 225
PFG-95-.. 1.Y12968 1.Y12987 1.Y13006 225
PFYN-120-.. 1.Y12969 1.Y12988 - 225
PFYN-150-.. 1.Y12970 1.Y12989 1Y13008 225
PFYN-200-.. 1.Y12971 1.Y12990 - 225
FGA-6-... 1.Y12937 1Y12949 1.Y12951 226
FGA-11-.. 1Y12938 1Y12288 1Y12298 226
FGA-14-.. 1.Y12939 1.Y12289 1.Y12299 226
FGA-16-..  1.Y12940 1.Y12290 1.Y12300 226
FGA-20-.. 1Y12941 1Y12291 1Y12301 226
FGA-22-.. 1.Y12942 1Y12292 1.Y12302 226
FGA-25-.. 1.Y12943 1.Y12293 1.Y12303 226
FGA-33-.. 1Y12944 1Y12294 1Y12304 226
FGA-43-.. 1.Y12945 1.Y12295 1.Y12305 226
FGA-53-.. 1.Y12946 112296 1.Y12306 226
FGA-63-.. 1.Y12947 1Y12297 1Y12307 226
FGA-78-.. 1.Y12948 1Y12950 1.Y12952 226
FG-3-... 1.Y12929 1Y¥12931 112934 227
FG-4-... 1.Y12930 1.Y12932 1.Y12935 227
FG-5-... 1.Y12308 1Y12319 1.Y12331 227
FG-7-... 1.Y12309 1Y¥12320 1Y12332 227
FG-9-... 1.Y12310 1.Y12321 1.y12333 227
FG-12-... 1.Y12311 1Y¥12322 1Y12334 227
FG-14-... 1.Y12312 1Y12323 1Y12335 227
FG-18-... 1.Y12313 1Y12324 112336 227
FG-20-... 1.Y12314 1Y12325 112337 227
FG-25-... 1.Y12315 1Y12326 1Y12338 227
FG-32-... 1Y12284 1Y12327 1Y11797 227
FG-42-... 1.Y12316 1Y12328 112340 227
FG-52-... 1.Y12317 1.Y12329 1.Y12341 227
FG-62-... 1.Y12318 1.Y12330 1.Y12342 227
FG-88-... 1.Y12928 1Y12933 - 227
#E(Model) NBR-60(2E) SI-60(EH) HT1-60(EE) RH(Page)
SGON-4x2-..  1.Y13068 1.Y13079 1.Y13090 228
SGON-7x35-.. 1.Y13069 1.Y13080 1.Y13091 228
SGON-12%4-.. 1.Y13070 1.Y13081 1Y13092 228
SGON-15x5-.. 1.Y13071 1.Y13082 1.Y13093 228
SGON-18%6-.. 1.Y13072 1.Y13083 1Y13094 228
SGON-24x8-.. 1.Y13073 1.Y13084 1.Y13095 228
SGON-30x10-.. 1.Y13074 1.Y13085 1Y13096 228
SGON-45x15-.. 1.Y13075 1.Y13086 1.Y13097 228
SGON-60x20-.. 1.Y13076 1.Y13087 1.Y13098 228
SGON-75x25-.. 1.Y13077 1.Y13088 1.Y13099 228
SGON-90x30-.. 1.Y13078 1.Y13089 = 228
#5(Model) SI(ZEER) SP(iE4E) TaEs(Page)
VSH-S2 1.Y07282 = 229
VSH-S4 1.Y07283 - 229
VSH-S6 1.Y07284 = 229
VSH-S8 1.Y07285 - 229
VSH-S10 1.Y07286 = 229
VSH-S12 1.Y07287 - 229
VSH-S15 1.Y07288 = 229
VSH-S20 1.Y07289 - 229
VSH-S25 1.Y07290 = 229
VSH-S30 1.Y07291 - 229
VSH-M4 1.Y07292 = 229
VSH-M6 1.Y07293 - 229
VSH-M8 1.Y07294 = 229
VSH-M10 1.Y07295 1.Y12885 229
VSH-M12 1.Y07296 1.Y12886 229

#5(Model)
VSH-M15
VSH-M20
VSH-M25
VSH-M30
VSH-M40
VSH-M50
VSH2-S4
VSH2-S6
VSH2-S8
VSH2-S10
VSH2-S12
VSH2-S15
VSH2-S20
VSH2-S25
VSH2-S30
VSH2-M6
VSH2-M8
VSH2-M10
VSH2-M12
VSH2-M15
VSH2-M20
VSH2-M25
VSH2-M30
VSH2-M35
VSH2-M40
VSH2-M50
VSH3-S6
VSH3-S8
VSH3-S10
VSH3-S12
VSH3-S15
VSH3-M8
VSH3-M10
VSH3-M12
VSH3-M15
VSH3-M20
VSH3-M25
VSH3-M30
VSH3-M40
VSH3-M50

SIGZEHS)
1.Y07297
1.Y07298
1.Y07299
1.Y07300
1.Y07301
1.Y07302
1.Y07303
1.Y07304
1.Y07305
1.Y07306
1.Y07307
1.Y07308
1.Y07309
1.Y07310
1.Y07311
1.Y07312
1.Y07313
1.Y07314
1.Y07315
1.Y07316
1.Y07317
1.Y07318
1.Y07319
1.Y07320
1.Y07321
1.Y07322
1.Y07323
1.Y07324
1.Y07325
1.Y07326
1.Y07327
1.Y07328
1.Y07329
1.Y07330
1.Y07331
1.Y07332
1.Y07333
1.Y07334
1.Y07335
1.Y07336

SP(iB4%)

1.Y12887
1.Y07530
1.Y12888
1.Y07758
1.Y07894
1.Y07895

1.Y08294
1.Y08295
1.Y08296
1.Y07929
1.Y08349
1.Y08056

1.Y08104
1.Y08105

1.Y09163
1.Y09162
1.Y09161
1.Y08134
1.Y09065
1.Y08167
1.Y08168
1.Y08234

A5 (Model)
SAF-30-G3/8AG
SAF-30-G3/8IG
SAF-40-G3/8AG
SAF-40-G3/8IG
SAF-50-G3/8AG
SAF-50-G3/8IG
SAF 60-G3/8AG
SAF-60-G3/8IG
SAF -80-G3/8AG
SAF -80-G3/8IG
SAF-100-G3/8AG
SAF-100-G3/8IG
SAF-125-G3/8IG
SAOF-50x16-G3/8AG
SAOF-50x16-G3/8IG
SAOF-60x23-G3/8AG
SAOF-60x23-G3/8IG
SAOF-90x30-G3/8AG
SAOF-90x30-G3/8IG
SAOF-80x40-G3/8AG 1.Y13030
SAOF-80x40-G3/8IG  1.Y13031
SAOF-100x50-G3/8AG 1.Y13032
SAOF-100x50-G3/8IG 1.Y13033
SAOF-120x60-G3/8AG 1.Y13034
SAOF-120x60-G3/8IG 1.Y13035
SAOF-140x70-G3/8IG 1.Y13037

55 (PN)
1.Y13010
1.Y13011
1.Y13012
1.Y13013
1.Y13014
1.Y13015
1.Y13016
1.Y13017
1.Y13018
1.Y13019
1.Y13020
1.Y13021
1.Y13023
1.Y13024
1.Y13025
1.Y13026
1.Y13027
1.Y13028
1.Y13029

TFE(Page)
229
229
229
229
229
229
230
230
230
230
230
230
230
230
230
230
230
230
230
230
230
230
230
230
230
230
231
231
231
231
231
231
231
231
231
231
231
231
231
231

Taf3(Page)
232
232
232
232
232
232
232
232
232
232
232
232
232
232
232
232
232
232
232
232
232
232
232
232
232
232

C=RG

286



“f\: ?gl Index

AE2(Model) HE(PN) Tfg(Page) EE(Model) RE2(PN) B (Page) A Z(Model) RE2(PN) B (Page)
SAB-22-G3/8AG 1.Y13038 233 VM-M5M-G18F  7.Y00474 241 VFS-1012 8.Y00007 251
SAB-22-G3/8IG 1.Y13039 233 VM-G14M-M8F  7.Y00476 242 VFS-208 8.Y00290 251
SAB-30-G3/8AG 1.Y13040 233 VEN1011-M5 8.Y00064 244 VFS-2012 8.Y00008 251
SAB-30-G3/8IG 1.Y13041 233 VFN1021-M5 8.Y00321 244 VFS-308 8.Y00291 251
SAB-40-G3/8AG 1.Y13042 233 VFN1421-G18 8.Y00065 244 VFS-3012 8.Y00292 251
SAB-40-G3/8IG 1.Y13043 233 VFN1436-G1 8.Y00322 244 VFMT-5M12 8.Y00293 251
SAB-50-G3/8AG 1.Y13044 233 VFN2026-G18 8.Y00066 244 VFMT-10M12 8.Y00294 251
SAB-50-G3/8IG 1.Y13045 233 VFN2051-G18 8.Y00067 244 VFMT-20M12 8.Y00295 251
SAB-60-G3/8AG 1.Y13046 233 VENT1011-M5 8.Y00068 244 VFMT-30M12 8.Y00296 251
SAB-60-G3/81G 1.Y13047 233 VFNT1021-M5 8.Y00323 244 VFM-512 8.Y00297 251
SAB-80-G3/8AG 1.Y13048 233 VFNT1421-G18 8.Y00204 244 VFM-520 8.Y00298 251
SAB-80-G3/8IG 1.Y13049 233 VFNT1621-G18 8.Y00383 244 VFM-1012 8.Y00299 251
SAB-100-G3/8AG 1.Y13050 233 VFNT1436-G18 8.Y00324 244 VFM-1020 8.Y00300 251
SAB-100-G3/8IG 1.Y13051 233 VFNT1636-G18 8.Y00384 244 VFM-2012 8.Y00301 251
SAB-125-G3/8AG 1.Y13052 233 VFNT2026-G18 8.Y00205 244 VFM-2020 8.Y00302 251
SAB-125-G3/8IG 1.Y13053 233 VFNT2051-G18 8.Y00206 244 VFM-3012 8.Y00303 251
SAOB-60x30-G3/8AG 1.Y13054 233 VFR1011-M5 8.Y00060 245 VFM-3020 8.Y00304 251
SAOB-60x30-G3/81G 1.Y13055 233 VFR1021-M5 8.Y00325 245 VUVG-LKI4-MS2-AT-G18-1H2L-S ~ 1.Y06040 252
SAOB-80x40-G3/8AG 1.Y13056 233 VFR1421-G18 8.Y00061 245 VUVG-LK14-B52-T-618-1H2L-W1S 1.Y06288 252
SAOB-80x40-G3/81G 1.Y13057 233 VFR1436-G18 8.Y00326 245 VUVG1/8-LK-2F 1.Y06289 252
SAOB-110x55-G3/8AG ~ 1.Y13058 233 VFR2026-G18 8.Y00062 245 VUVG1/8-LK-3F 1.Y06290 252
SAOB-110x55-G3/8IG 1.Y13059 233 VFR2051-G18 8.Y00063 245 VUVG1/8-LK-4F 1.Y06291 252
SAOB-140x70-G3/81G  1.Y13061 233 VFRT1011-M5 8.Y00074 245 VUVG1/8-LK-5F 1.Y06292 252
#E(Model) £8E(PN) a5 (Page) VFRT1021-M5 8.Y00327 245 VUVG1/8-LK-6F 1.Y06293 252
VM02-G18 7.Y00703 234 VFRT1421-G18 8.Y00075 245 VUVG1/8-LK-7F 1.Y06294 252
VM04-G14 7.Y00709 234 VFRT1621-G18 8.Y00381 245 VUVG1/8-LK-8F 1.Y06042 252
VM06-G14 7.Y00768 234 VFRT1436-G18 8.Y00328 245 VUVG1/8-LK-9F 1.Y07453 252
VM07-G18 7.Y00767 234 VFRT1636-G18 8.Y00382 245 VUVG1/8-LK-10F 1.Y06295 252
VM08-M8 1.Y05275 234 VFRT2026-G18 8.Y00076 245 VUVG1/8-LK-11F 1.Y09872 252
VM09-M5 1.Y05274 234 VFRT2051-G18 8.Y00077 245 VUVG1/8-LK-12F 1.Y09873 252
VM10-G18 7.Y00902 235 VFE1011-M5 8.Y00070 246 VUVG1/8-LK-13F 1.Y09874 252
VM11-G18 1.Y12762 235 VFE1021-M5 8.Y00371 246 VUVG1/8-LK-14F 1.Y09875 252
VM11-M5 1.Y05327 235 VFE1421-G18 8.Y00071 246 VUVG1/8-LK-15F 1.Y09876 252
VM12-M5 7.Y00762 235 VFE1436-G18 8.Y00372 246 VUVG1/8-LK-16F 1.Y09877 252
VM13-M5 7.Y00761 235 VFE2026-G18 8.Y00072 246 VUVG1/8-LK-17F 1.Y09878 252
VM14-M5 7.Y00760 235 VFE2051-G18 8.Y00073 246 VUVG1/8-LK-18F 1.Y09879 252
VM15-G18 7.Y00759 236 VFET1011-M5 8.Y00069 246 VUVG1/8-LK-19F 1.Y09880 252
VM16-G18 7.Y00758 236 VFET1021-M5 8.Y00374 246 VUVG1/8-LK-20F 1.Y09881 252
VM17-G18 7.Y00757 236 VFET1421-G18 8.Y00228 246 COMPACT 20CEPNP  1.Y13062 252
VM18-M5 1.Y05314 236 VFET1621-G18 8.Y00379 246 COMPACT 20CENPN  1.Y13063 252
VM20-G14 4.Y00058 236 VFET1436-G18 8.Y00375 246 COMPACT10E PNP 1.Y13064 250
VM21-M5 1.Y01986 236 VFET1636-G18 8.Y00380 246 COMPACTI0E NPN 1.Y13279 250
VM22-M5 1.Y05790 237 VFET2026-G18 8.Y00229 246 VLCLASSIC XIx 2 1.Y13065 257
VM23-G18 7.Y00900 237 VFET2051-G18 8.Y00230 246 PN Eeacuum generator 7 y13066 258
VM24-G18 7.Y00898 237 VFC2030-G18 8.Y00313 247 PUNLINES vacuum generator 7 y13067 258
VM25-M3 7.Y00928 237 VFCT1620-M5 8.Y00277 247 SCPSb-07-504-NC-VD  1.Y13276 260
VM27-M5 1.Y01097 237 VFCT2030-G18 8.Y00314 247 SCPSb-10-504-NC-VD  1.Y13277 260
VM28-M8 7.Y00475 237 VFG20-10 8.Y00207 248 SCPSb-15-504-NC-VD 1.Y13278 260
VM29-M5 7.Y01036 238 VFG20-20 8.Y00337 248 ff4%  ccessory Components
VM30-G18 7.Y01037 238 VFG30-20 8.Y00338 248 ASC-8A-B 8.Y00087 262
VM31-M5 7.Y01038 238 VMGD30-20 8.y00451 248 AJB4M8-3P-M12  4.Y00487 264
VM32-G18 7.Y01039 238 VFRS-20M10-M5  4.Y00026 249 AJB4M8-3N-M12  4.Y00488 264
VM33-M5 7.Y01040 238 VFRS-20M16-G18 4.Y00023 249 ELK8112-0/9 1.Y07461 264
VM34-G18 7.Y01041 238 VFM-4014-G18 1.Y01452 249 M8-MO03T 1.Y06722 264
VM35-M5 7.Y01042 239 VFM-2020-G14 1.Y01451 249 ELK8-2M/P00 1.Y07462 264
VM36-G18 7.Y01043 239 VFL-20M17-G18  1.Y01453 249 M8-MO3L 1.Y13391 264
VM37-M5 7.Y01044 239 VFMT-20M14-G18 8.Y00319 250 AJB8MS8-3P-M16  4.Y00491 265
VM38-G18 7.Y01045 239 VFMT-40M14-G18 8.Y00320 250 AJB8M8-3N-M16  4.Y00492 265
VM39-M5 7.Y01046 239 VFHT-30M20-G38F-G18M 8.Y00409 250 DNLK14-14-2M/P00 1.Y07463 265
VM40-G18 7.Y01047 239 VFH-30M20-G38F-G18M 8.Y00410 250 AJB8MS8-3P-D2 4.Y00495 266
VM41-G14 7.Y01048 240 VFST-5M10 8.Y00283 251 AJB8M8-3N-D2 4.Y00496 266
VM10-G18F 7.¥02013 240 VFST-10M10 8.Y00284 251 ARJ210-M5 1.Y05877 267
VM-G18M-M10M 7.Y00808 241 VFST-20M10 8.Y00285 251 - 1.Y02592 267
VM-G14M-M10M 7.Y00756 241 VFST-30M10 8.Y00286 251 APB-M3-04 1.Y03145 268
VM-G18M-M5F  7.Y00755 241 VFS-58 8.Y00287 251 APB-M5-04 1.Y05008 268
VM-G18M-M8F  7.Y00754 241 VFS-512 8.Y00288 251 APB-M5-06 1.Y01986 268
VM-M5M-M8F 7.Y00473 241 VFS-108 8.Y00289 251 APF-M3 1.Y06794 268

i



¢ Bl
-

&'}
e 25| Index

A= (Model)
APF-M5
APF-G18
APF-G14
APBL-M3-04
APBL-M5-@4
APBL-M5-@6
APBL-G18-@6
KQ2H02-M3G
KQ2H02-M5A
KQ2H23-M3G
KQ2H23-M5A
KQ2H04-M3G
KQ2H04-M5A
KQ2H04-M6A
KQ2H06-M5A
KQ2H06-M6A
KQ2H23-01AS
KQ2H23-02AS
KQ2H04-01AS
KQ2H04-02AS
KQ2H06-01AS
KQ2HO06-02AS
KQ2H06-03AS
KQ2H08-01AS
KQ2H08-02AS
KQ2H08-03AS
KQ2H10-01AS
KQ2H10-02AS
KQ2H10-03AS
KQ2H10-04AS
KQ2H12-02AS
KQ2H12-03AS
KQ2H12-04AS
KQ2H16-02AS
KQ2H16-03AS
KQ2H16-04AS
KQ2H02-00A
KQ2H23-00A
KQ2H04-00A
KQ2H06-00A
KQ2H08-00A
KQ2H10-00A
KQ2H12-00A
KQ2H16-00A
KQ2H02-23A
KQ2H02-04A
KQ2H23-04A
KQ2H23-06A
KQ2HO04-06A
KQ2H06-08A
KQ2H08-10A
KQ2H10-12A
KQ2H12-16A
KQ2L02-M3G
KQ2L02-M5A
KQ2L23-M3G
KQ2L23-M5A
KQ2L04-M3G
KQ2L04-M5A
KQ2L04-M6A
KQ2L06-M5A
KQ2L06-M6A
KQ2L23-01AS
KQ2L23-02AS
KQ2L04-01AS
KQ2L04-02AS
KQ2L06-01AS

£25(PN)

1.Y02510
1.Y00462
1.Y00463
1.Y13282
1.Y13283
1.Y13284
1.Y13285
1.Y13101
1.Y13102
1.Y13103
1.Y13104
1.Y13105
1.Y04451
1.Y13106
1.Y00452
1.Y13107
1.Y13108
1.Y13109
1.Y03599
1.Y05147
1.Y13110
1.Y07090
1.Y05164
1.Y07162
1.Y05101
1.Y02228
1.Y13111
1.Y07142
1.Y07632
1.Y13112
1.Y13113
1.Y13114
1.Y13115
1.Y13116
1.Y13117
1.Y13118
1.Y13119
1.Y13120
1.Y13121
1.Y13122
1.Y13123
1.Y13124
1.Y13125
1.Y13126
1.Y13127
1.Y13128
1.Y13129
1.Y13130
1.Y13131
1.Y13132
1.Y13133
1.Y13134
1.Y13135
1.Y13136
1.Y13137
1.Y13138
1.Y13139
1.Y13140
1.Y02599
1.Y13141
1.Y02345
1.Y13142
1.Y13143
1.Y13144
1.Y05151
1.Y05751
1.Y02343

g (Page)
268
268
268
268
268
268
268
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
269
270
270
270
270
270
270
270
270
270
270
270
270
270
270
270
270

#Z(Model)
KQ2L06-02AS
KQ2L06-03AS
KQ2L08-01AS
KQ2L08-02AS
KQ2L08-03AS
KQ2L10-01AS
KQ2L10-02AS
KQ2L10-03AS
KQ2L10-04AS
KQ2L12-02AS
KQ2L12-03AS
KQ2L12-04AS
KQ2L16-02AS
KQ2L16-03AS
KQ2L16-04AS
KQ2V04-M5A
KQ2V06-M5A
KQ2V04-01AS
KQ2V06-01AS
KQ2V06-02AS
KQ2V08-01AS
KQ2V08-02AS
KQ2V08-03AS
KQ2V10-02AS
KQ2V10-03AS
KQ2V12-03AS
KQ2V12-04AS
KQ2V16-03AS
KQ2V16-04AS
KQ2T02-M3G
KQ2T02-M5A
KQ2T23-M3G
KQ2T23-M5A
KQ2T04-M3G
KQ2T04-M5A
KQ2T04-M6A
KQ2T06-M5A
KQ2T06-M6A
KQ2T23-01AS
KQ2T23-02AS
KQ2T04-01AS
KQ2T04-02AS
KQ2T06-01AS
KQ2T06-02AS
KQ2T06-03AS
KQ2T08-01AS
KQ2T08-02AS
KQ2T08-03AS
KQ2T10-01AS
KQ2T10-02AS
KQ2T10-03AS
KQ2T10-04AS
KQ2T12-02AS
KQ2T12-03AS
KQ2T12-04AS
KQ2T16-02AS
KQ2T16-03AS
KQ2T16-04AS
KQ2T02-00A
KQ2T23-00A
KQ2T04-00A
KQ2T06-00A
KQ2T08-00A
KQ2T10-00A
KQ2T12-00A
KQ2T16-00A
KQ2T23-04A

£5(PN)

1.Y11935
1.Y10180
1.Y07560
1.Y04922
1.Y05070
1.Y13145
1.Y06994
1.Y08074
1.Y13146
1.Y13147
1.Y13148
1.Y13149
1.Y13150
1.Y13151
1.Y13152
1.Y13153
1.Y13154
1.Y13155
1.Y13156
1.Y13158
1.Y13159
1.Y13157
1.Y13160
1.y131e1l
1.Y13162
1.Y13163
1.Y13164
1.Y13165
1.Y13166
1.Y13167
1.Y13168
1.Y13169
1.Y13170
1.Y13171
1.Y01536
1.Y13172
1.Y03052
1.Y13173
1.Y13174
1.Y13175
1.Y13176
1.Y13177
1.Y05154
1.Y13178
1.Y13179
1.Y13180
1.Y13181
1.Y13182
1.Y13183
1.Y13184
1.Y13185
1.Y13186
1.Y13187
1.Y13188
1.Y13189
1.Y13190
1.Y13191
1.Y13192
1.Y13193
1.Y13194
1.Y03077
1.Y03076
1.Y00761
1.Y13195
1.Y13196
1.Y13197
1.Y13198

g (Page)
271
271
271
271
271
271
271
271
271
271
271
271
271
271
271

274

AIE(Model)
KQ2T04-06A
KQ2T06-08A
KQ2T08-10A
KQ2T10-12A
KQ2T12-16A
KQ2T06-04A
KQ2T08-06A
KQ2T10-08A
KQ2T12-10A
KQ2U02-00A
KQ2U23-00A
KQ2U04-00A
KQ2U06-00A
KQ2U08-00A
KQ2U10-00A
KQ2U12-00A
KQ2U16-00A
KQ2UDO04-06A
KQ2UDO06-08A
#IE(Model)
AS12[]1F-M5-02A
AS12001F-M5-23A
AS120]1F-M5-04A
AS12001F-M5-06A
AS22[01F-01-235A
AS22[71F-01-04SA
AS22[01F-01-06SA
AS22[0]1F-01-08SA
AS22011F-01-10SA
AS22001F-02-235A
AS220]1F-02-04SA
AS22001F-02-065A
AS22[01F-02-08SA
AS22[01F-02-10SA
AS32[01F-02-065A
AS320]1F-02-085A
AS32001F-02-10SA
AS32001F-02-12SA
AS32[1F-03-06SA
AS32[01F-03-08SA
AS32[01F-03-10SA
AS32[01F-03-12SA
AS420]1F-04-10SA
AS420]1F-04-12SA
AS42011F-04-165A
AIE(Model)
AS1002F-02
AS1002F-23
AS1002F-04
AS1002F-06
AS2002F-04
AS2002F-06
AS2052F-06
AS2052F-08
AS3002F-06
AS3002F-08
AS3002F-10
AS3002F-12
AS4002F-10
AS4002F-12
KCHO04-M5
KCH04-01S
KCH06-M5
KCH06-01S
KCH08-01S
KJP-02
KQ2P-23

£2S(PN)

1.Y04160
1.Y04159
1.Y07561
1.Y13199
1.Y13200
1.Y13201
1.Y13202
1.Y13203
1.Y13204
1.Y13205
1.Y13206
1.Y02601
1.Y02600
1.Y03078
1.Y13207
1.Y13208
1.Y13209
1.Y06909
1.Y08529

HS T

1.Y13218
1.Y13219
1.Y13220
1.Y13221
1.Y13225
1.Y13226
1.Y13227
1.Y13228
1.Y13229
1.Y13230
1.Y13231
1.Y13232
1.Y13233
1.Y13234
1.Y13235
1.Y13236
1.Y13237
1.Y13238
1.Y13239
1.Y13240
1.Y13241
1.Y13242
1.Y13243
1.Y13244
1.Y13245

HSTR

1.Y13222
113223
1.Y13224
1.Y03830
1.Y13246
1.Y13247
1.Y05040
1.Y13248
1.Y13249
1.Y13250
1.Y13251
1.Y06906
1.Y08260
1.Y13252
1.Y13253
1.Y13254
1.Y13255
1.Y13256
1.Y13257
1.Y13258
1.Y13259
1.Y13260
1.Y13261
1.Y13262
1.Y13263

ES(PN)

1.Y13264
1.Y13265
1.Y04457
1.Y04777
1.Y13266
1.Y13267
1.Y13268
1.Y13269
1.Y13270
1.Y13271
1.Y13272
1.Y13273
1.Y13274
1.Y13275
1.Y03525
1.Y13286
1.Y03524
1.Y13287
1.Y13288
1.Y13210
1.Y13211

5 (Page)
274
274
274
274
274
274

275
mf5(Page)
276
276
276
276
276
276
276
276
276
276
276
276
276
276
276
276
276
276
276
276
276
276
276
276
276
it5(Page)
277
277
277
277
277
277
277
277
277
277
277
277
277
277
278
278
278
278
278
278
278

C=RG



[é

-
-

- 25| Index

s v

o3

ES(Model) £5(PN) E8(Page)
KQ2P-04 1.Y13212 278
KQ2P-06 1.Y13213 278
KQ2P-08 1.Y13214 278
KQ2P-10 1.Y13215 278
KQ2P-12 1.Y13216 278
KQ2P-16 1.Y13217 278
AH4B 1.Y00824 279
AH4BU 1.Y03687 279
AH4G 1.Y00823 279
AH4T 1.Y03686 279
AH4Y 1.Y00821 279
AH4R 1.Y00822 279
AH40 1.Y05661 279
AH6B 1.Y00830 279
AH6BU 1.Y00829 279
AH6G 1.Y00825 279
AH6T 1.Y00827 279
AHGY 1.Y00828 279
AH6R 1.Y00826 279
AH60 1.Y04640 279
AH8B 1.Y04478 279
AH8BU 1.Y00831 279
AH10B 1.Y04476 279
AH10BU 1.Y05660 279

iyl CRG



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 1
	页 2
	页 3
	页 4
	页 5
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	1: 平行夹
	页 2
	3: Y型夹
	4: 三爪夹
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	1: 水口夹
	页 2
	3: GRS08
	4: GRM12
	5: GRL12
	6: GRX20
	页 7
	8: GR12-12
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	15: GR20-20
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31

